COUNTIES BEDFORD, RUTHERFORD, WILLIAMSON, AND WILSON (Contract No. CNR941 Call 001)

98302-4146-04,98302-4147-04

THE MOWING ON VARIOUS INTERSTATE ROUTES.

PROJECT LENGTH - 103.650 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2017

TOTAL CONTRACT

Caudill Mowing, Inc.
South East Mowing, LLC

\$207,075.00

\$229,570.74

				CONTRACT	CNR941
MAINTEN	NANCE CATEGORY		UNIT PRICE	EXTE	ENSION
717-10.01	INVOLUNTARY WORK SUSPENSION (BY THE DAY)				
		5.000 DAY			
	Caudill Mowing, Inc.		\$1.0000		\$5.00
	South East Mowing, LLC		\$5.0000		\$25.00
719-02	REMOVAL AND DISPOSAL OF LITTER				
		208.000 L.M.			
	Caudill Mowing, Inc.		\$239.0000	\$49	,712.00
	South East Mowing, LLC		\$185.0000	\$38	,480.00
806-01	MOWING				
		4,141.000 ACRE			

Caudill Mowing, Inc.
South East Mowing, LLC

\$157,358.00 \$191,065.74

\$38.0000 \$46.1400

SUB-TOTAL MAINTENANCE

Caudill Mowing, Inc. \$207,075.00 South East Mowing, LLC \$229,570.74

TOTAL CONTRACT

Caudill Mowing, Inc. \$207,075.00 South East Mowing, LLC \$229,570.74

DAVIDSON COUNTY (Contract No. CNR937 Call 002)

STP-M-6(84),19022-3217-54

THE IMPROVEMENT OF THE INTERSECTION ON U.S. 31 (S.R. 6) AT S.R. 255 (HARDING PLACE/BATTERY LANE) (L.M. 3.69) IN OAK HILL, INCLUDING GRADING, DRAINAGE, SIGNALS AND PAVING.

PROJECT LENGTH - 0.330 MILES

COMPLETION TIME - ON OR BEFORE APRIL 30, 2018

DBE GOAL 10.00%

$T \cap T \wedge I$	001	
TOTAL	CON	IRACI

Sessions Paving Company \$1,465,105.35

Jarrett Builders, Inc. \$1,473,578.50

Civil Constructors, LLC \$1,541,663.85

			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAVES LINES AND CRADES			
103-01	CONSTRUCTION STAKES, LINES AND GRADES	4 000 1 0		
		1.000 LS		
	Sessions Paving Company		\$25,000.0000	\$25,000.00
	Jarrett Builders, Inc.		\$20,775.0000	\$20,775.00
	Civil Constructors, LLC		\$20,375.0000	\$20,375.00
201-01	CLEARING AND GRUBBING			
201-01	CLEARING AND GROBBING			
		1.000 LS	A= 4 000 0000	A. 1 000 00
	Sessions Paving Company		\$54,000.0000	\$54,000.00
	Jarrett Builders, Inc.		\$50,500.0000	\$50,500.00
	Civil Constructors, LLC		\$56,625.0000	\$56,625.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	0.000.000.0 V		
		3,632.000 C.Y.	405.000	400.000.00
	Sessions Paving Company		\$25.0000	\$90,800.00
	Jarrett Builders, Inc.		\$18.6500 \$27.4000	\$67,736.80
	Civil Constructors, LLC		\$27.4000	\$99,516.80
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
203-03	BORROW EXCAVATION (ONCEASSIFIED)	440,000 O.V		
	Occasiona Basina Occasiona	140.000 C.Y.	#00.000	#0.400.00
	Sessions Paving Company		\$60.0000	\$8,400.00
	Jarrett Builders, Inc. Civil Constructors, LLC		\$40.5000 \$29.7500	\$5,670.00 \$4,165.00
	Civil Collstructors, LEC		φ29.7500	φ4,105.00
200 <u>-</u> 08 03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
203-00.03	TEMI ORAKT SIETT ENGE (WITHOUT BACKING)	2 400 000 5		
	Sessions Daving Company	3,100.000 L.F.	¢2 5000	¢7 750 00
	Sessions Paving Company		\$2.5000 \$1.4000	\$7,750.00 \$4,340.00
	Jarrett Builders, Inc. Civil Constructors, LLC		\$2.5000	\$7,750.00
	Civil Collstructors, LEC		φ2.5000	\$7,750.00
209-08 08	ENHANCED ROCK CHECK DAM			
200 00.00	EMIANCES ROOK SILEGRAM	6.000 EACH		
	Sessions Daving Company	6.000 EACH	\$250,0000	¢2.400.00
	Sessions Paving Company Jarrett Builders, Inc.		\$350.0000 \$278.0000	\$2,100.00 \$1,668.00
	Civil Constructors, LLC		\$685.0000	\$4,110.00
	OWN CONSTRUCTORS, LEC		ψ003.0000	ψ+,110.00
209-09-04	SEDIMENT FILTER BAG(15' X 10')			
200 00:01		2.000 EACH		
	Sessions Daving Company	2:000 EACH	\$7E0 0000	¢4 500 00
	Sessions Paving Company Jarrett Builders, Inc.		\$750.0000 \$700.0000	\$1,500.00 \$1,400.00
	Civil Constructors, LLC		\$1,190.0000	\$1, 4 00.00 \$2,380.00
	Civil Collstructors, LEC		\$1,190.0000	φ2,300.00
209-09-40	CURB INLET PROTECTION (TYPE 1)			
_55 55.40		3 000 EACH		
	Consigna Daving Cores and	3.000 EACH	# 000 0000	фооо оо
	Sessions Paving Company		\$200.0000	\$600.00
	Jarrett Builders, Inc. Civil Constructors, LLC		\$300.0000	\$900.00
	OIVII OUIISITUOIUIS, LLO		\$982.0000	\$2,946.00

		UNIT PRICE	EXTENSION
209-09.43 CL	JRB INLET PROTECTION (TYPE 4)		
		2.000 EACH	
Se	essions Paving Company	\$175.0000	\$2,100.00
	rrett Builders, Inc.	\$165.0000	\$1,980.00
Civ	vil Constructors, LLC	\$494.0000	\$5,928.00
209-40.33 CA	ATCH BASIN PROTECTION (TYPE D)		
		2.000 EACH	
Se	essions Paving Company	\$250.0000	\$500.00
	rrett Builders, Inc.	\$300.0000	\$600.00
Civ	vil Constructors, LLC	\$1,350.0000	\$2,700.00
209-40.34 CA	ATCH BASIN PROTECTION (TYPE E)		
		2.000 EACH	
Se	essions Paving Company	\$250.0000	\$500.00
	rrett Builders, Inc.	\$190.0000	\$380.00
	vil Constructors, LLC	\$1,350.0000	\$2,700.00
200-40 41 CA	ATCH BASIN FILTER ASSEMBLY(TYPE 1)		
209-40.41 CF	·	1.000 EACH	
So	essions Paving Company	\$500.0000	\$500.00
	rrett Builders, Inc.	\$300.0000 \$735.0000	\$735.00
	vil Constructors, LLC	\$898.0000	\$898.00
209-40 48 C4	ATCH BASIN FILTER ASSEMBLY(TYPE 8)		
200 10110 07		1.000 EACH	
Se	essions Paving Company	\$500.0000	\$500.00
	rrett Builders, Inc.	\$1,570.0000	\$1,570.00
	vil Constructors, LLC	\$1,350.0000	\$1,350.00
303-01 MI	NERAL AGGREGATE, TYPE A BASE, GRADING D		
		6.000 TON	
Se	essions Paving Company	\$31.6000	\$95,305.60
Ja	rrett Builders, Inc.	\$28.5000	\$85,956.00
Civ	vil Constructors, LLC	\$31.0000	\$93,496.00
307-02.01 AS	SPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A		
	49	7.000 TON	
Se	essions Paving Company	\$122.2500	\$60,758.25
	rrett Builders, Inc.	\$98.0000	\$48,706.00
	vil Constructors, LLC	\$88.0000	\$43,736.00
307-02.08 AS	SPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
		6.000 TON	
Se	essions Paving Company	\$124.6000	\$40,619.60
	rrett Builders, Inc.	\$111.5000	\$36,349.00
	vil Constructors, LLC	\$93.2000	\$30,383.20

				CONTRACT CNR937
			LINUT DDIOE	
			UNIT PRICE	EXTENSION
400.04	DITUMNIQUE MATERIAL FOR PRIME COAT (DO)			
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		8.000 TON		
	Sessions Paving Company		\$825.0000	\$6,600.00
	Jarrett Builders, Inc. Civil Constructors, LLC		\$1,017.5000	\$8,140.00
	Civil Constructors, EEC		\$1,040.0000	\$8,320.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
40Z-0Z	ACCRECATE FOR COVER MATERIAL (FO)	29.000 TON		
	Cassiana Daving Company	29.000 TON	¢20,0000	¢4 402 00
	Sessions Paving Company Jarrett Builders, Inc.		\$38.0000 \$68.1500	\$1,102.00 \$1,976.35
	Civil Constructors, LLC		\$57.0000	\$1,653.00
	OWN CONSTRUCTORS, ELC		ψ57.0000	ψ1,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		9.000 TON		
	Sessions Paving Company	3.000 1014	\$850.0000	\$7,650.00
	Jarrett Builders, Inc.		\$850.0000	\$7,650.00 \$7,650.00
	Civil Constructors, LLC		\$1,060.0000	\$9,540.00
	ON CONCRETE SEC		ψ1,000.0000	ψο,ο 10.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT			
		3,919.000 L.F.		
	Sessions Paving Company		\$3.5000	\$13,716.50
	Jarrett Builders, Inc.		\$3.5000	\$13,716.50
	Civil Constructors, LLC		\$2.9500	\$11,561.05
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		122.000 TON		
	Sessions Paving Company		\$129.0000	\$15,738.00
	Jarrett Builders, Inc.		\$111.0000	\$13,542.00
	Civil Constructors, LLC		\$97.0000	\$11,834.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		26.000 TON		
	Sessions Paving Company		\$138.4000	\$3,598.40
	Jarrett Builders, Inc.		\$106.2500	\$2,762.50
	Civil Constructors, LLC		\$122.0000	\$3,172.00
444.00.10	AGG MIN/POTO COLORADING T			
411-02.10	ACS MIX(PG70-22) GRADING D			
		943.000 TON		.
	Sessions Paving Company		\$145.6500	\$137,347.95
	Jarrett Builders, Inc.		\$114.0000	\$107,502.00

932.000 TON

Civil Constructors, LLC

415-01.01 COLD PLANING BITUMINOUS PAVEMENT

Sessions Paving Company

Jarrett Builders, Inc.

Civil Constructors, LLC

\$110.0000

\$32.0000

\$31.0000

\$31.5000

\$103,730.00

\$29,824.00 \$28,892.00

\$29,358.00

		CC	NIRACI CNR937
		UNIT PRICE	EXTENSION
607-03.02 18" CONCRETE PIPE CULVERT (CLASS III)			
	1,254.000 L.F.		
Sessions Paving Company		\$98.6500	\$123,707.10
Jarrett Builders, Inc.		\$98.5000	\$123,519.00
Civil Constructors, LLC		\$135.0000	\$169,290.00
611-01.02 MANHOLES, > 4' - 8' DEPTH			
	4.000 EACH		
Sessions Paving Company		\$5,500.0000	\$22,000.00
Jarrett Builders, Inc.		\$5,200.0000	\$20,800.00
Civil Constructors, LLC		\$2,390.0000	\$9,560.00
611-07.54 18IN ENDWALL (CROSS DRAIN) 3:1			
	2.000 EACH		
Sessions Paving Company		\$2,000.0000	\$4,000.00
Jarrett Builders, Inc.		\$3,194.0000	\$6,388.00
Civil Constructors, LLC		\$1,020.0000	\$2,040.00
611-07.56 18IN ENDWALL (CROSS DRAIN) 6:1			
	1.000 EACH		
Sessions Paving Company		\$3,000.0000	\$3,000.00
Jarrett Builders, Inc.		\$4,000.0000	\$4,000.00
Civil Constructors, LLC		\$1,760.0000	\$1,760.00
611-12.01 CATCH BASINS, TYPE 12, 0' - 4' DEPTH			
	3.000 EACH		
Sessions Paving Company		\$4,365.0000	\$13,095.00
Jarrett Builders, Inc.		\$5,790.0000	\$17,370.00
Civil Constructors, LLC		\$2,540.0000	\$7,620.00
611-12.02 CATCH BASINS, TYPE 12, > 4' - 8' DEPTH			
	3.000 EACH		
Sessions Paving Company		\$6,129.0000	\$18,387.00
Jarrett Builders, Inc.		\$6,700.0000	\$20,100.00
Civil Constructors, LLC		\$3,100.0000	\$9,300.00
611-12.03 CATCH BASINS, TYPE 12, > 8' - 12' DEPTH			
	1.000 EACH		
Sessions Paving Company		\$8,317.0000	\$8,317.00
Jarrett Builders, Inc.		\$7,920.0000	\$7,920.00
Civil Constructors, LLC		\$4,060.0000	\$4,060.00
611-14.02 CATCH BASINS, TYPE 14, > 4' - 8' DEPTH			
	3.000 EACH		
Sessions Paving Company		\$6,500.0000	\$19,500.00
Jarrett Builders, Inc.		\$8,300.0000	\$24,900.00
Civil Constructors, LLC		\$2,690.0000	\$8,070.00

				CONTRACT CNR937
			UNIT PRICE	EXTENSION
611-42.01	CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
		1.000 EACH		
	Sessions Paving Company		\$4,500.0000	\$4,500.00
	Jarrett Builders, Inc.		\$6,175.0000	\$6,175.00
	Civil Constructors, LLC		\$2,540.0000	\$2,540.00
611-42.02	CATCH BASINS, TYPE 42, > 4' - 8' DEPTH			
• • • • • • • • • • • • • • • • • • • •		1.000 EACH		
	Sessions Paving Company		\$6,000.0000	\$6,000.00
	Jarrett Builders, Inc.		\$6,600.0000	\$6,600.00
	Civil Constructors, LLC		\$3,100.0000	\$3,100.00
611-43.01	CATCH BASINS, TYPE 43, 0' - 4' DEPTH			
		1.000 EACH		
	Sessions Paving Company		\$4,500.0000	\$4,500.00
	Jarrett Builders, Inc.		\$6,600.0000	\$6,600.00
	Civil Constructors, LLC		\$3,500.0000	\$3,500.00
640.04.00	DELOCATE DECORATIVE OTONE COLUMNIC			
612-04.02	RELOCATE DECORATIVE STONE COLUMNS			
		2.000 LS	# 40 = 00 0000	#05.000.00
	Sessions Paving Company		\$12,500.0000	\$25,000.00
	Jarrett Builders, Inc.		\$13,300.0000	\$26,600.00
	Civil Constructors, LLC		\$25,940.0000	\$51,880.00
621-03.03	3 24" TEMPORARY DRAINAGE PIPE			
		100.000 L.F.		
	Sessions Paving Company		\$40.0000	\$4,000.00
	Jarrett Builders, Inc.		\$89.0000	\$8,900.00
	Civil Constructors, LLC		\$38.0000	\$3,800.00
701-02	CONCRETE DRIVEWAY			
		983.000 S.F.		
	Sessions Paving Company		\$12.6500	\$12,434.95
	Jarrett Builders, Inc.		\$11.0000	\$10,813.00
	Civil Constructors, LLC		\$12.0000	\$11,796.00
702-03	CONCRETE COMBINED CURB & GUTTER			
. 52 55	CONSTRUCTION OF THE CONTROL OF THE C	125.000 C.Y.		
	Sessions Paving Company	123.000 C. 1.	മാവ വവവ	\$37.250.00
	Sessions Paving Company Jarrett Builders, Inc.		\$298.0000 \$300.0000	\$37,250.00 \$37,500.00
	Civil Constructors, LLC		\$304.0000	\$37,500.00
	S.T. COTOLIGOTO, LEO		ψου-1.0000	ψου,ουυ.ου

200.000 L.F.

707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE

Sessions Paving Company

Jarrett Builders, Inc.

Civil Constructors, LLC

\$1,600.00 \$320.00

\$2,800.00

\$8.0000

\$1.6000

\$14.0000

709-05.05 MACHINED RIP-RAP (CLASS A-3) 210.000 TON	EXTENSION
	# 0.400.00
Sessions Paving Company \$40.0000	\$8,400.00
Jarrett Builders, Inc. \$36.0000	\$7,560.00
Civil Constructors, LLC \$74.0000	\$15,540.00
712-01 TRAFFIC CONTROL	
1.000 LS	
Sessions Paving Company \$143,000.0000	\$143,000.00
Jarrett Builders, Inc. \$123,000.0000	\$123,000.00
Civil Constructors, LLC \$43,385.0000	\$43,385.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)	
130.000 EACH	
Sessions Paving Company \$30.0000	\$3,900.00
Jarrett Builders, Inc. \$22.0000	\$2,860.00
Civil Constructors, LLC \$34.0000	\$4,420.00
712-05.01 WARNING LIGHTS (TYPE A)	
130.000 EACH	
Sessions Paving Company \$35.0000	\$4,550.00
Jarrett Builders, Inc. \$33.3000	\$4,329.00
Civil Constructors, LLC \$29.0000	\$3,770.00
Ψ=0.0000	4 0,1100
712-06 SIGNS (CONSTRUCTION)	
344.000 S.F.	
Sessions Paving Company \$10.0000	\$3,440.00
Jarrett Builders, Inc. \$7.7500	\$2,666.00
Civil Constructors, LLC \$6.8000	\$2,339.20
712-08.03 ARROW BOARD (TYPE C)	
3.000 EACH	
Sessions Paving Company \$1,200.0000	\$3,600.00
Jarrett Builders, Inc. \$975.0000	\$2,925.00
Civil Constructors, LLC \$1,690.0000	\$5,070.00
Ţ,,ooolooo	ψο,σ. σ.σσ
713-11.01 "U" SECTION STEEL POSTS	
81.000 LB.	
Sessions Paving Company \$6.0000	\$486.00
Jarrett Builders, Inc. \$5.6000	\$453.60
Civil Constructors, LLC \$4.0000	\$324.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)	
18.000 S.F.	
Sessions Paving Company \$20.0000	\$360.00
Jarrett Builders, Inc. \$20.5000	\$369.00
Civil Constructors, LLC \$16.0000	\$288.00
	•

			UNIT PRICE	EXTENSION
			UNIT PRICE	EXTENSION
713-14 21	STREET NAME SIGN (RIGID 0.100IN THICK			
710 14.21	CINCLI NAME GION (NIGIS GIOGNI IIIIGI	60.000 S.F.		
	Sessions Paving Company	00.000 0.1 .	\$25.0000	\$1,500.00
	Jarrett Builders, Inc.		\$25.5000	\$1,530.00
	Civil Constructors, LLC		\$16.0000	\$960.00
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT			
		1.000 EACH		
	Sessions Paving Company		\$125.0000	\$125.00
	Jarrett Builders, Inc.		\$111.0000	\$111.00
	Civil Constructors, LLC		\$771.0000	\$771.00
713-16.20	SIGNS (R10-5)			
		2.000 EACH		
	Sessions Paving Company		\$100.0000	\$200.00
	Jarrett Builders, Inc.		\$89.0000	\$178.00
	Civil Constructors, LLC		\$225.0000	\$450.00
740 40 04	CICNG (D3 ED)			
713-10.21	SIGNS (R3-5R)	4 000 5 4 011		
	Sassiana Daving Company	1.000 EACH	¢400,0000	£100.00
	Sessions Paving Company Jarrett Builders, Inc.		\$100.0000 \$89.0000	\$100.00 \$89.00
	Civil Constructors, LLC		\$225.0000	\$225.00
			,	•
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		210.000 L.F.		
	Sessions Paving Company		\$15.0000	\$3,150.00
	Jarrett Builders, Inc.		\$16.7500	\$3,517.50
	Civil Constructors, LLC		\$17.0000	\$3,570.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		19.000 EACH		
	Sessions Paving Company		\$200.0000	\$3,800.00
	Jarrett Builders, Inc.		\$222.2500	\$4,222.75
	Civil Constructors, LLC		\$225.0000	\$4,275.00
716-03 01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
710-03.01	TEASTIC WORD FAVEMENT MARKING (ONET)	C 000 FACU		
	Sessions Paving Company	6.000 EACH	\$350.0000	¢2 100 00
	Jarrett Builders, Inc.		\$389.0000	\$2,100.00 \$2,334.00
	Civil Constructors, LLC		\$393.0000	\$2,358.00
	57711 5571517 451515, 225		ψοσο.σσσσ	Ψ2,000.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
		2.000 EACH		
	Sessions Paving Company		\$250.0000	\$500.00
	Jarrett Builders, Inc.		\$278.0000	\$556.00
	Civil Constructors, LLC		\$281.0000	\$562.00

1.000 EACH

725-02.79 FIBER SPLICE ENCLOSURE(AERIAL)

Sessions Paving Company

Jarrett Builders, Inc.

Civil Constructors, LLC

\$1,260.00

\$1,400.00

\$606.00

\$1,260.0000

\$1,400.0000

\$606.0000

				CONTRACT CNR937
			UNIT PRICE	EXTENSION
725-03.09 E	THERNET SWITCH (TYPE A)			
		2.000 EACH		
	Sessions Paving Company		\$1,960.0000	\$3,920.00
	arrett Builders, Inc. Civil Constructors, LLC		\$2,175.0000 \$2,020.0000	\$4,350.00 \$4,040.00
C	onstructors, ELO		ψ2,020.0000	Ψ+,0+0.00
725-23.21 F	BER OPTIC DROP CABLE (12 F)			
		400.000 L.F.		
S	Sessions Paving Company		\$2.6000	\$1,040.00
	arrett Builders, Inc.		\$2.9000	\$1,160.00
C	Civil Constructors, LLC		\$2.0000	\$800.00
725-23 31 F	BER OPTIC DROP PANEL (12 F)			
725-25.51	BERGI TO BROTT AREE (121)	1.000 EACH		
S	Sessions Paving Company	1.000 EAGIT	\$1,260.0000	\$1,260.00
	arrett Builders, Inc.		\$1,400.0000	\$1,400.00
C	Civil Constructors, LLC		\$691.0000	\$691.00
730-01.02 R	REMOVAL OF SIGNAL EQUIPMENT	4 000 54 011		
0	Passiona Payling Commony	1.000 EACH	\$4.500.0000	¢4 500 00
	Sessions Paving Company arrett Builders, Inc.		\$1,500.0000 \$1,675.0000	\$1,500.00 \$1,675.00
	Civil Constructors, LLC		\$1,070.0000	\$1,070.00
730-02.09 S	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
		7.000 EACH		
	Sessions Paving Company		\$670.0000	\$4,690.00
	arrett Builders, Inc. Sivil Constructors, LLC		\$745.0000 \$881.0000	\$5,215.00 \$6,167.00
C	JVIII CONSTRUCTORS, ELC		φοσ1.0000	φο, 107.00
730-02.17 S	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)			
		1.000 EACH		
S	Sessions Paving Company		\$1,170.0000	\$1,170.00
	arrett Builders, Inc.		\$1,300.0000	\$1,300.00
C	Civil Constructors, LLC		\$1,440.0000	\$1,440.00
730 - 02 30 S	SIGNAL HEAD ASSEMBLY (130 A3 WITH BACKPLATE)			
700 02.00 0	NOTAL HEAD ACCEMBET (100 AC WITH BACKLEATE)	8.000 EACH		
S	Sessions Paving Company	0.000 EAOH	\$670.0000	\$5,360.00
	arrett Builders, Inc.		\$745.0000	\$5,960.00
	Civil Constructors, LLC		\$887.0000	\$7,096.00
730-03.21 IN	NSTALL PULL BOX (TYPE B)			

5.000 EACH

Sessions Paving Company

Jarrett Builders, Inc.

Civil Constructors, LLC

\$1,750.00 \$1,950.00

\$2,470.00

\$350.0000

\$390.0000

\$494.0000

	UNIT PRICE	EXTENSION
730-03.23 INSTALL PULL BOX (FIBER OPTIC-TYPE A)		
2.000 E	EACH	
Sessions Paving Company	\$500.0000	\$1,000.00
Jarrett Builders, Inc.	\$560.0000	\$1,120.00
Civil Constructors, LLC	\$1,595.0000	\$3,190.00
730-05.01 ELECTRICAL SERVICE CONNECTION		
1.000 E	EACH	
Sessions Paving Company	\$2,500.0000	\$2,500.00
Jarrett Builders, Inc.	\$2,775.0000	\$2,775.00
Civil Constructors, LLC	\$1,360.0000	\$1,360.00
730-05.02 SERVICE CABLE (2 CONDUCTOR, # 8 AWG)		
900.000 L	F.	
Sessions Paving Company	\$2.1600	\$1,944.00
Jarrett Builders, Inc.	\$2.4000	\$2,160.00
Civil Constructors, LLC	\$2.0000	\$1,800.00
730-08.03 SIGNAL CABLE - 7 CONDUCTOR		
1,600.000 L	F.	
Sessions Paving Company	\$1.5000	\$2,400.00
Jarrett Builders, Inc.	\$1.7500	\$2,800.00
Civil Constructors, LLC	\$1.4500	\$2,320.00
730-08.05 SIGNAL CABLE - 12 CONDUCTOR		
700.000 L	F.	
Sessions Paving Company	\$2.0000	\$1,400.00
Jarrett Builders, Inc.	\$2.2000	\$1,540.00
Civil Constructors, LLC	\$1.8000	\$1,260.00
730-11.10 RISER ASSEMBLY (2")		
2.000 E	EACH	
Sessions Paving Company	\$350.0000	\$700.00
Jarrett Builders, Inc.	\$390.0000	\$780.00
Civil Constructors, LLC	\$315.0000	\$630.00
730-12.16 CONDUIT (2" DIAMETER, SCH 80 PVC, DIRECTIONAL DRILLED)		
750.000 L	F.	
Sessions Paving Company	\$22.0000	\$16,500.00
Jarrett Builders, Inc.	\$24.4000	\$18,300.00
Civil Constructors, LLC	\$15.0000	\$11,250.00
730-12.17 CONDUIT (2" DIAMETER SCH 80 PVC)		
475.000 L	F.	
Sessions Paving Company	\$8.0000	\$3,800.00
Jarrett Builders, Inc.	\$8.9000	\$4,227.50
Civil Constructors, LLC	\$11.0000	\$5,225.00

				CONTRACT CNR937
			UNIT PRICE	EXTENSION
720 42 00	VEHICLE DETECTOR (DADAR)			
730-13.08	VEHICLE DETECTOR (RADAR)	4.000 EACH		
	Sessions Paving Company	4.000 EACH	\$7,101.0000	\$28,404.00
	Jarrett Builders, Inc.		\$7,900.0000	\$31,600.00
	Civil Constructors, LLC		\$7,970.0000	\$31,880.00
730-15.32	CABINET (EIGHT PHASE BASE MOUNTED)			
		1.000 EACH		
	Sessions Paving Company		\$14,074.0000	\$14,074.00
	Jarrett Builders, Inc.		\$15,638.0000	\$15,638.00 \$45,035,00
	Civil Constructors, LLC		\$15,275.0000	\$15,275.00
730-16.02	EIGHT PHASE ACTUATED CONTROLLER			
		1.000 EACH		
	Sessions Paving Company		\$3,842.0000	\$3,842.00
	Jarrett Builders, Inc.		\$4,269.0000	\$4,269.00
	Civil Constructors, LLC		\$4,490.0000	\$4,490.00
720 22 00	CANTILEVER SIGNAL SUPPORT (1 ARM @ 45')			
730-23.00	CANTILEVER SIGNAL SUPPORT (TARM @ 45)	1.000 EACH		
	Sessions Paving Company	1.000 EACH	\$13,572.0000	\$13,572.00
	Jarrett Builders, Inc.		\$15,080.0000	\$15,080.00
	Civil Constructors, LLC		\$17,060.0000	\$17,060.00
730-23.96	CANTILEVER SIGNAL SUPPORT (1 ARM @ 60')			
		3.000 EACH		
	Sessions Paving Company		\$17,029.0000	\$51,087.00
	Jarrett Builders, Inc.		\$18,925.0000	\$56,775.00
	Civil Constructors, LLC		\$19,950.0000	\$59,850.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		360.000 S.Y.		
	Sessions Paving Company		\$6.0000	\$2,160.00
	Jarrett Builders, Inc.		\$2.2000	\$792.00
	Civil Constructors, LLC		\$3.5000	\$1,260.00
798-06 48	FIBER STORAGE LOOP			
730-00.40	TIBER OTORAGE EGGI	1.000 EACH		
	Sessions Paving Company	1.000 LACI1	\$600.0000	\$600.00
	Jarrett Builders, Inc.		\$675.0000	\$675.00
	Civil Constructors, LLC		\$393.0000	\$393.00
801-03	WATER (SEEDING & SODDING)			
301 00	(0225110 & 0055110)	62.000 M.G.		
	Sessions Paving Company	02.000 N.G.	\$25.0000	\$1,550.00
	Jarrett Builders, Inc.		\$25.0000 \$15.0000	\$930.00
	Civil Constructors, LLC		\$113.0000	\$7,006.00
			Ţ. 10.0000	φ.,σσσ.σσ

			СО	NTRACT CNR937
			UNIT PRICE	EXTENSION
803-01	SODDING (NEW SOD)			
		6,200.000 S.Y.		
	Sessions Paving Company		\$4.2500	\$26,350.00
	Jarrett Builders, Inc.		\$3.5000	\$21,700.00

\$6.8500

\$42,470.00

Civil Constructors, LLC

	UNIT PRICE	EXTENSION
UTILITY CATEGORY		
795-01.03 6IN DIP RESTRAINED JOINT WATER LINE		
50.	000 L.F.	
Sessions Paving Company	\$100.0000	\$5,000.00
Jarrett Builders, Inc.	\$116.0000	\$5,800.00
Civil Constructors, LLC	\$316.0000	\$15,800.00
795-01.05 8IN DIP RESTRAINED JOINT WATER LINE		
130.0	000 L.F.	
Sessions Paving Company	\$100.0000	\$13,000.00
Jarrett Builders, Inc.	\$110.0000	\$14,300.00
Civil Constructors, LLC	\$292.0000	\$37,960.00
795-01.09 12IN DIP RESTRAINED JOINT WATER LINE		
100.0	000 L.F.	
Sessions Paving Company	\$150.0000	\$15,000.00
Jarrett Builders, Inc.	\$129.0000	\$12,900.00
Civil Constructors, LLC	\$330.0000	\$33,000.00
795-01.15 18IN DIP RESTRAINED JOINT WATER LINE		
125.0	000 L.F.	
Sessions Paving Company	\$212.0000	\$26,500.00
Jarrett Builders, Inc.	\$176.0000	\$22,000.00
Civil Constructors, LLC	\$387.0000	\$48,375.00
795-06.05 CONNECT TO 8IN WATER LINE		
3.0	000 EACH	
Sessions Paving Company	\$1,500.0000	\$4,500.00
Jarrett Builders, Inc.	\$1,700.0000	\$5,100.00
Civil Constructors, LLC	\$3,080.0000	\$9,240.00
795-06.07 CONNECT TO 12IN WATER LINE		
2.0	000 EACH	
Sessions Paving Company	\$2,500.0000	\$5,000.00
Jarrett Builders, Inc.	\$1,940.0000	\$3,880.00
Civil Constructors, LLC	\$2,890.0000	\$5,780.00
795-06.10 CONNECT TO 18IN WATER LINE		
2.0	000 EACH	
Sessions Paving Company	\$3,500.0000	\$7,000.00
Jarrett Builders, Inc.	\$3,025.0000	\$6,050.00
Civil Constructors, LLC	\$4,510.0000	\$9,020.00
795-06.38 CUT AND CAP 14IN WATERLINE		
1.0	000 EACH	
Sessions Paving Company	\$4,000.0000	\$4,000.00
Jarrett Builders, Inc.	\$2,025.0000	\$2,025.00
Civil Constructors, LLC	\$2,270.0000	\$2,270.00

		CO	NTRACT CNR93
		UNIT PRICE	EXTENSION
795-07.05 8IN X 6IN TAPPING SLEEVE AND VALVE			
	2.000 EACH		
Sessions Paving Company		\$7,500.0000	\$15,000.00
Jarrett Builders, Inc.		\$6,400.0000	\$12,800.00
Civil Constructors, LLC		\$7,620.0000	\$15,240.00
795-08.05 8IN GATE VALVE ASSEMBLY			
	1.000 EACH		
Sessions Paving Company		\$2,000.0000	\$2,000.00
Jarrett Builders, Inc.		\$4,100.0000	\$4,100.00
Civil Constructors, LLC		\$1,640.0000	\$1,640.00
795-09.09 RELOCATE/RECONNECT SERVICE ASSEMBLY			
	10.000 EACH		
Sessions Paving Company		\$500.0000	\$5,000.00
Jarrett Builders, Inc.		\$1,200.0000	\$12,000.00
Civil Constructors, LLC		\$1,040.0000	\$10,400.00
795-09.28 3/4IN COPPER SERVICE PIPE			
	500.000 L.F.		
Sessions Paving Company		\$20.0000	\$10,000.00
Jarrett Builders, Inc.		\$72.0000	\$36,000.00
Civil Constructors, LLC		\$91.0000	\$45,500.00
795-09.29 1IN COPPER SERVICE PIPE			
	50.000 L.F.		
Sessions Paving Company		\$30.0000	\$1,500.00
Jarrett Builders, Inc.		\$75.0000	\$3,750.00
Civil Constructors, LLC		\$114.0000	\$5,700.00
795-11.02 FIRE HYDRANT ASSEMBLY			
	2.000 EACH		
Sessions Paving Company		\$3,500.0000	\$7,000.00
Jarrett Builders, Inc.		\$3,800.0000	\$7,600.00
Civil Constructors, LLC		\$4,190.0000	\$8,380.00
795-12.01 REMOVE FIRE HYDRANT			
	2.000 EACH		
Sessions Paving Company		\$1,500.0000	\$3,000.00
Jarrett Builders, Inc.		\$1,350.0000	\$2,700.00
Civil Constructors, LLC		\$1,220.0000	\$2,440.00
795-12.07 REMOVE EXISITNG VALVE			
	2.000 EACH		
Sessions Paving Company		\$500.0000	\$1,000.00
Jarrett Builders, Inc.		\$1,350.0000	\$2,700.00
Civil Constructors, LLC		\$881.0000	\$1,762.00

CONTRACT	CNR937
----------	---------------

		CC	MIRACI CNR937
		UNIT PRICE	EXTENSION
795-13.01 DI FITTINGS			
	2,100.000 LB.		
Sessions Paving Company		\$5.0000	\$10,500.00
Jarrett Builders, Inc.		\$8.9000	\$18,690.00
Civil Constructors, LLC		\$6.5000	\$13,650.00
795-14.05 CONCRETE ENCASEMENT			
	10.000 L.F.		
Sessions Paving Company		\$300.0000	\$3,000.00
Jarrett Builders, Inc.		\$83.0000	\$830.00
Civil Constructors, LLC		\$136.0000	\$1,360.00
795-16.15 RELOCATE/RECONNECT BA	CKFLOW ASSEMBLY		
	1.000 EACH		
Sessions Paving Company		\$3,500.0000	\$3,500.00
Jarrett Builders, Inc.		\$6,250.0000	\$6,250.00
Civil Constructors, LLC		\$2,780.0000	\$2,780.00
797-11.15 48IN MH ADJUSTMENT INCR	EASE HEIGHT		
	2.000 V.F.		
Sessions Paving Company		\$500.0000	\$1,000.00
Jarrett Builders, Inc.		\$675.0000	\$1,350.00
Civil Constructors, LLC		\$1,140.0000	\$2,280.00
798-06.48 FIBER STORAGE LOOP			
	1.000 EACH		
Sessions Paving Company		\$300.0000	\$300.00
Jarrett Builders, Inc.		\$675.0000	\$675.00
Civil Constructors, LLC		\$393.0000	\$393.00

SUB-TOTAL ROADWAY

Sessions Paving Company Jarrett Builders, Inc. Civil Constructors, LLC	\$1,322,305.35 \$1,292,078.50 \$1,268,693.85
SUB-TOTAL UTILITY	
Sessions Paving Company	\$142,800.00
Jarrett Builders, Inc.	\$181,500.00
Civil Constructors, LLC	\$272,970.00
TOTAL CONTRACT	
Sessions Paving Company	\$1,465,105.35
Jarrett Builders, Inc.	\$1,473,578.50
Civil Constructors, LLC	\$1,541,663.85

JOHNSON COUNTY (Contract No. CNR940 Call 003)

BRZ-4600(23),46946-3405-94

THE CONSTRUCTION OF A CONCRETE BOX BRIDGE ON FORGE ROAD OVER FORGE CREEK (L.M. 1.86), INCLUDING GRADING, DRAINAGE, RETAINING WALL AND PAVING.

PROJECT LENGTH - 0.057 MILES

COMPLETION TIME - ON OR BEFORE MARCH 15, 2018

DBE GOAL 5.50%

TOTAL CONTRACT

Adams Contracting, LLC

\$596,161.25

Summers-Taylor, Inc.

\$769,382.10

CONTRACT	CNR940
CONTINACI	CINICOTO

			CC	NTRACT CNR940
BO A DW/	AV CATECORY		UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Adams Contracting, LLC		\$10,000.0000	\$10,000.00
	Summers-Taylor, Inc.		\$8,810.0000	\$8,810.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Adams Contracting, LLC		\$25,000.0000	\$25,000.00
	Summers-Taylor, Inc.		\$19,500.0000	\$19,500.00
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
		550.000 S.Y.		
	Adams Contracting, LLC		\$18.0000	\$9,900.00
	Summers-Taylor, Inc.		\$7.7000	\$4,235.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		7.000 C.Y.		
	Adams Contracting, LLC		\$75.0000	\$525.00
	Summers-Taylor, Inc.		\$73.5000	\$514.50
203-30.01	ROADWAY APPROACHES			
		1.000 LS		
	Adams Contracting, LLC		\$35,000.0000	\$35,000.00
	Summers-Taylor, Inc.		\$55,330.0000	\$55,330.00
209-05	SEDIMENT REMOVAL			
		23.000 C.Y.		
	Adams Contracting, LLC		\$18.0000	\$414.00
	Summers-Taylor, Inc.		\$46.5000	\$1,069.50
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		346.000 L.F.		
	Adams Contracting, LLC		\$4.0000	\$1,384.00
	Summers-Taylor, Inc.		\$4.9500	\$1,712.70
209-08.07	ROCK CHECK DAM PER			
		1.000 EACH		
	Adams Contracting, LLC		\$375.0000	\$375.00
	Summers-Taylor, Inc.		\$760.0000	\$760.00
209-08.08	ENHANCED ROCK CHECK DAM			
		1.000 EACH		
	Adams Contracting, LLC		\$475.0000	\$475.00
	Summers-Taylor, Inc.		\$1,150.0000	\$1,150.00
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		1.000 EACH		
	Adams Contracting, LLC		\$400.0000	\$400.00
	Summers-Taylor, Inc.		\$1,160.0000	\$1,160.00
				PAGE

				CONTRACT CNR940
			UNIT PRICE	EXTENSION
209-40.41	CATCH BASIN FILTER ASSEMBLY(TYPE 1)			
		1.000 EACH		
	Adams Contracting, LLC		\$250.0000	\$250.00
	Summers-Taylor, Inc.		\$826.0000	\$826.00
209-65.04	TEMPORARY IN STREAM DIVERSION			
		125.000 L.F.		
	Adams Contracting, LLC		\$50.0000	\$6,250.00
	Summers-Taylor, Inc.		\$65.0000	\$8,125.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
000 01	mineral Accrecate, THEA BACE, CRADING D	430.000 TON		
	Adams Contracting, LLC		\$38.0000	\$16,340.00
	Summers-Taylor, Inc.		\$46.0000	\$19,780.00
202 04 02	ODANIJI AD DAOKEUL (DETAINING WALLS)			
303-01.03	GRANULAR BACKFILL (RETAINING WALLS)	220.000 TON		
	Adams Contracting, LLC	220.000 TON	\$38.0000	\$8,360.00
	Summers-Taylor, Inc.		\$44.5000	\$9,790.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	A	7.000 TON	Фод одоо	# 000 00
	Adams Contracting, LLC Summers-Taylor, Inc.		\$38.0000 \$29.5000	\$266.00 \$206.50
			,	
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
		119.000 TON		
	Adams Contracting, LLC		\$150.0000	\$17,850.00 \$47,850.00
	Summers-Taylor, Inc.		\$150.0000	\$17,850.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M	2		
		77.000 TON		
	Adams Contracting, LLC		\$150.0000	\$11,550.00
	Summers-Taylor, Inc.		\$150.0000	\$11,550.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		1.000 TON		
	Adams Contracting, LLC		\$850.0000	\$850.00
	Summers-Taylor, Inc.		\$850.0000	\$850.00
402.02	ACCRECATE FOR COVER MATERIAL (RC)			
402-02	AGGREGATE FOR COVER MATERIAL (PC)	4.000 TON		
	Adams Contracting, LLC	7.000 TON	\$50.0000	\$200.00
	Summers-Taylor, Inc.		\$50.0000	\$200.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			

1.000 TON

Adams Contracting, LLC

Summers-Taylor, Inc.

\$850.00

\$850.00

\$850.0000

\$850.0000

			CONTRACT CNR940
		UNIT PRICE	EXTENSION
411-01.10 ACS MIX(PG64-22) GRADING D	54 000 TON		
Adama Contracting LLC	51.000 TON	\$150.0000	\$7.6E0.00
Adams Contracting, LLC Summers-Taylor, Inc.		\$150.0000	\$7,650.00 \$7,650.00
		**********	4 1,02000
607-39.02 18" PIPE CULVERT (SIDE DRAIN)			
	31.000 L.F.		
Adams Contracting, LLC		\$75.0000	\$2,325.00
Summers-Taylor, Inc.		\$90.5000	\$2,805.50
611-42.01 CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
	1.000 EACH		
Adams Contracting, LLC		\$3,500.0000	\$3,500.00
Summers-Taylor, Inc.		\$3,120.0000	\$3,120.00
621-05.02 TEMPORARY SHORING			
OLY GOOD TERM OF GOOD OF THE CONTROL	1.000 LS		
Adams Contracting, LLC		\$5,000.0000	\$5,000.00
Summers-Taylor, Inc.		\$49,885.0000	\$49,885.00
TOT OLD A METAL DEAM OLD DE FENOE			
705-01.04 METAL BEAM GUARD FENCE	400 000 1 5		
Adams Contracting, LLC	108.000 L.F.	\$72.5000	\$7,830.00
Summers-Taylor, Inc.		\$72.5000 \$52.5000	\$5,670.00
• •			
705-02.02 SINGLE GUARDRAIL (TYPE 2)			
	325.000 L.F.		
Adams Contracting, LLC Summers-Taylor, Inc.		\$19.2500 \$16.0000	\$6,256.25 \$5,200.00
Summers-rayior, inc.		\$10.0000	φ5,200.00
705-04.03 GUARDRAIL TERMINAL (TYPE 13)			
	1.000 EACH		
Adams Contracting, LLC		\$650.0000	\$650.00
Summers-Taylor, Inc.		\$850.0000	\$850.00
705-04.04 GUARDRAIL TERMINAL (TYPE 21)			
,	5.000 EACH		
Adams Contracting, LLC		\$2,050.0000	\$10,250.00
Summers-Taylor, Inc.		\$1,725.0000	\$8,625.00
705-04.05 GUARDRAIL TERMINAL (TYPE-IN-LINE)			
703-04.03 GOARDRAIL TERMINAL (TTFE-IN-LINE)	3.000 EACH		
Adams Contracting, LLC	0.000 EAGIT	\$650.0000	\$1,950.00
Summers-Taylor, Inc.		\$575.0000	\$1,725.00
705-08.51 PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3	0.000 E4.011		
Adams Contracting, LLC	2.000 EACH	\$6,500.0000	\$13,000.00
Summers-Taylor, Inc.		\$4,500.0000	\$9,000.00
		¥ .,000,000	40,0000

				CONTRACT CNR940
			UNIT PRICE	EXTENSION
707 02 42	DOCK ANCHOR TYPE I			
707-02.43	ROCK ANCHOR, TYPE I	100.000 L.F.		
	Adams Contracting, LLC	100.000 E.11 .	\$140.0000	\$14,000.00
	Summers-Taylor, Inc.		\$445.0000	\$44,500.00
707-10.06	ROCKFALL DRAPE (TYPE II)			
		160.000 S.Y.		
	Adams Contracting, LLC		\$180.0000	\$28,800.00
	Summers-Taylor, Inc.		\$255.0000	\$40,800.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		50.000 TON		_
	Adams Contracting, LLC Summers-Taylor, Inc.		\$50.0000 \$59.5000	\$2,500.00 \$2,975.00
	Summers-rayior, mc.		φ59.5000	\$2,975.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		12.000 TON		
	Adams Contracting, LLC		\$50.0000	\$600.00
	Summers-Taylor, Inc.		\$88.0000	\$1,056.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
		150.000 TON		
	Adams Contracting, LLC		\$50.0000	\$7,500.00
	Summers-Taylor, Inc.		\$55.0000	\$8,250.00
710-13.03	FILTER CLOTH			
		40.000 S.Y.		
	Adams Contracting, LLC		\$6.0000	\$240.00
	Summers-Taylor, Inc.		\$14.0000	\$560.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Adams Contracting, LLC		\$25,000.0000	\$25,000.00
	Summers-Taylor, Inc.		\$17,500.0000	\$17,500.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		200.000 L.F.		
	Adams Contracting, LLC		\$35.0000	\$7,000.00
	Summers-Taylor, Inc.		\$55.0000	\$11,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		20.000 EACH		
	Adams Contracting, LLC		\$35.0000	\$700.00
	Summers-Taylor, Inc.		\$30.0000	\$600.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Adams Contracting, LLC		\$30.0000 \$15.0000	\$120.00 \$60.00

Summers-Taylor, Inc.

\$60.00

\$15.0000

CONTRACT	CNR940
----------	---------------

			CC	MIRACI CNR940
			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
		342.000 S.F.		
	Adams Contracting, LLC	5 1 <u>2</u> 1555 511 1	\$7.0000	\$2,394.00
	Summers-Taylor, Inc.		\$9.0000	\$3,078.00
	Canimore rayion, inc.		ψ0.0000	ψο,ο/ο.οο
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		40.000 L.F.		
	Adams Contracting, LLC		\$15.0000	\$600.00
	Summers-Taylor, Inc.		\$10.5000	\$420.00
713-11.01	"U" SECTION STEEL POSTS			
		130.000 LB.		
	Adams Contracting, LLC		\$3.5000	\$455.00
	Summers-Taylor, Inc.		\$14.0000	\$1,820.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
110 10102	TEXT GIVE THE TEXT OF THE COURT	18.000 S.F.		
	Adoma Contraction III C	16.000 S.F.	#4.4.0000	¢050.00
	Adams Contracting, LLC Summers-Taylor, Inc.		\$14.0000 \$25.0000	\$252.00 \$450.00
	Summers-rayion, mo.		ψ23.0000	Ψ430.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	Adams Contracting, LLC		\$2,500.0000	\$2,500.00
	Summers-Taylor, Inc.		\$525.0000	\$525.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Adams Contracting, LLC		\$6,200.0000	\$12,400.00
	Summers-Taylor, Inc.		\$3,000.0000	\$6,000.00
716-13 01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
710-13.01	STRAT THERMOT VIIIT MIRRIAG (00 IIII) (4114 EINE)	4 000 1 14		
		1.000 L.M.	# 4.000.000	# 4.000.00
	Adams Contracting, LLC Summers-Taylor, Inc.		\$4,000.0000 \$4,995.0000	\$4,000.00 \$4,995.00
	Summers-rayior, mc.		φ 4 ,995.0000	φ4,995.00
717-01	MOBILIZATION			
		1.000 LS		
	Adams Contracting, LLC		\$28,000.0000	\$28,000.00
	Summers-Taylor, Inc.		\$59,220.0000	\$59,220.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	, ,,	179.000 S.Y.		
	Adams Contracting, LLC		\$2.7500	\$492.25
	Summers-Taylor, Inc.		\$7.3500	\$1,315.65
740 44 02	TEMPORARY SEDIMENT TUBE 18IN			
140-11.03	ILMIFORARI SEDIMENI IUDE IOIN	275.000 L.F.		
	Adams Contracting, LLC	=: 5:000 =:: 1	\$3.2500	\$893.75
	Summers-Taylor, Inc.		\$4.2500	\$1,168.75
	•		,	, , 555

CON		CNR9	

UNIT PRICE EXTENSION

805-12.02 EROSION CONTROL BLANKET (TYPE II)

50.000 S.Y.

 Adams Contracting, LLC
 \$2.5000
 \$125.00

 Summers-Taylor, Inc.
 \$2.2000
 \$110.00

	UNIT PRICE	EXTENSION
BOX BRIDGE CATEGORY		
202-04.50 REMOVAL OF STRUCTURES (SLAB BRIDGE, STA. 13+50.00)		
1.000 LS		
Adams Contracting, LLC	\$35,000.0000	\$35,000.00
Summers-Taylor, Inc.	\$45,200.0000	\$45,200.00
604-02.01 CLASS A CONCRETE (BOX BRIDGES)		
216.000 C.Y.		
Adams Contracting, LLC	\$795.0000	\$171,720.00
Summers-Taylor, Inc.	\$985.0000	\$212,760.00
604-02.02 STEEL BAR REINFORCEMENT (BOX BRIDGES)		
46,219.000 LB.		
Adams Contracting, LLC	\$1.0000	\$46,219.00
Summers-Taylor, Inc.	\$1.0000	\$46,219.00

SUB-TOTAL ROADWAY

Adams Contracting, LLC	\$343,222.25
Summers-Taylor, Inc.	\$465,203.10

SUB-TOTAL BOX BRIDGE

Adams Contracting, LLC	\$252,939.00
Summers-Taylor, Inc.	\$304,179.00

TOTAL CONTRACT

Adams Contracting, LLC	\$596,161.25
Summers-Taylor, Inc.	\$769,382.10

ANDERSON COUNTY (Contract No. CNR224 Call 005)

NH/HSIP-61(43),01005-3239-94,01005-8239-14

THE RESURFACING ON S.R. 61 FROM NEAR S.R. 95 (OAK RIDGE TURNPIKE) (L.M. 10.14) TO NEAR SUZANNE DRIVE (L.M. 13.72).

PROJECT LENGTH - 3.580 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

 Rogers Group, Inc.
 \$995,685.50

 Duracap Asphalt Paving Co., Inc.
 \$1,177,022.61

 APAC-Atlantic, Inc.
 \$1,458,370.05

			CONTINUE ONNE
		UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY		
110712117			
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	55.000	TON	
			¢20 500 00
	Rogers Group, Inc.	\$700.0000 \$770.0000	\$38,500.00 \$42,350.00
	Duracap Asphalt Paving Co., Inc.	\$770.0000	· ·
	APAC-Atlantic, Inc.	\$400.0000	\$22,000.00
411-02.10	ACS MIX(PG70-22) GRADING D		
	7,768.000	TON	
	Rogers Group, Inc.	\$79.0000	\$613,672.00
	Duracap Asphalt Paving Co., Inc.	\$95.6600	\$743,086.88
	APAC-Atlantic, Inc.	\$109.0000	\$846,712.00
		**********	4 0.10,1.1210
411 02 11	ACS MIV/DC70 22) CD ADING E DWDV		
411-02.11	ACS MIX(PG70-22) GRADING E RWDY		
	641.000	TON	
	Rogers Group, Inc.	\$73.1000	\$46,857.10
	Duracap Asphalt Paving Co., Inc.	\$114.8300	\$73,606.03
	APAC-Atlantic, Inc.	\$110.0000	\$70,510.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
	3.500	LM	
			#0.040.00
	Rogers Group, Inc.	\$860.0000	\$3,010.00
	Duracap Asphalt Paving Co., Inc.	\$1,571.0000	\$5,498.50
	APAC-Atlantic, Inc.	\$1,400.0000	\$4,900.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT		
	8,327.000	TON	
	Rogers Group, Inc.	\$11.9000	\$99,091.30
	Duracap Asphalt Paving Co., Inc.	\$11.0000	\$91,597.00
	APAC-Atlantic, Inc.	\$26.6500	\$221,914.55
		•	* ,
611-09 01	ADJUSTMENT OF EXISTING CATCHBASIN		
011-03.01			
	12.000		
	Rogers Group, Inc.	\$1,550.9000	\$18,610.80
	Duracap Asphalt Paving Co., Inc.	\$875.0000	\$10,500.00
	APAC-Atlantic, Inc.	\$400.0000	\$4,800.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT		
	4.000	EACH	
	Rogers Group, Inc.	\$1,800.0000	\$7,200.00
	Duracap Asphalt Paving Co., Inc.	\$1,900.0000	\$7,600.00
		\$2,250.0000	\$9,000.00
	APAC-Atlantic, Inc.	φ ∠ ,∠30.0000	φ9,000.00
705 00 00	TANGENT ENERGY ARGORDING TERM MAGUET		
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3		
	13.000	EACH	
	Rogers Group, Inc.	\$2,700.0000	\$35,100.00
	Duracap Asphalt Paving Co., Inc.	\$2,835.0000	\$36,855.00
	APAC-Atlantic, Inc.	\$3,300.0000	\$42,900.00
		. ,	. ,

			00	NINACI CNN224
			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED			
		650.000 L.F.		
	Rogers Group, Inc.		\$2.0000	\$1,300.00
	Duracap Asphalt Paving Co., Inc.		\$2.2000	\$1,430.00
	APAC-Atlantic, Inc.		\$2.5000	\$1,625.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$16,385.0000	\$16,385.00
	Duracap Asphalt Paving Co., Inc.		\$30,000.0000	\$30,000.00
	APAC-Atlantic, Inc.		\$50,000.0000	\$50,000.00
712-04 01	FLEXIBLE DRUMS (CHANNELIZING)			
712-04.01	LEXIBLE BROWN (SHAMILLIZING)	261.000 EACH		
	Rogers Group, Inc.	2011000 271011	\$5.0500	\$1,318.05
	Duracap Asphalt Paving Co., Inc.		\$25.0000	\$6,525.00
	APAC-Atlantic, Inc.		\$10.0000	\$2,610.00
	, .		•	* ,
712-05.01	WARNING LIGHTS (TYPE A)			
		130.000 EACH		
	Rogers Group, Inc.		\$2.1000	\$273.00
	Duracap Asphalt Paving Co., Inc.		\$2.0000	\$260.00
	APAC-Atlantic, Inc.		\$2.5000	\$325.00
	0.010 (0.010-0.10-0.1)			
712-06	SIGNS (CONSTRUCTION)	700 000 0 5		
	Danier Orașie Ira	709.000 S.F.	Ф 7 0500	CE 440.05
	Rogers Group, Inc.		\$7.2500 \$7.2000	\$5,140.25 \$5,104.80
	Duracap Asphalt Paving Co., Inc. APAC-Atlantic, Inc.		\$9.0000	\$6,381.00
	Al Ao-Allantio, Inc.		φ9.0000	ψ0,301.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Rogers Group, Inc.		\$825.0000	\$1,650.00
	Duracap Asphalt Paving Co., Inc.		\$825.0000	\$1,650.00
	APAC-Atlantic, Inc.		\$1,000.0000	\$2,000.00
716-01.11	RAISED PVMT MARKERS (BI-DIRECTIONAL) (1 COLOR LEN	S)		
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	259.000 EACH		
	Rogers Group, Inc.		\$8.0000	\$2,072.00
	Duracap Asphalt Paving Co., Inc.		\$14.3000	\$3,703.70
	APAC-Atlantic, Inc.		\$17.0000	\$4,403.00
716-01 12	RAISED PVMT MARKERS (MONO-DIRECTIONAL) (1 COLOR	LENS)		
710-01.12	. INSIDED I VIII INAMELIO (INONO-DIRECTIONAL) (I OCLOR	461.000 EACH		
	Rogers Group, Inc.		\$8.0000	\$3,688.00
	Duracap Asphalt Paving Co., Inc.		\$14.3000	\$6,592.30
	APAC-Atlantic, Inc.		\$17.0000	\$7,837.00
				·

		UNIT PRICE	EXTENSION
		UNIT PRICE	EXTENSION
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
,	93.000 S.Y.		
Rogers Group, Inc.	00.000 0	\$18.0000	\$1,674.00
Duracap Asphalt Paving Co., Inc.		\$19.8000	\$1,841.40
APAC-Atlantic, Inc.		\$22.5000	\$2,092.50
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
	30.000 L.F.		
Rogers Group, Inc.		\$10.0000	\$300.00
Duracap Asphalt Paving Co., Inc.		\$10.5000	\$315.00
APAC-Atlantic, Inc.		\$12.5000	\$375.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
,	26.000 EACH		
Rogers Group, Inc.		\$150.0000	\$3,900.00
Duracap Asphalt Paving Co., Inc.		\$157.5000	\$4,095.00
APAC-Atlantic, Inc.		\$185.0000	\$4,810.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	17.000 L.M.	A 405 0000	AT 005 00
Rogers Group, Inc.		\$425.0000	\$7,225.00
Duracap Asphalt Paving Co., Inc. APAC-Atlantic, Inc.		\$446.0000 \$525.0000	\$7,582.00 \$8,925.00
Al Ao-Allantic, Inc.		ψ323.0000	ψ0,920.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	17.000 L.M.		
Rogers Group, Inc.		\$3,800.0000	\$64,600.00
Duracap Asphalt Paving Co., Inc.		\$3,990.0000	\$67,830.00
APAC-Atlantic, Inc.		\$4,750.0000	\$80,750.00
747.04 MODILIZATION			
717-01 MOBILIZATION	4 000 L C		
Rogers Group, Inc.	1.000 LS	\$18,044.0000	\$18,044.00
Duracap Asphalt Paving Co., Inc.		\$21,500.0000	\$21,500.00
APAC-Atlantic, Inc.		\$50,000.0000	\$50,000.00
730-14.02 SAW SLOT			
	1,500.000 L.F.		
Rogers Group, Inc.		\$2.6500	\$3,975.00
Duracap Asphalt Paving Co., Inc.		\$3.0000	\$4,500.00
APAC-Atlantic, Inc.		\$7.0000	\$10,500.00
730-14.03 LOOP WIRE			
	3,000.000 L.F.		
Rogers Group, Inc.	-,3	\$0.7000	\$2,100.00
Duracap Asphalt Paving Co., Inc.		\$1.0000	\$3,000.00
APAC-Atlantic, Inc.		\$1.0000	\$3,000.00

SUB-TOTAL ROADWAY

Rogers Group, Inc.	\$995,685.50
Duracap Asphalt Paving Co., Inc.	\$1,177,022.61
APAC-Atlantic, Inc.	\$1,458,370.05

TOTAL CONTRACT

Rogers Group, Inc.	\$995,685.50
Duracap Asphalt Paving Co., Inc.	\$1,177,022.61
APAC-Atlantic, Inc.	\$1,458,370.05

CAMPBELL COUNTY (Contract No.	CNR225	Call	006	١
-------------------	--------------	--------	------	-----	---

07015-4222-04

THE RESURFACING ON S.R. 297 FROM S.R. 63 (L.M. 0.00) TO NEAR ELK FORK ROAD (L.M. 5.47).

PROJECT LENGTH - 5.370 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

TOTAL CONTRACT

Rogers Group, Inc.

\$795,502.40

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNR225 EXTENSION		
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D					
	Rogers Group, Inc.	600.000 TON	\$28.6500	\$17,190.00		
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)					
	Rogers Group, Inc.	39.000 TON	\$430.0000	\$16,770.00		
411-01.10	ACS MIX(PG64-22) GRADING D					
	Rogers Group, Inc.	5,946.000 TON	\$86.0500	\$511,653.30		
411-12.04	411-12.04 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDTH)					
	Rogers Group, Inc.	8.600 L.M.	\$525.0000	\$4,515.00		
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	5 004 000 TON				
	Rogers Group, Inc.	5,884.000 TON	\$14.8000	\$87,083.20		
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	1.000 EACH				
	Rogers Group, Inc.	1.000 EACH	\$1,828.0000	\$1,828.00		
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	1.000 EACH				
	Rogers Group, Inc.	1.000 EACH	\$2,890.0000	\$2,890.00		
712-01	TRAFFIC CONTROL	1.000 LS				
	Rogers Group, Inc.	1.000 LS	\$11,063.0000	\$11,063.00		
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	386.000 EACH				
	Rogers Group, Inc.	300.000 EACH	\$5.2500	\$2,026.50		
712-05.01	WARNING LIGHTS (TYPE A)	193.000 EACH				
	Rogers Group, Inc.	199.000 EAGI1	\$2.1000	\$405.30		
712-06	SIGNS (CONSTRUCTION)	758.000 S.F.				
	Rogers Group, Inc.	133,333	\$7.7000	\$5,836.60		
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)	355.000 EACH				
	Rogers Group, Inc.	333.000 EAGH	\$32.1000	\$11,395.50		

			UNIT PRICE	CONTRACT CNR225 EXTENSION
716-02.04 I	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
F	Rogers Group, Inc.	31.000 S.Y.	\$22.0000	\$682.00
716-02.05 I	PLASTIC PAVEMENT MARKING (STOP LINE)			
F	Rogers Group, Inc.	384.000 L.F.	\$12.0000	\$4,608.00
716-05.01 I	PAINTED PAVEMENT MARKING (4" LINE)			
F	Rogers Group, Inc.	22.000 L.M.	\$460.0000	\$10,120.00
716-12.02 I	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
F	Rogers Group, Inc.	22.000 L.M.	\$3,980.0000	\$87,560.00
717-01	MOBILIZATION			

Rogers Group, Inc.

1.000 LS

\$19,876.0000

\$19,876.00

Rogers Group, Inc. \$795,502.40

TOTAL CONTRACT

Rogers Group, Inc. \$795,502.40

CHEATHAM COUNTY (Contract No. CNR234 Call 007)

11024-4234-04

THE RESURFACING ON S.R. 249 FROM NORTH OF DEERFOOT DRIVE (L.M. 8.00) TO S.R. 251 (L.M. 12.71).

PROJECT LENGTH - 4.710 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

	TOTAL CONTRACT
Eubank Asphalt Paving & Sealing	\$586,081.00
Jones Bros. Contractors, LLC	\$748,341.33
Vulcan Construction Materials, LLC	\$751,965.00
Tennessee Valley Paving Co., Inc.	\$840,250.75

		UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY		
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	1,3	99.000 TON	
	Eubank Asphalt Paving & Sealing	\$15.0000	\$20,985.00
	Jones Bros. Contractors, LLC	\$15.0000	\$20,985.00
	Vulcan Construction Materials, LLC	\$23.0000	\$32,177.00
	Tennessee Valley Paving Co., Inc.	\$26.0000	\$36,374.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	5	00.000 TON	
	Eubank Asphalt Paving & Sealing	\$50.0000	\$25,000.00
	Jones Bros. Contractors, LLC	\$80.0000	\$40,000.00
	Vulcan Construction Materials, LLC	\$71.0000	\$35,500.00
	Tennessee Valley Paving Co., Inc.	\$90.0000	\$45,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
		35.000 TON	
	Eubank Asphalt Paving & Sealing	\$300.0000	\$10,500.00
	Jones Bros. Contractors, LLC	\$515.0000	\$18,025.00
	Vulcan Construction Materials, LLC	\$650.0000	\$22,750.00
	Tennessee Valley Paving Co., Inc.	\$650.0000	\$22,750.00
411-01.10	ACS MIX(PG64-22) GRADING D		
	5,2	99.000 TON	
	Eubank Asphalt Paving & Sealing	\$68.0000	\$360,332.00
	Jones Bros. Contractors, LLC	\$82.0000	\$434,518.00
	Vulcan Construction Materials, LLC	\$82.0000	\$434,518.00
	Tennessee Valley Paving Co., Inc.	\$89.2500	\$472,935.75
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
		7.600 L.M.	
	Eubank Asphalt Paving & Sealing	\$200.0000	\$1,520.00
	Jones Bros. Contractors, LLC	\$525.0000	\$3,990.00
	Vulcan Construction Materials, LLC	\$525.0000	\$3,990.00
	Tennessee Valley Paving Co., Inc.	\$2,000.0000	\$15,200.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT		
	5,0	67.000 TON	
	Eubank Asphalt Paving & Sealing	\$12.0000	\$60,804.00
	Jones Bros. Contractors, LLC	\$18.0000	\$91,206.00
	Vulcan Construction Materials, LLC	\$20.0000	\$101,340.00
	Tennessee Valley Paving Co., Inc.	\$22.0000	\$111,474.00
712-01	TRAFFIC CONTROL		
		1.000 LS	
	Eubank Asphalt Paving & Sealing	\$5,000.0000	\$5,000.00
	Jones Bros. Contractors, LLC	\$20,000.0000	\$20,000.00
	Vulcan Construction Materials, LLC	\$16,925.0000	\$16,925.00
	Tennessee Valley Paving Co., Inc.	\$24,500.0000	\$24,500.00

		UNIT PRICE	EXTENSION
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
, ,	25.000 EACH		
Eubank Asphalt Paving & Sealing		\$5.0000	\$125.00
Jones Bros. Contractors, LLC		\$5.7000	\$142.50
Vulcan Construction Materials, LLC		\$5.0000	\$125.00
Tennessee Valley Paving Co., Inc.		\$40.0000	\$1,000.00
712-05.01 WARNING LIGHTS (TYPE A)			
	4.000 EACH		
Eubank Asphalt Paving & Sealing		\$5.0000	\$20.00
Jones Bros. Contractors, LLC		\$5.7000	\$22.80
Vulcan Construction Materials, LLC		\$5.0000	\$20.00
Tennessee Valley Paving Co., Inc.		\$50.0000	\$200.00
712-06 SIGNS (CONSTRUCTION)			
	520.000 S.F.		
Eubank Asphalt Paving & Sealing		\$6.0000	\$3,120.00
Jones Bros. Contractors, LLC		\$7.9500	\$4,134.00
Vulcan Construction Materials, LLC		\$9.5000	\$4,940.00
Tennessee Valley Paving Co., Inc.		\$15.0000	\$7,800.00
713-16.20 SIGNS (R2-1)			
	3.000 EACH		
Eubank Asphalt Paving & Sealing		\$125.0000	\$375.00
Jones Bros. Contractors, LLC		\$230.0000	\$690.00
Vulcan Construction Materials, LLC		\$180.0000	\$540.00
Tennessee Valley Paving Co., Inc.		\$300.0000	\$900.00
716-01.21 Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	311.000 EACH		
Eubank Asphalt Paving & Sealing		\$30.0000	\$9,330.00
Jones Bros. Contractors, LLC		\$34.1000	\$10,605.10
Vulcan Construction Materials, LLC		\$30.0000	\$9,330.00
Tennessee Valley Paving Co., Inc.		\$35.0000	\$10,885.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	311.000 EACH		
Eubank Asphalt Paving & Sealing		\$10.0000	\$3,110.00
Jones Bros. Contractors, LLC		\$11.3500	\$3,529.85
Vulcan Construction Materials, LLC		\$10.0000	\$3,110.00
Tennessee Valley Paving Co., Inc.		\$12.0000	\$3,732.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
	16.000 L.F.		
Eubank Asphalt Paving & Sealing		\$15.0000	\$240.00
Jones Bros. Contractors, LLC		\$17.0500	\$272.80
Vulcan Construction Materials, LLC		\$15.0000	\$240.00
Tennessee Valley Paving Co., Inc.		\$20.0000	\$320.00

		•	CONTRACT CNR234
		UNIT PRICE	EXTENSION
746 02 02 DI ASTIC WORD DAVEMENT MADVING (STOR AUEAD)			
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)	4 000 54 011		
5 1 1 4 1 1 1 B 1 1 0 0 11	1.000 EACH	# =00.000	# =00.00
Eubank Asphalt Paving & Sealing		\$500.0000	\$500.00
Jones Bros. Contractors, LLC		\$568.2000	\$568.20
Vulcan Construction Materials, LLC		\$500.0000	\$500.00
Tennessee Valley Paving Co., Inc.		\$500.0000	\$500.00
716-04.16 PLASTIC PAVEMENT MARKING (NOISE STRIP)			
	132.000 L.F.		
Eubank Asphalt Paving & Sealing		\$10.0000	\$1,320.00
Jones Bros. Contractors, LLC		\$11.3500	\$1,498.20
Vulcan Construction Materials, LLC		\$10.0000	\$1,320.00
Tennessee Valley Paving Co., Inc.		\$15.0000	\$1,980.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	15.600 L.M.		
Eubank Asphalt Paving & Sealing		\$750.0000	\$11,700.00
Jones Bros. Contractors, LLC		\$852.3000	\$13,295.88
Vulcan Construction Materials, LLC		\$750.0000	\$11,700.00
Tennessee Valley Paving Co., Inc.		\$800.0000	\$12,480.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LII	NE)		
710-12.02 ENHANCED PEATEINE THERMO FAMIL MIKKING (OIN EI	4∟) 6.100 L.M.		
Eubank Asphalt Paving & Sealing	0.100 E.M.	\$5,000.0000	\$30,500.00
Jones Bros. Contractors, LLC		\$5,680.0000	\$34,648.00
Vulcan Construction Materials, LLC		\$5,000.0000	\$30,500.00
Tennessee Valley Paving Co., Inc.		\$5,200.0000	\$31,720.00
, C			. ,
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	9.500 L.M.		
Eubank Asphalt Paving & Sealing		\$2,800.0000	\$26,600.00
Jones Bros. Contractors, LLC		\$3,180.0000	\$30,210.00
Vulcan Construction Materials, LLC		\$2,800.0000	\$26,600.00
Tennessee Valley Paving Co., Inc.		\$3,000.0000	\$28,500.00
717-01 MOBILIZATION			
	1.000 LS		
Eubank Asphalt Paving & Sealing		\$15,000.0000	\$15,000.00
Jones Bros. Contractors, LLC		\$20,000.0000	\$20,000.00
Vulcan Construction Materials, LLC		\$15,840.0000	\$15,840.00
Tennessee Valley Paving Co., Inc.		\$12,000.0000	\$12,000.00

Eubank Asphalt Paving & Sealing	\$586,081.00
Jones Bros. Contractors, LLC	\$748,341.33
Vulcan Construction Materials, LLC	\$751,965.00
Tennessee Valley Paving Co., Inc.	\$840,250.75

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing	\$586,081.00
Jones Bros. Contractors, LLC	\$748,341.33
Vulcan Construction Materials, LLC	\$751,965.00
Tennessee Valley Paving Co., Inc.	\$840,250.75

HAMBLEN COUNTY (Contract No. CNR232 Call 009)

HSIP-32(86),32951-3201-94

THE INSTALLATION OF SOLAR POWERED FLASHING BEACONS ON S.R. 32 AT WITT ELEMENTARY SCHOOL IN MORRISTOWN, INCLUDING CONSTRUCTION OF A TURN LANE (L.M. 1.68 - L.M. 2.13).

PROJECT LENGTH - 0.450 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

APAC-Atlantic, Inc.

\$234,141.50

CONTRACT	CNR232
CONTRACT	CINKZ3Z

			CONTRACT CNR232
ROADWAY CATEGORY		UNIT PRICE	EXTENSION
203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	500 000 O V		
APAC-Atlantic, Inc.	500.000 C.Y.	\$38.5500	\$19,275.00
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)	550.000 L.F.		
APAC-Atlantic, Inc.	330.000 E.i .	\$8.0000	\$4,400.00
209-08.08 ENHANCED ROCK CHECK DAM	2.000 EACH		
APAC-Atlantic, Inc.		\$1,800.0000	\$3,600.00
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D	765.000 TON		
APAC-Atlantic, Inc.		\$45.5000	\$34,807.50
307-02.01 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A	230.000 TON		
APAC-Atlantic, Inc.		\$125.0000	\$28,750.00
307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2	78.000 TON		
APAC-Atlantic, Inc.		\$170.0000	\$13,260.00
402-01 BITUMINOUS MATERIAL FOR PRIME COAT (PC)	1.000 TON	4	
APAC-Atlantic, Inc. 402-02 AGGREGATE FOR COVER MATERIAL (PC)		\$1,300.0000	\$1,300.00
APAC-Atlantic, Inc.	4.000 TON	\$31.0000	\$124.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)		φ31.0000	\$1 24. 00
APAC-Atlantic, Inc.	1.000 TON	\$670.0000	\$670.00
411-02.10 ACS MIX(PG70-22) GRADING D		**********	******
APAC-Atlantic, Inc.	58.000 TON	\$215.0000	\$12,470.00
709-05.06 MACHINED RIP-RAP (CLASS A-1)			
APAC-Atlantic, Inc.	50.000 TON	\$60.0000	\$3,000.00
712-01 TRAFFIC CONTROL			
APAC-Atlantic, Inc.	1.000 LS	\$19,250.0000	\$19,250.00

			UNIT PRICE	CONTRACT CNR232 EXTENSION
713-15.02	REMOVAL & RELOCATION OF SIGN & SUPPORT			
	APAC-Atlantic, Inc.	2.000 EACH	\$125.0000	\$250.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
	APAC-Atlantic, Inc.	2.000 EACH	\$125.0000	\$250.00
713-16.20	SIGNS (S1-1)			
	APAC-Atlantic, Inc.	2.000 EACH	\$300.0000	\$600.00
713-16.21	SIGNS (TN-9)			
	APAC-Atlantic, Inc.	2.000 EACH	\$300.0000	\$600.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	APAC-Atlantic, Inc.	3.000 EACH	\$210.0000	\$630.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	APAC-Atlantic, Inc.	0.200 L.M.	\$18,000.0000	\$3,600.00
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
	APAC-Atlantic, Inc.	200.000 L.F.	\$2.0000	\$400.00
717-01	MOBILIZATION			
	APAC-Atlantic, Inc.	1.000 LS	\$30,000.0000	\$30,000.00
730-01.02	REMOVAL OF SIGNAL EQUIPMENT			
	APAC-Atlantic, Inc.	2.000 EACH	\$1,800.0000	\$3,600.00
730-01.08	SCHOOL SPEED LIMIT FLASHING SIGNAL INSTALLED			
	APAC-Atlantic, Inc.	4.000 EACH	\$3,550.0000	\$14,200.00
730-01.12	SOLAR PANEL & POWER SYSTEM UNIT			
	APAC-Atlantic, Inc.	4.000 EACH	\$1,600.0000	\$6,400.00
730-23.72	CANTILEVER SIGNAL SUPPORT (1 ARM @ 35')			
	APAC-Atlantic, Inc.	2.000 EACH	\$8,100.0000	\$16,200.00

				CONTRACT CNR232
			UNIT PRICE	EXTENSION
700 04 04	FOUNDATION (CIONAL OURDORT)			
730-24.01	FOUNDATION (SIGNAL SUPPORT)	2.000 EACH		
	APAC-Atlantic, Inc.	2.000 EAGI1	\$6,400.0000	\$12,800.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	ADAG Astronom	55.000 S.Y.	444.0000	# 20 5 22
	APAC-Atlantic, Inc.		\$11.0000	\$605.00
740-11.01	TEMPORARY SEDIMENT TUBE 8IN			
		100.000 L.F.		

\$31.0000

\$3,100.00

APAC-Atlantic, Inc.

APAC-Atlantic, Inc. \$234,141.50

TOTAL CONTRACT

APAC-Atlantic, Inc. \$234,141.50

HAMILTON COUNTY (Contract No. CNR031 Call 010)

33002-4172-04, HSIP-I-24-3(93), 33003-3164-94

THE REPAIR OF THE BRIDGE ON I-24 OVER CHESTNUT STREET AND THE CSX RAILROAD AND MISCELLANEOUS SAFETY IMPROVEMENTS ON I-24 BRIDGES OVER CSX RAILROAD AND I-124.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

DBE GOAL 6.00%

	TOTAL CONTRACT
Dement Construction Company, LLC	\$2,118,003.30
Jones Bros. Contractors, LLC	\$2,395,848.95
Kiewit Infrastructure South Co.	\$3,037,428.20
Mid-State Construction Company, Inc.	\$6,447,059.45

		CONTRACT CNR03
	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
406-04.03 HIGH FRICTION SURFACE TREATMENT (SINGLE LIFT)		
	2,650.000 S.Y.	
Dement Construction Company, LLC	\$17.0000	\$45,050.00
Jones Bros. Contractors, LLC	\$17.0000	\$45,050.00
Kiewit Infrastructure South Co.	\$20.0000	\$53,000.00
Mid-State Construction Company, Inc.	\$22.1000	\$58,565.00
406-04.04 HIGH FRICTION SURFACE TREATMENT (DOUBLE LIFT)		
	6,965.000 S.Y.	
Dement Construction Company, LLC	\$33.0000	\$229,845.00
Jones Bros. Contractors, LLC	\$33.0000	\$229,845.00
Kiewit Infrastructure South Co.	\$38.0000	\$264,670.00
Mid-State Construction Company, Inc.	\$42.9000	\$298,798.50
501-01.03 PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 10"		
	1,000.000 S.Y.	
Dement Construction Company, LLC	\$80.0000	\$80,000.00
Jones Bros. Contractors, LLC	\$80.0000	\$80,000.00
Kiewit Infrastructure South Co.	\$110.0000	\$110,000.00
Mid-State Construction Company, Inc.	\$195.0000	\$195,000.00
502-03.13 CONCRETE PAVEMENT REMOVAL		
•	1,000.000 S.Y.	
Dement Construction Company, LLC	\$10.0000	\$10,000.00
Jones Bros. Contractors, LLC	\$40.0000	\$40,000.00
Kiewit Infrastructure South Co.	\$25.0000	\$25,000.00
Mid-State Construction Company, Inc.	\$55.9000	\$55,900.00
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)		
	30.000 S.Y.	
Dement Construction Company, LLC	\$300.0000	\$9,000.00
Jones Bros. Contractors, LLC	\$350.0000	\$10,500.00
Kiewit Infrastructure South Co.	\$480.0000	\$14,400.00
Mid-State Construction Company, Inc.	\$353.1000	\$10,593.00
705-01.01 GUARDRAIL AT BRIDGE ENDS		
	27.000 L.F.	_
Dement Construction Company, LLC	\$70.0000	\$1,890.00
Jones Bros. Contractors, LLC	\$86.2000	\$2,327.40
Kiewit Infrastructure South Co.	\$150.0000 \$07.5000	\$4,050.00
Mid-State Construction Company, Inc.	\$97.5000	\$2,632.50
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT		

1.000 EACH

Dement Construction Company, LLC

Mid-State Construction Company, Inc.

Jones Bros. Contractors, LLC

Kiewit Infrastructure South Co.

\$1,500.00

\$1,250.00

\$3,000.00

\$3,380.00

\$1,500.0000

\$1,250.0000

\$3,000.0000

\$3,380.0000

			UNIT PRICE	EXTENSION
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
		75.000 L.F.		
	D 10 1 5 0 110	75.000 L.F.	#0.5000	# 000 F 0
	Dement Construction Company, LLC		\$3.5000	\$262.50
	Jones Bros. Contractors, LLC		\$4.0600	\$304.50
	Kiewit Infrastructure South Co.		\$4.0000	\$300.00
	Mid-State Construction Company, Inc.		\$4.5600	\$342.00
705 00 00	TANASHT SUSDAY ADARDING TSDM MAGUTI A			
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		1.000 EACH		
	Dement Construction Company, LLC		\$2,600.0000	\$2,600.00
	Jones Bros. Contractors, LLC		\$3,975.0000	\$3,975.00
	Kiewit Infrastructure South Co.		\$4,000.0000	\$4,000.00
	Mid-State Construction Company, Inc.		\$3,575.0000	\$3,575.00
706-01	GUARDRAIL REMOVED			
		63.000 L.F.		
	Dement Construction Company, LLC		\$1.0000	\$63.00
	Jones Bros. Contractors, LLC		\$3.0000	\$189.00
	Kiewit Infrastructure South Co.		\$3.0000	\$189.00
	Mid-State Construction Company, Inc.		\$2.6000	\$163.80
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Dement Construction Company, LLC		\$27,500.0000	\$27,500.00
	Jones Bros. Contractors, LLC		\$50,000.0000	\$50,000.00
	Kiewit Infrastructure South Co.		\$50,000.0000	\$50,000.00
	Mid-State Construction Company, Inc.		\$336,957.2700	\$336,957.27
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORT	ORTS)		
		0.500 C.Y.		
	Dement Construction Company, LLC		\$780.0000	\$390.00
	Jones Bros. Contractors, LLC		\$780.0000	\$390.00
	Kiewit Infrastructure South Co.		\$900.0000	\$450.00
	Mid-State Construction Company, Inc.		\$1,014.0000	\$507.00
	a State Series action Company,e.		ψ 1,0 1 110000	φσσσσ
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIG	N SUPPORTS)		
		101.000 LB.		
	Dement Construction Company, LLC		\$3.5000	\$353.50
	Jones Bros. Contractors, LLC		\$3.5000	\$353.50
	Kiewit Infrastructure South Co.		\$4.0000	\$404.00
	Mid-State Construction Company, Inc.		\$4.5500	\$459.55
	wid-State Construction Company, inc.		ψ4.5500	Ψ439.33
713-02.22	BARRIER WALL DELINEATION ENHANCEMENT			
		3,600.000 L.F.		
	Dement Construction Company, LLC	5,0001000 E11 1	\$4.5000	\$16,200.00
	Jones Bros. Contractors, LLC		\$4.5000 \$5.0000	\$16,200.00 \$18,000.00
	Kiewit Infrastructure South Co.		\$5.0000 \$5.0000	\$18,000.00
	Mid-State Construction Company, Inc.		\$5.8600	\$21,096.00

			UNIT PRICE	EXTENSION
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPP	PORT		
		300.000 LB.		
	Dement Construction Company, LLC		\$4.2000	\$1,260.00
	Jones Bros. Contractors, LLC		\$4.2000	\$1,260.00
	Kiewit Infrastructure South Co.		\$5.0000	\$1,500.00
	Mid-State Construction Company, Inc.		\$5.4600	\$1,638.00
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		172.000 S.F.		
	Dement Construction Company, LLC		\$26.0000	\$4,472.00
	Jones Bros. Contractors, LLC		\$26.0000	\$4,472.00
	Kiewit Infrastructure South Co.		\$35.0000	\$6,020.00
	Mid-State Construction Company, Inc.		\$33.8000	\$5,813.60
716-01.12	RAISED PVMT MARKERS (MONO-DIRECTIONAL) (1 COLO	OR LENS)		
		385.000 EACH		
	Dement Construction Company, LLC		\$8.0000	\$3,080.00
	Jones Bros. Contractors, LLC		\$8.0000	\$3,080.00
	Kiewit Infrastructure South Co.		\$10.0000	\$3,850.00
	Mid-State Construction Company, Inc.		\$10.4000	\$4,004.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		77.000 EACH		
	Dement Construction Company, LLC		\$45.0000	\$3,465.00
	Jones Bros. Contractors, LLC		\$45.0000	\$3,465.00
	Kiewit Infrastructure South Co.		\$52.0000	\$4,004.00
	Mid-State Construction Company, Inc.		\$58.5000	\$4,504.50
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)			
		78.000 EACH		
	Dement Construction Company, LLC		\$45.0000	\$3,510.00
	Jones Bros. Contractors, LLC		\$45.0000	\$3,510.00
	Kiewit Infrastructure South Co.		\$52.0000	\$4,056.00
	Mid-State Construction Company, Inc.		\$58.5000	\$4,563.00
716-01.40	REMOVE AND REPLACE LENS ON SNOWPLOWABLE RE	FLECTIVE MARKER		
		16.000 EACH		
	Dement Construction Company, LLC		\$10.0000	\$160.00
	Jones Bros. Contractors, LLC		\$10.0000	\$160.00
	Kiewit Infrastructure South Co.		\$12.0000	\$192.00
	Mid-State Construction Company, Inc.		\$13.0000	\$208.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		250.000 L.F.		
	Dement Construction Company, LLC		\$6.0000	\$1,500.00
	Jones Bros. Contractors, LLC		\$6.0000	\$1,500.00
	Kiewit Infrastructure South Co.		\$7.0000	\$1,750.00
	Mid-State Construction Company, Inc.		\$7.8000	\$1,950.00

CON	JTR	ΔСТ	CNR031
COI	4 I I \	701	CINITODI

				JATIKACI CIAKUSI
			UNIT PRICE	EXTENSION
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDE	R)		
		962.000 L.F.		
	Dement Construction Company, LLC		\$4.0000	\$3,848.00
	Jones Bros. Contractors, LLC		\$4.0000	\$3,848.00
	Kiewit Infrastructure South Co.		\$5.0000	\$4,810.00
	Mid-State Construction Company, Inc.		\$5.2000	\$5,002.40
716-10.50	PREFORMED PLASTIC PAVEMENT MARKING (INTERSTAT	re shield)		
		4.000 EACH		
	Dement Construction Company, LLC		\$2,000.0000	\$8,000.00
	Jones Bros. Contractors, LLC		\$2,000.0000	\$8,000.00
	Kiewit Infrastructure South Co.		\$2,500.0000	\$10,000.00
	Mid-State Construction Company, Inc.		\$2,600.0000	\$10,400.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		1.100 L.M.		
	Dement Construction Company, LLC		\$4,800.0000	\$5,280.00
	Jones Bros. Contractors, LLC		\$4,800.0000	\$5,280.00
	Kiewit Infrastructure South Co.		\$5,500.0000	\$6,050.00
	Mid-State Construction Company, Inc.		\$6,240.0000	\$6,864.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARF	RIER LINE)		
		275.000 L.F.		
	Dement Construction Company, LLC		\$3.0000	\$825.00
	Jones Bros. Contractors, LLC		\$3.0000	\$825.00
	Kiewit Infrastructure South Co.		\$4.0000	\$1,100.00
	Mid-State Construction Company, Inc.		\$3.9000	\$1,072.50
717-01	MOBILIZATION			
		1.000 LS		
	Dement Construction Company, LLC		\$100,000.0000	\$100,000.00
	Jones Bros. Contractors, LLC		\$250,000.0000	\$250,000.00
	Kiewit Infrastructure South Co.		\$148,000.0000	\$148,000.00
	Mid-State Construction Company, Inc.		\$534,392.4800	\$534,392.48

UNIT PRICE EXTENSION

			UNIT PRICE	EXTENSION
BRIDGE (CATEGORY			
201-07.01	REMOVAL AND DISPOSAL OF BRUSH & TREES			
		1.000 LS		
	Dement Construction Company, LLC	1.000 EO	\$5,000.0000	\$5,000.00
	Jones Bros. Contractors, LLC		\$5,000.0000	\$5,000.00
	Kiewit Infrastructure South Co.		\$30,000.0000	\$30,000.00
	Mid-State Construction Company, Inc.		\$75,408.7100	\$75,408.71
	The Gale Constitution Company, me		φ. ο, τοο το	ψ. ο, .σο
202-04.01	REMOVAL OF STRUCTURES (BR. NO. 33-I0024-07.61)			
	(1.000 LS		
	Dement Construction Company, LLC	1.000 L3	\$253,500.0000	\$253,500.00
	Jones Bros. Contractors, LLC		\$315,000.0000	\$315,000.00
	Kiewit Infrastructure South Co.		\$665,000.0000	\$665,000.00
	Mid-State Construction Company, Inc.		\$2,302,756.8800	\$2,302,756.88
	wild state constituction company, me.		Ψ2,002,700.0000	Ψ2,002,700.00
209-03.22	FILTER SOCK (18 INCH)			
		200.000 L.F.		
	Dement Construction Company, LLC	200.000 L.F.	\$10.0000	\$2,000.00
	Jones Bros. Contractors, LLC		\$8.0000	\$1,600.00
	Kiewit Infrastructure South Co.		\$10.0000 \$10.0000	\$2,000.00
	Mid-State Construction Company, Inc.		\$10.4000	\$2,080.00
	inid-State Constituction Company, inc.		ψ10.4000	Ψ2,000.00
604-02.03	EPOXY COATED REINFORCING STEEL			
		285,858.000 LB.		
	Dement Construction Company, LLC	200,000.000 LD.	\$0.8500	\$242,979.30
	Jones Bros. Contractors, LLC		\$0.9500	\$271,565.10
	Kiewit Infrastructure South Co.		\$1.0000	\$285,858.00
	Mid-State Construction Company, Inc.		\$1.2600	\$360,181.08
	The State Constituent Company, me.		Ψ1.2000	φοσο, το τισο
604-03.01	CLASS A CONCRETE (BRIDGES)			
	,	8.000 C.Y.		
	Dement Construction Company, LLC	0.000 0.11	\$1,200.0000	\$9,600.00
	Jones Bros. Contractors, LLC		\$1,075.0000	\$8,600.00
	Kiewit Infrastructure South Co.		\$500.0000	\$4,000.00
	Mid-State Construction Company, Inc.		\$1,577.5900	\$12,620.72
	The State Constituent Company, me.		ψ1,011.0000	ψ·2,020.72
604-03.02	STEEL BAR REINFORCEMENT (BRIDGES)			
	(301.000 LB.		
	Dement Construction Company, LLC	301.000 LD.	\$2.0000	\$602.00
	Jones Bros. Contractors, LLC		\$0.9500	\$285.95
	Kiewit Infrastructure South Co.		\$1.2000	\$361.20
	Mid-State Construction Company, Inc.		\$1.8300	\$550.83
	inid-State Construction Company, inc.		φ1.0300	φ330.63
604-03.04	PAVEMENT @ BRIDGE ENDS			
	5 5	243.000 S.Y.		
	Dement Construction Company, LLC	270.000 0.1.	\$265.0000	\$64,395.00
	Jones Bros. Contractors, LLC		\$265.0000 \$191.0000	\$46,413.00
	Kiewit Infrastructure South Co.		\$200.0000	\$48,600.00
	Mid-State Construction Company, Inc.		\$505.8200	\$122,914.26
	wild State Constitution Company, inc.		ψ000.0200	Ψ122,314.20

		C	UNIRACI CNRU31
		UNIT PRICE	EXTENSION
604-03.09 CLASS D CONCRETE (BRIDGE DECK)			
	711.000 C.Y.		
Dement Construction Company, LLC		\$715.0000	\$508,365.00
Jones Bros. Contractors, LLC		\$675.0000	\$479,925.00
Kiewit Infrastructure South Co.		\$777.0000	\$552,447.00
Mid-State Construction Company, Inc.		\$1,590.8900	\$1,131,122.79
604-04.02 APPLIED TEXTURE FINISH (EXISTING STRUCTURES)			
	4,425.000 S.Y.		
Dement Construction Company, LLC		\$7.5000	\$33,187.50
Jones Bros. Contractors, LLC		\$7.5000	\$33,187.50
Kiewit Infrastructure South Co.		\$9.0000	\$39,825.00
Mid-State Construction Company, Inc.		\$12.9400	\$57,259.50
604-10.05 CONCRETE			
	17.000 S.F.		
Dement Construction Company, LLC		\$250.0000	\$4,250.00
Jones Bros. Contractors, LLC		\$155.0000	\$2,635.00
Kiewit Infrastructure South Co.		\$500.0000	\$8,500.00
Mid-State Construction Company, Inc.		\$309.2100	\$5,256.57
604-10.42 CONCRETE REPAIRS			
	1.000 C.F.		
Dement Construction Company, LLC		\$2,500.0000	\$2,500.00
Jones Bros. Contractors, LLC		\$1,690.0000	\$1,690.00
Kiewit Infrastructure South Co.		\$2,000.0000	\$2,000.00
Mid-State Construction Company, Inc.		\$1,300.0000	\$1,300.00
604-10.54 CONCRETE REPAIRS			
	18.000 S.F.		
Dement Construction Company, LLC		\$200.0000	\$3,600.00
Jones Bros. Contractors, LLC		\$155.0000	\$2,790.00
Kiewit Infrastructure South Co.		\$350.0000	\$6,300.00
Mid-State Construction Company, Inc.		\$309.6100	\$5,572.98
604-10.55 CONCRETE (FOUNDATION REPAIRS)			
	2.000 C.Y.		
Dement Construction Company, LLC		\$2,500.0000	\$5,000.00
Jones Bros. Contractors, LLC		\$500.0000	\$1,000.00
Kiewit Infrastructure South Co.		\$1,500.0000	\$3,000.00
Mid-State Construction Company, Inc.		\$1,857.7500	\$3,715.50
604-10.58 EPOXY INJECTION (INJECTION)			
	12.000 GAL.		
Dement Construction Company, LLC		\$200.0000	\$2,400.00
Jones Bros. Contractors, LLC		\$110.0000	\$1,320.00
Kiewit Infrastructure South Co.		\$70.0000	\$840.00
Mid-State Construction Company, Inc.		\$143.0000	\$1,716.00

			UNIT PRICE	EXTENSION
604-10.62 EPOXY IN	IJECTION REPAIR (COMPLETE AND IN PLACE)			
		118.000 L.F.		
Dement C	Construction Company, LLC		\$60.0000	\$7,080.00
Jones Bro	os. Contractors, LLC		\$80.0000	\$9,440.00
Kiewit Info	rastructure South Co.		\$200.0000	\$23,600.00
Mid-State	Construction Company, Inc.		\$104.0000	\$12,272.00
620-03 CONCRE	TE PARAPET (STD-1-1)			
		535.000 L.F.		
Dement C	Construction Company, LLC		\$65.0000	\$34,775.00
Jones Bro	os. Contractors, LLC		\$80.0000	\$42,800.00
	rastructure South Co.		\$85.0000	\$45,475.00
Mid-State	Construction Company, Inc.		\$175.5000	\$93,892.50
620-03.10 CONCRE	TE PARAPET (MODIFIED STD-1-1)			
		524.000 L.F.		
Dement C	Construction Company, LLC		\$130.0000	\$68,120.00
Jones Bro	os. Contractors, LLC		\$170.0000	\$89,080.00
Kiewit Info	rastructure South Co.		\$290.0000	\$151,960.00
Mid-State	Construction Company, Inc.		\$339.6900	\$177,997.56
705-08.51 PORTABL	LE IMPACT ATTENUATOR NCHRP350 TL-3			
		3.000 EACH		
Dement C	Construction Company, LLC		\$5,000.0000	\$15,000.00
Jones Bro	os. Contractors, LLC		\$4,200.0000	\$12,600.00
Kiewit Info	rastructure South Co.		\$6,000.0000	\$18,000.00
Mid-State	Construction Company, Inc.		\$5,850.0000	\$17,550.00
705-10.28 CONCRE	TE BARRIER WALL FOR BRIDGE PIERS			
		15.000 L.F.		
Dement C	Construction Company, LLC		\$600.0000	\$9,000.00
Jones Bro	os. Contractors, LLC		\$220.0000	\$3,300.00
Kiewit Info	rastructure South Co.		\$200.0000	\$3,000.00
Mid-State	Construction Company, Inc.		\$331.1800	\$4,967.70
712-02.02 INTERCO	NNECTED PORTABLE BARRIER RAIL			
		3,410.000 L.F.		
Dement C	Construction Company, LLC		\$30.0000	\$102,300.00
Jones Bro	os. Contractors, LLC		\$35.0000	\$119,350.00
Kiewit Inf	rastructure South Co.		\$55.0000	\$187,550.00
Mid-State	Construction Company, Inc.		\$77.2500	\$263,422.50
712-04.01 FLEXIBLE	E DRUMS (CHANNELIZING)			
		125.000 EACH		
Dement 0	Construction Company, LLC		\$38.0000	\$4,750.00
	os. Contractors, LLC		\$30.0000	\$3,750.00
	rastructure South Co.		\$45.0000	\$5,625.00
	Construction Company, Inc.		\$41.6000	\$5,200.00

				CONTRACT CNR031
			UNIT PRICE	EXTENSION
712-04.50	PORTABLE BARRIER RAIL DELINEATOR			
		171.000 EACH		
	Dement Construction Company, LLC		\$10.0000	\$1,710.00
	Jones Bros. Contractors, LLC		\$14.0000	\$2,394.00
	Kiewit Infrastructure South Co.		\$12.0000	\$2,052.00
	Mid-State Construction Company, Inc.		\$16.2500	\$2,778.75
712-05.03	WARNING LIGHTS (TYPE C)			
		1.000 EACH		
	Dement Construction Company, LLC		\$40.0000	\$40.00
	Jones Bros. Contractors, LLC		\$25.0000	\$25.00
	Kiewit Infrastructure South Co.		\$50.0000	\$50.00
	Mid-State Construction Company, Inc.		\$37.7000	\$37.70
712-06	SIGNS (CONSTRUCTION)			
	,	1,014.000 S.F.		
	Dement Construction Company, LLC	.,	\$9.2500	\$9,379.50
	Jones Bros. Contractors, LLC		\$7.0000	\$7,098.00
	Kiewit Infrastructure South Co.		\$10.0000	\$10,140.00
	Mid-State Construction Company, Inc.		\$14.4300	\$14,632.02
712-08 03	ARROW BOARD (TYPE C)			
712-00.03	ARROW BOARD (TTT E 0)	1.000 EACH		
	Dement Construction Company, LLC	1.000 EACH	\$1,400.0000	\$1,400.00
	Jones Bros. Contractors, LLC		\$1,800.0000	\$1,800.00
	Kiewit Infrastructure South Co.		\$1,500.0000	\$1,500.00
	Mid-State Construction Company, Inc.		\$3,770.0000	\$3,770.00
712-08.10	MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
		200.000 HOUR		
	Dement Construction Company, LLC		\$98.0000	\$19,600.00
	Jones Bros. Contractors, LLC		\$100.0000 \$110.0000	\$20,000.00
	Kiewit Infrastructure South Co. Mid-State Construction Company, Inc.		\$110.0000 \$130.0000	\$22,000.00 \$26,000.00
	mid-State Constituction Company, inc.		φ130.0000	Ψ20,000.00
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		2,318.000 S.F.		
	Dement Construction Company, LLC		\$26.0000	\$60,268.00
	Jones Bros. Contractors, LLC		\$26.0000	\$60,268.00
	Kiewit Infrastructure South Co.		\$30.0000	\$69,540.00
	Mid-State Construction Company, Inc.		\$33.8000	\$78,348.40
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			

6.000 EACH

Dement Construction Company, LLC

Mid-State Construction Company, Inc.

Jones Bros. Contractors, LLC

Kiewit Infrastructure South Co.

PΑ	GE
----	----

\$37,200.00

\$37,200.00

\$42,000.00

\$30,420.00

\$6,200.0000

\$6,200.0000

\$7,000.0000

\$5,070.0000

			CINTRACT CINKUST
		UNIT PRICE	EXTENSION
713-17.30 MODIFY EXISTING OVERHEAD SIGN STRUCTURE			
	1.000 LS		
Dement Construction Company, LLC		\$8,500.0000	\$8,500.00
Jones Bros. Contractors, LLC		\$8,500.0000	\$8,500.00
Kiewit Infrastructure South Co.		\$11,000.0000	\$11,000.00
Mid-State Construction Company, Inc.		\$11,050.0000	\$11,050.00
716-01.06 TEMPORARY RAISED PAVEMENT MARKER, WHITE			
	70.000 EACH		
Dement Construction Company, LLC	10.000 EAGIT	\$8.0000	\$560.00
Jones Bros. Contractors, LLC		\$8.0000	\$560.00
Kiewit Infrastructure South Co.		\$10.0000	\$700.00
Mid-State Construction Company, Inc.		\$10.4000	\$728.00
716-01.07 TEMPORARY RAISED PAVEMENT MARKER, YELLOW			
	81.000 EACH		
Dement Construction Company, LLC		\$8.0000	\$648.00
Jones Bros. Contractors, LLC		\$8.0000	\$648.00
Kiewit Infrastructure South Co.		\$10.0000	\$810.00
Mid-State Construction Company, Inc.		\$10.4000	\$842.40
716-05.02 PAINTED PAVEMENT MARKING (8" BARRIER LINE)			
	16,800.000 L.F.		
Dement Construction Company, LLC		\$0.3000	\$5,040.00
Jones Bros. Contractors, LLC		\$0.3000	\$5,040.00
Kiewit Infrastructure South Co.		\$0.5000	\$8,400.00
Mid-State Construction Company, Inc.		\$0.3900	\$6,552.00
716-05.04 PAINTED PAVEMENT MARKING (CHANNELIZATION STRIPING	G)		
	200.000 S.Y.		
Dement Construction Company, LLC		\$8.0000	\$1,600.00
Jones Bros. Contractors, LLC		\$8.0000	\$1,600.00
Kiewit Infrastructure South Co.		\$10.0000	\$2,000.00
Mid-State Construction Company, Inc.		\$10.4000	\$2,080.00
THE COLOR DEMOVAL OF DAVEMENT MADIVING (OF DADDIED LINE)			
716-08.02 REMOVAL OF PAVEMENT MARKING (8" BARRIER LINE)	46 900 000 L E		
Demont Construction Comment II C	16,800.000 L.F.	#4.0000	# 40,000,00
Dement Construction Company, LLC		\$1.0000	\$16,800.00
Jones Bros. Contractors, LLC		\$1.0000	\$16,800.00
Kiewit Infrastructure South Co.		\$1.5000	\$25,200.00
Mid-State Construction Company, Inc.		\$1.3000	\$21,840.00
716-08.04 REMOVAL OF PAVEMENT MARKING (CHANNELIZATION STR	IPING)		
	200.000 S.Y.		
Dement Construction Company, LLC		\$12.0000	\$2,400.00
Jones Bros. Contractors, LLC		\$12.0000	\$2,400.00
Kiewit Infrastructure South Co.		\$14.0000	\$2,800.00
Mid-State Construction Company, Inc.		\$15.6000	\$3,120.00

			CONTRACT	CNR031
		UNIT PRICE	EXT	ENSION
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
	3.000 L.M.			

\$4,800.0000

\$4,800.0000

\$5,500.0000

\$6,240.0000

\$14,400.00

\$14,400.00

\$16,500.00

\$18,720.00

Dement Construction Company, LLC

Jones Bros. Contractors, LLC

Kiewit Infrastructure South Co. Mid-State Construction Company, Inc.

PΑ	GΕ
----	----

Dement Construction Company, LLC	\$560,054.00
Jones Bros. Contractors, LLC	\$765,784.40
Kiewit Infrastructure South Co.	\$738,795.00
Mid-State Construction Company, Inc.	\$1,568,382.10

SUB-TOTAL BRIDGE

Dement Construction Company, LLC	\$1,557,949.30
Jones Bros. Contractors, LLC	\$1,630,064.55
Kiewit Infrastructure South Co.	\$2,298,633.20
Mid-State Construction Company, Inc.	\$4,878,677.35

TOTAL CONTRACT

Dement Construction Company, LLC	\$2,118,003.30
Jones Bros. Contractors, LLC	\$2,395,848.95
Kiewit Infrastructure South Co.	\$3,037,428.20
Mid-State Construction Company, Inc.	\$6,447,059.45

HAMILTON COUNTY (Contract No. CNR218 Call 011)

NH/HSIP-2(250),33010-3232-94,33010-8232-14

THE RESURFACING ON U.S. 11 (S.R. 2) FROM THE MCCALLIE TUNNEL (L.M. 11.83) TO EAST OF MOORE ROAD (L.M. 13.85).

PROJECT LENGTH - 2.020 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

DBE GOAL 4.00%

TOTAL CONTRACT

Talley Construction Company, Inc.

\$1,402,872.07

Wright Brothers Construction Company, Inc.

\$1,542,500.50

CONTRACT CN

				CONTRACT CNR218
DO A DIMA	V OATEGODY		UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		100.000 S.Y.		
	Talley Construction Company, Inc.		\$81.4500	\$8,145.00
	Wright Brothers Construction Company, Inc.		\$43.0000	\$4,300.00
202-08.15	REMOVAL OF CURB AND GUTTER (DESCRIPTION)			
		526.000 L.F.		
	Talley Construction Company, Inc.		\$26.7800	\$14,086.28
	Wright Brothers Construction Company, Inc.		\$33.0000	\$17,358.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		39.000 TON		
	Talley Construction Company, Inc.		\$603.0600	\$23,519.34
	Wright Brothers Construction Company, Inc.		\$510.0000	\$19,890.00
411-02.10	ACS MIX(PG70-22) GRADING D			
		6,464.000 TON		
	Talley Construction Company, Inc.		\$105.6800	\$683,115.52
	Wright Brothers Construction Company, Inc.		\$118.0000	\$762,752.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		5,892.000 TON		
	Talley Construction Company, Inc.		\$25.9300	\$152,779.56
	Wright Brothers Construction Company, Inc.		\$33.0000	\$194,436.00
611-01.20	ADJUSTMENT OF EXISTING MANHOLE			
		16.000 EACH		
	Talley Construction Company, Inc.		\$669.4200	\$10,710.72
	Wright Brothers Construction Company, Inc.		\$645.0000	\$10,320.00
611-03.04	GRAY IRON CASTINGS (CATCHBASIN)			
		540.000 LB.		
	Talley Construction Company, Inc.		\$7.2500	\$3,915.00
	Wright Brothers Construction Company, Inc.		\$6.5000	\$3,510.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		2,332.000 S.F.		
	Talley Construction Company, Inc.		\$36.8400	\$85,910.88
	Wright Brothers Construction Company, Inc.		\$37.7000	\$87,916.40
702-03	CONCRETE COMBINED CURB & GUTTER			
		37.100 C.Y.		
	Talley Construction Company, Inc. Wright Brothers Construction Company, Inc.		\$446.2300 \$485.0000	\$16,555.13 \$17,993.50
712-01	TRAFFIC CONTROL	4.000 6		
	Talloy Construction Company Inc	1.000 LS	PGE 200 0000	PGE 200 00
	Talley Construction Company, Inc. Wright Brothers Construction Company, Inc.		\$65,300.0000 \$80,000.0000	\$65,300.00 \$80,000.00
	g.k Broaters constitution company, me.		Ψου,σου.σοσο	PAGE
				FAGE

			00	MINAGE GIVINE
			UNIT PRICE	EXTENSION
712-04.02	FLEXIBLE DRUMS (CHANNELIZATION)			
		150.000 EACH		
	Talley Construction Company, Inc.		\$5.5800	\$837.00
	Wright Brothers Construction Company, Inc.		\$5.3500	\$802.50
	Whight Brothers construction company, me.		ψο.σσσσ	ψ002.30
712-05.01	WARNING LIGHTS (TYPE A)			
		75.000 EACH		
	Talley Construction Company, Inc.		\$2.2300	\$167.25
	Wright Brothers Construction Company, Inc.		\$2.1500	\$161.25
712-06	SIGNS (CONSTRUCTION)			
		549.000 S.F.		
	Talley Construction Company, Inc.		\$7.5300	\$4,133.97
	Wright Brothers Construction Company, Inc.		\$7.2500	\$3,980.25
	Wight Broater Constitution Company, inc.		ψ1.2000	ψ0,000.20
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Talley Construction Company, Inc.		\$864.6700	\$1,729.34
	Wright Brothers Construction Company, Inc.		\$830.0000	\$1,660.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
		48.000 L.F.		
	Talley Construction Company, Inc.		\$7.2500	\$348.00
	Wright Brothers Construction Company, Inc.		\$7.0000	\$336.00
713-11.01	"U" SECTION STEEL POSTS			
	0.0000000000000000000000000000000000000	260.000 LB.		
	Talley Construction Company, Inc.		\$4.1700	\$1,084.20
	Wright Brothers Construction Company, Inc.		\$4.0000	\$1,040.00
	J 77		·	
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		371.000 LB.		
	Talley Construction Company, Inc.		\$4.6000	\$1,706.60
	Wright Brothers Construction Company, Inc.		\$4.3500	\$1,613.85
713-11.21	P POST SLIP BASE			
		12.000 EACH		
	Talley Construction Company, Inc.	12.000 EAGI1	\$446 E000	¢E 259 00
	Wright Brothers Construction Company, Inc.		\$446.5000 \$430.0000	\$5,358.00 \$5,160.00
	wright brothers Construction Company, inc.		φ 4 30.0000	\$ 5,160.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		48.300 S.F.		
	Talley Construction Company, Inc.		\$16.1900	\$781.98
	Wright Brothers Construction Company, Inc.		\$15.5000	\$748.65
	This is a second contraction of the second c		Ψ.σ.σσσσ	ψ. 10.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		99.000 S.F.		
	Talley Construction Company, Inc.		\$17.0000	\$1,683.00
	Wright Brothers Construction Company, Inc.		\$16.2500	\$1,608.75

CONTRACT	CNR218
----------	---------------

			C	ONIRACI CNR218
			UNIT PRICE	EXTENSION
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		17.000 EACH		
	Talley Construction Company, Inc.		\$22.3500	\$379.95
	Wright Brothers Construction Company, Inc.		\$21.5000	\$365.50
	Wight Broater Constitution Company, mo.		Ψ21.0000	φοσο.σσ
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Talley Construction Company, Inc.		\$12,275.0000	\$24,550.00
	Wright Brothers Construction Company, Inc.		\$4,500.0000	\$9,000.00
716-01 21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
710-01.21	Simpliable Fallit Mirkis (Bi-bil)(1 Color)	472.000 EACH		
	Tallan Canaton tion Comments to	472.000 EACH	#07.0000	#40.450.00
	Talley Construction Company, Inc. Wright Brothers Construction Company, Inc.		\$27.8800 \$27.0000	\$13,159.36 \$12,744.00
	whight brothers construction company, inc.		φ21.0000	φ12,744.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		392.000 EACH		
	Talley Construction Company, Inc.		\$27.8900	\$10,932.88
	Wright Brothers Construction Company, Inc.		\$27.0000	\$10,584.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		595.000 L.F.		
	Talley Construction Company, Inc.		\$9.7500	\$5,801.25
	Wright Brothers Construction Company, Inc.		\$9.4000	\$5,593.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIP	PING)		
	(25.000 S.Y.		
	Talley Construction Company, Inc.	20.000 0	\$18.6900	\$467.25
	Wright Brothers Construction Company, Inc.		\$18.0000	\$450.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		1,314.000 L.F.		
	Talley Construction Company, Inc.		\$10.0400	\$13,192.56
	Wright Brothers Construction Company, Inc.		\$9.6000	\$12,614.40
716-02 06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
710-02.00	TEACHOT AVEINENT MARKING (TORRE EARLE ARROW)	36.000 EACH		
	Talley Construction Company, Inc.	30.000 LACII	\$139.4500	\$5,020.20
	Wright Brothers Construction Company, Inc.		\$134.0000	\$4,824.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		79.000 L.F.		
	Talley Construction Company, Inc.		\$7.8100	\$616.99
	Wright Brothers Construction Company, Inc.		\$7.5000	\$592.50
716_02.00	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-	WAI K)		
1 10-02.09	LAGIIC FAVENIENT MARRING (LONGITUDINAL CROSS-	785.000 L.F.		
	Talley Construction Company, Inc.	/ 0J.UUU L.F.	\$19.2500	¢15 111 05
	Wright Brothers Construction Company, Inc.		\$19.2500 \$18.5000	\$15,111.25 \$14,522.50
	ringit Biotholo Constitution Company, inc.		ψ10.5000	Ψ1-7,022.00

			co	NTRACT CNR218
			UNIT PRICE	EXTENSION
716-03.09	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		1.000 EACH		
	Talley Construction Company, Inc.		\$195.2500	\$195.25
	Wright Brothers Construction Company, Inc.		\$200.0000	\$200.00
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARRO	ow)		
		1.000 EACH		
	Talley Construction Company, Inc.		\$195.2500	\$195.25
	Wright Brothers Construction Company, Inc.		\$200.0000	\$200.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		71.000 S.F.		
	Talley Construction Company, Inc.		\$11.1600	\$792.36
	Wright Brothers Construction Company, Inc.		\$10.6500	\$756.15
716-04.13	PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & A	RROW)		
		17.000 EACH		
	Talley Construction Company, Inc.		\$390.5000	\$6,638.50
	Wright Brothers Construction Company, Inc.		\$380.0000	\$6,460.00
716-04.15	PLASTIC PAVEMENT MARKING-BIKE SYMBOL/ARROW S	HARED		
		14.000 EACH		
	Talley Construction Company, Inc.		\$362.6000	\$5,076.40
	Wright Brothers Construction Company, Inc.		\$350.0000	\$4,900.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		18.000 L.M.		
	Talley Construction Company, Inc.		\$697.3100	\$12,551.58
	Wright Brothers Construction Company, Inc.		\$700.0000	\$12,600.00
716-10.30	TRUNCATED DOME DETECTABLE WARNING MAT			
		70.000 S.F.		
	Talley Construction Company, Inc.		\$39.0500	\$2,733.50
	Wright Brothers Construction Company, Inc.		\$40.0000	\$2,800.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		0.300 L.M.		
	Talley Construction Company, Inc.		\$2,091.9300	\$627.58
	Wright Brothers Construction Company, Inc.		\$2,000.0000	\$600.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		23.600 L.M.		
	Talley Construction Company, Inc.		\$2,454.5400	\$57,927.14
	Wright Brothers Construction Company, Inc.		\$2,350.0000	\$55,460.00
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LIN	NE)		
		250.000 L.F.		
	Talley Construction Company, Inc.		\$1.9500	\$487.50
	Wright Brothers Construction Company, Inc.		\$1.8500	\$462.50

				CONTRACT CNR218
			UNIT PRICE	EXTENSION
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		662.000 L.F.		
	Talley Construction Company, Inc.		\$1.6700	\$1,105.54
	Wright Brothers Construction Company, Inc.		\$1.6000	\$1,059.20
717-01	MOBILIZATION			
		1.000 LS		
	Talley Construction Company, Inc.		\$74,650.0000	\$74,650.00
	Wright Brothers Construction Company, Inc.		\$74,500.0000	\$74,500.00
730-14.02	SAW SLOT			
		8,000.000 L.F.		
	Talley Construction Company, Inc.		\$4.6300	\$37,040.00
	Wright Brothers Construction Company, Inc.		\$3.0000	\$24,000.00
730-14.03	LOOP WIRE			
		169,064.000 L.F.		
	Talley Construction Company, Inc.		\$0.1700	\$28,740.88
	Wright Brothers Construction Company, Inc.		\$0.4000	\$67,625.60
730-26.08	FLASHING WARNING BEACON (DESCRIPTION)			
	,	1.000 EACH		
	Talley Construction Company, Inc.		\$3,012.1300	\$3,012.13
	Wright Brothers Construction Company, Inc.		\$4,000.0000	\$4,000.00

Talley Construction Company, Inc.	\$1,402,872.07
Wright Brothers Construction Company, Inc.	\$1,542,500.50

TOTAL CONTRACT

Talley Construction Company, Inc.	\$1,402,872.07
Wright Brothers Construction Company, Inc.	\$1,542,500.50

HARDIN COUNTY (Contract No. CNR016 Call 012)

R-STP-128(31),36010-3228-14

THE GRADING, DRAINAGE AND PAVING ON S.R. 128 FROM SOUTH OF ONE STOP DRIVE (L.M. 8.86) TO SOUTH OF OPEL LOOP (L.M. 10.42).

PROJECT LENGTH - 1.650 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2019

DBE GOAL 12.00%

TOTAL CONTRACT

Delta Contracting Company, LLC

\$8,270,132.50

ROADWAY CATEGORY		5 T62	
105-01 CONSTRUCTION STAKES, LINES AND GRADES			
Delta Contracting Company, LLC	1.000 LS	\$150,000.0000	\$150,000.00
109-10.01 TRAINEE	4 400 000 HOUR		
Delta Contracting Company, LLC	1,180.000 HOUR	\$0.8000	\$944.00
201-01 CLEARING AND GRUBBING	1.000 LS		
Delta Contracting Company, LLC		\$398,496.0000	\$398,496.00
202-01 REMOVAL OF STRUCTURES AND OBSTRUCTIONS	1.000 LS		
Delta Contracting Company, LLC		\$9,000.0000	\$9,000.00
202-04.50 REMOVAL OF STRUCTURES (3' X 4' RCBC, STA. 790+93	39) 1.000 LS		
Delta Contracting Company, LLC		\$6,000.0000	\$6,000.00
203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	6,284.000 C.Y.		
Delta Contracting Company, LLC		\$24.0000	\$150,816.00
203-03 BORROW EXCAVATION (UNCLASSIFIED)	8,438.000 C.Y.		
Delta Contracting Company, LLC		\$24.0000	\$202,512.00
203-04 PLACING AND SPREADING TOPSOIL	1,862.000 C.Y.		
Delta Contracting Company, LLC		\$12.0000	\$22,344.00
203-06 WATER	149.000 M.G.		
Delta Contracting Company, LLC		\$20.0000	\$2,980.00
204-08.01 BACKFILL MATERIAL (FLOWABLE FILL)	12.000 C.Y.		
Delta Contracting Company, LLC		\$165.0000	\$1,980.00
209-05 SEDIMENT REMOVAL	731.000 C.Y.		
Delta Contracting Company, LLC		\$12.0000	\$8,772.00
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)	200.000 L.F.		
Delta Contracting Company, LLC		\$6.5000	\$1,300.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
	Delta Contracting Company, LLC	16,631.000 L.F.	\$2.0000	\$33,262.00
209-08.07	ROCK CHECK DAM PER			
	Delta Contracting Company, LLC	6.000 EACH	\$470.0000	\$2,820.00
209-08.08	ENHANCED ROCK CHECK DAM			
	Delta Contracting Company, LLC	8.000 EACH	\$800.0000	\$6,400.00
209-09.01	SANDBAGS	5 740 000 DAO		
	Delta Contracting Company, LLC	5,712.000 BAG	\$1.0000	\$5,712.00
209-09.04	SEDIMENT FILTER BAG(15' X 10')	0.000 54011		
	Delta Contracting Company, LLC	2.000 EACH	\$200.0000	\$400.00
209-09.41	CURB INLET PROTECTION (TYPE 2)	40 000 54011		
	Delta Contracting Company, LLC	12.000 EACH	\$150.0000	\$1,800.00
209-09.43	CURB INLET PROTECTION (TYPE 4)			
	Delta Contracting Company, LLC	68.000 EACH	\$150.0000	\$10,200.00
209-20.03	POLYETHYLENE SHEETING (6 MIL. MINIMUM)	156.000 S.Y.		
	Delta Contracting Company, LLC		\$4.0000	\$624.00
209-40.30	CATCH BASIN PROTECTION (TYPE A)	3.000 EACH		
	Delta Contracting Company, LLC		\$550.0000	\$1,650.00
209-40.33	CATCH BASIN PROTECTION (TYPE D)	10.000 EACH		
	Delta Contracting Company, LLC		\$450.0000	\$4,500.00
209-40.41	CATCH BASIN FILTER ASSEMBLY(TYPE 1)	5.000 EACH		
	Delta Contracting Company, LLC		\$500.0000	\$2,500.00
209-40.42	CATCH BASIN FILTER ASSEMBLY(TYPE 2)	00 000 510		
	Delta Contracting Company, LLC	23.000 EACH	\$500.0000	\$11,500.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
209-40.43	CATCH BASIN FILTER ASSEMBLY(TYPE 3)			
	Delta Contracting Company, LLC	3.000 EACH	\$900.0000	\$2,700.00
209-40.44	CATCH BASIN FILTER ASSEMBLY(TYPE 4)			
	Delta Contracting Company, LLC	3.000 EACH	\$900.0000	\$2,700.00
209-40.46	CATCH BASIN FILTER ASSEMBLY(TYPE 6)			
	Delta Contracting Company, LLC	54.000 EACH	\$500.0000	\$27,000.00
209-40.47	CATCH BASIN FILTER ASSEMBLY(TYPE 7)			
	Delta Contracting Company, LLC	4.000 EACH	\$900.0000	\$3,600.00
209-40.48	CATCH BASIN FILTER ASSEMBLY(TYPE 8)			
	Delta Contracting Company, LLC	5.000 EACH	\$900.0000	\$4,500.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Delta Contracting Company, LLC	17,488.000 TON	\$28.7000	\$501,905.60
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (D)	i (D)		
	Delta Contracting Company, LLC	2,000.000 TON	\$28.7000	\$57,400.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	Delta Contracting Company, LLC	97.000 TON	\$47.0000	\$4,559.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
	Delta Contracting Company, LLC	3,598.000 TON	\$92.6800	\$333,462.64
307-01.02	ASPHALT CEMENT (PG64-22) (BPMB-HM) GRADING A-S			
	Delta Contracting Company, LLC	92.000 TON	\$670.0000	\$61,640.00
307-01.03	AGGREGATE (BPMB-HM) GRADING A-S MIX			
	Delta Contracting Company, LLC	2,724.000 TON	\$59.8000	\$162,895.20
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B	HM) GRADING B-M2		
	Delta Contracting Company, LLC	5,671.000 TON	\$85.6900	\$485,947.99

			UNIT PRICE	CONTRACT CNR016 EXTENSION
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Delta Contracting Company, LLC	44.000 TON	\$670.0000	\$29,480.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	Delta Contracting Company, LLC	173.000 TON	\$39.0000	\$6,747.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Delta Contracting Company, LLC	33.000 TON	\$670.0000	\$22,110.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Delta Contracting Company, LLC	3,596.000 TON	\$93.4800	\$336,154.08
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	/ 		
	Delta Contracting Company, LLC	1,566.000 TON	\$32.3000	\$50,581.80
606-24.12	TEMPORARY SHEET PILES	4		
	Delta Contracting Company, LLC	1,500.000 S.F.	\$4.4000	\$6,600.00
607-03.02	18" CONCRETE PIPE CULVERT (CLASS III)			
	Delta Contracting Company, LLC	5,345.000 L.F.	\$48.0000	\$256,560.00
607-05.02	24" CONCRETE PIPE CULVERT (CLASS III)	2 550 000 L 5		
	Delta Contracting Company, LLC	2,550.000 L.F.	\$63.0000	\$160,650.00
607-06.02	30" CONCRETE PIPE CULVERT (CLASS III)	FC2 000 L F		
	Delta Contracting Company, LLC	563.000 L.F.	\$80.0000	\$45,040.00
607-07.02	36" CONCRETE PIPE CULVERT (CLASS III)	007.000 L F		
	Delta Contracting Company, LLC	937.000 L.F.	\$92.0000	\$86,204.00
607-09.30	48" PIPE CULVERT			
	Delta Contracting Company, LLC	69.000 L.F.	\$160.0000	\$11,040.00
607-11.30	60" PIPE CULVERT			
	Delta Contracting Company, LLC	96.000 L.F.	\$195.0000	\$18,720.00

			Co	ONTRACT CNR016
			UNIT PRICE	EXTENSION
607-16.06	45"X 29" HORIZONTAL OVAL CONCRETE PIPE CULVERT			
	Delta Contracting Company, LLC	59.000 L.F.	\$115.0000	\$6,785.00
607-20.01	18" CROSSDRAIN PIPE CULVERT(COLLECTORS & LOCAL F	•		
	Delta Contracting Company, LLC	186.000 L.F.	\$48.0000	\$8,928.00
607-39.01	15" PIPE CULVERT (SIDE DRAIN)			
	Delta Contracting Company, LLC	114.000 L.F.	\$26.0000	\$2,964.00
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
	Delta Contracting Company, LLC	610.000 L.F.	\$28.0000	\$17,080.00
607-39.03	24" PIPE CULVERT (SIDE DRAIN)			
	Delta Contracting Company, LLC	50.000 L.F.	\$30.0000	\$1,500.00
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)			
	Delta Contracting Company, LLC	19.000 C.Y.	\$1,320.0000	\$25,080.00
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
	Delta Contracting Company, LLC	240.000 LB.	\$2.0000	\$480.00
611-07.31	18IN ENDWALL (SIDE DRAIN)			
	Delta Contracting Company, LLC	4.000 EACH	\$4,090.0000	\$16,360.00
611-07.54	18IN ENDWALL (CROSS DRAIN) 3:1			
	Delta Contracting Company, LLC	2.000 EACH	\$3,000.0000	\$6,000.00
611-07.69	48IN ENDWALL (CROSS DRAIN) 3:1			
	Delta Contracting Company, LLC	2.000 EACH	\$6,000.0000	\$12,000.00
611-07.71	48IN ENDWALL (CROSS DRAIN) 6:1			
	Delta Contracting Company, LLC	2.000 EACH	\$10,000.0000	\$20,000.00
611-12.01	CATCH BASINS, TYPE 12, 0' - 4' DEPTH			
	Delta Contracting Company, LLC	14.000 EACH	\$2,800.0000	\$39,200.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
611-12.02	CATCH BASINS, TYPE 12, > 4' - 8' DEPTH			
	Delta Contracting Company, LLC	46.000 EACH	\$3,000.0000	\$138,000.00
611-12.03	CATCH BASINS, TYPE 12, > 8' - 12' DEPTH			
	Delta Contracting Company, LLC	11.000 EACH	\$7,800.0000	\$85,800.00
611-12.04	CATCH BASINS, TYPE 12, > 12' - 16' DEPTH			
	Delta Contracting Company, LLC	2.000 EACH	\$8,000.0000	\$16,000.00
611-14.02	CATCH BASINS, TYPE 14, > 4' - 8' DEPTH			
	Delta Contracting Company, LLC	4.000 EACH	\$8,000.0000	\$32,000.00
611-16.02	CATCH BASINS, TYPE 16, > 4' - 8' DEPTH			
	Delta Contracting Company, LLC	3.000 EACH	\$8,000.0000	\$24,000.00
611-42.01	CATCH BASINS, TYPE 42, 0' - 4' DEPTH	45 000 FA CU		
	Delta Contracting Company, LLC	15.000 EACH	\$2,800.0000	\$42,000.00
611-43.01	CATCH BASINS, TYPE 43, 0' - 4' DEPTH			
	Delta Contracting Company, LLC	1.000 EACH	\$5,200.0000	\$5,200.00
611-43.02	CATCH BASINS, TYPE 43, > 4' - 8' DEPTH	4 000 51011		
	Delta Contracting Company, LLC	1.000 EACH	\$5,500.0000	\$5,500.00
621-03.04	30" TEMPORARY DRAINAGE PIPE			
	Delta Contracting Company, LLC	165.000 L.F.	\$38.0000	\$6,270.00
621-03.05	36" TEMPORARY DRAINAGE PIPE	400 000 1 5		
	Delta Contracting Company, LLC	132.000 L.F.	\$44.0000	\$5,808.00
701-01.01	CONCRETE SIDEWALK (4 ")			
	Delta Contracting Company, LLC	35,522.000 S.F.	\$3.9500	\$140,311.90
701-02	CONCRETE DRIVEWAY	44 400 000 0 5		
	Delta Contracting Company, LLC	11,438.000 S.F.	\$6.2500	\$71,487.50

			UNIT PRICE	CONTRACT CNR016 EXTENSION
			UNIT PRICE	EXTENSION
701-02.03	CONCRETE CURB RAMP			
	Delta Contracting Company, LLC	2,711.000 S.F.	\$18.0000	\$48,798.00
702-03	CONCRETE COMBINED CURB & GUTTER			
	Delta Contracting Company, LLC	702.000 C.Y.	\$290.0000	\$203,580.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
	Delta Contracting Company, LLC	10.000 EACH	\$1,500.0000	\$15,000.00
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
	Delta Contracting Company, LLC	1,032.000 L.F.	\$2.0000	\$2,064.00
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
	Delta Contracting Company, LLC	62.000 EACH	\$185.0000	\$11,470.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	Delta Contracting Company, LLC	200.000 TON	\$52.0000	\$10,400.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	Delta Contracting Company, LLC	182.000 TON	\$52.0000	\$9,464.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
	Delta Contracting Company, LLC	303.000 TON	\$52.0000	\$15,756.00
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
	Delta Contracting Company, LLC	8,265.000 L.F.	\$4.5000	\$37,192.50
712-01	TRAFFIC CONTROL			
	Delta Contracting Company, LLC	1.000 LS	\$82,500.0000	\$82,500.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
	Delta Contracting Company, LLC	5,000.000 L.F.	\$5.4000	\$27,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Delta Contracting Company, LLC	528.000 EACH	\$31.0000	\$16,368.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	Delta Contracting Company, LLC	472.000 S.F.	\$7.0000	\$3,304.00
712-06.01	VERTICAL PANELS			
	Delta Contracting Company, LLC	340.000 S.F.	\$10.0000	\$3,400.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Delta Contracting Company, LLC	72.000 L.F.	\$13.5000	\$972.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	Delta Contracting Company, LLC	1,489.000 LB.	\$3.7500	\$5,583.75
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	Delta Contracting Company, LLC	340.000 S.F.	\$14.0000	\$4,760.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	Delta Contracting Company, LLC	1.000 LS	\$1,500.0000	\$1,500.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
	Delta Contracting Company, LLC	325.000 EACH	\$40.0000	\$13,000.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
	Delta Contracting Company, LLC	94.000 EACH	\$40.0000	\$3,760.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	Delta Contracting Company, LLC	896.000 L.F.	\$15.0000	\$13,440.00
716-02.04	PLASTIC PAVEMENT MARKING (CHANNELIZATION STRIPING)			
	Delta Contracting Company, LLC	10.000 S.Y.	\$35.0000	\$350.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Delta Contracting Company, LLC	178.000 L.F.	\$18.0000	\$3,204.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Delta Contracting Company, LLC	11.000 EACH	\$225.0000	\$2,475.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
	Delta Contracting Company, LLC	855.000 L.F.	\$3.0000	\$2,565.00
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
	Delta Contracting Company, LLC	7.000 EACH	\$250.0000	\$1,750.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	Delta Contracting Company, LLC	331.000 L.F.	\$12.0000	\$3,972.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
	Delta Contracting Company, LLC	2.000 EACH	\$285.0000	\$570.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Delta Contracting Company, LLC	8.400 L.M.	\$2,000.0000	\$16,800.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Delta Contracting Company, LLC	4.800 L.M.	\$6,000.0000	\$28,800.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Delta Contracting Company, LLC	4.100 L.M.	\$3,650.0000	\$14,965.00
717-01	MOBILIZATION			
	Delta Contracting Company, LLC	1.000 LS	\$408,840.0000	\$408,840.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	Delta Contracting Company, LLC	1,256.000 S.Y.	\$2.0000	\$2,512.00
801-01	SEEDING (WITH MULCH)			
	Delta Contracting Company, LLC	12.000 UNIT	\$50.0000	\$600.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
	Delta Contracting Company, LLC	50.000 UNIT	\$25.0000	\$1,250.00
801-02	SEEDING (WITHOUT MULCH)			
	Delta Contracting Company, LLC	41.000 UNIT	\$25.0000	\$1,025.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
801-03	WATER (SEEDING & SODDING)			
	Delta Contracting Company, LLC	119.000 M.G.	\$15.0000	\$1,785.00
801-07	SEED (SUPPLEMENTAL APPLICATION)			
	Delta Contracting Company, LLC	50.000 LB.	\$8.0000	\$400.00
801-08	FERTILIZER (SUPPLEMENTAL APPLICATION)			
	Delta Contracting Company, LLC	1.000 TON	\$500.0000	\$500.00
803-01	SODDING (NEW SOD)			
	Delta Contracting Company, LLC	10,770.000 S.Y.	\$4.7500	\$51,157.50
805-12.01	EROSION CONTROL BLANKET (TYPE I)			
	Delta Contracting Company, LLC	4,500.000 S.Y.	\$1.5000	\$6,750.00
806-02.03	PROJECT MOWING			
		4.000 CYCL		

Delta Contracting Company, LLC

\$40,000.00

\$10,000.0000

UTILITY CATEGORY		UNIT PRICE	CONTRACT CNR016 EXTENSION
790-01.04 POLE 30FT CLASS 5 WOOD			
Delta Contracting Company, LLC	2.000 EACH	\$487.0000	\$974.00
790-02.03 POLE 35FT CLASS 4 WOOD	6.000 EACH		
Delta Contracting Company, LLC	0.000 EACH	\$657.0000	\$3,942.00
790-03.03 POLE 40FT CLASS 4 WOOD	20.000 EACH		
Delta Contracting Company, LLC	20.000 EACH	\$832.0000	\$16,640.00
790-04.02 POLE 45FT CLASS 2 WOOD	1.000 EACH		
Delta Contracting Company, LLC	1.000 EACH	\$1,285.0000	\$1,285.00
790-05.02 POLE 50FT CLASS 2 WOOD	1.000 EACH		
Delta Contracting Company, LLC	1.000 EACH	\$1,472.0000	\$1,472.00
790-05.03 POLE 50FT CLASS 3 WOOD	14.000 EACH		
Delta Contracting Company, LLC	14.000 EACH	\$1,297.0000	\$18,158.00
790-06.01 POLE 55FT CLASS 1 WOOD	2.000 EACH		
Delta Contracting Company, LLC	2.000 EACH	\$1,904.0000	\$3,808.00
790-06.02 POLE 55FT CLASS 2 WOOD	26.000 EACH		
Delta Contracting Company, LLC	20.000 EACH	\$1,689.0000	\$43,914.00
790-06.03 POLE 55FT CLASS 3 WOOD	1.000 EACH		
Delta Contracting Company, LLC	1.000 EA011	\$1,481.0000	\$1,481.00
790-22.02 1PH DBL PRIMARY SUPPORT 25KV	3.000 EACH		
Delta Contracting Company, LLC	5.500 EAGI1	\$250.0000	\$750.00
790-22.07 1PH DBL PTS ANGLE 25KV	1.000 EACH		
Delta Contracting Company, LLC	1.000 EACH	\$247.0000	\$247.00
790-22.11 1PH DDE ANGLE 25KV	2 000 EACH		
Delta Contracting Company, LLC	2.000 EACH	\$300.0000	\$600.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
790-22.13	1PH DEAD END 25KV			
	Delta Contracting Company, LLC	7.000 EACH	\$171.0000	\$1,197.00
790-22.15	1PH DEAD END TAP W/ EXTENSION 25KV			
	Delta Contracting Company, LLC	21.000 EACH	\$300.0000	\$6,300.00
790-22.16	1PH DDE TANGENT 25KV			
	Delta Contracting Company, LLC	5.000 EACH	\$267.0000	\$1,335.00
790-24.02	2PH DBL CROSSARM, ANGLE 25KV			
	Delta Contracting Company, LLC	1.000 EACH	\$685.0000	\$685.00
790-24.08	2PH DEAD END CROSSARM 25KV			
	Delta Contracting Company, LLC	2.000 EACH	\$548.0000	\$1,096.00
790-26.03	3PH CROSSARM SGL LRG COND 25KV			
	Delta Contracting Company, LLC	27.000 EACH	\$866.0000	\$23,382.00
790-26.13	3PH CROSSARM DBL SM ANGLE LRG COND 25KV			
	Delta Contracting Company, LLC	7.000 EACH	\$1,114.0000	\$7,798.00
790-26.15	3PH XARM DBL 10FT LRG COND SM ANGLE 25KV			
	Delta Contracting Company, LLC	9.000 EACH	\$1,131.0000	\$10,179.00
790-26.26	3PH CROSSARM DEAD END 25KV			
	Delta Contracting Company, LLC	4.000 EACH	\$1,122.0000	\$4,488.00
790-26.27	3PH CROSSARM DBL DDE 25KV			
	Delta Contracting Company, LLC	3.000 EACH	\$1,414.0000	\$4,242.00
790-26.37	3PH XARM DBL 10FT LG COND NOX SM ANG 25KV			
	Delta Contracting Company, LLC	9.000 EACH	\$1,147.0000	\$10,323.00
790-26.38	3PH CROSSARM 10FT LRG COND 25KV	40		
	Delta Contracting Company, LLC	18.000 EACH	\$1,000.0000	\$18,000.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
790-30.06	SECONDARY CONDUCTOR 6 AL DUPLEX			
	Delta Contracting Company, LLC	330.000 L.F.	\$1.4700	\$485.10
790-30.12	SECONDARY CONDUCTOR 4 AL TRIPLEX			
	Delta Contracting Company, LLC	1,259.000 L.F.	\$2.0100	\$2,530.59
790-30.13	SECONDARY CONDUCTOR 2 AL TRIPLEX			
	Delta Contracting Company, LLC	103.000 L.F.	\$2.0400	\$210.12
790-30.14	SECONDARY CONDUCTOR 1/0 AL TRIPLEX			
	Delta Contracting Company, LLC	237.000 L.F.	\$2.3100	\$547.47
790-31.02	SERVICE ASSEMBLY-POLE TYPE			
	Delta Contracting Company, LLC	36.000 EACH	\$67.0400	\$2,413.44
790-32.02	DOWN GUY - THROUGH BOLT TYPE HEAVY DUTY	40 000 FACU		
	Delta Contracting Company, LLC	48.000 EACH	\$287.0000	\$13,776.00
790-32.07	OH GUY - THROUGH BOLT TYPE			
	Delta Contracting Company, LLC	5.000 EACH	\$288.0000	\$1,440.00
790-32.12	OH GUY - CROSSARM DEADEND HEAVY DUTY	4 000 54 011		
	Delta Contracting Company, LLC	1.000 EACH	\$954.0000	\$954.00
790-32.23	GUY GUARD	40.000 = 1.011		
	Delta Contracting Company, LLC	48.000 EACH	\$16.3300	\$783.84
790-33.03	SCREW TYPE ANCHOR 6,000LB-8,000LB			
	Delta Contracting Company, LLC	34.000 EACH	\$325.8000	\$11,077.20
790-33.04	SCREW TYPE ANCHOR 10,000LB-12,000LB			
	Delta Contracting Company, LLC	8.000 EACH	\$410.0000	\$3,280.00
790-36.06	TRANSFER LIGHT	6 -		
	Delta Contracting Company, LLC	6.000 EACH	\$181.0000	\$1,086.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
790-40.01	OH COND 4 7/1 ACSR SWANATE			
	Delta Contracting Company, LLC	8,326.000 L.F.	\$1.6500	\$13,737.90
790-40.03	OH COND 1/0 6/1 ACSR RAVEN			
	Delta Contracting Company, LLC	3,624.000 L.F.	\$1.9500	\$7,066.80
790-40.05	OH COND 3/0 6/1 ACSR PIGEON	45 000 000 1 5		
	Delta Contracting Company, LLC	15,693.000 L.F.	\$3.5100	\$55,082.43
790-40.09	OH COND 336.4 18/1 ACSR MERLIN	20 020 000 5		
	Delta Contracting Company, LLC	28,926.000 L.F.	\$4.0000	\$115,704.00
790-42.12	CONDUIT - POLE MTD - 2IN SCH 80 PVC	4 000 1 5		
	Delta Contracting Company, LLC	4.000 L.F.	\$1,856.0000	\$7,424.00
790-46.01	1PH TRANSFORMER	24 000 54 011		
	Delta Contracting Company, LLC	21.000 EACH	\$993.0000	\$20,853.00
790-47.02	2PH XFMR BNK POLE MTD W/ FUSE/ARRESTERS	0.000 54 011		
	Delta Contracting Company, LLC	2.000 EACH	\$2,292.0000	\$4,584.00
790-61.10	3PH SECTLR OR RECL W/ BYPASS SW 25KV	0.000 54 011		
	Delta Contracting Company, LLC	2.000 EACH	\$12,435.0000	\$24,870.00
790-68.10	MISCELLANEOUS ASSEMBLIES	20 000 54 CH		
	Delta Contracting Company, LLC	30.000 EACH	\$532.0000	\$15,960.00
790-69.22	POLE TOP PIN	4 000 54 011		
	Delta Contracting Company, LLC	4.000 EACH	\$66.0000	\$264.00
790-69.32	ARM PIN	5 000 54 011		
	Delta Contracting Company, LLC	5.000 EACH	\$65.0000	\$325.00
790-70.20	STREET LIGHT (SEE PLANS)	42 000 EACH		
	Delta Contracting Company, LLC	12.000 EACH	\$1,487.0000	\$17,844.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
790-98.01	REMOVE WIRE			
	Delta Contracting Company, LLC	42,126.000 L.F.	\$1.4000	\$58,976.40
790-98.02	REMOVE POLES	CO 000 FACU		
	Delta Contracting Company, LLC	60.000 EACH	\$100.0000	\$6,000.00
790-98.03	REMOVE FRAMING/ASSOCIATED APPARATUS			
	Delta Contracting Company, LLC	400.000 EACH	\$118.7500	\$47,500.00
791-01.02	2IN STEEL GAS MAIN			
	Delta Contracting Company, LLC	1,170.000 L.F.	\$44.6000	\$52,182.00
791-01.05	6IN STEEL GAS MAIN			
	Delta Contracting Company, LLC	8,140.000 L.F.	\$59.6000	\$485,144.00
791-01.06	8IN STEEL GAS MAIN			
	Delta Contracting Company, LLC	2,875.000 L.F.	\$126.1500	\$362,681.25
791-03.02	2IN HDPE GAS MAIN			
	Delta Contracting Company, LLC	490.000 L.F.	\$17.0000	\$8,330.00
791-04.02	HDD 2IN PE PIPE - UNCONSOLIDATED			
	Delta Contracting Company, LLC	80.000 L.F.	\$20.8000	\$1,664.00
791-04.20	HDD 2IN STEEL PIPE - UNCONSOLIDATED			
	Delta Contracting Company, LLC	145.000 L.F.	\$56.0000	\$8,120.00
791-06.02	CONNECT TO 2IN EX. PE MAIN			
	Delta Contracting Company, LLC	4.000 EACH	\$585.0000	\$2,340.00
791-06.13	CONNECT TO 8IN EX. STL MAIN	32.000 EACH		
	Delta Contracting Company, LLC		\$2,925.0000	\$93,600.00
791-06.31	CONNECT TO 2IN EX. STL MAIN W/ STOPPLE			
	Delta Contracting Company, LLC	7.000 EACH	\$2,450.0000	\$17,150.00

		UNIT PRICE	CONTRACT CNR016 EXTENSION
791-06.33 CONNECT TO 6IN EX. STL MAIN W/ STOPPLE	1.000 EACH		
Delta Contracting Company, LLC		\$30,190.0000	\$30,190.00
791-07.01 2IN PE GAS VALVE ASSEMBLY	3.000 EACH		
Delta Contracting Company, LLC		\$385.0000	\$1,155.00
791-07.09 2IN STEEL GAS VALVE ASSEMBLY	6.000 EACH		
Delta Contracting Company, LLC	6.000 EACH	\$665.0000	\$3,990.00
791-07.11 6IN STEEL GAS VALVE ASSEMBLY			
Delta Contracting Company, LLC	2.000 EACH	\$2,370.0000	\$4,740.00
791-07.12 8IN STEEL GAS VALVE ASSEMBLY			
Delta Contracting Company, LLC	2.000 EACH	\$11,145.0000	\$22,290.00
791-08.02 3/4IN SERVICE ASSEMBLY			
Delta Contracting Company, LLC	38.000 EACH	\$1,185.0000	\$45,030.00
791-08.03 1IN SERVICE ASSEMBLY			
Delta Contracting Company, LLC	6.000 EACH	\$1,350.0000	\$8,100.00
791-08.07 3/4IN PE SERVICE PIPE	70.000 5		
Delta Contracting Company, LLC	70.000 L.F.	\$8.4000	\$588.00
791-08.08 1IN PE SERVICE PIPE	420,000 5		
Delta Contracting Company, LLC	130.000 L.F.	\$8.6000	\$1,118.00
791-08.12 3/4IN STEEL SERVICE PIPE			
Delta Contracting Company, LLC	900.000 L.F.	\$22.0500	\$19,845.00
791-08.17 HDD 3/4IN PE SERVICE PIPE			
Delta Contracting Company, LLC	60.000 L.F.	\$16.5000	\$990.00
791-08.18 HDD 1IN PE SERVICE PIPE			

180.000 L.F.

Delta Contracting Company, LLC

\$3,015.00

\$16.7500

		UNIT PRICE	CONTRACT CNR016 EXTENSION
791-08.22 HDD 3/4IN STEEL SERVICE PIPE			
Delta Contracting Company, LLC	1,180.000 L.F.	\$29.4000	\$34,692.00
791-09.02 3-WIRE CATHODIC PROTECTION STATION			
Delta Contracting Company, LLC	17.000 EACH	\$480.0000	\$8,160.00
791-10.01 RETIRE IN PLACE 3/4IN SERV CUT & PLUG			
Delta Contracting Company, LLC	31.000 EACH	\$475.0000	\$14,725.00
791-10.04 RETIRE IN PLACE 2IN SERV CUT & PLUG			
Delta Contracting Company, LLC	9.000 EACH	\$510.0000	\$4,590.00
791-10.07 RETIRE IN PLACE 8IN SERV CUT & PLUG	40.000 = 4.00		
Delta Contracting Company, LLC	16.000 EACH	\$555.0000	\$8,880.00
795-01.03 6IN DIP RESTRAINED JOINT WATER LINE	603.000 L.F.		
Delta Contracting Company, LLC		\$31.0000	\$18,693.00
795-01.05 8IN DIP RESTRAINED JOINT WATER LINE			
Delta Contracting Company, LLC	500.000 L.F.	\$36.0000	\$18,000.00
795-03.05 6IN PVC WATER LINE	1 994 000 1 E		
Delta Contracting Company, LLC	1,884.000 L.F.	\$18.7500	\$35,325.00
795-03.06 8IN PVC WATER LINE			
Delta Contracting Company, LLC	7,582.000 L.F.	\$22.2500	\$168,699.50
795-05.01 HDD 2IN HDPE CARRIER PIPE-UNCON			
Delta Contracting Company, LLC	108.000 L.F.	\$20.0000	\$2,160.00
795-05.02 HDD 4IN HDPE CASING PIPE-UNCON			
Delta Contracting Company, LLC	1,200.000 L.F.	\$22.0000	\$26,400.00
795-05.04 HDD 8IN HDPE CASING PIPE-UNCON	400 000 1 7		
Delta Contracting Company, LLC	160.000 L.F.	\$39.0000	\$6,240.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
795-05.65	BORE/JACK 16IN STEEL CASING PIPE-UNCON.			
	Delta Contracting Company, LLC	475.000 L.F.	\$207.0000	\$98,325.00
795-05.66	BORE/JACK 18IN STEEL CASING PIPE-UNCON.			
	Delta Contracting Company, LLC	100.000 L.F.	\$250.0000	\$25,000.00
795-07.03	6IN X 6IN TAPPING SLEEVE AND VALVE			
	Delta Contracting Company, LLC	11.000 EACH	\$3,842.0000	\$42,262.00
795-07.31	INSERTION VALVE (6IN)			
	Delta Contracting Company, LLC	11.000 EACH	\$6,247.0000	\$68,717.00
795-08.01	2IN GATE VALVE ASSEMBLY	40.000.51011		
	Delta Contracting Company, LLC	12.000 EACH	\$605.0000	\$7,260.00
795-08.04	6IN GATE VALVE ASSEMBLY	0.000 51011		
	Delta Contracting Company, LLC	8.000 EACH	\$811.0000	\$6,488.00
795-08.05	8IN GATE VALVE ASSEMBLY	44		
	Delta Contracting Company, LLC	11.000 EACH	\$1,179.0000	\$12,969.00
795-09.09	RELOCATE/RECONNECT SERVICE ASSEMBLY	F0 000 F4 OU		
	Delta Contracting Company, LLC	52.000 EACH	\$800.0000	\$41,600.00
795-09.15	1IN HDPE SERVICE PIPE			
	Delta Contracting Company, LLC	2,405.000 L.F.	\$7.2500	\$17,436.25
795-09.17	2IN HDPE SERVICE PIPE			
	Delta Contracting Company, LLC	1,297.000 L.F.	\$9.7500	\$12,645.75
795-11.02	FIRE HYDRANT ASSEMBLY			
	Delta Contracting Company, LLC	12.000 EACH	\$3,256.0000	\$39,072.00
795-12.01	REMOVE FIRE HYDRANT	0.000 5400		
	Delta Contracting Company, LLC	8.000 EACH	\$500.0000	\$4,000.00

			UNIT PRICE	CONTRACT CNR016 EXTENSION
795-13.01	DI FITTINGS			
	Delta Contracting Company, LLC	9,000.000 LB.	\$3.1500	\$28,350.00
797-05.09	12IN DIP GRAVITY SEWER 0FT-6FT DEPTH			
	Delta Contracting Company, LLC	24.000 L.F.	\$94.0000	\$2,256.00
797-05.59	12IN PVC GRAVITY SEWER 0FT-6FT DEPTH			
	Delta Contracting Company, LLC	691.000 L.F.	\$56.0000	\$38,696.00
797-05.60	12IN PVC GRAVITY SEWER 6FT-12FT DEPTH			
	Delta Contracting Company, LLC	702.000 L.F.	\$58.0000	\$40,716.00
797-05.61	12IN PVC GRAVITY SEWER 12FT-18FT DEPTH			
	Delta Contracting Company, LLC	365.000 L.F.	\$61.0000	\$22,265.00
797-06.61	BORE/JACK 10IN STEEL CASING PIPE-UNCON.			
	Delta Contracting Company, LLC	160.000 L.F.	\$182.0000	\$29,120.00
797-07.02	48IN MANHOLE 4FT-6FT DEPTH			
	Delta Contracting Company, LLC	2.000 EACH	\$2,800.0000	\$5,600.00
797-07.03	48IN MANHOLE 6FT-8FT DEPTH			
	Delta Contracting Company, LLC	2.000 EACH	\$2,800.0000	\$5,600.00
797-07.04	48IN MANHOLE 8FT-10FT DEPTH			
	Delta Contracting Company, LLC	1.000 EACH	\$2,850.0000	\$2,850.00
797-07.05	48IN MANHOLE 10FT-12FT DEPTH			
	Delta Contracting Company, LLC	1.000 EACH	\$3,000.0000	\$3,000.00
797-07.06	48IN MANHOLE 12FT-14FT DEPTH			
	Delta Contracting Company, LLC	1.000 EACH	\$3,200.0000	\$3,200.00
797-08.04	4IN PVC PIPE FOR SERVICE LATERAL			
	Delta Contracting Company, LLC	210.000 L.F.	\$24.0000	\$5,040.00

				CONTRACT CNR016
			UNIT PRICE	EXTENSION
797-08.05	6IN PVC PIPE FOR SERVICE LATERAL			
	Delta Contracting Company, LLC	60.000 L.F.	\$25.0000	\$1,500.00
797-10.05	CONNECT 4IN LATERAL TO SEWER LINE			
		4.000 EACH		
	Delta Contracting Company, LLC		\$870.0000	\$3,480.00
797-10.06	CONNECT 6IN LATERAL TO SEWER LINE			
	Delta Contracting Company, LLC	4.000 EACH	\$935.0000	\$3,740.00

SUB-TOTAL ROADWAY

Delta Contracting Company, LLC \$5,563,046.46

SUB-TOTAL UTILITY

Delta Contracting Company, LLC \$2,707,086.04

TOTAL CONTRACT

Delta Contracting Company, LLC \$8,270,132.50

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF JUNE 23, 2017

MARSHALL COUNTY (Contract No. CNR231 Call 013)

59003-4223-04

THE RESURFACING ON U.S. 31A (S.R. 11) FROM SOUTH OF S.R. 271 (L.M. 17.70) TO NORTH OF ROCKETEER BOULEVARD (L.M. 26.05).

PROJECT LENGTH - 8.350 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

TOTAL CONTRACT

Volunteer Paving, LLC\$847,822.05Rogers Group, Inc.\$952,000.00Wright Paving Contractors, Inc.\$998,980.45Lincoln Paving, LLC\$1,098,306.95

			CC	NTRACT CNR231
			UNIT PRICE	EXTENSION
ROADW	/AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		450.000 TON		
	Volunteer Paving, LLC		\$21.2000	\$9,540.00
	Rogers Group, Inc.		\$16.0000	\$7,200.00
	Wright Paving Contractors, Inc.		\$28.0400	\$12,618.00
	Lincoln Paving, LLC		\$29.0000	\$13,050.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		78.000 TON		
	Volunteer Paving, LLC		\$375.0000	\$29,250.00
	Rogers Group, Inc.		\$550.0000	\$42,900.00
	Wright Paving Contractors, Inc.		\$524.3500	\$40,899.30
	Lincoln Paving, LLC		\$875.0000	\$68,250.00
411-03.1	2 ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		7,597.000 TON		
	Volunteer Paving, LLC		\$65.8300	\$500,110.51
	Rogers Group, Inc.		\$74.0000	\$562,178.00
	Wright Paving Contractors, Inc.		\$82.5600	\$627,208.32
	Lincoln Paving, LLC		\$86.2000	\$654,861.40
411-12.0	3 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8	BIN WIDTH)		
		13.400 L.M.		
	Volunteer Paving, LLC		\$502.9800	\$6,739.93
	Rogers Group, Inc.		\$545.0000	\$7,303.00
	Wright Paving Contractors, Inc.		\$451.7100	\$6,052.91
	Lincoln Paving, LLC		\$600.0000	\$8,040.00
415-01.0	1 COLD PLANING BITUMINOUS PAVEMENT			
		7,038.000 TON		
	Volunteer Paving, LLC		\$13.5000	\$95,013.00
	Rogers Group, Inc.		\$16.5000	\$116,127.00
	Wright Paving Contractors, Inc.		\$16.5100	\$116,197.38
	Lincoln Paving, LLC		\$18.4500	\$129,851.10
705-02.1	0 GUARDRAIL TRANSITION 27IN TO 31IN			
		2.000 EACH		
	Volunteer Paving, LLC		\$179.2600	\$358.52
	Rogers Group, Inc.		\$262.0000	\$524.00
	Wright Paving Contractors, Inc.		\$250.0000	\$500.00
	Lincoln Paving, LLC		\$210.0000	\$420.00
705-06.2	0 TANGENT ENERGY ABSORBING TERM MASH TL-3			
		2.000 EACH		
	Volunteer Paving, LLC		\$2,757.6200	\$5,515.24
	Rogers Group, Inc.		\$3,135.0000	\$6,270.00
	Wright Paving Contractors, Inc.		\$3,000.0000	\$6,000.00
	Lincoln Paying LLC		¢3 000 0000	00 000 a2

Lincoln Paving, LLC

\$6,000.00

\$3,000.0000

			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED			
		150.000 L.F.		
	Volunteer Paving, LLC		\$1.0000	\$150.00
	Rogers Group, Inc.		\$1.0500	\$157.50
	Wright Paving Contractors, Inc.		\$1.0000	\$150.00
	Lincoln Paving, LLC		\$2.0000	\$300.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Volunteer Paving, LLC		\$4,080.9400	\$4,080.94
	Rogers Group, Inc.		\$12,873.8000	\$12,873.80
	Wright Paving Contractors, Inc.		\$13,300.0000	\$13,300.00
	Lincoln Paving, LLC		\$19,750.0000	\$19,750.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Volunteer Paving, LLC		\$4.9800	\$124.50
	Rogers Group, Inc.		\$5.2000	\$130.00
	Wright Paving Contractors, Inc.		\$11.6000	\$290.00
	Lincoln Paving, LLC		\$5.0000	\$125.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Volunteer Paving, LLC		\$4.9800	\$19.92
	Rogers Group, Inc.		\$5.2000	\$20.80
	Wright Paving Contractors, Inc.		\$11.6000	\$46.40
	Lincoln Paving, LLC		\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
		1,072.000 S.F.		
	Volunteer Paving, LLC		\$6.4700	\$6,935.84
	Rogers Group, Inc.		\$6.8000	\$7,289.60
	Wright Paving Contractors, Inc.		\$8.1200	\$8,704.64
	Lincoln Paving, LLC		\$7.0000	\$7,504.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		712.000 EACH		
	Volunteer Paving, LLC		\$25.0000	\$17,800.00
	Rogers Group, Inc.		\$26.1500	\$18,618.80
	Wright Paving Contractors, Inc.		\$25.0000	\$17,800.00
	Lincoln Paving, LLC		\$26.0000	\$18,512.00
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		25.000 EACH		
	Volunteer Paving, LLC	- - - -	\$25.0000	\$625.00
	Rogers Group, Inc.		\$26.1500	\$653.75
	Wright Paving Contractors, Inc.		\$25.0000	\$625.00
	Lincoln Paving, LLC		\$26.0000	\$650.00

	UNIT PRICE	EXTENSION
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
37.000 EACH		
Volunteer Paving, LLC	\$10.0000	\$370.00
Rogers Group, Inc.	\$10.5000	\$388.50
Wright Paving Contractors, Inc.	\$10.0000	\$370.00
Lincoln Paving, LLC	\$10.0000	\$370.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
71.000 S.Y.		
Volunteer Paving, LLC	\$20.0000	\$1,420.00
Rogers Group, Inc.	\$20.9000	\$1,483.90
Wright Paving Contractors, Inc.	\$20.0000	\$1,420.00
Lincoln Paving, LLC	\$21.0000	\$1,491.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
434.000 L.F.		
Volunteer Paving, LLC	\$12.0000	\$5,208.00
Rogers Group, Inc.	\$12.5000	\$5,425.00
Wright Paving Contractors, Inc.	\$12.0000	\$5,208.00
Lincoln Paving, LLC	\$12.5000	\$5,425.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
4.000 EACH	l	
Volunteer Paving, LLC	\$150.0000	\$600.00
Rogers Group, Inc.	\$157.0000	\$628.00
Wright Paving Contractors, Inc.	\$150.0000	\$600.00
Lincoln Paving, LLC	\$155.0000	\$620.00
716-02.08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE)		
201.000 L.F.		
Volunteer Paving, LLC	\$3.0000	\$603.00
Rogers Group, Inc.	\$3.1500	\$633.15
Wright Paving Contractors, Inc.	\$3.0000	\$603.00
Lincoln Paving, LLC	\$3.2500	\$653.25
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
29.900 L.M.		
Volunteer Paving, LLC	\$750.0000	\$22,425.00
Rogers Group, Inc.	\$785.0000	\$23,471.50
Wright Paving Contractors, Inc.	\$750.0000	\$22,425.00
Lincoln Paving, LLC	\$780.0000	\$23,322.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
13.200 L.M.		
Volunteer Paving, LLC	\$4,600.0000	\$60,720.00
Rogers Group, Inc.	\$5,120.0000	\$67,584.00
Wright Paving Contractors, Inc.	\$4,600.0000	\$60,720.00
Lincoln Paving, LLC	\$4,800.0000	\$63,360.00

			CONTRACT CNR231
		UNIT PRICI	
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)		
		16.700 L.M.	
	Volunteer Paving, LLC	\$2,500.0000	\$41,750.00
	Rogers Group, Inc.	\$2,925.0000	\$48,847.50
	Wright Paving Contractors, Inc.	\$2,500.0000	\$41,750.00
	Lincoln Paving, LLC	\$2,700.0000	\$45,090.00
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE)		
		497.000 L.F.	
	Volunteer Paving, LLC	\$2.5000	\$1,242.50
	Rogers Group, Inc.	\$2.6000	\$1,292.20
	Wright Paving Contractors, Inc.	\$2.5000	\$1,242.50
	Lincoln Paving, LLC	\$2.6000	\$1,292.20
717-01	MOBILIZATION		
		1.000 LS	
	Volunteer Paving, LLC	\$37,220.1500	\$37,220.15
	Rogers Group, Inc.	\$20,000.0000	\$20,000.00
	Wright Paving Contractors, Inc.	\$14,250.0000	\$14,250.00
	Lincoln Paving, LLC	\$29,350.0000	\$29,350.00

SUB-TOTAL ROADWAY

Volunteer Paving, LLC	\$847,822.05
Rogers Group, Inc.	\$952,000.00
Wright Paving Contractors, Inc.	\$998,980.45
Lincoln Paving, LLC	\$1,098,306.95

TOTAL CONTRACT

Volunteer Paving, LLC	\$847,822.05
Rogers Group, Inc.	\$952,000.00
Wright Paving Contractors, Inc.	\$998,980.45
Lincoln Paving, LLC	\$1,098,306.95

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF JUNE 23, 2017

ROBERTSON COUNTY (Contract No. CNR237 Call 016)

74007-3217-04

THE GRADING, DRAINAGE, SIGNALS AND PAVING ON S.R. 49 AND YORK ROAD IN COOPERTOWN.

PROJECT LENGTH - 0.507 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2017

	TOTAL CONTRACT
	TOTAL CONTRACT
Vulcan Construction Materials, LLC	\$1,052,886.15
Charles Deweese Construction, Inc	\$1,066,567.86
Civil Constructors, LLC	\$1,210,994.00
Sessions Paving Company	\$1,218,156.20
Jones Bros. Contractors, LLC	\$1,284,654.55
Jarrett Builders, Inc.	\$1,403,409.00

UNIT PRICE	EXTENSION
CIVILLIVIOL	

Ę	2	Δ	ח	M	Δ	v	C	Δ.	ΓE	C	n	P	V
г		m	1	vv	м		•	~		u	u	\mathbf{r}	

ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$27,000.0000	\$27,000.00
	Charles Deweese Construction, Inc		\$17,741.5000	\$17,741.50
	Civil Constructors, LLC		\$18,500.0000	\$18,500.00
	Sessions Paving Company		\$16,750.0000	\$16,750.00
	Jones Bros. Contractors, LLC		\$58,500.0000	\$58,500.00
	Jarrett Builders, Inc.		\$21,000.0000	\$21,000.00
202-01.13	3 REMOVAL OF PIPE (15", 530+73)			
		200.000 L.F.		
	Vulcan Construction Materials, LLC		\$18.0000	\$3,600.00
	Charles Deweese Construction, Inc		\$12.5000	\$2,500.00
	Civil Constructors, LLC		\$17.0000	\$3,400.00
	Sessions Paving Company		\$20.0000	\$4,000.00
	Jones Bros. Contractors, LLC		\$18.5000	\$3,700.00
	Jarrett Builders, Inc.		\$25.0000	\$5,000.00
202-01.50	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		5.000 EACH		
	Vulcan Construction Materials, LLC		\$500.0000	\$2,500.00
	Charles Deweese Construction, Inc		\$375.0000	\$1,875.00
	Civil Constructors, LLC		\$477.0000	\$2,385.00
	Sessions Paving Company		\$500.0000	\$2,500.00
	Jones Bros. Contractors, LLC		\$305.0000	\$1,525.00
	Jarrett Builders, Inc.		\$900.0000	\$4,500.00
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		2.000 S.Y.		
	Vulcan Construction Materials, LLC		\$100.0000	\$200.00
	Charles Deweese Construction, Inc		\$50.0000	\$100.00
	Civil Constructors, LLC		\$144.0000	\$288.00
	Sessions Paving Company		\$20.0000	\$40.00
	Jones Bros. Contractors, LLC		\$145.0000	\$290.00
	Jarrett Builders, Inc.		\$140.0000	\$280.00
202-08.10	REMOVAL OF CURB (DETACHED NON-MOUNTABLE 13+21 LT, OFFSET 43.0')	- STA. 12+34 LT TO STA.		
		80.000 L.F.		
	Vulcan Construction Materials, LLC		\$4.6000	\$368.00
	Charles Deweese Construction, Inc		\$6.0000	\$480.00
	Civil Constructors, LLC		\$15.0000	\$1,200.00
	Sessions Paving Company		\$7.5000	\$600.00
	Jones Bros. Contractors, LLC		\$4.5000	\$360.00
	Jarrett Builders, Inc.		\$10.0000	\$800.00

			(CONTRACT CNR237
			UNIT PRICE	EXTENSION
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	1,569.000 C.Y.		
	Volem Construction Metarials 110	1,309.000 C.1.	#45 0000	#00 F0F 00
	Vulcan Construction Materials, LLC		\$15.0000	\$23,535.00
	Charles Deweese Construction, Inc		\$13.8600	\$21,746.34
	Civil Constructors, LLC		\$30.0000	\$47,070.00
	Sessions Paving Company		\$30.0000	\$47,070.00
	Jones Bros. Contractors, LLC		\$22.5000	\$35,302.50
	Jarrett Builders, Inc.		\$30.0000	\$47,070.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		362.000 C.Y.		
	Vulcan Construction Materials, LLC		\$15.0000	\$5,430.00
	Charles Deweese Construction, Inc		\$24.7100	\$8,945.02
	Civil Constructors, LLC		\$22.0000	\$7,964.00
	Sessions Paving Company		\$50.0000	\$18,100.00
	Jones Bros. Contractors, LLC		\$15.7500	\$5,701.50
	Jarrett Builders, Inc.		\$35.0000	\$12,670.00
203-07	FURNISHING & SPREADING TOPSOIL			
		815.000 C.Y.		
	Vulcan Construction Materials, LLC		\$8.0000	\$6,520.00
	Charles Deweese Construction, Inc		\$22.4000	\$18,256.00
	Civil Constructors, LLC		\$30.0000	\$24,450.00
	Sessions Paving Company		\$30.0000	\$24,450.00
	Jones Bros. Contractors, LLC		\$26.5000	\$21,597.50
	Jarrett Builders, Inc.		\$35.0000	\$28,525.00
209-08-08	B ENHANCED ROCK CHECK DAM			
	, <u></u>	4.000 EACH		
	Vulcan Construction Materials, LLC		\$400.0000	\$1,600.00
	Charles Deweese Construction, Inc		\$385.0000	\$1,540.00
	Civil Constructors, LLC		\$401.0000	\$1,604.00
	Sessions Paving Company		\$500.0000	\$2,000.00
	Jones Bros. Contractors, LLC		\$400.0000	\$1,600.00
	Jarrett Builders, Inc.		\$600.0000	\$2,400.00
	ouriet Builders, inc.		φοσο.σσσσ	Ψ2,400.00
209-40.41	CATCH BASIN FILTER ASSEMBLY(TYPE 1)			
		6.000 EACH		
	Vulcan Construction Materials, LLC		\$500.0000	\$3,000.00
	Charles Deweese Construction, Inc		\$620.0000	\$3,720.00
	Civil Constructors, LLC		\$515.0000	\$3,090.00
	Sessions Paving Company		\$800.0000	\$4,800.00
	Jones Bros. Contractors, LLC		\$515.0000	\$3,090.00
	Jarrett Builders, Inc.		\$750.0000	\$4,500.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,320.000 TON		
	Vulcan Construction Materials, LLC		\$25.0000	\$33,000.00
	Charles Deweese Construction, Inc		\$28.3900	\$37,474.80
	Civil Constructors, LLC		\$32.0000	\$42,240.00
	Sessions Paving Company		\$30.0000	\$39,600.00
	Jones Bros. Contractors, LLC		\$35.5000	\$46,860.00
	Jarrett Builders, Inc.		\$28.0000	\$36,960.00
				PAGE

			CONTRACT CNR237
		UNIT PRICE	EXTENSION
307-01.21	ASP. CONC. MIX(PG70-22) (BPMB-HM) GR. A-S	24C 000 TON	
		316.000 TON	
	Vulcan Construction Materials, LLC	\$90.0000	\$28,440.00
	Charles Deweese Construction, Inc	\$60.3800	\$19,080.08
	Civil Constructors, LLC	\$102.0000	\$32,232.00
	Sessions Paving Company	\$96.3000	\$30,430.80
	Jones Bros. Contractors, LLC	\$90.7500	\$28,677.00
	Jarrett Builders, Inc.	\$101.0000	\$31,916.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A		
		405.000 TON	
	Vulcan Construction Materials, LLC	\$80.0000	\$32,400.00
	Charles Deweese Construction, Inc	\$66.1900	\$26,806.95
	Civil Constructors, LLC	\$102.0000	\$41,310.00
	Sessions Paving Company	\$97.5500	\$39,507.75
	Jones Bros. Contractors, LLC	\$81.2500	\$32,906.25
	Jarrett Builders, Inc.	\$105.0000	\$42,525.00
207 02 09	ASPUALT CONCRETE MIX (DC70.22) (PDMP. HM) CDADING P. M2		
307-02.06	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2	756.000 TON	
	Vulcan Construction Materials, LLC	\$90.0000	\$68,040.00
	Charles Deweese Construction, Inc	\$66.7800	\$50,485.68
	Civil Constructors, LLC	\$97.0000	
		•	\$73,332.00
	Sessions Paving Company	\$100.0000	\$75,600.00
	Jones Bros. Contractors, LLC	\$89.5000	\$67,662.00
	Jarrett Builders, Inc.	\$101.0000	\$76,356.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
		4.000 TON	
	Vulcan Construction Materials, LLC	\$1,000.0000	\$4,000.00
	Charles Deweese Construction, Inc	\$789.6100	\$3,158.44
	Civil Constructors, LLC	\$100.0000	\$400.00
	Sessions Paving Company	\$850.0000	\$3,400.00
	Jones Bros. Contractors, LLC	\$550.0000	\$2,200.00
	Jarrett Builders, Inc.	\$1,280.0000	\$5,120.00
	Carrett Ballacis, Illo.	ψ1,200.0000	ψο, 120.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)		
		14.000 TON	
	Vulcan Construction Materials, LLC	\$95.0000	\$1,330.00
	Charles Deweese Construction, Inc	\$24.0000	\$336.00
	Civil Constructors, LLC	\$47.0000	\$658.00
	Sessions Paving Company	\$38.0000	\$532.00
	Jones Bros. Contractors, LLC	\$55.0000	\$770.00
	Jarrett Builders, Inc.	\$50.0000	\$700.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
400 01	BITOMINIOSO MATERIAL FOR FACING SAT (19)	20.000 TON	
	Vulcan Construction Materials, LLC	\$800.0000	\$16,000.00
	Charles Deweese Construction, Inc	\$789.6100	\$15,792.20
	Civil Constructors, LLC	\$100.0000	\$2,000.00
	Sessions Paving Company	\$850.0000	\$17,000.00
	Jones Bros. Contractors, LLC	\$575.0000	\$17,000.00
	Jarrett Builders, Inc.		
	Janeu Dulluers, IIIC.	\$940.0000	\$18,800.00
			PAGE

CONTRACT	CNR237
----------	---------------

		CC	NTRACT CNR237
		UNIT PRICE	EXTENSION
411-01.07 ACS MIX (PG64-22) GRADING E SHOULDER			
	365.000 TON		
Vulcan Construction Materials, LLC		\$98.0000	\$35,770.00
Charles Deweese Construction, Inc		\$74.3400	\$27,134.10
Civil Constructors, LLC		\$110.0000	\$40,150.00
Sessions Paving Company		\$104.1500	\$38,014.75
Jones Bros. Contractors, LLC		\$88.5000	\$32,302.50
Jarrett Builders, Inc.		\$115.0000	\$41,975.00
411-02.10 ACS MIX(PG70-22) GRADING D			
	1,340.000 TON		
Vulcan Construction Materials, LLC		\$98.0000	\$131,320.00
Charles Deweese Construction, Inc		\$90.4300	\$121,176.20
Civil Constructors, LLC		\$105.0000	\$140,700.00
Sessions Paving Company		\$121.0000	\$162,140.00
Jones Bros. Contractors, LLC		\$97.5000	\$130,650.00
Jarrett Builders, Inc.		\$127.0000	\$170,180.00
411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	0.600 L.M.		
Vulcan Construction Materials, LLC		\$1,500.0000	\$900.00
Charles Deweese Construction, Inc		\$4,625.7000	\$2,775.42
Civil Constructors, LLC		\$1,950.0000	\$1,170.00
Sessions Paving Company		\$1,870.0000	\$1,122.00
Jones Bros. Contractors, LLC		\$1,700.0000 \$1,940.0000	\$1,020.00 \$1,164.00
Jarrett Builders, Inc.		\$1,940.0000	\$1,164.00
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
	0.800 L.M.		
Vulcan Construction Materials, LLC		\$1,500.0000	\$1,200.00
Charles Deweese Construction, Inc		\$4,535.0000	\$3,628.00
Civil Constructors, LLC		\$2,810.0000	\$2,248.00
Sessions Paving Company Jones Bros. Contractors, LLC		\$2,700.0000 \$2,450.0000	\$2,160.00 \$1,960.00
Jarrett Builders, Inc.		\$2,800.0000	\$2,240.00
Janett Builders, Illo.		Ψ2,000.0000	Ψ2,240.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT			
	13,000.000 S.Y.	.	•
Vulcan Construction Materials, LLC		\$2.0000	\$26,000.00
Charles Deweese Construction, Inc		\$1.8400	\$23,920.00
Civil Constructors, LLC		\$2.4000 \$2.3500	\$31,200.00
Sessions Paving Company Jones Bros. Contractors, LLC		\$2.3500 \$2.1000	\$30,550.00 \$27,300.00
Jarrett Builders, Inc.		\$2.4000	\$31,200.00
carrott Ballacro, mo.		Ψ2.1000	φοτ,200.00
502-03.13 CONCRETE PAVEMENT REMOVAL			
	94.000 S.Y.		A.
Vulcan Construction Materials, LLC		\$20.0000	\$1,880.00
Charles Deweese Construction, Inc		\$15.0000	\$1,410.00
Civil Constructors, LLC		\$42.0000	\$3,948.00 \$1,880.00
Sessions Paving Company Jones Bros. Contractors, LLC		\$20.0000 \$11.7500	\$1,880.00 \$1,104.50
Jarrett Builders, Inc.		\$11.7500	\$1,786.00
carrott Bandoro, mo.		ψ10.0000	
			PAGE 5

		CO	NIRACI CNR237
		UNIT PRICE	EXTENSION
COT 02 02 15" CONCRETE DIDE CUI VERTICI ASS III)			
607-02.02 15" CONCRETE PIPE CULVERT(CLASS III)	8.000 L.F.		
Vulcan Construction Materials, LLC	0.000 E.1.	\$225.0000	\$1,800.00
Charles Deweese Construction, Inc		\$112.4100	\$899.28
Civil Constructors, LLC		\$128.0000	\$1,024.00
Sessions Paving Company		\$100.0000	\$800.00
Jones Bros. Contractors, LLC		\$72.5000	\$580.00
Jarrett Builders, Inc.		\$150.0000	\$1,200.00
607-03.02 18" CONCRETE PIPE CULVERT (CLASS III)			
	84.000 L.F.		
Vulcan Construction Materials, LLC		\$60.0000	\$5,040.00
Charles Deweese Construction, Inc		\$119.0200	\$9,997.68
Civil Constructors, LLC		\$100.0000	\$8,400.00
Sessions Paving Company		\$110.0000	\$9,240.00
Jones Bros. Contractors, LLC		\$78.0000	\$6,552.00
Jarrett Builders, Inc.		\$92.0000	\$7,728.00
607-05.02 24" CONCRETE PIPE CULVERT (CLASS III)			
	40.000 L.F.		
Vulcan Construction Materials, LLC	40.000 E.I .	\$70.0000	\$2,800.00
Charles Deweese Construction, Inc		\$124.7900	\$4,991.60
		·	
Civil Constructors, LLC		\$159.0000 \$435.0000	\$6,360.00
Sessions Paving Company		\$125.0000 \$425.5000	\$5,000.00
Jones Bros. Contractors, LLC		\$125.5000	\$5,020.00
Jarrett Builders, Inc.		\$102.0000	\$4,080.00
611-07.59 24IN ENDWALL (CROSS DRAIN) 6:1			
	1.000 EACH		
Vulcan Construction Materials, LLC		\$2,900.0000	\$2,900.00
Charles Deweese Construction, Inc		\$3,590.9400	\$3,590.94
Civil Constructors, LLC		\$3,890.0000	\$3,890.00
Sessions Paving Company		\$3,000.0000	\$3,000.00
Jones Bros. Contractors, LLC		\$3,450.0000	\$3,450.00
Jarrett Builders, Inc.		\$4,400.0000	\$4,400.00
611-38.02 CATCH BASINS, TYPE 38, > 4' - 8' DEPTH	4 000 54 011		
	1.000 EACH		
Vulcan Construction Materials, LLC		\$3,000.0000	\$3,000.00
Charles Deweese Construction, Inc		\$5,665.8100	\$5,665.81
Civil Constructors, LLC		\$5,050.0000	\$5,050.00
Sessions Paving Company		\$6,000.0000	\$6,000.00
Jones Bros. Contractors, LLC		\$5,425.0000	\$5,425.00
Jarrett Builders, Inc.		\$7,300.0000	\$7,300.00
611-42.01 CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
	3.000 EACH		
Vulcan Construction Materials, LLC		\$2,700.0000	\$8,100.00
Charles Deweese Construction, Inc		\$3,095.3900	\$9,286.17
Civil Constructors, LLC		\$3,480.0000	\$10,440.00
Sessions Paving Company		\$4,500.0000	\$13,500.00
Jones Bros. Contractors, LLC		\$3,250.0000	\$9,750.00
Jarrett Builders, Inc.		\$5,000.0000	\$15,000.00
			PAGE 6

CONTRACT C

			CC	ONTRACT CNR237
			UNIT PRICE	EXTENSION
701-03	CONCRETE MEDIAN PAVEMENT			
		30.000 C.Y.		
	Vulcan Construction Materials, LLC	33.333 3.11	\$400.0000	\$12,000.00
	Charles Deweese Construction, Inc		\$525.0000	\$15,750.00
	Civil Constructors, LLC		\$500.0000	\$15,000.00
	Sessions Paving Company		\$430.0000	\$12,900.00
	Jones Bros. Contractors, LLC		\$425.0000	\$12,750.00
	Jarrett Builders, Inc.		\$700.0000	\$21,000.00
702-01.01	EXTRUDED SLOPING CURB			
702 01.01	EXTRODES SESTING SORE	193.000 L.F.		
	Vulcan Construction Materials, LLC	.00.000	\$15.0000	\$2,895.00
	Charles Deweese Construction, Inc		\$10.0000	\$1,930.00
	Civil Constructors, LLC		\$13.0000	\$2,509.00
	Sessions Paving Company		\$12.2500	\$2,364.25
	Jones Bros. Contractors, LLC		\$12.5000	\$2,412.50
	Jarrett Builders, Inc.		\$12.0000	\$2,316.00
705-08 11	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
703-00.11	TONTABLE IIIII AOT ATTENDATON NOTIN 330 TE-3	6.000 EACH		
	Vulcan Construction Materials, LLC	0.000 EAGI1	\$2,500.0000	\$15,000.00
	Charles Deweese Construction, Inc		\$4,500.0000	\$27,000.00
	Civil Constructors, LLC		\$5,150.0000	\$30,900.00
	Sessions Paving Company		\$5,000.0000	\$30,000.00
	Jones Bros. Contractors, LLC		\$4,550.0000	\$27,300.00
	Jarrett Builders, Inc.		\$5,200.0000	\$31,200.00
700-05 05	5 MACHINED RIP-RAP (CLASS A-3)			
703-03.03	MACHINED IN -INAL (GEAGG A-3)	165.000 TON		
	Vulcan Construction Materials, LLC	100.000 1014	\$30.0000	\$4,950.00
	Charles Deweese Construction, Inc		\$38.0000	\$6,270.00
	Civil Constructors, LLC		\$39.0000	\$6,435.00
	Sessions Paving Company		\$35.0000	\$5,775.00
	Jones Bros. Contractors, LLC		\$33.5000	\$5,527.50
	Jarrett Builders, Inc.		\$38.0000	\$6,270.00
740.04	TRAFFIC CONTROL			
712-01	TRAFFIC CONTROL	1.000 LS		
	Vulsar Canatrustian Matarials III C	1.000 LS	# 20,000,0000	#20.000.00
	Vulcan Construction Materials, LLC		\$28,000.0000	\$28,000.00
	Charles Deweese Construction, Inc		\$30,000.0000	\$30,000.00
	Civil Constructors, LLC		\$15,250.0000 \$35,000,0000	\$15,250.00 \$35,000.00
	Sessions Paving Company Jones Bros. Contractors, LLC		\$35,000.0000	\$35,000.00 \$53,500.00
	Jarrett Builders, Inc.		\$52,500.0000 \$53,000.0000	\$52,500.00 \$53,000.00
			, ,	, ,
712-02.02	2 INTERCONNECTED PORTABLE BARRIER RAIL			
	W.L. 0	1,050.000 L.F.	***	Форман (1)
	Vulcan Construction Materials, LLC		\$22.0000	\$23,100.00
	Charles Deweese Construction, Inc		\$29.0000	\$30,450.00
	Civil Constructors, LLC		\$32.0000	\$33,600.00
	Sessions Paving Company		\$30.0000	\$31,500.00
	Jones Bros. Contractors, LLC		\$21.5000	\$22,575.00
	Jarrett Builders, Inc.		\$41.0000	\$43,050.00
				PAGE 7

				NIRACI CNR237
			UNIT PRICE	EXTENSION
712-04.01 FLEXIBLE DR	UMS (CHANNELIZING)			
		50.000 EACH		
	ruction Materials, LLC		\$38.0000	\$1,900.00
	eese Construction, Inc		\$28.0000	\$1,400.00
Civil Construc			\$33.0000	\$1,650.00
Sessions Pav	• •		\$35.0000	\$1,750.00
	Contractors, LLC		\$28.5000	\$1,425.00
Jarrett Builder	s, Inc.		\$32.0000	\$1,600.00
712-06 SIGNS (CONS	TRUCTION)			
	,	325.000 S.F.		
Vulcan Consti	ruction Materials, LLC		\$9.2500	\$3,006.25
	eese Construction, Inc		\$7.5000	\$2,437.50
Civil Construc			\$8.6000	\$2,795.00
Sessions Pav	•		\$10.0000	\$3,250.00
	Contractors, LLC		\$7.6500	\$2,486.25
Jarrett Builder	•		\$9.0000	\$2,925.00
712-08.03 ARROW BOAI	RD (TYPE C)	2 000 54 011		
		2.000 EACH	#	A 4 000 00
	ruction Materials, LLC		\$900.0000	\$1,800.00
	eese Construction, Inc		\$850.0000	\$1,700.00
Civil Construc			\$973.0000	\$1,946.00
Sessions Pav			\$1,250.0000	\$2,500.00
	Contractors, LLC		\$865.0000	\$1,730.00
Jarrett Builder	's, Inc.		\$980.0000	\$1,960.00
713-01.01 CLASS A CON	NCRETE (FOUNDATION FOR SIGN SUPPO	RTS)		
		1.000 C.Y.		
Vulcan Consti	ruction Materials, LLC		\$575.0000	\$575.00
Charles Dewe	eese Construction, Inc		\$550.0000	\$550.00
Civil Construc	tors, LLC		\$973.0000	\$973.00
Sessions Pav			\$935.0000	\$935.00
	Contractors, LLC		\$865.0000	\$865.00
Jarrett Builder	s, Inc.		\$980.0000	\$980.00
740 04 00 OTEF! DAD D		LOUDDODTO)		
713-01.02 STEEL BAR R	EINFORCEMENT(FOUNDATION FOR SIGN	180.000 LB.		
Vulcan Canati	ruction Materials, LLC	100.000 LD.	\$2.7500	\$495.00
	eese Construction, Inc		\$1.5000	\$270.00
Civil Construc	•		\$4.0000	\$720.00
Sessions Pav			\$4.0000	\$720.00
	Contractors, LLC		\$3.6500	\$657.00
Jarrett Builder	's, Inc.		\$4.0000	\$720.00
713-06 STEEL I-BEAM	MS & WF-BEAMS(BREAKAWAY) SIGN SUF	PPORT		
		483.000 LB.		
	ruction Materials, LLC		\$4.0000	\$1,932.00
	eese Construction, Inc		\$4.2500	\$2,052.75
Civil Construc	tors, LLC		\$4.9000	\$2,366.70
Sessions Pav			\$4.7500	\$2,294.25
	Contractors, LLC		\$4.4500	\$2,149.35
Jarrett Builder	s, Inc.		\$5.0000	\$2,415.00
				PAGE 8

		CO	TRACT CNR237
		UNIT PRICE	EXTENSION
713-11.01 "U" SECTION STEEL POSTS	403.000 LB.		
Violence Construction Metarials 11.0	403.000 LB.	#0.0500	#4.000.45
Vulcan Construction Materials, LLC		\$3.0500	\$1,229.15
Charles Deweese Construction, Inc		\$3.2500	\$1,309.75
Civil Constructors, LLC		\$3.8000	\$1,531.40
Sessions Paving Company		\$3.6500	\$1,470.95
Jones Bros. Contractors, LLC		\$3.6500	\$1,470.95
Jarrett Builders, Inc.		\$4.0000	\$1,612.00
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POS	ST		
	475.000 LB.		
Vulcan Construction Materials, LLC		\$3.6500	\$1,733.75
Charles Deweese Construction, Inc		\$3.6500	\$1,733.75
Civil Constructors, LLC		\$4.2000	\$1,995.00
Sessions Paving Company		\$4.1000	\$1,947.50
Jones Bros. Contractors, LLC		\$4.5200	\$2,147.00
Jarrett Builders, Inc.		\$4.0000	\$1,900.00
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
,	108.000 S.F.		
Vulcan Construction Materials, LLC	100.000 0.1 .	\$12.5000	\$1,350.00
Charles Deweese Construction, Inc		\$14.2000	\$1,533.60
Civil Constructors, LLC		\$16.0000	
		•	\$1,728.00
Sessions Paving Company Jones Bros. Contractors, LLC		\$15.6500 \$13.7500	\$1,690.20 \$1,485.00
		\$13.7500 \$15.0000	
Jarrett Builders, Inc.		\$15.0000	\$1,620.00
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	113.000 S.F.		
Vulcan Construction Materials, LLC		\$13.5000	\$1,525.50
Charles Deweese Construction, Inc		\$15.1000	\$1,706.30
Civil Constructors, LLC		\$17.0000	\$1,921.00
Sessions Paving Company		\$16.7500	\$1,892.75
Jones Bros. Contractors, LLC		\$14.5000	\$1,638.50
Jarrett Builders, Inc.		\$17.0000	\$1,921.00
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS			
. 10 10 10 11 11 11 11 11 11 11 11 11 11	1.000 LS		
Vulcan Construction Materials, LLC		\$500.0000	\$500.00
Charles Deweese Construction, Inc		\$650.0000	\$650.00
Civil Constructors, LLC		\$572.0000	\$572.00
Sessions Paving Company		\$600.0000	\$600.00
Jones Bros. Contractors, LLC		\$505.0000	\$505.00
Jarrett Builders, Inc.		\$600.0000	\$600.00
		************	*******
713-15.07 SUSPENDED FLAT SHEET ALUMINUM SIGN (0.	•		
	8.000 EACH	4	A
Vulcan Construction Materials, LLC		\$270.0000	\$2,160.00
Charles Deweese Construction, Inc		\$90.0000	\$720.00
Civil Constructors, LLC		\$92.0000	\$736.00
Sessions Paving Company		\$270.0000	\$2,160.00
Jones Bros. Contractors, LLC		\$82.0000	\$656.00
Jarrett Builders, Inc.		\$91.0000	\$728.00
			PAGE 9

CONTRACT C	NR237	7
------------	-------	---

			CONTRACT CNR237
		UNIT PRICE	EXTENSION
713-16.01 CHANGEABLE MESSAGE SI	GN UNIT		
	2.000	EACH	
Vulcan Construction Materia	ls, LLC	\$7,200.0000	\$14,400.00
Charles Deweese Construct	ion, Inc	\$6,500.0000	\$13,000.00
Civil Constructors, LLC		\$6,640.0000	\$13,280.00
Sessions Paving Company		\$6,500.0000	\$13,000.00
Jones Bros. Contractors, LL	0	\$5,850.0000	\$11,700.00
Jarrett Builders, Inc.		\$6,600.0000	\$13,200.00
716-01.21 Snwplwble Pvmt Mrkrs (Bi-D	ir)(1 Color)		
	32.000	EACH	
Vulcan Construction Materia	ls, LLC	\$50.0000	\$1,600.00
Charles Deweese Construct	on, Inc	\$38.7500	\$1,240.00
Civil Constructors, LLC		\$45.0000	\$1,440.00
Sessions Paving Company		\$50.0000	\$1,600.00
Jones Bros. Contractors, LL	C	\$38.9000	\$1,244.80
Jarrett Builders, Inc.		\$57.0000	\$1,824.00
716-01.22 Snwplwble Pvmt Mrkrs (Mon	o-Dir)(1 Color)		
	25.000	EACH	
Vulcan Construction Materia	ls, LLC	\$50.0000	\$1,250.00
Charles Deweese Construct	on, Inc	\$38.7500	\$968.75
Civil Constructors, LLC		\$45.0000	\$1,125.00
Sessions Paving Company		\$50.0000	\$1,250.00
Jones Bros. Contractors, LL	3	\$38.9000	\$972.50
Jarrett Builders, Inc.		\$57.0000	\$1,425.00
716-01.23 Snwplwble Pvmt Mrkrs (Bi-D	ir)(2 Color)		
	82.000	EACH	
Vulcan Construction Materia	ls, LLC	\$50.0000	\$4,100.00
Charles Deweese Construct	on, Inc	\$38.7500	\$3,177.50
Civil Constructors, LLC		\$45.0000	\$3,690.00
Sessions Paving Company		\$50.0000	\$4,100.00
Jones Bros. Contractors, LL	3	\$38.9000	\$3,189.80
Jarrett Builders, Inc.		\$56.0000	\$4,592.00
716-02.04 PLASTIC PAVEMENT MARKI	NG(CHANNELIZATION STRIPING)		
	117.000	S.Y.	
Vulcan Construction Materia	ls, LLC	\$20.0000	\$2,340.00
Charles Deweese Construct	on, Inc	\$21.5000	\$2,515.50
Civil Constructors, LLC		\$25.0000	\$2,925.00
Sessions Paving Company		\$20.0000	\$2,340.00
Jones Bros. Contractors, LL	3	\$22.2500	\$2,603.25
Jarrett Builders, Inc.		\$23.0000	\$2,691.00
716-02.05 PLASTIC PAVEMENT MARKI	NG (STOP LINE)		
	415.000	L.F.	
Vulcan Construction Materia	ls, LLC	\$10.0000	\$4,150.00
Charles Deweese Construct	on, Inc	\$11.2500	\$4,668.75
Civil Constructors, LLC		\$13.0000	\$5,395.00
Sessions Paving Company		\$10.0000	\$4,150.00
Jones Bros. Contractors, LL	0	\$11.5000	\$4,772.50
Jarrett Builders, Inc.		\$12.0000	\$4,980.00
			PAGE 10

CUNTRACT CNR23/	CO	NTRACT	CNR237
-----------------	----	--------	--------

		СО	NTRACT CNR237
		UNIT PRICE	EXTENSION
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	14.000 EACH		
Vulcan Construction Materials, LLC		\$150.0000	\$2,100.00
Charles Deweese Construction, Inc		\$135.0000	\$1,890.00
Civil Constructors, LLC		\$155.0000	\$2,170.00
Sessions Paving Company		\$150.0000	\$2,100.00
Jones Bros. Contractors, LLC		\$137.5000	\$1,925.00
Jarrett Builders, Inc.		\$170.0000	\$2,380.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)			
	2.000 EACH		
Vulcan Construction Materials, LLC		\$350.0000	\$700.00
Charles Deweese Construction, Inc		\$195.0000	\$390.00
Civil Constructors, LLC		\$224.0000	\$448.00
Sessions Paving Company		\$350.0000	\$700.00
Jones Bros. Contractors, LLC		\$197.0000	\$394.00
Jarrett Builders, Inc.		\$400.0000	\$800.00
716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	4.000 EACH		
Vulcan Construction Materials, LLC		\$200.0000	\$800.00
Charles Deweese Construction, Inc		\$225.0000	\$900.00
Civil Constructors, LLC		\$258.0000	\$1,032.00
Sessions Paving Company		\$200.0000	\$800.00
Jones Bros. Contractors, LLC		\$227.5000	\$910.00
Jarrett Builders, Inc.		\$230.0000	\$920.00
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	715.000 L.F.		
Vulcan Construction Materials, LLC		\$10.0000	\$7,150.00
Charles Deweese Construction, Inc		\$8.2500	\$5,898.75
Civil Constructors, LLC		\$9.5000	\$6,792.50
Sessions Paving Company		\$10.0000	\$7,150.00
Jones Bros. Contractors, LLC		\$8.6500	\$6,184.75
Jarrett Builders, Inc.		\$12.0000	\$8,580.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
	5.000 EACH		
Vulcan Construction Materials, LLC		\$125.0000	\$625.00
Charles Deweese Construction, Inc		\$135.0000	\$675.00
Civil Constructors, LLC		\$155.0000	\$775.00
Sessions Paving Company		\$125.0000	\$625.00
Jones Bros. Contractors, LLC		\$159.3000	\$796.50
Jarrett Builders, Inc.		\$150.0000	\$750.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)			
	40.000 S.F.		
Vulcan Construction Materials, LLC		\$28.0000	\$1,120.00
Charles Deweese Construction, Inc		\$12.5000	\$500.00
Civil Constructors, LLC		\$15.0000	\$600.00
Sessions Paving Company		\$28.0000	\$1,120.00
Jones Bros. Contractors, LLC		\$12.6000	\$504.00
Jarrett Builders, Inc.		\$32.0000	\$1,280.00
			PAGE 11

		CONTRACT CNR237	
		UNIT PRICE	EXTENSION
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	0.200 L.M.		
Vulcan Construction Materials, LLC		\$3,500.0000	\$700.00
Charles Deweese Construction, Inc		\$5,000.0000	\$1,000.00
Civil Constructors, LLC		\$5,720.0000	\$1,144.00
Sessions Paving Company		\$3,500.0000	\$700.00
Jones Bros. Contractors, LLC		\$5,200.0000	\$1,040.00
Jarrett Builders, Inc.		\$4,000.0000	\$800.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
	0.400 L.M.		
Vulcan Construction Materials, LLC		\$3,500.0000	\$1,400.00
Charles Deweese Construction, Inc		\$5,000.0000	\$2,000.00
Civil Constructors, LLC		\$6,300.0000	\$2,520.00
Sessions Paving Company		\$3,500.0000	\$1,400.00
Jones Bros. Contractors, LLC		\$5,750.0000	\$2,300.00
Jarrett Builders, Inc.		\$4,000.0000	\$1,600.00
716-05.21 PAINTED PAVEMENT MARKING(4"DOTTED LINE)			
	300.000 L.F.		
Vulcan Construction Materials, LLC		\$1.0000	\$300.00
Charles Deweese Construction, Inc		\$1.5000	\$450.00
Civil Constructors, LLC		\$1.8000	\$540.00
Sessions Paving Company		\$1.0000	\$300.00
Jones Bros. Contractors, LLC		\$1.6500	\$495.00
Jarrett Builders, Inc.		\$1.1500	\$345.00
716-05.49 PAINTED PAVEMENT MARKINGS(8" LINE)			
	0.670 L.M.		
Vulcan Construction Materials, LLC		\$3,500.0000	\$2,345.00
Charles Deweese Construction, Inc		\$3,000.0000	\$2,010.00
Civil Constructors, LLC		\$3,440.0000	\$2,304.80
Sessions Paving Company		\$3,500.0000	\$2,345.00
Jones Bros. Contractors, LLC		\$3,200.0000	\$2,144.00
Jarrett Builders, Inc.		\$4,000.0000	\$2,680.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	2.090 L.M.		
Vulcan Construction Materials, LLC		\$6,500.0000	\$13,585.00
Charles Deweese Construction, Inc		\$5,275.0000	\$11,024.75
Civil Constructors, LLC		\$6,040.0000	\$12,623.60
Sessions Paving Company		\$6,500.0000	\$13,585.00
Jones Bros. Contractors, LLC		\$5,350.0000	\$11,181.50
Jarrett Builders, Inc.		\$7,400.0000	\$15,466.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	0.500 L.M.		
Vulcan Construction Materials, LLC		\$6,500.0000	\$3,250.00
Charles Deweese Construction, Inc		\$2,750.0000	\$1,375.00
Civil Constructors, LLC		\$3,150.0000	\$1,575.00
Sessions Paving Company		\$6,500.0000	\$3,250.00
Jones Bros. Contractors, LLC		\$2,765.0000	\$1,382.50
Jarrett Builders, Inc.		\$7,400.0000	\$3,700.00
			PAGE 12
			·

				CONTRACT CNR23	57
			UNIT PRICE	EXTENSION	
717-01	MOBILIZATION				
		1.000 LS			
	Vulcan Construction Materials, LLC		\$57,000.0000	\$57,000.00	
	Charles Deweese Construction, Inc		\$69,560.0000	\$69,560.00	
	Civil Constructors, LLC		\$64,540.0000	\$64,540.00	
	Sessions Paving Company		\$51,500.0000	\$51,500.00	
	Jones Bros. Contractors, LLC		\$175,000.0000	\$175,000.00	
	Jarrett Builders, Inc.		\$54,000.0000	\$54,000.00	
725-02.41	FIBER OPTIC TERMINATION SPLICE UNIT				
		4.000 EACH			
	Vulcan Construction Materials, LLC		\$440.0000	\$1,760.00	
	Charles Deweese Construction, Inc		\$440.0000	\$1,760.00	
	Civil Constructors, LLC		\$504.0000	\$2,016.00	
	Sessions Paving Company		\$440.0000	\$1,760.00	
	Jones Bros. Contractors, LLC		\$445.0000	\$1,780.00	
	Jarrett Builders, Inc.		\$480.0000	\$1,920.00	
705.00.44	L FIRED ORTIC MODEM TRANSCEIVER (TVRF IV				
725-03.44	FIBER OPTIC MODEM TRANSCEIVER (TYPE I)	4 000 5 4 0 1			
	Vulsar Canatourties Matarials 11 C	4.000 EACH	¢4 000 0000	Ф 7 ГОО ОО	
	Vulcan Construction Materials, LLC Charles Deweese Construction, Inc		\$1,880.0000 \$1,880.0000	\$7,520.00 \$7,520.00	
	Civil Constructors, LLC		\$2,160.0000	\$8,640.00	
	Sessions Paving Company		\$1,880.0000	\$7,520.00	
	Jones Bros. Contractors, LLC		\$1,895.0000	\$7,580.00	
	Jarrett Builders, Inc.		\$4,500.0000	\$18,000.00	
	ourien builders, inc.		ψ-,300.0000	ψ10,000.00	
725-03.60	CABLE MARKER				
		10.000 EACH			
	Vulcan Construction Materials, LLC		\$114.0000	\$1,140.00	
	Charles Deweese Construction, Inc		\$114.0000	\$1,140.00	
	Civil Constructors, LLC		\$131.0000	\$1,310.00	
	Sessions Paving Company		\$114.0000	\$1,140.00	
	Jones Bros. Contractors, LLC		\$117.0000	\$1,170.00	
	Jarrett Builders, Inc.		\$300.0000	\$3,000.00	
725-05.04	SPLICE ENCLOSURE (UNDER GRADE)				
	,	4.000 EACH			
	Vulcan Construction Materials, LLC		\$708.0000	\$2,832.00	
	Charles Deweese Construction, Inc		\$708.0000	\$2,832.00	
	Civil Constructors, LLC		\$810.0000	\$3,240.00	
	Sessions Paving Company		\$708.0000	\$2,832.00	
	Jones Bros. Contractors, LLC		\$715.0000	\$2,860.00	
	Jarrett Builders, Inc.		\$2,800.0000	\$11,200.00	
725-05.06	5 FUSION SPLICE	42 000 FACU			
	Vulcan Construction Materials, LLC	12.000 EACH	¢ E0 0000	የ ድለስ ስላ	
	Vulcan Construction Materials, LLC		\$50.0000 \$50.0000	\$600.00	
	Charles Deweese Construction, Inc		\$50.0000 \$58.0000	\$600.00	
	Civil Constructors, LLC		\$58.0000 \$50.0000	\$696.00	
	Sessions Paving Company		\$50.0000 \$55.0000	\$600.00	
	Jones Bros. Contractors, LLC		\$55.0000 \$102.0000	\$660.00 \$1.224.00	
	Jarrett Builders, Inc.		φ102.0000	\$1,224.00	
				PAGE	13

CON	1TR	ACT	CNR237

			C	CONTRACT CNR237
			UNIT PRICE	EXTENSION
730-01.02	REMOVAL OF SIGNAL EQUIPMENT			
		2.000 EACH		•
	Vulcan Construction Materials, LLC		\$2,350.0000	\$4,700.00
	Charles Deweese Construction, Inc		\$2,350.0000	\$4,700.00
	Civil Constructors, LLC		\$2,690.0000	\$5,380.00
	Sessions Paving Company		\$2,350.0000 \$2,355.0000	\$4,700.00
	Jones Bros. Contractors, LLC Jarrett Builders, Inc.		\$2,355.0000 \$1,600.0000	\$4,710.00 \$3,200.00
	Janett Bulluers, Inc.		\$1,000.0000	φ3,200.00
730-02.08	SIGNAL HEAD ASSEMBLY (130 POLE MOUNTED)			
		1.000 EACH		
	Vulcan Construction Materials, LLC		\$634.0000	\$634.00
	Charles Deweese Construction, Inc		\$634.0000	\$634.00
	Civil Constructors, LLC		\$726.0000	\$726.00
	Sessions Paving Company		\$634.0000	\$634.00
	Jones Bros. Contractors, LLC		\$645.0000	\$645.00
	Jarrett Builders, Inc.		\$800.0000	\$800.00
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
	(9.000 EACH		
	Vulcan Construction Materials, LLC	0.000 E/(011	\$862.0000	\$7,758.00
	Charles Deweese Construction, Inc		\$862.0000	\$7,758.00
	Civil Constructors, LLC		\$987.0000	\$8,883.00
	Sessions Paving Company		\$862.0000	\$7,758.00
	Jones Bros. Contractors, LLC		\$895.0000	\$8,055.00
	Jarrett Builders, Inc.		\$900.0000	\$8,100.00
720 02 47	CIONAL HEAD ACCEMBLY (450 ACH WITH DACKDLATE)			
730-02.17	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)	3.000 EACH		
	Vulcan Canatrustian Materials III C	3.000 EACH	¢4 267 0000	¢4.404.00
	Vulcan Construction Materials, LLC Charles Deweese Construction, Inc		\$1,367.0000 \$1,367.0000	\$4,101.00 \$4,101.00
	Civil Constructors, LLC		\$1,570.0000	\$4,710.00 \$4,710.00
	Sessions Paving Company		\$1,367.0000	\$4,710.00 \$4,101.00
	Jones Bros. Contractors, LLC		\$1,375.0000	\$4,125.00
	Jarrett Builders, Inc.		\$1,420.0000	\$4,260.00
	,		. ,	
730-02.30	SIGNAL HEAD ASSEMBLY (130 A2 POLE MOUNTED)			
		1.000 EACH		
	Vulcan Construction Materials, LLC		\$858.0000	\$858.00
	Charles Deweese Construction, Inc		\$858.0000	\$858.00
	Civil Constructors, LLC		\$982.0000	\$982.00
	Sessions Paving Company		\$858.0000	\$858.00
	Jones Bros. Contractors, LLC		\$875.0000	\$875.00
	Jarrett Builders, Inc.		\$800.0000	\$800.00
730-02.31	SIGNAL HEAD ASSEMBLY (130 A2 WITH BACKPLATE)			
	,	2.000 EACH		
	Vulcan Construction Materials, LLC		\$858.0000	\$1,716.00
	Charles Deweese Construction, Inc		\$858.0000	\$1,716.00
	Civil Constructors, LLC		\$982.0000	\$1,964.00
	Sessions Paving Company		\$858.0000	\$1,716.00
	Jones Bros. Contractors, LLC		\$885.0000	\$1,770.00
	Jarrett Builders, Inc.		\$900.0000	\$1,800.00
				PAGE 14

CONTRACT C	NI	R237
------------	----	------

			CONTRACT CNR237
		UNIT PRICE	EXTENSION
730-03.20 INSTALL PULL BOX (TYPE A)			
	15.000 EACH		
Vulcan Construction Materials, LLC		\$340.0000	\$5,100.00
Charles Deweese Construction, Inc		\$340.0000	\$5,100.00
Civil Constructors, LLC		\$389.0000	\$5,835.00
Sessions Paving Company		\$340.0000	\$5,100.00
Jones Bros. Contractors, LLC		\$375.0000	\$5,625.00
Jarrett Builders, Inc.		\$400.0000	\$6,000.00
730-03.21 INSTALL PULL BOX (TYPE B)			
	7.000 EACH		
Vulcan Construction Materials, LLC		\$460.0000	\$3,220.00
Charles Deweese Construction, Inc		\$460.0000	\$3,220.00
Civil Constructors, LLC		\$527.0000	\$3,689.00
Sessions Paving Company		\$460.0000	\$3,220.00
Jones Bros. Contractors, LLC		\$465.0000	\$3,255.00
Jarrett Builders, Inc.		\$400.0000	\$2,800.00
730-03.23 INSTALL PULL BOX (FIBER OPTIC-TYPE A)			
	8.000 EACH		
Vulcan Construction Materials, LLC		\$1,425.0000	\$11,400.00
Charles Deweese Construction, Inc		\$1,425.0000	\$11,400.00
Civil Constructors, LLC		\$1,640.0000	\$13,120.00
Sessions Paving Company		\$1,425.0000	\$11,400.00
Jones Bros. Contractors, LLC Jarrett Builders, Inc.		\$1,475.0000 \$910.0000	\$11,800.00 \$7,280.00
Janett Bullders, IIIC.		ф910.0000	\$7,200.00
730-03.24 INSTALL PULL BOX (FIBER OPTIC-TYPE B)			
	4.000 EACH		
Vulcan Construction Materials, LLC		\$1,570.0000	\$6,280.00
Charles Deweese Construction, Inc		\$1,570.0000	\$6,280.00
Civil Constructors, LLC		\$1,800.0000 \$1,570.0000	\$7,200.00 \$6,280.00
Sessions Paving Company Jones Bros. Contractors, LLC		\$1,595.0000	\$6,380.00
Jarrett Builders, Inc.		\$1,400.0000	\$5,600.00
carrott Banacio, mo.		ψ1,100.0000	ψο,οσο.σσ
730-05.01 ELECTRICAL SERVICE CONNECTION			
VI 0 1 5 M 1 1 1 1 0	2.000 EACH	#4.000.000	Фо ооо оо
Vulcan Construction Materials, LLC		\$1,900.0000	\$3,800.00
Charles Deweese Construction, Inc		\$1,900.0000	\$3,800.00
Civil Constructors, LLC Sessions Paving Company		\$2,180.0000 \$1,900.0000	\$4,360.00 \$3,800.00
Jones Bros. Contractors, LLC		\$2,100.0000	\$4,200.00
Jarrett Builders, Inc.		\$2,800.0000	\$5,600.00
,		. ,	. ,
730-08.02 SIGNAL CABLE - 5 CONDUCTOR	040.0001.5		
Vulcan Construction Materials 11.0	310.000 L.F.	¢ 4 4000	ድ ጋ44 በበ
Vulcan Construction Materials, LLC Charles Deweese Construction, Inc		\$1.1000 \$1.1000	\$341.00 \$341.00
Civil Constructors, LLC		\$1.1000 \$1.3000	\$341.00 \$403.00
Sessions Paving Company		\$1.3000 \$1.1000	\$341.00
Jones Bros. Contractors, LLC		\$1.1000 \$1.2500	\$341.50 \$387.50
Jarrett Builders, Inc.		\$2.0000	\$620.00
		+2.0000	PAGE 15
			I AUL II

			CO	NIRACI CNR23/
			UNIT PRICE	EXTENSION
730-08 03	SIGNAL CABLE - 7 CONDUCTOR			
730-08.03	SIGNAL CABLE - 7 CONDUCTOR	1,815.000 L.F.		
	Vulcan Construction Materials, LLC	1,01010	\$1.3000	\$2,359.50
	Charles Deweese Construction, Inc		\$1.3000	\$2,359.50
	Civil Constructors, LLC		\$1.5000	\$2,722.50
	Sessions Paving Company		\$1.3000	\$2,359.50
	Jones Bros. Contractors, LLC		\$1.4500	\$2,631.75
	Jarrett Builders, Inc.		\$2.0000	\$3,630.00
730-08.40	INTERCONNECT CABLE - FIBER OPTIC (6F, DROP			
	Village Construction Materials 11 C	495.000 L.F.	#0.0000	#000 00
	Vulcan Construction Materials, LLC		\$2.0000	\$990.00
	Charles Deweese Construction, Inc		\$2.0000	\$990.00
	Civil Constructors, LLC		\$2.3000	\$1,138.50
	Sessions Paving Company		\$2.0000	\$990.00
	Jones Bros. Contractors, LLC		\$2.1500	\$1,064.25
	Jarrett Builders, Inc.		\$3.0000	\$1,485.00
730-08.41	INTERCONNECT CABLE - FIBER OPTIC (24F, SING	ILE MODE)		
		4,200.000 L.F.		
	Vulcan Construction Materials, LLC		\$2.3000	\$9,660.00
	Charles Deweese Construction, Inc		\$2.3000	\$9,660.00
	Civil Constructors, LLC		\$2.7000	\$11,340.00
	Sessions Paving Company		\$2.3000	\$9,660.00
	Jones Bros. Contractors, LLC		\$2.4000	\$10,080.00
	Jarrett Builders, Inc.		\$3.2000	\$13,440.00
730-12 01	CONDUIT 1" DIAMETER (PVC)			
730-12.01	CONDON 1 DIAMETER (1 VO)	655.000 L.F.		
	Vulcan Construction Materials, LLC		\$4.5000	\$2,947.50
	Charles Deweese Construction, Inc		\$4.5000	\$2,947.50
	Civil Constructors, LLC		\$5.2000	\$3,406.00
	Sessions Paving Company		\$4.5000	\$2,947.50
	Jones Bros. Contractors, LLC		\$4.6500	\$3,045.75
	Jarrett Builders, Inc.		\$7.0000	\$4,585.00
700 40 00	CONDUIT OF DIAMETER (DVC)			
730-12.02	CONDUIT 2" DIAMETER (PVC)	410.000 L.F.		
	Vulcan Construction Materials, LLC		\$5.0000	\$2,050.00
	Charles Deweese Construction, Inc		\$5.0000	\$2,050.00
	Civil Constructors, LLC		\$5.8000	\$2,378.00
	Sessions Paving Company		\$5.0000	\$2,050.00
	Jones Bros. Contractors, LLC		\$5.2500	\$2,152.50
	Jarrett Builders, Inc.		\$9.0000	\$3,690.00
730-12.07	CONDUIT 1" DIAMETER (RGS)	240.000 E		
	Vulcan Canatruction Materials 11.0	240.000 L.F.	¢43,0000	¢2 420 00
	Vulcan Construction Materials, LLC		\$13.0000 \$13.0000	\$3,120.00
	Charles Deweese Construction, Inc		\$13.0000 \$45.0000	\$3,120.00
	Civil Constructors, LLC		\$15.0000	\$3,600.00
	Sessions Paving Company		\$13.0000	\$3,120.00
	Jones Bros. Contractors, LLC		\$13.1500	\$3,156.00
	Jarrett Builders, Inc.		\$17.0000	\$4,080.00
				PAGE 16

		C	ONTRACT CNR237
		UNIT PRICE	EXTENSION
730-12.13 CONDUIT 2" DIAMETER (JACK AND BORE)			
	3,825.000 L.F.		
Vulcan Construction Materials, LLC	-,	\$11.0000	\$42,075.00
Charles Deweese Construction, Inc		\$11.0000	\$42,075.00
Civil Constructors, LLC		\$13.0000	\$49,725.00
Sessions Paving Company		\$11.0000	\$42,075.00
Jones Bros. Contractors, LLC		\$11.5000	\$43,987.50
Jarrett Builders, Inc.		\$23.0000	\$87,975.00
730-12.16 CONDUIT (2" SCHEDULE 80 PVC, DIRECTIONAL BORE)			
,	850.000 L.F.		
Vulcan Construction Materials, LLC		\$12.0000	\$10,200.00
Charles Deweese Construction, Inc		\$12.0000	\$10,200.00
Civil Constructors, LLC		\$14.0000	\$11,900.00
Sessions Paving Company		\$12.0000	\$10,200.00
Jones Bros. Contractors, LLC		\$12.5000	\$10,625.00
Jarrett Builders, Inc.		\$25.0000	\$21,250.00
730-12.18 CONDUIT (2" SCHEDULE 80 PVC, TRENCHED)			
	1,875.000 L.F.		
Vulcan Construction Materials, LLC	,	\$3.0000	\$5,625.00
Charles Deweese Construction, Inc		\$3.0000	\$5,625.00
Civil Constructors, LLC		\$3.5000	\$6,562.50
Sessions Paving Company		\$3.0000	\$5,625.00
Jones Bros. Contractors, LLC		\$3.2500	\$6,093.75
Jarrett Builders, Inc.		\$10.0000	\$18,750.00
730-12.30 TRENCHING			
	2,850.000 L.F.		
Vulcan Construction Materials, LLC		\$2.5000	\$7,125.00
Charles Deweese Construction, Inc		\$2.5000	\$7,125.00
Civil Constructors, LLC		\$2.9000	\$8,265.00
Sessions Paving Company		\$2.5000	\$7,125.00
Jones Bros. Contractors, LLC		\$2.6500	\$7,552.50
Jarrett Builders, Inc.		\$6.0000	\$17,100.00
730-13.05 VEHICLE DETECTOR (EXT. CALL - DELAY CALL)			
	18.000 EACH		
Vulcan Construction Materials, LLC		\$227.0000	\$4,086.00
Charles Deweese Construction, Inc		\$227.0000	\$4,086.00
Civil Constructors, LLC		\$260.0000	\$4,680.00
Sessions Paving Company		\$227.0000	\$4,086.00
Jones Bros. Contractors, LLC		\$227.5000	\$4,095.00
Jarrett Builders, Inc.		\$250.0000	\$4,500.00
730-13.08 VEHICLE DETECTOR (RADAR)			
	2.000 EACH		
Vulcan Construction Materials, LLC		\$9,058.0000	\$18,116.00
Charles Deweese Construction, Inc		\$9,058.0000	\$18,116.00
Civil Constructors, LLC		\$10,370.0000	\$20,740.00
Sessions Paving Company		\$9,058.0000	\$18,116.00
Jones Bros. Contractors, LLC		\$9,150.0000	\$18,300.00
Jarrett Builders, Inc.		\$9,000.0000	\$18,000.00
			PAGE 17

CONTRACT C	NR237
------------	-------

		CO	NTRACT CNR237
		UNIT PRICE	EXTENSION
730-14.01 SHIELDED DETECTOR CABLE			
	5,720.000 L.F.		
Vulcan Construction Materials, LLC		\$1.0000	\$5,720.00
Charles Deweese Construction, Inc		\$1.0000	\$5,720.00
Civil Constructors, LLC		\$1.2000	\$6,864.00
Sessions Paving Company		\$1.0000	\$5,720.00
Jones Bros. Contractors, LLC		\$1.1500	\$6,578.00
Jarrett Builders, Inc.		\$1.1000	\$6,292.00
730-14.02 SAW SLOT			
	2,545.000 L.F.		
Vulcan Construction Materials, LLC		\$3.0000	\$7,635.00
Charles Deweese Construction, Inc		\$3.0000	\$7,635.00
Civil Constructors, LLC		\$3.5000	\$8,907.50
Sessions Paving Company		\$3.0000	\$7,635.00
Jones Bros. Contractors, LLC		\$3.1500	\$8,016.75
Jarrett Builders, Inc.		\$4.0000	\$10,180.00
730-14.03 LOOP WIRE			
	8,605.000 L.F.		
Vulcan Construction Materials, LLC		\$0.4000	\$3,442.00
Charles Deweese Construction, Inc		\$0.4000	\$3,442.00
Civil Constructors, LLC		\$0.5000	\$4,302.50
Sessions Paving Company		\$0.4000	\$3,442.00
Jones Bros. Contractors, LLC		\$0.5500	\$4,732.75
Jarrett Builders, Inc.		\$0.6000	\$5,163.00
730-15.11 MODIFY CABINET (INSTALL/INTEGRATE F.O. EQUIPMENT))		
	2.000 EACH		
Vulcan Construction Materials, LLC		\$2,680.0000	\$5,360.00
Charles Deweese Construction, Inc		\$2,680.0000	\$5,360.00
Civil Constructors, LLC		\$3,070.0000	\$6,140.00
Sessions Paving Company		\$2,680.0000	\$5,360.00
Jones Bros. Contractors, LLC		\$2,695.0000	\$5,390.00
Jarrett Builders, Inc.		\$2,100.0000	\$4,200.00
730-15.32 CABINET (EIGHT PHASE BASE MOUNTED)			
	2.000 EACH		
Vulcan Construction Materials, LLC		\$13,668.0000	\$27,336.00
Charles Deweese Construction, Inc		\$13,668.0000	\$27,336.00
Civil Constructors, LLC		\$15,640.0000	\$31,280.00
Sessions Paving Company		\$13,668.0000	\$27,336.00
Jones Bros. Contractors, LLC		\$13,775.0000	\$27,550.00
Jarrett Builders, Inc.		\$13,000.0000	\$26,000.00
730-16.02 EIGHT PHASE ACTUATED CONTROLLER			
	4.000 EACH		
Vulcan Construction Materials, LLC		\$4,360.0000	\$17,440.00
Charles Deweese Construction, Inc		\$4,360.0000	\$17,440.00
Civil Constructors, LLC		\$4,990.0000	\$19,960.00
Sessions Paving Company		\$4,360.0000	\$17,440.00
Jones Bros. Contractors, LLC		\$4,375.0000	\$17,500.00
Jarrett Builders, Inc.		\$4,000.0000	\$16,000.00
			PAGE 18

			00	MINAGI OMNEGI
			UNIT PRICE	EXTENSION
730-18 01	MASTER CONTROLLER			
730-16.01	MASIER CONTROLLER	1.000 EACH		
	Vulcan Construction Materials, LLC		\$5,263.0000	\$5,263.00
	Charles Deweese Construction, Inc		\$5,263.0000	\$5,263.00
	Civil Constructors, LLC		\$6,030.0000	\$6,030.00
	Sessions Paving Company		\$5,263.0000	\$5,263.00
	Jones Bros. Contractors, LLC		\$5,295.0000	\$5,295.00
	Jarrett Builders, Inc.		\$2,300.0000	\$2,300.00
	Sarrott Bandors, mo.		ψ2,000.0000	Ψ2,000.00
730-19.01	TIME BASE COORDINATION UNIT			
		1.000 EACH		
	Vulcan Construction Materials, LLC		\$1,202.0000	\$1,202.00
	Charles Deweese Construction, Inc		\$1,202.0000	\$1,202.00
	Civil Constructors, LLC		\$1,380.0000	\$1,380.00
	Sessions Paving Company		\$1,202.0000	\$1,202.00
	Jones Bros. Contractors, LLC		\$1,250.0000	\$1,250.00
	Jarrett Builders, Inc.		\$1,000.0000	\$1,000.00
730-23.72	CANTILEVER SIGNAL SUPPORT (1 ARM @ 35')			
		2.000 EACH		
	Vulcan Construction Materials, LLC		\$11,880.0000	\$23,760.00
	Charles Deweese Construction, Inc		\$11,880.0000	\$23,760.00
	Civil Constructors, LLC		\$13,600.0000	\$27,200.00
	Sessions Paving Company		\$11,880.0000	\$23,760.00
	Jones Bros. Contractors, LLC		\$12,250.0000	\$24,500.00
	Jarrett Builders, Inc.		\$13,000.0000	\$26,000.00
	*			. ,
730-23.96	CANTILEVER SIGNAL SUPPORT (1 ARM @ 22')			
		2.000 EACH		
	Vulcan Construction Materials, LLC		\$9,625.0000	\$19,250.00
	Charles Deweese Construction, Inc		\$19,250.0000	\$38,500.00
	Civil Constructors, LLC		\$11,020.0000	\$22,040.00
	Sessions Paving Company		\$9,625.0000	\$19,250.00
	Jones Bros. Contractors, LLC		\$10,850.0000	\$21,700.00
	Jarrett Builders, Inc.		\$11,000.0000	\$22,000.00
730-23.97	CANTILEVER SIGNAL SUPPORT (1 ARM @ 50')			
		1.000 EACH		
	Vulcan Construction Materials, LLC		\$13,978.0000	\$13,978.00
	Charles Deweese Construction, Inc		\$13,978.0000	\$13,978.00
	Civil Constructors, LLC		\$16,000.0000	\$16,000.00
	Sessions Paving Company		\$13,978.0000	\$13,978.00
	Jones Bros. Contractors, LLC		\$14,250.0000	\$14,250.00
	Jarrett Builders, Inc.		\$16,000.0000	\$16,000.00
720 22 02	CANTILEVED SIGNAL SUPPORT (4 ARM © CON			
730-23.98	CANTILEVER SIGNAL SUPPORT (1 ARM @ 60')	1.000 EACH		
	Vulcan Construction Materials 11.C	1.000 EACH	¢14 752 0000	¢14 752 00
	Vulcan Construction Materials, LLC		\$14,753.0000 \$14,753.0000	\$14,753.00 \$14,753.00
	Charles Deweese Construction, Inc		\$14,753.0000	\$14,753.00
	Civil Constructors, LLC		\$16,880.0000	\$16,880.00
	Sessions Paving Company		\$14,753.0000	\$14,753.00
	Jones Bros. Contractors, LLC		\$14,950.0000	\$14,950.00
	Jarrett Builders, Inc.		\$17,000.0000	\$17,000.00
				PAGE 19

		CC	NIKACI CNK23/
		UNIT PRICE	EXTENSION
740-10.03 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	290.000 S.Y.		
Vulcan Construction Materials, LLC		\$3.2500	\$942.50
Charles Deweese Construction, Inc		\$2.5000	\$725.00
Civil Constructors, LLC		\$1.8000	\$522.00
Sessions Paving Company		\$6.5000	\$1,885.00
Jones Bros. Contractors, LLC		\$3.4500	\$1,000.50
Jarrett Builders, Inc.		\$5.0000	\$1,450.00
740-11.03 TEMPORARY SEDIMENT TUBE 18IN			
	480.000 L.F.		
Vulcan Construction Materials, LLC		\$3.5000	\$1,680.00
Charles Deweese Construction, Inc		\$3.8500	\$1,848.00
Civil Constructors, LLC		\$4.0000	\$1,920.00
Sessions Paving Company		\$12.0000	\$5,760.00
Jones Bros. Contractors, LLC		\$4.1300	\$1,982.40
Jarrett Builders, Inc.		\$4.3000	\$2,064.00
801-01.07 TEMPORARY SEEDING (WITH MULCH)			
	70.000 UNIT		
Vulcan Construction Materials, LLC		\$28.0000	\$1,960.00
Charles Deweese Construction, Inc		\$28.0000	\$1,960.00
Civil Constructors, LLC		\$33.0000	\$2,310.00
Sessions Paving Company		\$36.0000	\$2,520.00
Jones Bros. Contractors, LLC		\$28.5000	\$1,995.00
Jarrett Builders, Inc.		\$17.0000	\$1,190.00
801-03 WATER (SEEDING & SODDING)			
	98.000 M.G.		
Vulcan Construction Materials, LLC		\$10.0000	\$980.00
Charles Deweese Construction, Inc		\$10.0000	\$980.00
Civil Constructors, LLC		\$12.0000	\$1,176.00
Sessions Paving Company		\$11.0000	\$1,078.00
Jones Bros. Contractors, LLC		\$11.7500	\$1,151.50
Jarrett Builders, Inc.		\$16.0000	\$1,568.00
803-01 SODDING (NEW SOD)			
	9,777.000 S.Y.		
Vulcan Construction Materials, LLC		\$3.0000	\$29,331.00
Charles Deweese Construction, Inc		\$3.0000	\$29,331.00
Civil Constructors, LLC		\$3.5000	\$34,219.50
Sessions Paving Company		\$4.0000	\$39,108.00
Jones Bros. Contractors, LLC		\$3.2500	\$31,775.25
Jarrett Builders, Inc.		\$4.0000	\$39,108.00

SUB-TOTAL ROADWAY

Vulcan Construction Materials, LLC	\$1,052,886.15
Charles Deweese Construction, Inc	\$1,066,567.86
Civil Constructors, LLC	\$1,210,994.00
Sessions Paving Company	\$1,218,156.20
Jones Bros. Contractors, LLC	\$1,284,654.55
Jarrett Builders, Inc.	\$1,403,409.00

TOTAL CONTRACT

Vulcan Construction Materials, LLC	\$1,052,886.15
Charles Deweese Construction, Inc	\$1,066,567.86
Civil Constructors, LLC	\$1,210,994.00
Sessions Paving Company	\$1,218,156.20
Jones Bros. Contractors, LLC	\$1,284,654.55
Jarrett Builders, Inc.	\$1,403,409.00

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF JUNE 23, 2017

RUTHERFORD COUNTY (Contract No. CNR239 Call 017)

75946-3456-04

THE GRADING, DRAINAGE AND PAVING ON A S.I.A. ROUTE SERVING MCCORMICK TRUCKING ON S.R. 266 FROM EAST OF I-840 TO WEST OF MONA ROAD.

PROJECT LENGTH - 0.478 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2018

	TOTAL CONTRACT	
Hoover, Inc.	\$1,671,561.84	
Vulcan Construction Materials, LLC	\$1,694,304.25	
Civil Constructors, LLC	\$2,123,897.15	
Jones Bros. Contractors, LLC	\$2,193,708.41	
Jarrett Builders, Inc.	\$2,249,587.95	

				CONTRACT CNR239
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
103-01	CONOTROCTION CTARES, EINES AND CRADES	1.000 LS		
	Hoover, Inc.		\$22,000.0000	\$22,000.00
	Vulcan Construction Materials, LLC		\$30,000.0000	\$30,000.00
	Civil Constructors, LLC		\$19,590.0000	\$19,590.00
	Jones Bros. Contractors, LLC		\$27,500.0000	\$27,500.00
	Jarrett Builders, Inc.		\$24,500.0000	\$24,500.00
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Hoover, Inc.		\$10,000.0000	\$10,000.00
	Vulcan Construction Materials, LLC		\$5,000.0000	\$5,000.00
	Civil Constructors, LLC		\$19,370.0000	\$19,370.00
	Jones Bros. Contractors, LLC		\$27,500.0000	\$27,500.00
	Jarrett Builders, Inc.		\$22,725.0000	\$22,725.00
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 LS		
	Hoover, Inc.		\$1,000.0000	\$1,000.00
	Vulcan Construction Materials, LLC		\$5,000.0000	\$5,000.00
	Civil Constructors, LLC		\$2,950.0000	\$2,950.00
	Jones Bros. Contractors, LLC		\$3,500.0000	\$3,500.00
	Jarrett Builders, Inc.		\$3,700.0000	\$3,700.00
202-06.0	REMOVAL OF BUILDINGS (TRACT NO. 91 - 1.5 STOP	RY VINYL RES.)		
		1.000 LS		
	Hoover, Inc.		\$10,000.0000	\$10,000.00
	Vulcan Construction Materials, LLC		\$7,500.0000	\$7,500.00
	Civil Constructors, LLC		\$10,010.0000	\$10,010.00
	Jones Bros. Contractors, LLC		\$8,500.0000	\$8,500.00
	Jarrett Builders, Inc.		\$13,900.0000	\$13,900.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		12,869.000 C.Y.		
	Hoover, Inc.		\$13.5000	\$173,731.50
	Vulcan Construction Materials, LLC		\$8.0000	\$102,952.00
	Civil Constructors, LLC		\$16.0000	\$205,904.00
	Jones Bros. Contractors, LLC		\$26.5000	\$341,028.50
	Jarrett Builders, Inc.		\$15.5000	\$199,469.50
203-02.0	BORROW EXCAVATION (GRADED SOLID ROCK)			
		1,588.000 TON		
			*	*

Hoover, Inc.

Vulcan Construction Materials, LLC

Jones Bros. Contractors, LLC

Civil Constructors, LLC

Jarrett Builders, Inc.

\$39,700.00

\$30,966.00

\$46,052.00

\$26,202.00

\$46,052.00

\$25.0000

\$19.5000

\$29.0000

\$16.5000

\$29.0000

			UNIT PRICE	EXTENSION
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
	,	287.000 C.Y.		
	Hoover, Inc.		\$12.0000	\$3,444.00
	Vulcan Construction Materials, LLC		\$1.0000	\$287.00
	Civil Constructors, LLC		\$27.0000	\$7,749.00
	Jones Bros. Contractors, LLC		\$29.5000	\$8,466.50
	Jarrett Builders, Inc.		\$40.0000	\$11,480.00
203-04	PLACING AND SPREADING TOPSOIL			
		1,794.000 C.Y.		
	Hoover, Inc.		\$5.0000	\$8,970.00
	Vulcan Construction Materials, LLC		\$6.0000	\$10,764.00
	Civil Constructors, LLC		\$7.8000	\$13,993.20
	Jones Bros. Contractors, LLC		\$18.1000	\$32,471.40
	Jarrett Builders, Inc.		\$19.0000	\$34,086.00
203-06	WATER			
		92.000 M.G.		
	Hoover, Inc.		\$5.0000	\$460.00
	Vulcan Construction Materials, LLC		\$10.0000	\$920.00
	Civil Constructors, LLC		\$5.0000	\$460.00
	Jones Bros. Contractors, LLC		\$16.5000	\$1,518.00
	Jarrett Builders, Inc.		\$114.0000	\$10,488.00
209-05	SEDIMENT REMOVAL			
		25.000 C.Y.		
	Hoover, Inc.		\$10.0000	\$250.00
	Vulcan Construction Materials, LLC		\$10.0000	\$250.00
	Civil Constructors, LLC		\$16.0000	\$400.00
	Jones Bros. Contractors, LLC		\$13.5000	\$337.50
	Jarrett Builders, Inc.		\$34.0000	\$850.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		180.000 L.F.		
	Hoover, Inc.		\$3.8500	\$693.00
	Vulcan Construction Materials, LLC		\$4.0000	\$720.00
	Civil Constructors, LLC		\$4.8000	\$864.00
	Jones Bros. Contractors, LLC		\$4.5000	\$810.00
	Jarrett Builders, Inc.		\$3.3500	\$603.00
209-08.03	TEMPORARY SILT FENCE (WITHOUT BACKING)			
		740.000 L.F.		
	Hoover, Inc.		\$1.4000	\$1,036.00
	Vulcan Construction Materials, LLC		\$2.0000	\$1,480.00
	Civil Constructors, LLC		\$1.7000	\$1,258.00
	Jones Bros. Contractors, LLC		\$1.6500	\$1,221.00
	Jarrett Builders, Inc.		\$1.4000	\$1,036.00

		UNIT PRICE	EXTENSION
209-08.07	ROCK CHECK DAM PER		
		0 EACH	
	Hoover, Inc.	\$275.0000	\$8,525.00
	Vulcan Construction Materials, LLC	\$225.0000	\$6,975.00
	Civil Constructors, LLC	\$225.0000	\$6,975.00
	Jones Bros. Contractors, LLC	\$210.0000	\$6,510.00
	Jarrett Builders, Inc.	\$230.0000	\$7,130.00
209-08.08	ENHANCED ROCK CHECK DAM		
	21.00	0 EACH	
	Hoover, Inc.	\$420.0000	\$8,820.00
	Vulcan Construction Materials, LLC	\$325.0000	\$6,825.00
	Civil Constructors, LLC	\$281.0000	\$5,901.00
	Jones Bros. Contractors, LLC	\$265.0000	\$5,565.00
	Jarrett Builders, Inc.	\$290.0000	\$6,090.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	10,439.00	0 TON	
	Hoover, Inc.	\$13.0000	\$135,707.00
	Vulcan Construction Materials, LLC	\$16.0000	\$167,024.00
	Civil Constructors, LLC	\$21.1500	\$220,784.85
	Jones Bros. Contractors, LLC	\$21.7500	\$227,048.25
	Jarrett Builders, Inc.	\$22.3500	\$233,311.65
303-10.01	MINERAL AGGREGATE (SIZE 57)		
	525.00	0 TON	
	Hoover, Inc.	\$20.0000	\$10,500.00
	Vulcan Construction Materials, LLC	\$30.0000	\$15,750.00
	Civil Constructors, LLC	\$36.0000	\$18,900.00
	Jones Bros. Contractors, LLC	\$35.2500	\$18,506.25
	Jarrett Builders, Inc.	\$33.0000	\$17,325.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A		
	56.00	0 TON	
	Hoover, Inc.	\$55.0000	\$3,080.00
	Vulcan Construction Materials, LLC	\$62.0000	\$3,472.00
	Civil Constructors, LLC	\$70.0000	\$3,920.00
	Jones Bros. Contractors, LLC	\$122.7500	\$6,874.00
	Jarrett Builders, Inc.	\$91.3500	\$5,115.60
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	37.00	0 TON	
	Hoover, Inc.	\$55.0000	\$2,035.00
	Vulcan Construction Materials, LLC	\$73.0000	\$2,701.00
	Civil Constructors, LLC	\$82.0000	\$3,034.00
	Jones Bros. Contractors, LLC	\$148.5000	\$5,494.50
	Jarrett Builders, Inc.	\$92.7500	\$3,431.75

			•	CINTRACT CINTES
			UNIT PRICE	EXTENSION
307-01.21	ASP. CONC. MIX(PG70-22) (BPMB-HM) GR. A-S			
	, , , ,	1,354.000 TON		
	Hoover, Inc.	•	\$50.0000	\$67,700.00
	Vulcan Construction Materials, LLC		\$66.0000	\$89,364.00
	Civil Constructors, LLC		\$74.0000	\$100,196.00
	Jones Bros. Contractors, LLC		\$67.5000	\$91,395.00
	Jarrett Builders, Inc.		\$91.7500	\$124,229.50
307-02 01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A			
00. 02.0.		2,316.000 TON		
	Hoover, Inc.	2,510.0001010	\$50.0000	\$115,800.00
	Vulcan Construction Materials, LLC		\$62.0000	
				\$143,592.00
	Civil Constructors, LLC		\$69.5000	\$160,962.00
	Jones Bros. Contractors, LLC		\$63.0000	\$145,908.00
	Jarrett Builders, Inc.		\$89.0000	\$206,124.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-	M2		
		1,517.000 TON		
	Hoover, Inc.		\$50.0000	\$75,850.00
	Vulcan Construction Materials, LLC		\$73.0000	\$110,741.00
	Civil Constructors, LLC		\$81.9000	\$124,242.30
	Jones Bros. Contractors, LLC		\$72.5000	\$109,982.50
	Jarrett Builders, Inc.		\$91.7000	\$139,108.90
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	, ,	21.000 TON		
	Hoover, Inc.		\$600.0000	\$12,600.00
	Vulcan Construction Materials, LLC		\$750.0000	\$15,750.00
	Civil Constructors, LLC		\$842.0000	\$17,682.00
	Jones Bros. Contractors, LLC		\$565.0000	\$11,865.00
	Jarrett Builders, Inc.		\$1,050.0000	\$22,050.00
	darrett Banders, me.		ψ1,000.0000	Ψ22,000.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		83.000 TON		
	Hoover, Inc.		\$20.0000	\$1,660.00
	Vulcan Construction Materials, LLC		\$32.5000	\$2,697.50
	Civil Constructors, LLC		\$37.0000	\$3,071.00
	Jones Bros. Contractors, LLC		\$44.8200	\$3,720.06
	Jarrett Builders, Inc.		\$43.0000	\$3,569.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		6.000 TON		
	Hoover, Inc.		\$700.0000	\$4,200.00
	Vulcan Construction Materials, LLC		\$650.0000	\$3,900.00
	Civil Constructors, LLC		\$730.0000	\$4,380.00
	Jones Bros. Contractors, LLC		\$575.0000	\$3,450.00
	Jarrett Builders, Inc.		\$1,030.0000	\$6,180.00
	•		. ,	. ,

	UNIT PRICE	EXTENSION
407-20.05 SAW CUTTING ASPHALT PAVEMENT		
	73.000 L.F.	
Hoover, Inc.	\$5.0000	\$365.00
Vulcan Construction Materials, LLC	\$5.0000	\$365.00
Civil Constructors, LLC	\$4.0000	\$292.00
Jones Bros. Contractors, LLC	\$7.5000	\$547.50
Jarrett Builders, Inc.	\$10.0000	\$730.00
411-01.07 ACS MIX (PG64-22) GRADING E SHOULDER		
	149.000 TON	
Hoover, Inc.	\$55.0000	\$8,195.00
Vulcan Construction Materials, LLC	\$88.0000	\$13,112.00
Civil Constructors, LLC	\$99.0000	\$14,751.00
Jones Bros. Contractors, LLC	\$98.0000	\$14,602.00
Jarrett Builders, Inc.	\$99.0000	\$14,751.00
411-01.10 ACS MIX(PG64-22) GRADING D		
, , , , , , , , , , , , , , , , , , , ,	42.000 TON	
Hoover, Inc.	\$80.0000	\$3,360.00
Vulcan Construction Materials, LLC	\$88.0000	\$3,696.00
Civil Constructors, LLC	\$99.0000	\$4,158.00
Jones Bros. Contractors, LLC	\$170.0000	\$7,140.00
Jarrett Builders, Inc.	\$119.0000	\$4,998.00
411-02.10 ACS MIX(PG70-22) GRADING D		
	,037.000 TON	
Hoover, Inc.	\$80.0000	\$82,960.00
Vulcan Construction Materials, LLC	\$88.0000	\$91,256.00
Civil Constructors, LLC	\$99.0000	\$102,663.00
Jones Bros. Contractors, LLC	\$105.5000	\$109,403.50
Jarrett Builders, Inc.	\$117.0000	\$121,329.00
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
411-12.02 GOOKING GHOOLDENG (NON-GONTINGGOO) (10NN VIID 111)	0.600 L.M.	
Hoover, Inc.	\$6,450.0000	\$3,870.00
Vulcan Construction Materials, LLC	\$6,500.0000	\$3,900.00
Civil Constructors, LLC	\$7,240.0000	\$4,344.00
Jones Bros. Contractors, LLC	\$3,500.0000	\$2,100.00
Jarrett Builders, Inc.	\$4,375.0000	\$2,625.00
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
411-12.03 SCOKING FOR KUMBLE STRIFE (NON-CONTINUOUS) (OIN WIDTH)	0.400 L.M.	
Hoover, Inc.	\$6,450.0000	\$2,580.00
Vulcan Construction Materials, LLC	\$6,500.0000	\$2,600.00
Civil Constructors, LLC	\$7,240.0000	\$2,896.00
Jones Bros. Contractors, LLC	\$3,500.0000	\$1,400.00
Jarrett Builders, Inc.	\$4,375.0000	\$1,750.00
202. 202.,	ψ1,010.0000	ψ.,. σσ.σσ

		C	UNIKACI CNR239
		UNIT PRICE	EXTENSION
415-01.02 COLD PLANING BITUMINOUS PAVEMENT			
	2,507.000 S.Y.		
Hoover, Inc.		\$2.5000	\$6,267.50
Vulcan Construction Materials, LLC		\$4.0000	\$10,028.00
Civil Constructors, LLC		\$4.5000	\$11,281.50
Jones Bros. Contractors, LLC		\$4.6500	\$11,657.55
Jarrett Builders, Inc.		\$6.0000	\$15,042.00
607-05.02 24" CONCRETE PIPE CULVERT (CLASS III)			
	82.000 L.F.		
Hoover, Inc.		\$60.0000	\$4,920.00
Vulcan Construction Materials, LLC		\$70.0000	\$5,740.00
Civil Constructors, LLC		\$64.0000	\$5,248.00
Jones Bros. Contractors, LLC		\$65.2400	\$5,349.68
Jarrett Builders, Inc.		\$95.0000	\$7,790.00
607-05.30 24" PIPE CULVERT			
	123.000 L.F.		
Hoover, Inc.		\$60.0000	\$7,380.00
Vulcan Construction Materials, LLC		\$70.0000	\$8,610.00
Civil Constructors, LLC		\$142.0000	\$17,466.00
Jones Bros. Contractors, LLC		\$62.3200	\$7,665.36
Jarrett Builders, Inc.		\$97.0000	\$11,931.00
607-39.03 24" PIPE CULVERT (SIDE DRAIN)			
	102.000 L.F.		
Hoover, Inc.		\$55.0000	\$5,610.00
Vulcan Construction Materials, LLC		\$70.0000	\$7,140.00
Civil Constructors, LLC		\$85.0000	\$8,670.00
Jones Bros. Contractors, LLC		\$72.3800	\$7,382.76
Jarrett Builders, Inc.		\$93.0000	\$9,486.00
611-07.58 24IN ENDWALL (CROSS DRAIN) 4:1			
	2.000 EACH		
Hoover, Inc.		\$2,100.0000	\$4,200.00
Vulcan Construction Materials, LLC		\$2,500.0000	\$5,000.00
Civil Constructors, LLC		\$2,900.0000	\$5,800.00
Jones Bros. Contractors, LLC		\$2,863.4300	\$5,726.86
Jarrett Builders, Inc.		\$4,100.0000	\$8,200.00
621-03.02 18" TEMPORARY DRAINAGE PIPE			
	68.000 L.F.		
Hoover, Inc.		\$20.0000	\$1,360.00
Vulcan Construction Materials, LLC		\$30.0000	\$2,040.00
Civil Constructors, LLC		\$32.0000	\$2,176.00
Jones Bros. Contractors, LLC		\$44.7300	\$3,041.64
Jarrett Builders, Inc.		\$88.0000	\$5,984.00

			•	
			UNIT PRICE	EXTENSION
705-02.10 GI	UARDRAIL TRANSITION 27IN TO 31IN			
		1.000 EACH		
Но	oover, Inc.		\$325.0000	\$325.00
	ulcan Construction Materials, LLC		\$259.0000	\$259.00
	ivil Constructors, LLC		\$291.0000	\$291.00
	ones Bros. Contractors, LLC		\$275.0000	\$275.00
	arrett Builders, Inc.		\$210.0000	\$210.00
Ja	arrett Builders, Iric.		φ210.0000	φ210.00
705-06.01 W	BEAM GR (TYPE 2) MASH TL3			
	,	100.000 L.F.		
Н	oover, Inc.		\$22.7500	\$2,275.00
	ulcan Construction Materials, LLC		\$18.6000	\$1,860.00
	ivil Constructors, LLC		\$21.0000	\$2,100.00
			*	
	ones Bros. Contractors, LLC		\$19.2500	\$1,925.00
Ja	arrett Builders, Inc.		\$26.0000	\$2,600.00
705-06.20 TA	ANGENT ENERGY ABSORBING TERM MASH TL-3			
100 00:20 17	ANGENT ENERGY ABOONSING TERM MAGNITE	1.000 EACH		
Ш	oover Inc	1.000 LAGII	¢2 975 0000	¢2.075.00
	oover, Inc.		\$2,875.0000	\$2,875.00
	ulcan Construction Materials, LLC		\$2,730.0000	\$2,730.00
	ivil Constructors, LLC		\$3,070.0000	\$3,070.00
	ones Bros. Contractors, LLC		\$2,850.0000	\$2,850.00
Ja	arrett Builders, Inc.		\$3,200.0000	\$3,200.00
705-08 51 PC	ORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
700 00.01 1	OKTABLE IIII AOT ATTENDATOK NOTIKI 330 TE 3	5.000 EACH		
⊔∠	oover, Inc.	0.000 EAOH	\$8,275.0000	\$41,375.00
	ulcan Construction Materials, LLC		\$3,500.0000	\$17,500.00
	ivil Constructors, LLC		\$4,940.0000	\$24,700.00
	ones Bros. Contractors, LLC		\$4,650.0000	\$23,250.00
Ja	arrett Builders, Inc.		\$5,000.0000	\$25,000.00
706-01 GI	UARDRAIL REMOVED			
		151.000 L.F.		
Ц	oover, Inc.		\$1.7500	\$264.25
	•		•	\$204.23 \$151.00
	ulcan Construction Materials, LLC		\$1.0000	
	ivil Constructors, LLC		\$1.2000	\$181.20
	ones Bros. Contractors, LLC		\$1.1500	\$173.65
Ja	arrett Builders, Inc.		\$1.2500	\$188.75
707-08.11 HI	IGH-VISIBILITY CONSTRUCTION FENCE			
		460.000 L.F.		
Ц	oover, Inc.		\$1.7000	\$782.00
	ulcan Construction Materials, LLC		\$2.0000	\$920.00
			•	
	ivil Constructors, LLC		\$1.7000	\$782.00
	ones Bros. Contractors, LLC		\$1.6500	\$759.00
Ja	arrett Builders, Inc.		\$1.3000	\$598.00

			UNIT PRICE	EXTENSION
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
		15.000 EACH		
	Hoover, Inc.		\$200.0000	\$3,000.00
	Vulcan Construction Materials, LLC		\$200.0000	\$3,000.00
	Civil Constructors, LLC		\$259.0000	\$3,885.00
	Jones Bros. Contractors, LLC		\$316.5900	\$4,748.85
	Jarrett Builders, Inc.		\$220.0000	\$3,300.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		1,593.000 TON		
	Hoover, Inc.		\$30.0000	\$47,790.00
	Vulcan Construction Materials, LLC		\$30.0000	\$47,790.00
	Civil Constructors, LLC		\$29.0000	\$46,197.00
	Jones Bros. Contractors, LLC		\$39.5000	\$62,923.50
	Jarrett Builders, Inc.		\$34.0000	\$54,162.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
		159.000 TON		
	Hoover, Inc.		\$30.0000	\$4,770.00
	Vulcan Construction Materials, LLC		\$30.0000	\$4,770.00
	Civil Constructors, LLC		\$59.0000	\$9,381.00
	Jones Bros. Contractors, LLC		\$48.5000	\$7,711.50
	Jarrett Builders, Inc.		\$34.0000	\$5,406.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
		555.000 TON		
	Hoover, Inc.		\$30.0000	\$16,650.00
	Vulcan Construction Materials, LLC		\$30.0000	\$16,650.00
	Civil Constructors, LLC		\$47.0000	\$26,085.00
	Jones Bros. Contractors, LLC		\$32.5000	\$18,037.50
	Jarrett Builders, Inc.		\$33.0000	\$18,315.00
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		2,317.000 L.F.		
	Hoover, Inc.		\$4.5000	\$10,426.50
	Vulcan Construction Materials, LLC		\$4.5000	\$10,426.50
	Civil Constructors, LLC		\$5.1000	\$11,816.70
	Jones Bros. Contractors, LLC		\$4.7500	\$11,005.75 \$24,755.00
	Jarrett Builders, Inc.		\$15.0000	\$34,755.00
710-05	LATERAL UNDERDRAIN			
		424.000 L.F.		
	Hoover, Inc.		\$2.5000	\$1,060.00
	Vulcan Construction Materials, LLC		\$2.5000	\$1,060.00
	Civil Constructors, LLC		\$2.9000	\$1,229.60
	Jones Bros. Contractors, LLC		\$2.7500	\$1,166.00
	Jarrett Builders, Inc.		\$16.0000	\$6,784.00

			CO	MINACI CMN239
			UNIT PRICE	EXTENSION
710-06.13	LATERAL UNDERDRAIN ENDWALL (4:1)			
		4.000 EACH		
	Hoover, Inc.		\$500.0000	\$2,000.00
	Vulcan Construction Materials, LLC		\$500.0000	\$2,000.00
	Civil Constructors, LLC		\$561.0000	\$2,244.00
	Jones Bros. Contractors, LLC		\$575.0000	\$2,300.00
	Jarrett Builders, Inc.		\$2,800.0000	\$11,200.00
710-06.15	LATERAL UNDERDRAIN ENDWALL (6:1)			
		9.000 EACH		
	Hoover, Inc.		\$500.0000	\$4,500.00
	Vulcan Construction Materials, LLC		\$500.0000	\$4,500.00
	Civil Constructors, LLC		\$561.0000	\$5,049.00
	Jones Bros. Contractors, LLC		\$575.0000	\$5,175.00
	Jarrett Builders, Inc.		\$3,125.0000	\$28,125.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Hoover, Inc.		\$25,000.0000	\$25,000.00
	Vulcan Construction Materials, LLC		\$10,000.0000	\$10,000.00
	Civil Constructors, LLC		\$23,615.0000	\$23,615.00
	Jones Bros. Contractors, LLC		\$37,500.0000	\$37,500.00
	Jarrett Builders, Inc.		\$65,000.0000	\$65,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		2,410.000 L.F.		
	Hoover, Inc.		\$30.0000	\$72,300.00
	Vulcan Construction Materials, LLC		\$20.0000	\$48,200.00
	Civil Constructors, LLC		\$32.0000	\$77,120.00
	Jones Bros. Contractors, LLC		\$22.5000	\$54,225.00
	Jarrett Builders, Inc.		\$34.0000	\$81,940.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		62.000 EACH		
	Hoover, Inc.		\$24.0000	\$1,488.00
	Vulcan Construction Materials, LLC		\$38.0000	\$2,356.00
	Civil Constructors, LLC		\$27.0000	\$1,674.00
	Jones Bros. Contractors, LLC		\$26.5000	\$1,643.00
	Jarrett Builders, Inc.		\$28.0000	\$1,736.00
712-04.50	PORTABLE BARRIER RAIL DELINEATOR			
		241.000 EACH		
	Hoover, Inc.		\$9.0000	\$2,169.00
	Vulcan Construction Materials, LLC		\$9.2500	\$2,229.25
	Civil Constructors, LLC		\$11.0000	\$2,651.00
	Jones Bros. Contractors, LLC		\$10.4500	\$2,518.45
	Jarrett Builders, Inc.		\$10.0000	\$2,410.00

			-	
			UNIT PRICE	EXTENSION
740.05.04	WARNING LIGHTS (TVDE A)			
/12-05.01	WARNING LIGHTS (TYPE A)	2.000 EACH		
		2.000 EACH		
	Hoover, Inc.		\$30.0000	\$60.00
	Vulcan Construction Materials, LLC		\$24.0000	\$48.00
	Civil Constructors, LLC		\$34.0000	\$68.00
	Jones Bros. Contractors, LLC		\$32.5000	\$65.00
	Jarrett Builders, Inc.		\$34.0000	\$68.00
712-05.03	WARNING LIGHTS (TYPE C)			
7 12 00.00	WARRING EIGHTS (THE 5)	2.000 EACH		
	Hoover, Inc.		\$30.0000	\$60.00
			·	
	Vulcan Construction Materials, LLC		\$24.0000	\$48.00
	Civil Constructors, LLC		\$34.0000	\$68.00
	Jones Bros. Contractors, LLC		\$32.5000	\$65.00
	Jarrett Builders, Inc.		\$34.0000	\$68.00
712-06	SIGNS (CONSTRUCTION)			
		216.000 S.F.		
	Heaver Inc	210.000 0.1 .	¢c 0500	¢4 470 60
	Hoover, Inc.		\$6.8500	\$1,479.60
	Vulcan Construction Materials, LLC		\$9.2500	\$1,998.00
	Civil Constructors, LLC		\$7.7000	\$1,663.20
	Jones Bros. Contractors, LLC		\$7.7500	\$1,674.00
	Jarrett Builders, Inc.		\$8.0000	\$1,728.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		48.000 L.F.		
	Hoover, Inc.		\$12.0000	\$576.00
	Vulcan Construction Materials, LLC		\$22.0000	\$1,056.00
	Civil Constructors, LLC		\$14.0000	\$672.00
	Jones Bros. Contractors, LLC		\$13.7500	\$660.00
			·	
	Jarrett Builders, Inc.		\$14.0000	\$672.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Hoover, Inc.		\$700.0000	\$1,400.00
	Vulcan Construction Materials, LLC		\$900.0000	\$1,800.00
	Civil Constructors, LLC		\$786.0000	\$1,572.00
	Jones Bros. Contractors, LLC		\$810.0000	\$1,620.00
	Jarrett Builders, Inc.		\$800.0000	\$1,600.00
	Sallott Ballablo, Illo.		ψοσο.σσσσ	ψ1,000.00
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
		2,492.000 L.F.		
	Hoover, Inc.		\$2.9800	\$7,426.16
	Vulcan Construction Materials, LLC		\$4.0000	\$9,968.00
	Civil Constructors, LLC		\$3.4000	\$8,472.80
	Jones Bros. Contractors, LLC		\$3.2500	\$8,099.00
	Jarrett Builders, Inc.		\$4.6000	\$11,463.20
			ψσσσσ	Ψ.1,130.20

			UNIT PRICE	EXTENSION
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS	4 000 1 0		
	Hoover Inc	1.000 LS	¢250 0000	¢250.00
	Hoover, Inc. Vulcan Construction Materials, LLC		\$250.0000 \$300.0000	\$250.00 \$300.00
	Civil Constructors, LLC		\$281.0000	\$281.00
	Jones Bros. Contractors, LLC		\$275.0000	\$275.00
	Jarrett Builders, Inc.		\$300.0000	\$300.00
713-16 01	I CHANGEABLE MESSAGE SIGN UNIT			
713-10.01	STANGEABLE MESSAGE SIGN SWIT	2.000 EACH		
	Hoover, Inc.		\$5,250.0000	\$10,500.00
	Vulcan Construction Materials, LLC		\$7,500.0000	\$15,000.00
	Civil Constructors, LLC		\$5,900.0000	\$11,800.00
	Jones Bros. Contractors, LLC		\$5,785.0000	\$11,570.00
	Jarrett Builders, Inc.		\$6,000.0000	\$12,000.00
713-16.20) SIGNS (R1-1 W/ 1-P8 SUPPORT)			
	,	2.000 EACH		
	Hoover, Inc.	2.000 2.1011	\$220.0000	\$440.00
	Vulcan Construction Materials, LLC		\$180.0000	\$360.00
	Civil Constructors, LLC		\$247.0000	\$494.00
	Jones Bros. Contractors, LLC		\$250.0000	\$500.00
	Jarrett Builders, Inc.		\$250.0000	\$500.00
713-16.21	I SIGNS (M1-1 & M2-1 W/ 1-P8 SUPPORT)			
	,	1.000 EACH		
	Hoover, Inc.		\$255.0000	\$255.00
	Vulcan Construction Materials, LLC		\$190.0000	\$190.00
	Civil Constructors, LLC		\$287.0000	\$287.00
	Jones Bros. Contractors, LLC		\$300.0000	\$300.00
	Jarrett Builders, Inc.		\$300.0000	\$300.00
713-16.22	2 SIGNS (2- TN-17A W/ 1-U1 SUPPORT)			
		1.000 EACH		
	Hoover, Inc.		\$170.0000	\$170.00
	Vulcan Construction Materials, LLC		\$125.0000	\$125.00
	Civil Constructors, LLC		\$191.0000	\$191.00
	Jones Bros. Contractors, LLC		\$185.0000	\$185.00
	Jarrett Builders, Inc.		\$200.0000	\$200.00
713-16.23	S SIGNS (R2-1 W/ 1-P8 SUPPORT)			
		2.000 EACH		
	Hoover, Inc.		\$200.0000	\$400.00
	Vulcan Construction Materials, LLC		\$180.0000	\$360.00
	Civil Constructors, LLC		\$225.0000	\$450.00
	Jones Bros. Contractors, LLC		\$225.0000	\$450.00
	Jarrett Builders, Inc.		\$230.0000	\$460.00

		CONTRACT CNR239
	UNIT PRICE	EXTENSION
713-16.24 SIGNS (W1-4R W/ 1-P8 SUPPORT)		
1.000	EACH	
Hoover, Inc.	\$220.0000	\$220.00
Vulcan Construction Materials, LLC	\$215.0000	\$215.00
Civil Constructors, LLC	\$247.0000	\$247.00
Jones Bros. Contractors, LLC	\$250.0000	\$250.00
Jarrett Builders, Inc.	\$250.0000	\$250.00
716-01.21 Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)		
101.000) EACH	
Hoover, Inc.	\$39.7500	\$4,014.75
Vulcan Construction Materials, LLC	\$35.0000	\$3,535.00
Civil Constructors, LLC	\$45.0000	\$4,545.00
Jones Bros. Contractors, LLC	\$45.5000	\$4,595.50
Jarrett Builders, Inc.	\$40.0000	\$4,040.00
716-01.22 Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)		
	DEACH	
Hoover, Inc.	\$39.7500	\$874.50
Vulcan Construction Materials, LLC	\$35.7000	\$770.00
Civil Constructors, LLC	\$45.0000	\$990.00
Jones Bros. Contractors, LLC	\$45.5000	\$1,001.00
Jarrett Builders, Inc.	\$40.0000	\$880.00
	¥ 1010000	φοσοισσ
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
35.000) EACH	
Hoover, Inc.	\$12.7500	\$446.25
Vulcan Construction Materials, LLC	\$10.0000	\$350.00
Civil Constructors, LLC	\$15.0000	\$525.00
Jones Bros. Contractors, LLC	\$12.5000	\$437.50
Jarrett Builders, Inc.	\$12.0000	\$420.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
65.000) S.Y.	
Hoover, Inc.	\$22.5000	\$1,462.50
Vulcan Construction Materials, LLC	\$20.0000	\$1,300.00
Civil Constructors, LLC	\$26.0000	\$1,690.00
Jones Bros. Contractors, LLC	\$25.2500	\$1,641.25
Jarrett Builders, Inc.	\$23.0000	\$1,495.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
	EACH	
Hoover, Inc.	\$155.0000	\$465.00
Vulcan Construction Materials, LLC	\$150.0000	\$450.00
Civil Constructors, LLC	\$174.0000	\$522.00
Jones Bros. Contractors, LLC	\$177.0000	\$531.00
Jarrett Builders, Inc.	\$170.0000	\$510.00

	UNIT PRICE	EXTENSION
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)		
) EACH	
Hoover, Inc.	\$215.0000	\$430.00
Vulcan Construction Materials, LLC	\$330.0000	\$660.00
Civil Constructors, LLC	\$242.0000	\$484.00
Jones Bros. Contractors, LLC	\$253.0000	\$506.00 \$700.00
Jarrett Builders, Inc.	\$380.0000	\$760.00
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
256.000	L.F.	
Hoover, Inc.	\$8.5000	\$2,176.00
Vulcan Construction Materials, LLC	\$10.0000	\$2,560.00
Civil Constructors, LLC	\$9.6000	\$2,457.60
Jones Bros. Contractors, LLC	\$9.5000	\$2,432.00
Jarrett Builders, Inc.	\$12.0000	\$3,072.00
716-05.02 PAINTED PAVEMENT MARKING (8" BARRIER LINE)		
20,856.000	L.F.	
Hoover, Inc.	\$0.4800	\$10,010.88
Vulcan Construction Materials, LLC	\$0.5000	\$10,428.00
Civil Constructors, LLC	\$0.5500	\$11,470.80
Jones Bros. Contractors, LLC	\$0.5000	\$10,428.00
Jarrett Builders, Inc.	\$0.6000	\$12,513.60
716-08.20 REMOVAL OF PAVEMENT MARKING (LINE)		
0.300	L.M.	
Hoover, Inc.	\$3,375.0000	\$1,012.50
Vulcan Construction Materials, LLC	\$5,000.0000	\$1,500.00
Civil Constructors, LLC	\$3,790.0000	\$1,137.00
Jones Bros. Contractors, LLC	\$3,875.0000	\$1,162.50
Jarrett Builders, Inc.	\$5,700.0000	\$1,710.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
2.700	L.M.	
Hoover, Inc.	\$5,175.0000	\$13,972.50
Vulcan Construction Materials, LLC	\$6,000.0000	\$16,200.00
Civil Constructors, LLC	\$5,810.0000	\$15,687.00
Jones Bros. Contractors, LLC	\$5,875.0000	\$15,862.50
Jarrett Builders, Inc.	\$6,900.0000	\$18,630.00
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)		
128.000	L.F.	
Hoover, Inc.	\$2.2500	\$288.00
Vulcan Construction Materials, LLC	\$3.0000	\$384.00
Civil Constructors, LLC	\$2.6000	\$332.80
Jones Bros. Contractors, LLC	\$2.5500	\$326.40
Jarrett Builders, Inc.	\$3.4000	\$435.20

				CONTRACT CNR239
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Hoover, Inc.		\$65,000.0000	\$65,000.00
	Vulcan Construction Materials, LLC		\$30,000.0000	\$30,000.00
	Civil Constructors, LLC		\$76,790.0000	\$76,790.00
	Jones Bros. Contractors, LLC		\$125,000.0000	\$125,000.00
	Jarrett Builders, Inc.		\$51,200.0000	\$51,200.00
740-10.0	3 GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		2,920.000 S.Y.		
	Hoover, Inc.		\$2.6000	\$7,592.00
	Vulcan Construction Materials, LLC		\$2.9500	\$8,614.00
	Civil Constructors, LLC		\$2.3000	\$6,716.00
	Jones Bros. Contractors, LLC		\$2.6500	\$7,738.00
	Jarrett Builders, Inc.		\$2.2500	\$6,570.00
740-10.0	4 GEOTEXTILE (TYPE IV)(STABILIZATION)			
		1,350.000 S.Y.		
	Hoover, Inc.		\$2.7500	\$3,712.50
	Vulcan Construction Materials, LLC		\$1.9500	\$2,632.50
	Civil Constructors, LLC		\$2.4000	\$3,240.00
	Jones Bros. Contractors, LLC		\$2.6500	\$3,577.50
	Jarrett Builders, Inc.		\$1.8000	\$2,430.00
740-11.0	3 TEMPORARY SEDIMENT TUBE 18IN			
		11,553.000 L.F.		
	Hoover, Inc.		\$3.1500	\$36,391.95
	Vulcan Construction Materials, LLC		\$3.0000	\$34,659.00
	Civil Constructors, LLC Jones Bros. Contractors, LLC		\$4.0000	\$46,212.00
	Jarrett Builders, Inc.		\$4.0000 \$4.3000	\$46,212.00 \$49,677.90
	Jarrett Builders, Inc.		φ4.3000	\$49,677.90
801-01.0	7 TEMPORARY SEEDING (WITH MULCH)			
		12.000 UNIT		
	Hoover, Inc.		\$40.0000	\$480.00
	Vulcan Construction Materials, LLC		\$40.0000	\$480.00
	Civil Constructors, LLC Jones Bros. Contractors, LLC		\$45.0000 \$42.5000	\$540.00 \$510.00
	Jarrett Builders, Inc.		\$17.0000	\$204.00
004.02	WATER (CEEDING & CORDING)			
801-03	WATER (SEEDING & SODDING)	109.000 M.G.		
	Hoover, Inc.		\$10.0000	\$1,090.00
	Vulcan Construction Materials, LLC		\$10.0000	\$1,090.00
	Civil Constructors, LLC		\$12.0000	\$1,308.00
	Jones Bros. Contractors, LLC		\$12.5000	\$1,362.50
	Jarrett Builders, Inc.		\$15.0000	\$1,635.00

CONTRACT C	
CONTRACT (.NR 2 (4

				CONTRACT CHR255
			UNIT PRICE	EXTENSION
803-01	SODDING (NEW SOD)			
		10,764.000 S.Y.		
	Hoover, Inc.		\$3.0000	\$32,292.00
	Vulcan Construction Materials, LLC		\$3.0000	\$32,292.00
	Civil Constructors, LLC		\$3.4000	\$36,597.60
	Jones Bros. Contractors, LLC		\$3.2500	\$34,983.00
	Jarrett Builders, Inc.		\$3.6000	\$38,750.40
806-02.03	PROJECT MOWING			
		2.000 CYCL		
	Hoover, Inc.		\$1,800.0000	\$3,600.00
	Vulcan Construction Materials, LLC		\$1,800.0000	\$3,600.00
	Civil Constructors, LLC		\$2,020.0000	\$4,040.00
	Jones Bros. Contractors, LLC		\$2,125.0000	\$4,250.00
	Jarrett Builders, Inc.		\$3,400.0000	\$6,800.00

			CONTRACT CNR239
		UNIT PRICE	EXTENSION
UTILITY CATEGORY		5	
795-01.04 6IN DIP SLIP JOINT WATER LINE			
	50.000 L.F.		
Hoover, Inc.	30.000 Lii i	\$54.0000	\$2,700.00
Vulcan Construction Materials, LLC		\$60.0000	\$3,000.00
Civil Constructors, LLC		\$82.0000	\$4,100.00
Jones Bros. Contractors, LLC		\$58.0000	\$2,900.00
Jarrett Builders, Inc.		\$58.0000	\$2,900.00
795-01.06 8IN DIP SLIP JOINT WATER LINE			
	250.000 L.F.		
Hoover, Inc.		\$82.0000	\$20,500.00
Vulcan Construction Materials, LLC		\$68.4500	\$17,112.50
Civil Constructors, LLC		\$87.0000	\$21,750.00
Jones Bros. Contractors, LLC		\$102.5000	\$25,625.00
Jarrett Builders, Inc.		\$63.0000	\$15,750.00
795-01.13 16IN DIP RESTRAINED JOINT WATER LINE			
	70.000 L.F.		
Hoover, Inc.		\$134.0000	\$9,380.00
Vulcan Construction Materials, LLC		\$105.0000	\$7,350.00
Civil Constructors, LLC		\$194.0000	\$13,580.00
Jones Bros. Contractors, LLC		\$142.0000	\$9,940.00
Jarrett Builders, Inc.		\$175.0000	\$12,250.00
795-01.14 16IN DIP SLIP JOINT WATER LINE			
	1,600.000 L.F.		
Hoover, Inc.		\$101.0000	\$161,600.00
Vulcan Construction Materials, LLC		\$115.0000	\$184,000.00
Civil Constructors, LLC		\$143.0000	\$228,800.00
Jones Bros. Contractors, LLC		\$116.5000	\$186,400.00
Jarrett Builders, Inc.		\$95.5000	\$152,800.00
795-05.28 HDDIN HDPE CASING PIPE-ROCK			
	300.000 L.F.		
Hoover, Inc.		\$140.0000	\$42,000.00
Vulcan Construction Materials, LLC		\$190.0000	\$57,000.00
Civil Constructors, LLC		\$134.0000	\$40,200.00
Jones Bros. Contractors, LLC		\$51.5000	\$15,450.00
Jarrett Builders, Inc.		\$32.0000	\$9,600.00
795-06.34 CUT AND CAP 8IN WATERLINE			
	3.000 EACH		
Hoover, Inc.		\$1,230.0000	\$3,690.00
Vulcan Construction Materials, LLC		¢1 100 0000	¢ኃ ኃሰባ ሰበ

Vulcan Construction Materials, LLC

Jones Bros. Contractors, LLC

Civil Constructors, LLC

Jarrett Builders, Inc.

\$3,300.00

\$2,106.00

\$3,450.00

\$3,900.00

\$1,100.0000

\$1,150.0000

\$1,300.0000

\$702.0000

CONTRACT CNR239

			LINIT DDICE	EVTENSION
			UNIT PRICE	EXTENSION
705 07 06 9IN	X 8IN TAPPING SLEEVE AND VALVE			
795-07.00 OIN	A OIN TAFFING SLEEVE AND VALVE	2 000 EACH		
Uaa	avan Ina	2.000 EACH	¢4.050.0000	#0.200.00
	over, Inc.		\$4,650.0000	\$9,300.00
	can Construction Materials, LLC il Constructors, LLC		\$5,000.0000 \$5,460.0000	\$10,000.00 \$10,000.00
	nes Bros. Contractors, LLC		\$5,500.0000	\$10,920.00 \$11,000.00
	rett Builders, Inc.		\$6,900.0000	\$13,800.00
Jan	Tett Dullders, Illo.		φο,900.0000	ψ13,000.00
795-08.04 6IN	GATE VALVE ASSEMBLY			
		3.000 EACH		
Hoo	over, Inc.		\$1,700.0000	\$5,100.00
Vul	can Construction Materials, LLC		\$1,850.0000	\$5,550.00
Civi	ril Constructors, LLC		\$1,260.0000	\$3,780.00
Jon	nes Bros. Contractors, LLC		\$1,280.0000	\$3,840.00
Jarı	rett Builders, Inc.		\$1,100.0000	\$3,300.00
705 00 05 OIN	GATE VALVE ASSEMBLY			
795-06.05 6IN	GATE VALVE ASSEMBLY	3.000 EACH		
Uos	over Inc	3.000 EACH	\$2,250.0000	\$6,750.00
	over, Inc. Ican Construction Materials, LLC		\$2,300.0000	\$6,900.00
	il Constructors, LLC		\$1,690.0000	\$5,070.00
	nes Bros. Contractors, LLC		\$1,925.0000	\$5,775.00
	rett Builders, Inc.		\$1,400.0000	\$4,200.00
ou	Salasis, IIIs		ψ1,100.000	ψ 1,200.00
795-08.14 16IN	N GATE VALVE ASSEMBLY			
		3.000 EACH		
Hoo	over, Inc.		\$8,550.0000	\$25,650.00
Vul	can Construction Materials, LLC		\$8,900.0000	\$26,700.00
Civi	il Constructors, LLC		\$9,250.0000	\$27,750.00
	nes Bros. Contractors, LLC		\$10,050.0000	\$30,150.00
Jarı	rett Builders, Inc.		\$7,200.0000	\$21,600.00
795-09.09 REL	LOCATE/RECONNECT SERVICE ASSEMBLY			
		8.000 EACH		
Hoo	over, Inc.		\$1,650.0000	\$13,200.00
	can Construction Materials, LLC		\$1,600.0000	\$12,800.00
Civi	il Constructors, LLC		\$1,040.0000	\$8,320.00
Jon	nes Bros. Contractors, LLC		\$1,725.0000	\$13,800.00
Jarı	rett Builders, Inc.		\$1,200.0000	\$9,600.00
795-09 62 4IN	PEXa SERVICE PIPE			
133-03.02 1IN	II LAG SENVICE FIFE	700.000 L.F.		
Hoc	over, Inc.	. 00.000 EII I	\$30.5000	\$21,350.00
	can Construction Materials, LLC		\$25.0000	\$17,500.00
	il Constructors, LLC		\$38.0000	\$26,600.00
	nes Bros. Contractors, LLC		\$17.1500	\$12,005.00
	rett Builders, Inc.		\$30.0000	\$21,000.00
34.1			Ţ-3. 000	+,000.00

CONTRACT CNR239

		C	DNIKACI CNK239
		UNIT PRICE	EXTENSION
795-11.02 FIRE HYDRANT ASSEMBLY	4 000 = 4 011		
	4.000 EACH		
Hoover, Inc.		\$4,350.0000	\$17,400.00
Vulcan Construction Materials, LLC		\$4,700.0000	\$18,800.00
Civil Constructors, LLC		\$4,480.0000	\$17,920.00
Jones Bros. Contractors, LLC		\$5,895.0000	\$23,580.00
Jarrett Builders, Inc.		\$5,000.0000	\$20,000.00
795-13.01 DI FITTINGS			
	1,500.000 LB.		
Hoover, Inc.		\$12.0000	\$18,000.00
Vulcan Construction Materials, LLC		\$11.5000	\$17,250.00
Civil Constructors, LLC		\$15.0000	\$22,500.00
Jones Bros. Contractors, LLC		\$7.0000	\$10,500.00
Jarrett Builders, Inc.		\$6.3000	\$9,450.00
795-14.02 CLASS B CONCRETE			
733-14.02 GEAGG B GONGRETE	10.000 C.Y.		
Hoover, Inc.		\$175.0000	\$1,750.00
Vulcan Construction Materials, LLC		\$360.0000	\$3,600.00
Civil Constructors, LLC		\$293.0000	\$2,930.00
Jones Bros. Contractors, LLC		\$23.0000	\$230.00
Jarrett Builders, Inc.		\$400.0000	\$4,000.00
705 44 00 DEGTODE AGRICALT			
795-14.08 RESTORE ASPHALT	10.000 S.Y.		
Hoover, Inc.	10.000 3.1.	\$100.0000	\$1,000.00
Vulcan Construction Materials, LLC		\$50.0000	
•		·	\$500.00
Civil Constructors, LLC		\$151.0000 \$455.0000	\$1,510.00
Jones Bros. Contractors, LLC		\$155.0000 \$114.0000	\$1,550.00 \$4,440.00
Jarrett Builders, Inc.		\$114.0000	\$1,140.00
795-14.10 RESTORE GRAVEL			
	15.000 S.Y.		
Hoover, Inc.		\$51.0000	\$765.00
Vulcan Construction Materials, LLC		\$30.0000	\$450.00
Civil Constructors, LLC		\$39.0000	\$585.00
Jones Bros. Contractors, LLC		\$77.7500	\$1,166.25
Jarrett Builders, Inc.		\$57.0000	\$855.00
795-14.15 SUPPORT STRUCTURE FOR UNSTABLE SUBGRADE			
	1.000 LS		
Hoover, Inc.		\$15,000.0000	\$15,000.00
Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
Civil Constructors, LLC		\$23,460.0000	\$23,460.00
Jones Bros. Contractors, LLC		\$18,500.0000	\$18,500.00
Jarrett Builders, Inc.		\$20,000.0000	\$20,000.00

SUB-TOTAL ROADWAY

Hoover, Inc.	\$1,296,426.84
Vulcan Construction Materials, LLC	\$1,277,491.75
Civil Constructors, LLC	\$1,662,016.15
Jones Bros. Contractors, LLC	\$1,817,847.16
Jarrett Builders, Inc.	\$1,923,442.95

SUB-TOTAL UTILITY

Hoover, Inc.	\$375,135.00
Vulcan Construction Materials, LLC	\$416,812.50
Civil Constructors, LLC	\$461,881.00
Jones Bros. Contractors, LLC	\$375,861.25
Jarrett Builders, Inc.	\$326,145.00

TOTAL CONTRACT

Hoover, Inc.	\$1,671,561.84
Vulcan Construction Materials, LLC	\$1,694,304.25
Civil Constructors, LLC	\$2,123,897.15
Jones Bros. Contractors, LLC	\$2,193,708.41
Jarrett Builders, Inc.	\$2,249,587.95

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF JUNE 23, 2017

STEWART COUNTY (Contract No. CNR233 Call 018)

81006-4221-04

THE RESURFACING ON S.R. 149 FROM THE HOUSTON COUNTY LINE (L.M. 0.00) TO THE MONTGOMERY COUNTY LINE (L.M. 3.82).

PROJECT LENGTH - 3.820 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC

\$696,775.00 \$709,383.75

CONTRACT	CN	IR	23	3
----------	----	----	----	---

			CO	NTRACT CNR233
BOADWAY	CATEGORY		UNIT PRICE	EXTENSION
ROADWAT	CATEGORY			
303-01 M	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,137.000 TON		
	ubank Asphalt Paving & Sealing ones Bros. Contractors, LLC		\$15.0000 \$10.0000	\$17,055.00 \$11,370.00
307-01.08 A	SPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING	B-M2		
		500.000 TON		
	Subank Asphalt Paving & Sealing ones Bros. Contractors, LLC		\$50.0000 \$60.0000	\$25,000.00 \$30,000.00
403-01 B	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		46.000 TON		
E	ubank Asphalt Paving & Sealing		\$315.0000	\$14,490.00
J	ones Bros. Contractors, LLC		\$515.0000	\$23,690.00
411-01.10 A	ACS MIX(PG64-22) GRADING D	0 070 000 TON		
_	Lubank Aanhalt Daving & Sociling	6,879.000 TON	\$65.0000	\$447,135.00
	Eubank Asphalt Paving & Sealing ones Bros. Contractors, LLC		\$64.7500	\$445,415.25
411-12.02 S	CORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		6.200 L.M.		
	ubank Asphalt Paving & Sealing ones Bros. Contractors, LLC		\$200.0000 \$725.0000	\$1,240.00 \$4,495.00
415-01.01 C	COLD PLANING BITUMINOUS PAVEMENT			
		6,814.000 TON		
	ubank Asphalt Paving & Sealing ones Bros. Contractors, LLC		\$12.0000 \$11.7500	\$81,768.00 \$80,064.50
712-01 T	RAFFIC CONTROL			
		1.000 LS		
	ubank Asphalt Paving & Sealing ones Bros. Contractors, LLC		\$7,000.0000 \$15,000.0000	\$7,000.00 \$15,000.00
712-04.01 F	LEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	ubank Asphalt Paving & Sealing ones Bros. Contractors, LLC		\$5.0000 \$35.0000	\$125.00 \$875.00
712-05.01 W	VARNING LIGHTS (TYPE A)			
		4.000 EACH		
	ubank Asphalt Paving & Sealing ones Bros. Contractors, LLC		\$5.0000 \$30.0000	\$20.00 \$120.00
712-06 S	SIGNS (CONSTRUCTION)			
		592.000 S.F.		
	Subank Asphalt Paving & Sealing ones Bros. Contractors, LLC		\$6.0000 \$7.0000	\$3,552.00 \$4,144.00
				PAGE

CONTRACT	
CUNINACI	CINICAGO

				CONTRACT CINIZ33
			UNIT PRICE	EXTENSION
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		253.000 EACH		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$7,590.00
	Jones Bros. Contractors, LLC		\$30.0000	\$7,590.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		48.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$15.0000	\$720.00
	Jones Bros. Contractors, LLC		\$15.0000	\$720.00
	Control Brook Contractors, 220		ψ.ο.οοοο	ψ120.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		13.200 L.M.		
	Eubank Asphalt Paving & Sealing		\$650.0000	\$8,580.00
	Jones Bros. Contractors, LLC		\$750.0000	\$9,900.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		13.200 L.M.		
	Eubank Asphalt Paving & Sealing		\$5,000.0000	\$66,000.00
	Jones Bros. Contractors, LLC		\$5,000.0000	\$66,000.00
			+ -,	¥***,******
717-01	MOBILIZATION			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$16,500.0000	\$16,500.00
	Jones Bros. Contractors, LLC		\$10,000.0000	\$10,000.00

SUB-TOTAL ROADWAY

Eubank Asphalt Paving & Sealing	\$696,775.00
Jones Bros. Contractors, LLC	\$709,383.75

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing

Jones Bros. Contractors, LLC

\$709,383.75

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF JUNE 23, 2017

TROUSDALE COUNTY (Contract No. CNR227 Call 019)

NH/HSIP-10(65),85001-3226-94,85001-8226-14

THE RESURFACING ON U.S. 231 (S.R. 10) FROM THE WILSON COUNTY LINE (L.M. 0.00) TO S.R. 25 (L.M. 6.24).

PROJECT LENGTH - 6.240 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

DBE GOAL 3.00%

TOTAL CONTRACT

Vulcan Construction Materials, LLC\$986,497.00Rogers Group, Inc.\$1,069,977.00Hoover, Inc.\$1,111,727.50Charles Deweese Construction, Inc\$1,119,512.95

			00	MINAGI GINIZZI
			UNIT PRICE	EXTENSION
BO A DW	AY CATEGORY		0.1.1.1.102	
KOADW	AT CATEGORT			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
000 01	mineral Acontecate, The Acoe, Chapito	440 000 701		
		413.000 TON		
	Vulcan Construction Materials, LLC		\$25.5000	\$10,531.50
	Rogers Group, Inc.		\$20.0000	\$8,260.00
	Hoover, Inc.		\$20.0000	\$8,260.00
	Charles Deweese Construction, Inc		\$24.8900	\$10,279.57
307-01 08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING	R-M2		
307-01.00	ANTIALI CONORLIL MIX (1 COT-22) (BI MB-11M) CRADING			
		489.000 TON		
	Vulcan Construction Materials, LLC		\$68.0000	\$33,252.00
	Rogers Group, Inc.		\$73.5000	\$35,941.50
	Hoover, Inc.		\$55.0000	\$26,895.00
	Charles Deweese Construction, Inc		\$58.1400	\$28,430.46
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
403-01	BITOMINOUS MATERIAL FOR TACK COAT (10)			
		59.000 TON		
	Vulcan Construction Materials, LLC		\$600.0000	\$35,400.00
	Rogers Group, Inc.		\$750.0000	\$44,250.00
	Hoover, Inc.		\$800.0000	\$47,200.00
	Charles Deweese Construction, Inc		\$1,179.9900	\$69,619.41
411-01 10	ACS MIX(PG64-22) GRADING D			
711-01.10	AGO MIA(1 GOT-22) GRADINO D			
		8,906.000 TON		
	Vulcan Construction Materials, LLC		\$75.0000	\$667,950.00
	Rogers Group, Inc.		\$77.0000	\$685,762.00
	Hoover, Inc.		\$80.0000	\$712,480.00
	Charles Deweese Construction, Inc		\$82.5400	\$735,101.24
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN W	VIDTH)		
	(· · · · · · · · · · · · · · · · · · ·			
		10.000 L.M.		
	Vulcan Construction Materials, LLC		\$360.0000	\$3,600.00
	Rogers Group, Inc.		\$678.0000	\$6,780.00
	Hoover, Inc.		\$360.0000	\$3,600.00
	Charles Deweese Construction, Inc		\$528.0000	\$5,280.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		5 574 000 TON		
		5,571.000 TON		
	Vulcan Construction Materials, LLC		\$13.5000	\$75,208.50
	Rogers Group, Inc.		\$16.5000	\$91,921.50
	Hoover, Inc.		\$17.0000	\$94,707.00
	Charles Deweese Construction, Inc		\$15.6200	\$87,019.02
712-01	TRAFFIC CONTROL			
		4 202 2		
		1.000 LS		
	Vulcan Construction Materials, LLC		\$11,000.0000	\$11,000.00
	Rogers Group, Inc.		\$30,000.0000	\$30,000.00
	Hoover, Inc.		\$25,000.0000	\$25,000.00
	Charles Deweese Construction, Inc		\$24,000.0000	\$24,000.00

		UNIT PRICE	EXTENSION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)		
	,	25.000 EACH	
	Vulcan Construction Materials, LLC	\$5.0000	\$125.00
	Rogers Group, Inc.	\$5.5000	\$137.50
	Hoover, Inc.	\$5.0000	\$125.00
	Charles Deweese Construction, Inc	\$5.2500	\$131.25
712-05.01	WARNING LIGHTS (TYPE A)		
		2.000 EACH	
	Vulcan Construction Materials, LLC	\$5.0000	\$10.00
	Rogers Group, Inc.	\$5.5000	\$11.00
	Hoover, Inc.	\$5.0000	\$10.00
	Charles Deweese Construction, Inc	\$3.0000	\$6.00
712-06	SIGNS (CONSTRUCTION)		
		1,640.000 S.F.	
	Vulcan Construction Materials, LLC	\$9.5000	\$15,580.00
	Rogers Group, Inc.	\$6.4000	\$10,496.00
	Hoover, Inc.	\$6.5000	\$10,660.00
	Charles Deweese Construction, Inc	\$6.0500	\$9,922.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)		
		412.000 EACH	
	Vulcan Construction Materials, LLC	\$28.0000	\$11,536.00
	Rogers Group, Inc.	\$30.0000	\$12,360.00
	Hoover, Inc.	\$27.7500	\$11,433.00
	Charles Deweese Construction, Inc	\$30.8000	\$12,689.60
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
		412.000 EACH	
	Vulcan Construction Materials, LLC	\$8.0000	\$3,296.00
	Rogers Group, Inc.	\$8.2500	\$3,399.00
	Hoover, Inc.	\$7.5000	\$3,090.00
	Charles Deweese Construction, Inc	\$8.8000	\$3,625.60
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
		14.000 S.Y.	
	Vulcan Construction Materials, LLC	\$20.0000	\$280.00
	Rogers Group, Inc.	\$20.5000	\$287.00
	Hoover, Inc.	\$22.5000	\$315.00
	Charles Deweese Construction, Inc	\$22.0000	\$308.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)		
		24.000 L.F.	
	Vulcan Construction Materials, LLC	\$12.0000	\$288.00
	Rogers Group, Inc.	\$12.5000	\$300.00
	Hoover, Inc.	\$12.5000	\$300.00
	Charles Deweese Construction, Inc	\$13.2000	\$316.80

1.000 LS

\$25,000.0000

\$44,131.5000

\$75,000.0000

\$30,000.0000

Vulcan Construction Materials, LLC

Charles Deweese Construction, Inc

Rogers Group, Inc.

Hoover, Inc.

\$25,000.00

\$44,131.50

\$75,000.00

\$30,000.00

SUB-TOTAL ROADWAY

Vulcan Construction Materials, LLC	\$986,497.00
Rogers Group, Inc.	\$1,069,977.00
Hoover, Inc.	\$1,111,727.50
Charles Deweese Construction, Inc	\$1,119,512.95

TOTAL CONTRACT

Vulcan Construction Materials, LLC	\$986,497.00
Rogers Group, Inc.	\$1,069,977.00
Hoover, Inc.	\$1,111,727.50
Charles Deweese Construction, Inc	\$1,119,512.95

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF JUNE 23, 2017

WASHINGTON COUNTY (Contract No. CNR238 Call 020)

R-PHSIP-34(95),90002-3260-94

THE GRADING, DRAINAGE, CONSTRUCTION OF A CONCRETE BOX BRIDGE, RETAINING WALL AND PAVING ON U.S. 11E (U.S. 321, S.R. 34) AT S.R. 354 (L.M. 11.07) IN JONESBOROUGH.

PROJECT LENGTH - 0.207 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2018

DBE GOAL 6.00%

TOTAL CONTRACT

Summers-Taylor, Inc.

\$2,619,494.30

CON	NTRA	CT	CNR238

			CO	NTRACT CNR238
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Summers-Taylor, Inc.	1.000 LS	\$37,500.0000	\$37,500.00
201-01	CLEARING AND GRUBBING	1.000 LS		
	Summers-Taylor, Inc.	1.000 LS	\$12,500.0000	\$12,500.00
202-04.10	REMOVAL OF STRUCTURES (ENDWALL, STA. 10+27)	1.000 LS		
	Summers-Taylor, Inc.		\$3,750.0000	\$3,750.00
202-08.10	REMOVAL OF CURB (S.R. 34 MEDIAN)	410.000 L.F.		
	Summers-Taylor, Inc.		\$4.3000	\$1,763.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	3,065.000 C.Y.		
	Summers-Taylor, Inc.		\$29.8500	\$91,490.25
203-06	WATER	35.000 M.G.	# = 0000	0.777.00
203-07	Summers-Taylor, Inc. FURNISHING & SPREADING TOPSOIL		\$5.0000	\$175.00
200-01	Summers-Taylor, Inc.	125.000 C.Y.	\$45.0000	\$5,625.00
204-08	FOUNDATION FILL MATERIAL			
	Summers-Taylor, Inc.	20.000 C.Y.	\$59.0000	\$1,180.00
209-05	SEDIMENT REMOVAL	000 000 O V		
	Summers-Taylor, Inc.	200.000 C.Y.	\$30.0000	\$6,000.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)	1,200.000 L.F.		
	Summers-Taylor, Inc.	1,200.000 E.1 .	\$4.0000	\$4,800.00
209-08.07	ROCK CHECK DAM PER	6.000 EACH		
	Summers-Taylor, Inc.		\$465.0000	\$2,790.00
209-08.08	ENHANCED ROCK CHECK DAM	2.000 EACH		
	Summers-Taylor, Inc.		\$645.0000	\$1,290.00

			UNIT PRICE	CONTRACT CNR238 EXTENSION
209-09.01	SANDBAGS			
	Summers-Taylor, Inc.	200.000 BAG	\$3.5000	\$700.00
209-09.04	SEDIMENT FILTER BAG(15' X 10')			
	Summers-Taylor, Inc.	2.000 EACH	\$750.0000	\$1,500.00
209-20.03	POLYETHYLENE SHEETING (6 MIL. MINIMUM)			
	Summers-Taylor, Inc.	100.000 S.Y.	\$2.6500	\$265.00
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
	Summers-Taylor, Inc.	5.000 EACH	\$350.0000	\$1,750.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Summers-Taylor, Inc.	4,387.000 TON	\$29.8500	\$130,951.95
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	Summers-Taylor, Inc.	140.000 TON	\$32.0000	\$4,480.00
307-01.21	ASP. CONC. MIX(PG70-22) (BPMB-HM) GR. A-S			
	Summers-Taylor, Inc.	75.000 TON	\$114.0000	\$8,550.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A	4 4 4 9 9 9 9 TON		
	Summers-Taylor, Inc.	1,142.000 TON	\$100.8500	\$115,170.70
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M			
	Summers-Taylor, Inc.	659.000 TON	\$119.8500	\$78,981.15
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
	Summers-Taylor, Inc.	11.000 TON	\$300.0000	\$3,300.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
	Summers-Taylor, Inc.	45.000 TON	\$80.0000	\$3,600.00

13.000 TON

403-01

BITUMINOUS MATERIAL FOR TACK COAT (TC)

Summers-Taylor, Inc.

\$11,635.00

\$895.0000

		UNIT PRICE	CONTRACT CNR238 EXTENSION
411-01.07 ACS MIX (PG64-22) GRADING E SHOULDER			
Summers-Taylor, Inc.	115.000 TON	\$145.0000	\$16,675.00
411-02.10 ACS MIX(PG70-22) GRADING D	4 500 000 TON		
Summers-Taylor, Inc.	1,526.000 TON	\$107.2500	\$163,663.50
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
Summers-Taylor, Inc.	0.100 L.M.	\$1,000.0000	\$100.00
415-01.02 COLD PLANING BITUMINOUS PAVEMENT	47 000 000 O V		
Summers-Taylor, Inc.	17,233.000 S.Y.	\$1.9500	\$33,604.35
604-02.01 CLASS A CONCRETE (BOX BRIDGES)	50 000 O V		
Summers-Taylor, Inc.	58.000 C.Y.	\$1,095.0000	\$63,510.00
604-02.02 STEEL BAR REINFORCEMENT (BOX BRIDGES)	44 759 000 LD		
Summers-Taylor, Inc.	11,758.000 LB.	\$1.1500	\$13,521.70
604-03.07 CLASS A CONCRETE (RETAINING WALL PARAPET)	92 000 C V		
Summers-Taylor, Inc.	83.000 C.Y.	\$475.0000	\$39,425.00
604-07.22 RETAINING WALL (S.R. 354)	0.004.000.0.5		
Summers-Taylor, Inc.	9,201.000 S.F.	\$108.2500	\$996,008.25
604-07.28 RETAINING WALL EXCAVATION	4 000 000 O V		
Summers-Taylor, Inc.	4,800.000 C.Y.	\$19.7500	\$94,800.00
607-02.02 15" CONCRETE PIPE CULVERT(CLASS III)	2 202 1 5		
Summers-Taylor, Inc.	3.000 L.F.	\$195.0000	\$585.00
607-03.02 18" CONCRETE PIPE CULVERT (CLASS III)	000 000 L F		
Summers-Taylor, Inc.	239.000 L.F.	\$105.0000	\$25,095.00
607-08.02 42" CONCRETE PIPE CULVERT (CLASS III)	40.0001.5		
Summers-Taylor, Inc.	12.000 L.F.	\$230.0000	\$2,760.00

			UNIT PRICE	CONTRACT CNR238 EXTENSION
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)			
	Summers-Taylor, Inc.	1.000 C.Y.	\$1,215.0000	\$1,215.00
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
	Summers-Taylor, Inc.	45.000 LB.	\$1.5500	\$69.75
611-07.31	18IN ENDWALL (SIDE DRAIN)			
	Summers-Taylor, Inc.	1.000 EACH	\$2,900.0000	\$2,900.00
621-03.05	36" TEMPORARY DRAINAGE PIPE			
	Summers-Taylor, Inc.	100.000 L.F.	\$45.0000	\$4,500.00
624-03.01	RETAINING WALL REINFORCING STEEL			
	Summers-Taylor, Inc.	11,494.000 LB.	\$1.2000	\$13,792.80
701-03	CONCRETE MEDIAN PAVEMENT			
	Summers-Taylor, Inc.	12.000 C.Y.	\$395.0000	\$4,740.00
702-01	CONCRETE CURB			
	Summers-Taylor, Inc.	15.000 C.Y.	\$495.0000	\$7,425.00
702-03	CONCRETE COMBINED CURB & GUTTER			
	Summers-Taylor, Inc.	16.000 C.Y.	\$395.0000	\$6,320.00
705-01.01	GUARDRAIL AT BRIDGE ENDS			
	Summers-Taylor, Inc.	54.000 L.F.	\$75.0000	\$4,050.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Summers-Taylor, Inc.	2.000 EACH	\$1,675.0000	\$3,350.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
	Summers-Taylor, Inc.	431.000 L.F.	\$16.0000	\$6,896.00
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL3			
	Summers-Taylor, Inc.	2.000 EACH	\$850.0000	\$1,700.00

			UNIT PRICE	CONTRACT CNR238 EXTENSION
705-06.11	GR TERMINAL (IN-INLINE) MASH TL3			
	Summers-Taylor, Inc.	4.000 EACH	\$550.0000	\$2,200.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Summers-Taylor, Inc.	3.000 EACH	\$2,325.0000	\$6,975.00
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
	Summers-Taylor, Inc.	20.000 EACH	\$3,750.0000	\$75,000.00
705-10.33	GUARDRAIL ATTACHMENT TO CONCRETE BRIDGERAIL			
	Summers-Taylor, Inc.	38.000 L.F.	\$425.0000	\$16,150.00
706-01	GUARDRAIL REMOVED			
	Summers-Taylor, Inc.	1,120.000 L.F.	\$1.0000	\$1,120.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	Summers-Taylor, Inc.	50.000 TON	\$45.0000	\$2,250.00
709-05.06	MACHINED RIP-RAP (CLASS A-1)			
	Summers-Taylor, Inc.	350.000 TON	\$39.0000	\$13,650.00
709-05.08	MACHINED RIP-RAP (CLASS B)			
	Summers-Taylor, Inc.	350.000 TON	\$42.0000	\$14,700.00
712-01	TRAFFIC CONTROL			
	Summers-Taylor, Inc.	1.000 LS	\$37,750.0000	\$37,750.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
	Summers-Taylor, Inc.	3,250.000 L.F.	\$24.0000	\$78,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Summers-Taylor, Inc.	100.000 EACH	\$25.0000	\$2,500.00
712-05.01	WARNING LIGHTS (TYPE A)			
	Summers-Taylor, Inc.	68.000 EACH	\$20.0000	\$1,360.00

			UNIT PRICE	CONTRACT CNR238 EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	Summers-Taylor, Inc.	321.000 S.F.	\$8.5000	\$2,728.50
712-06.01	VERTICAL PANELS			
	Summers-Taylor, Inc.	110.000 S.F.	\$11.0000	\$1,210.00
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Summers-Taylor, Inc.	272.000 L.F.	\$6.0000	\$1,632.00
712-09.30	REMOVABLE BLACK-OUT TAPE (6")			
	Summers-Taylor, Inc.	2,500.000 L.F.	\$3.4500	\$8,625.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)			
	Summers-Taylor, Inc.	1.000 C.Y.	\$900.0000	\$900.00
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPO			
	Summers-Taylor, Inc.	242.000 LB.	\$3.2000	\$774.40
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPORT			
	Summers-Taylor, Inc.	1,160.000 LB.	\$4.5500	\$5,278.00
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
	Summers-Taylor, Inc.	905.000 LB.	\$4.2500	\$3,846.25
713-11.03	2 1/2" DIA ROUND STEEL TUBE SIGN POST			
	Summers-Taylor, Inc.	174.000 LB.	\$6.2500	\$1,087.50
713-11.21	P POST SLIP BASE			
	Summers-Taylor, Inc.	13.000 EACH	\$425.0000	\$5,525.00
713-11.23	ROUND POST SLIP BASE	4.000 - 0.000		
	Summers-Taylor, Inc.	4.000 EACH	\$425.0000	\$1,700.00

101.000 S.F.

713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)

Summers-Taylor, Inc.

\$1,414.00

\$14.0000

			UNIT PRICE	CONTRACT CNR238 EXTENSION
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)	175.000 S.F.		
	Summers-Taylor, Inc.	173.000 S.F.	\$14.5000	\$2,537.50
713-14	EXTRUDED ALUMINUM PANEL SIGNS	52.000 S.F.		
	Summers-Taylor, Inc.	32.300 G.I .	\$32.0000	\$1,664.00
713-14.22	STREET NAME SIGN (SUSPENDED 0.100IN THICK)	69.000 S.F.		
	Summers-Taylor, Inc.	33.333 S.II .	\$25.0000	\$1,725.00
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS	1.000 LS		
	Summers-Taylor, Inc.		\$700.0000	\$700.00
713-30.09	BARRIER MOUNTED SIGN SUPPORT	3.000 EACH		
	Summers-Taylor, Inc.		\$650.0000	\$1,950.00
713-30.10	BARRIER MOUNTED SIGN SUPPORT (4" SQ. x 3/8")	1.000 EACH		
	Summers-Taylor, Inc.		\$800.0000	\$800.00
716-01.23	Snwplwble Pvmt Mrkrs (Bi-Dir)(2 Color)	60.000 EACH		
	Summers-Taylor, Inc.		\$28.0000	\$1,680.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	30.000 S.Y.	\$18.0000	
	Summers-Taylor, Inc.			\$540.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	230.000 L.F.		
	Summers-Taylor, Inc.		\$9.5000	\$2,185.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	19.000 EACH		
	Summers-Taylor, Inc.		\$155.0000	\$2,945.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)	2.000 EACH		
	Summers-Taylor, Inc.		\$185.0000	\$370.00
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)	3.000 EACH		
			A	

Summers-Taylor, Inc.

\$555.00

\$185.0000

				CONTRACT CNR238
			UNIT PRICE	EXTENSION
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	Summers-Taylor, Inc.	600.000 L.F.	\$7.0000	\$4,200.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
	Summers-Taylor, Inc.	7.000 EACH	\$130.0000	\$910.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)	60 000 S E		
	Summers-Taylor, Inc.	60.000 S.F.	\$11.0000	\$660.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	1.000 L.M.		
	Summers-Taylor, Inc.	1.000 L.M.	\$875.0000	\$875.00
716-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE)	4 000 000 L E		
	Summers-Taylor, Inc.	1,000.000 L.F.	\$0.3500	\$350.00
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)	100.000 L.F.		
	Summers-Taylor, Inc.	100.000 L.F.	\$6.5000	\$650.00
716-05.06	PAINTED PAVEMENT MARKING (TURN LANE ARROW)	4.000 EACH		
	Summers-Taylor, Inc.	4.000 EAGIT	\$80.0000	\$320.00
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)	400.000 L.F.		
	Summers-Taylor, Inc.	400.000 L.F.	\$0.6000	\$240.00
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)	35.000 L E		
	Summers-Taylor, Inc.	35.000 L.F.	\$4.5500	\$159.25
716-08.06	REMOVAL OF PAVEMENT MARKING (TURN LANE ARROW)	C 000 F 4 CU		
	Summers-Taylor, Inc.	6.000 EACH	\$42.0000	\$252.00
716-08.11	REMOVAL OF WORD PAVEMENT MARKING (DESCRIPTION)	N) 1.000 EACH		
	Summers-Taylor, Inc.	1.000 EACH	\$62.0000	\$62.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	0.0001		
	Summers-Taylor, Inc.	2.000 L.M.	\$4,975.0000	\$9,950.00

			UNIT PRICE	CONTRACT CNR238 EXTENSION
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER L			
	Summers-Taylor, Inc.	1,000.000 L.F.	\$2.2500	\$2,250.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LI			
	Summers-Taylor, Inc.	1,300.000 L.F.	\$1.8500	\$2,405.00
717-01	MOBILIZATION			
	Summers-Taylor, Inc.	1.000 LS	\$78,665.0000	\$78,665.00
730-01.02	REMOVAL OF SIGNAL EQUIPMENT			
	Summers-Taylor, Inc.	1.000 EACH	\$2,300.0000	\$2,300.00
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
	Summers-Taylor, Inc.	6.000 EACH	\$825.0000	\$4,950.00
730-02.17	SIGNAL HEAD ASSEMBLY (150 A2H WITH BACKPLATE)			
	Summers-Taylor, Inc.	4.000 EACH	\$1,390.0000	\$5,560.00
730-02.30	SIGNAL HEAD ASSEMBLY (130A3 WITH BACKPLATE)			
	Summers-Taylor, Inc.	3.000 EACH	\$820.0000	\$2,460.00
730-03.21	INSTALL PULL BOX (TYPE B)			
	Summers-Taylor, Inc.	9.000 EACH	\$450.0000	\$4,050.00
730-05.01	ELECTRICAL SERVICE CONNECTION			
	Summers-Taylor, Inc.	1.000 EACH	\$1,250.0000	\$1,250.00
730-05.02	SERVICE CABLE (2 CONDUCTOR, # 8 AWG)			
	Summers-Taylor, Inc.	100.000 L.F.	\$2.0000	\$200.00
730-08.03	SIGNAL CABLE - 7 CONDUCTOR			
	Summers-Taylor, Inc.	2,500.000 L.F.	\$1.4000	\$3,500.00

700.000 L.F.

730-09.01 SPAN WIRE ASSEMBLY(24,200 LBS.MIN.BRK STRENGTH)

Summers-Taylor, Inc.

\$2,800.00

\$4.0000

			UNIT PRICE	CONTRACT CNR238 EXTENSION
730-10.01	TETHER WIRE ASSEMBLY - 1/4" DIAMETER			
	Summers-Taylor, Inc.	700.000 L.F.	\$2.2500	\$1,575.00
730-11.01	STEEL CONDUIT RISER ASSEMBLY			
	Summers-Taylor, Inc.	1.000 EACH	\$350.0000	\$350.00
730-12.01	CONDUIT 1" DIAMETER (PVC)			
	Summers-Taylor, Inc.	800.000 L.F.	\$8.2500	\$6,600.00
730-12.04	CONDUIT 4" DIAMETER (PVC)			
	Summers-Taylor, Inc.	100.000 L.F.	\$13.2500	\$1,325.00
730-12.08	CONDUIT 2" DIAMETER (RGS)			
	Summers-Taylor, Inc.	50.000 L.F.	\$18.2500	\$912.50
730-12.10	CONDUIT 4" DIAMETER (RGS)			
	Summers-Taylor, Inc.	50.000 L.F.	\$37.0000	\$1,850.00
730-12.12	CONDUIT 1" DIAMETER (JACK AND BORE)			
	Summers-Taylor, Inc.	60.000 L.F.	\$51.0000	\$3,060.00
730-13.01	VEHICLE LOOP DETECTOR (SHELF MOUNT)			
	Summers-Taylor, Inc.	14.000 EACH	\$220.0000	\$3,080.00
730-14.01	SHIELDED DETECTOR CABLE			
	Summers-Taylor, Inc.	4,700.000 L.F.	\$1.0000	\$4,700.00
730-14.02	SAW SLOT			
	Summers-Taylor, Inc.	1,800.000 L.F.	\$4.3500	\$7,830.00
730-14.03	LOOP WIRE			
	Summers-Taylor, Inc.	5,000.000 L.F.	\$0.8000	\$4,000.00

1.000 EACH

730-15.32 CABINET (EIGHT PHASE BASE MOUNTED)

Summers-Taylor, Inc.

\$12,650.00

\$12,650.0000

			UNIT PRICE	CONTRACT CNR238 EXTENSION
730-16.02	EIGHT PHASE ACTUATED CONTROLLER			
	Summers-Taylor, Inc.	1.000 EACH	\$5,000.0000	\$5,000.00
730-23.02	STEEL STRAIN POLE (POLE A)			
	Summers-Taylor, Inc.	1.000 EACH	\$23,000.0000	\$23,000.00
730-23.03	STEEL STRAIN POLE (POLE B)			
	Summers-Taylor, Inc.	1.000 EACH	\$23,000.0000	\$23,000.00
730-23.04	STEEL STRAIN POLE (POLE C)			
	Summers-Taylor, Inc.	1.000 EACH	\$18,000.0000	\$18,000.00
730-23.05	STEEL STRAIN POLE (POLE D)	4 000 54 011		
	Summers-Taylor, Inc.	1.000 EACH	\$22,000.0000	\$22,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)	000 000 O V		
	Summers-Taylor, Inc.	800.000 S.Y.	\$4.0000	\$3,200.00
740-11.02	TEMPORARY SEDIMENT TUBE 12IN	50 000 1 5		
	Summers-Taylor, Inc.	50.000 L.F.	\$3.8600	\$193.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)	45 000 100		
	Summers-Taylor, Inc.	15.000 UNIT	\$26.0000	\$390.00
801-02	SEEDING (WITHOUT MULCH)	45 000 UNIT		
	Summers-Taylor, Inc.	15.000 UNIT	\$24.0000	\$360.00
801-03	WATER (SEEDING & SODDING)	7.000 14.0		
	Summers-Taylor, Inc.	7.000 M.G.	\$50.0000	\$350.00
803-01	SODDING (NEW SOD)			
	Summers-Taylor, Inc.	700.000 S.Y.	\$5.5000	\$3,850.00
805-01.01	TURF REINFORCEMENT MAT (CLASS I)	544 000 O V		
	Summers-Taylor, Inc.	544.000 S.Y.	\$5.0000	\$2,720.00

SUB-TOTAL ROADWAY

Summers-Taylor, Inc. \$2,619,494.30

TOTAL CONTRACT

Summers-Taylor, Inc. \$2,619,494.30

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF JUNE 23, 2017

WILLIAMSON COUNTY (Contract No. CNR136 Call 021)

NH/STP-M-6(83),94004-3230-14

THE GRADING, DRAINAGE, CONSTRUCTION OF RETAINING WALLS AND PAVING ON U.S. 31 (S.R. 6) FROM SOUTH OF S.R. 441 (L.M. 15.93) TO S.R. 253 (L.M. 18.53) IN BRENTWOOD.

PROJECT LENGTH - 2.600 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2020

DBE GOAL 8.00%

TOTAL CONTRACT

Jones Bros. Contractors, LLC \$26,718,576.72
Civil Constructors, LLC \$31,182,720.42
Eutaw Construction Company, Inc. \$31,437,005.13

UNIT PRICE	EXTENSION
OI TILL I I TOL	_,,,_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

ROADW	AY CATEGORY		ONITTRIOL	EXTENSION
405.04	CONSTRUCTION STAVES LINES AND SPACES			
105-01	CONSTRUCTION STAKES, LINES AND GRADES	4 000 1 0		
	Jones Bros. Contractors, LLC	1.000 LS	\$250,000,0000	\$250,000,00
	Civil Constructors, LLC		\$250,000.0000 \$230,130.0000	\$250,000.00 \$230,130.00
	Eutaw Construction Company, Inc.		\$529,000.0000	\$529,000.00
			ψοΞο,σοσίσσοσ	4020,000.00
109-10.01	TRAINEE			
		4,540.000 HOUR		
	Jones Bros. Contractors, LLC	,	\$0.8000	\$3,632.00
	Civil Constructors, LLC		\$0.8000	\$3,632.00
	Eutaw Construction Company, Inc.		\$0.8000	\$3,632.00
201-01	CLEARING AND GRUBBING			
		1.000 LS	# 500 000 0000	ΦΕΩΩ ΩΩΩ ΩΩ
	Jones Bros. Contractors, LLC Civil Constructors, LLC		\$500,000.0000 \$335,450,0000	\$500,000.00 \$225,150.00
	Eutaw Construction Company, Inc.		\$225,150.0000 \$116,000.0000	\$116,000.00
	Lutaw Gonstruction Company, inc.		ψ110,000.0000	ψ110,000.00
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$20,000.0000	\$20,000.00
	Civil Constructors, LLC		\$12,540.0000	\$12,540.00
	Eutaw Construction Company, Inc.		\$74,000.0000	\$74,000.00
202-01.02	REMOVAL OF ASBESTOS			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$4,500.0000	\$4,500.00
	Civil Constructors, LLC Eutaw Construction Company, Inc.		\$15,610.0000 \$29,000.0000	\$15,610.00 \$29,000.00
	Ediaw Construction Company, Inc.		\$29,000.0000	\$29,000.00
202-01.50	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$7,500.0000	\$7,500.00
	Civil Constructors, LLC		\$5,340.0000	\$5,340.00
	Eutaw Construction Company, Inc.		\$3,000.0000	\$3,000.00
202-02 01	REMOVAL OF PIPE (18" RCP, S.R. 6 STA. 85+80 to 88+00	0 I T)		
202-02.01	NEMOVAL OF THE (10 NOT, S.N. 0 STA. 05700 to 00700	218.720 L.F.		
	Jones Bros. Contractors, LLC	210.720 L.F.	\$12.5000	\$2,734.00
	Civil Constructors, LLC		\$28.0000	\$6,124.16
	Eutaw Construction Company, Inc.		\$31.0000	\$6,780.32
			·	• •
202-02.02	REMOVAL OF PIPE (24" RCP, S.R. 6 STA. 96+86.33)			
		50.000 L.F.		
	Jones Bros. Contractors, LLC		\$12.5000	\$625.00
	Civil Constructors, LLC		\$31.0000	\$1,550.00
	Eutaw Construction Company, Inc.		\$37.0000	\$1,850.00

		UNIT PRICE	EXTENSION
202-02.03 REMOVAL OF PIPE (18" RCP, OLD MOORES LANE STA. 20+50 LT)		
	42.000 L.F.		
Jones Bros. Contractors, LLC		\$12.5000	\$525.00
Civil Constructors, LLC		\$31.0000	\$1,302.00
Eutaw Construction Company, Inc.		\$50.0000	\$2,100.00
202-02.04 REMOVAL OF PIPE (24" RCP, S.R. 6 STA. 148+18.20)			
	45.000 L.F.		
Jones Bros. Contractors, LLC		\$12.5000	\$562.50
Civil Constructors, LLC		\$40.0000	\$1,800.00
Eutaw Construction Company, Inc.		\$39.0000	\$1,755.00
202-02.05 REMOVAL OF PIPE (18" RCP, S.R. 6 STA. 213+38.46)			
	59.000 L.F.		
Jones Bros. Contractors, LLC		\$12.5000	\$737.50
Civil Constructors, LLC		\$27.0000	\$1,593.00
Eutaw Construction Company, Inc.		\$70.0000	\$4,130.00
202-02.06 REMOVAL OF PIPE (36" S.R. 6 STA. 201+15 LT)			
	9.000 L.F.		
Jones Bros. Contractors, LLC		\$12.5000	\$112.50
Civil Constructors, LLC		\$68.0000	\$612.00
Eutaw Construction Company, Inc.		\$90.0000	\$810.00
202-02.07 REMOVAL OF PIPE (36", S.R. 6 STA. 201+15 LT)			
	25.000 L.F.		
Jones Bros. Contractors, LLC		\$12.5000	\$312.50
Civil Constructors, LLC		\$48.0000	\$1,200.00
Eutaw Construction Company, Inc.		\$90.0000	\$2,250.00
202-04.01 REMOVAL OF STRUCTURES (CATCH BASIN S.R. 6, STA.88+00 LT)		
	1.000 LS		
Jones Bros. Contractors, LLC		\$500.0000	\$500.00
Civil Constructors, LLC		\$1,190.0000	\$1,190.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$1,000.00
202-04.02 REMOVAL OF STRUCTURES (ST.SEW., STA. S.R.6 97+00 LT)			
	1.000 LS		
Jones Bros. Contractors, LLC		\$1,000.0000	\$1,000.00
Civil Constructors, LLC		\$107.0000	\$107.00
Eutaw Construction Company, Inc.		\$830.0000	\$830.00
202-04.03 REMOVAL OF STRUCTURES (ST.SEW. WILLOWICK, STA. 40+37.0	0)		
	1.000 LS		
Jones Bros. Contractors, LLC		\$3,000.0000	\$3,000.00
Civil Constructors, LLC		\$4,960.0000	\$4,960.00
Eutaw Construction Company, Inc.		\$7,000.0000	\$7,000.00

		UNIT PRICE	EXTENSION
202-04.04 REMOVAL OF STRUCTURES (E.W. S.R. 6, STA.121+60 LT & RT)			
	1.000 LS		
Jones Bros. Contractors, LLC		\$500.0000	\$500.00
Civil Constructors, LLC		\$1,990.0000	\$1,990.00
Eutaw Construction Company, Inc.		\$880.0000	\$880.00
202-04.05 REMOVAL OF STRUCTURES (ST.SEW. HOLLY TREE GAP, STA.3	4+00)		
	1.000 LS		
Jones Bros. Contractors, LLC		\$2,000.0000	\$2,000.00
Civil Constructors, LLC		\$4,690.0000	\$4,690.00
Eutaw Construction Company, Inc.		\$7,000.0000	\$7,000.00
202-04.06 REMOVAL OF STRUCTURES (CATCH BASIN, LYNNWOOD STA. 7	78+57.03)		
	1.000 LS		
Jones Bros. Contractors, LLC		\$500.0000	\$500.00
Civil Constructors, LLC		\$120.0000	\$120.00
Eutaw Construction Company, Inc.		\$830.0000	\$830.00
202-04.07 REMOVAL OF STRUCTURES (ST.SEW., ASHBY DR 79+70)			
202 04.07 Removae of Officeronics (Officeron, Acrist Six 19170)	1.000 LS		
Jones Bros. Contractors, LLC	1.000 L3	\$2,000.0000	\$2,000.00
Civil Constructors, LLC		\$2,900.0000	\$2,900.00
Eutaw Construction Company, Inc.		\$5,000.0000	\$5,000.00
Latan Constitution Company, mo.		ψο,οσο.σσσσ	φο,σσσ.σσ
202-04.08 REMOVAL OF STRUCTURES (SEE PLANS)			
	1.000 LS		
Jones Bros. Contractors, LLC		\$1,500.0000	\$1,500.00
Civil Constructors, LLC		\$6,060.0000	\$6,060.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$2,000.00
202-04.09 REMOVAL OF STRUCTURES (3'X3' BOX, S.R. 6 STA. 201+15 RT)			
	1.000 LS		
Jones Bros. Contractors, LLC		\$12,200.0000	\$12,200.00
Civil Constructors, LLC		\$2,980.0000	\$2,980.00
Eutaw Construction Company, Inc.		\$900.0000	\$900.00
202-04.10 REMOVAL OF STRUCTURES (ST.SEW., WEST CONCORD 69+80)			
	1.000 LS		
Jones Bros. Contractors, LLC		\$4,300.0000	\$4,300.00
Civil Constructors, LLC		\$8,080.0000	\$8,080.00
Eutaw Construction Company, Inc.		\$15,000.0000	\$15,000.00
202-04.11 REMOVAL OF STRUCTURES St. Sew., West Concord 69+80			
	1.000 LS		
Jones Bros. Contractors, LLC		\$2,000.0000	\$2,000.00
Civil Constructors, LLC		\$4,530.0000	\$4,530.00
Eutaw Construction Company, Inc.		\$7,000.0000	\$7,000.00

			C	ONTRACT CIRTIS
			UNIT PRICE	EXTENSION
202-06.0°	1 REMOVAL OF BUILDINGS (TRACT NO. 14)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$23,400.0000	\$23,400.00
	Civil Constructors, LLC		\$12,100.0000	\$12,100.00
	Eutaw Construction Company, Inc.		\$21,000.0000	\$21,000.00
202-06.02	2 REMOVAL OF BUILDINGS (TRACT NO. 23)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$22,400.0000	\$22,400.00
	Civil Constructors, LLC		\$11,540.0000	\$11,540.00
	Eutaw Construction Company, Inc.		\$21,000.0000	\$21,000.00
202-06.03	REMOVAL OF BUILDINGS (TRACT NO. 41)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$21,200.0000	\$21,200.00
	Civil Constructors, LLC		\$18,000.0000	\$18,000.00
	Eutaw Construction Company, Inc.		\$21,000.0000	\$21,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		80,505.000 C.Y.		
	Jones Bros. Contractors, LLC		\$9.8500	\$792,974.25
	Civil Constructors, LLC		\$21.0000	\$1,690,605.00
	Eutaw Construction Company, Inc.		\$15.0000	\$1,207,575.00
203-02.02	2 BORROW EXCAVATION (GRADED SOLID ROCK)			
		2,097.000 C.Y.	.	
	Jones Bros. Contractors, LLC		\$40.0000	\$83,880.00
	Civil Constructors, LLC		\$53.6000	\$112,399.20
	Eutaw Construction Company, Inc.		\$60.0000	\$125,820.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		18,827.000 C.Y.		*
	Jones Bros. Contractors, LLC		\$1.0000	\$18,827.00
	Civil Constructors, LLC Eutaw Construction Company, Inc.		\$12.5000 \$12.2500	\$235,337.50 \$230,630.75
	Eulaw Construction Company, Inc.		\$12.2500	\$230,630.75
203-04	PLACING AND SPREADING TOPSOIL			
		7,662.000 C.Y.	AT 5000	457.405.00
	Jones Bros. Contractors, LLC		\$7.5000	\$57,465.00
	Civil Constructors, LLC		\$11.5000 \$10.0000	\$88,113.00
	Eutaw Construction Company, Inc.		\$10.0000	\$76,620.00
203-06	WATER			
		163.000 M.G.	*. *	*. -
	Jones Bros. Contractors, LLC		\$10.0000	\$1,630.00
	Civil Constructors, LLC		\$10.7500 \$5.5000	\$1,752.25
	Eutaw Construction Company, Inc.		\$5.5000	\$896.50

			UNIT PRICE	EXTENSION
203-07	FURNISHING & SPREADING TOPSOIL			
		500.000 C.Y.		
	Jones Bros. Contractors, LLC		\$19.0000	\$9,500.00
	Civil Constructors, LLC		\$23.0000	\$11,500.00
	Eutaw Construction Company, Inc.		\$30.0000	\$15,000.00
204-08	FOUNDATION FILL MATERIAL			
		151.815 C.Y.		
	Jones Bros. Contractors, LLC		\$60.0000	\$9,108.90
	Civil Constructors, LLC		\$86.5000	\$13,132.00
	Eutaw Construction Company, Inc.		\$90.0000	\$13,663.35
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL)			
		132.000 C.Y.		
	Jones Bros. Contractors, LLC		\$250.0000	\$33,000.00
	Civil Constructors, LLC		\$170.0000	\$22,440.00
	Eutaw Construction Company, Inc.		\$150.0000	\$19,800.00
204-14	CORE DRILLING FOR PILES(ROCK)			
		135.000 L.F.		
	Jones Bros. Contractors, LLC		\$475.0000	\$64,125.00
	Civil Constructors, LLC		\$735.0000	\$99,225.00
	Eutaw Construction Company, Inc.		\$750.0000	\$101,250.00
204-15	CORE DRILLING FOR PILES(SOIL)			
		853.000 L.F.		
	Jones Bros. Contractors, LLC		\$175.0000	\$149,275.00
	Civil Constructors, LLC		\$110.0000	\$93,830.00
	Eutaw Construction Company, Inc.		\$110.0000	\$93,830.00
209-02.06	15" TEMPORARY SLOPE DRAIN			
		48.000 L.F.		
	Jones Bros. Contractors, LLC		\$16.3300	\$783.84
	Civil Constructors, LLC		\$20.0000	\$960.00
	Eutaw Construction Company, Inc.		\$24.0000	\$1,152.00
209-02.07	18" TEMPORARY SLOPE DRAIN			
		1,490.000 L.F.		
	Jones Bros. Contractors, LLC		\$21.0500	\$31,364.50
	Civil Constructors, LLC		\$23.0000	\$34,270.00
	Eutaw Construction Company, Inc.		\$26.0000	\$38,740.00
209-05	SEDIMENT REMOVAL			
		1,661.580 C.Y.		
	Jones Bros. Contractors, LLC		\$5.0000	\$8,307.90
	Civil Constructors, LLC		\$15.0000	\$24,923.70
	Eutaw Construction Company, Inc.		\$21.0000	\$34,893.18

			•	
			UNIT PRICE	EXTENSION
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
		8,635.990 L.F.		
	Jones Bros. Contractors, LLC		\$3.6000	\$31,089.56
	Civil Constructors, LLC		\$3.7000	\$31,953.16
	Eutaw Construction Company, Inc.		\$4.3000	\$37,134.76
'	Zalaw Goriol dollori Goriparty, mo.		ψ1.0000	φον, το τιν σ
200-08 U3	TEMPORARY SILT FENCE (WITHOUT BACKING)			
203-00.03	TEIM ORAKT SIETTENGE (WITHOUT BACKING)	05475015		
		254.750 L.F.		
	Jones Bros. Contractors, LLC		\$1.3800	\$351.56
	Civil Constructors, LLC		\$1.6000	\$407.60
	Eutaw Construction Company, Inc.		\$1.6000	\$407.60
209-08.07	ROCK CHECK DAM PER			
		65.000 EACH		
,	Jones Bros. Contractors, LLC		\$275.0000	\$17,875.00
	Civil Constructors, LLC		\$235.0000	\$15,275.00
	Eutaw Construction Company, Inc.		\$210.0000	\$13,650.00
209-08.08	ENHANCED ROCK CHECK DAM			
		62.000 EACH		
	Jones Bros. Contractors, LLC	32.333 2.333	\$420.0000	\$26,040.00
	Civil Constructors, LLC		\$365.0000	\$22,630.00
	Eutaw Construction Company, Inc.		\$270.0000	\$16,740.00
	7, 7, 1		•	, , , , , , , , , , , , , , , , , , ,
209-09-01	SANDBAGS			
200 00.01	5, 11, 12, 1, 100	3 800 000 BAC		
		3,800.000 BAG	Фо оооо	# 44.400.00
	Jones Bros. Contractors, LLC		\$3.0000	\$11,400.00
	Civil Constructors, LLC		\$5.8000	\$22,040.00
	Eutaw Construction Company, Inc.		\$3.2000	\$12,160.00
	OFFINENT EIL TER RAG (45) V 45)			
209-09.03	SEDIMENT FILTER BAG (15' X 15')			
		9.000 EACH		
	Jones Bros. Contractors, LLC		\$600.0000	\$5,400.00
	Civil Constructors, LLC		\$209.0000	\$1,881.00
	Eutaw Construction Company, Inc.		\$190.0000	\$1,710.00
209-09.41	CURB INLET PROTECTION (TYPE 2)			
		2.000 EACH		
	Jones Bros. Contractors, LLC		\$175.0000	\$350.00
	Civil Constructors, LLC		\$209.0000	\$418.00
	Eutaw Construction Company, Inc.		\$160.0000	\$320.00
	·			
209-09.43	CURB INLET PROTECTION (TYPE 4)			
	, ,	162.000 EACH		
	Jones Bros. Contractors, LLC	IOZ.OUG EROIT	\$175.0000	\$28,350.00
	Civil Constructors, LLC		\$3.2000	\$26,350.00 \$518.40
	Eutaw Construction Company, Inc.		\$160.0000	\$25,920.00
	Edian Constitution Company, Inc.		ψ100.0000	Ψ20,920.00

175.000 S.Y. 175.
Jones Bros. Contractors, LLC Civil Constructors, LLC Eutaw Construction Company, Inc. 209-40.33 CATCH BASIN PROTECTION (TYPE D)
Civil Constructors, LLC \$3.5000 \$612.50
Eutaw Construction Company, Inc. \$2.6000 \$455.00 209-40.33 CATCH BASIN PROTECTION (TYPE D)
209-40.33 CATCH BASIN PROTECTION (TYPE D) 4.000 EACH Jones Bros. Contractors, LLC Civil Constructors, LLC Eutaw Construction Company, Inc. 209-40.42 CATCH BASIN FILTER ASSEMBLY(TYPE 2) Jones Bros. Contractors, LLC Civil Constructors, LLC Stable Strong Stron
A.000 EACH S229.0000 \$916.00
Jones Bros. Contractors, LLC Civil Constructors, LLC Eutaw Construction Company, Inc. 209-40.42 CATCH BASIN FILTER ASSEMBLY(TYPE 2) 27.000 EACH Jones Bros. Contractors, LLC Civil Constructors, LLC Eutaw Construction Company, Inc. 27.000 EACH 27.000 EACH 27.000 EACH \$550.0000 \$14,850.00 Civil Constructors, LLC \$573.0000 \$15,471.00 Eutaw Construction Company, Inc. 209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3) 2.000 EACH Jones Bros. Contractors, LLC \$1,100.0000 \$2,200.00 Civil Constructors, LLC \$1,100.0000 \$2,200.00 Civil Constructors, LLC \$729.0000 \$1,458.00
Sum
Eutaw Construction Company, Inc. \$160.0000 \$640.00 209-40.42 CATCH BASIN FILTER ASSEMBLY(TYPE 2) 27.000 EACH Jones Bros. Contractors, LLC \$550.0000 \$14,850.00 Civil Constructors, LLC \$573.0000 \$15,471.00 Eutaw Construction Company, Inc. \$800.0000 \$21,600.00 209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3) 2.000 EACH Jones Bros. Contractors, LLC \$1,100.0000 \$2,200.00 Civil Constructors, LLC \$729.0000 \$1,458.00
209-40.42 CATCH BASIN FILTER ASSEMBLY(TYPE 2) 27.000 EACH Jones Bros. Contractors, LLC Civil Constructors, LLC Eutaw Construction Company, Inc. 209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3) 2.000 EACH Jones Bros. Contractors, LLC Civil Constructors, LLC 91,100.0000 \$2,200.00 Civil Constructors, LLC \$1,458.00
27.000 EACH Jones Bros. Contractors, LLC Civil Constructors, LLC Eutaw Construction Company, Inc. #### 2.000 EACH 27.000 EACH \$550.0000
Jones Bros. Contractors, LLC \$550.0000 \$14,850.00 Civil Constructors, LLC \$573.0000 \$15,471.00 Eutaw Construction Company, Inc. \$800.0000 \$21,600.00 209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3) 2.000 EACH Jones Bros. Contractors, LLC \$1,100.0000 \$2,200.00 Civil Constructors, LLC \$729.0000 \$1,458.00
Civil Constructors, LLC \$573.0000 \$15,471.00 Eutaw Construction Company, Inc. \$800.0000 \$21,600.00 209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3) 2.000 EACH Jones Bros. Contractors, LLC \$1,100.0000 \$2,200.00 Civil Constructors, LLC \$729.0000 \$1,458.00
Eutaw Construction Company, Inc. \$800.0000 \$21,600.00 209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3) 2.000 EACH Jones Bros. Contractors, LLC \$1,100.0000 \$2,200.00 Civil Constructors, LLC \$729.0000 \$1,458.00
209-40.43 CATCH BASIN FILTER ASSEMBLY(TYPE 3) 2.000 EACH Jones Bros. Contractors, LLC \$1,100.0000 \$2,200.00 Civil Constructors, LLC \$729.0000 \$1,458.00
2.000 EACH Jones Bros. Contractors, LLC \$1,100.0000 \$2,200.00 Civil Constructors, LLC \$729.0000 \$1,458.00
Jones Bros. Contractors, LLC \$1,100.0000 \$2,200.00 Civil Constructors, LLC \$729.0000 \$1,458.00
Civil Constructors, LLC \$729.0000 \$1,458.00
Eutaw Construction Company, Inc. \$480.0000 \$960.00
209-40.44 CATCH BASIN FILTER ASSEMBLY(TYPE 4)
6.000 EACH
Jones Bros. Contractors, LLC \$1,100.0000 \$6,600.00
Civil Constructors, LLC \$729.0000 \$4,374.00
Eutaw Construction Company, Inc. \$480.0000 \$2,880.00
209-40.45 CATCH BASIN FILTER ASSEMBLY(TYPE 5)
11.000 EACH
Jones Bros. Contractors, LLC \$550.0000 \$6,050.00
Civil Constructors, LLC \$781.0000 \$8,591.00
Eutaw Construction Company, Inc. \$800.0000 \$8,800.00
209-40.46 CATCH BASIN FILTER ASSEMBLY(TYPE 6)
92.000 EACH
Jones Bros. Contractors, LLC \$550,0000 \$50,600.00
Civil Constructors, LLC \$521.0000 \$47,932.00
Eutaw Construction Company, Inc. \$480.0000 \$44,160.00
209-40.47 CATCH BASIN FILTER ASSEMBLY(TYPE 7)
48.000 EACH
Jones Bros. Contractors, LLC \$550.0000 \$26,400.00
Civil Constructors, LLC \$781.0000 \$37,488.00
Eutaw Construction Company, Inc. \$480.0000 \$23,040.00

			UNIT PRICE	EXTENSION
209-40.48	CATCH BASIN FILTER ASSEMBLY(TYPE 8)			
	,	6.000 EACH		
	Jones Bros. Contractors, LLC		\$1,650.0000	\$9,900.00
	Civil Constructors, LLC		\$937.0000	\$5,622.00
	Eutaw Construction Company, Inc.		\$800.0000	\$4,800.00
209-65.03	TEMPORARY DIVERSION CHANNEL			
		120.000 L.F.		
	Jones Bros. Contractors, LLC		\$30.0000	\$3,600.00
	Civil Constructors, LLC		\$78.0000	\$9,360.00
	Eutaw Construction Company, Inc.		\$7.4000	\$888.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING I	D		
		71,839.449 TON		
	Jones Bros. Contractors, LLC		\$17.7500	\$1,275,150.22
	Civil Constructors, LLC		\$24.8500	\$1,785,210.31
	Eutaw Construction Company, Inc.		\$23.0000	\$1,652,307.33
303-01.01	GRANULAR BACKFILL (ROADWAY)			
		2,750.199 TON		
	Jones Bros. Contractors, LLC		\$25.0000	\$68,754.98
	Civil Constructors, LLC		\$24.0000	\$66,004.78
	Eutaw Construction Company, Inc.		\$26.0000	\$71,505.17
303-01.03	GRANULAR BACKFILL (RETAINING WALLS)			
		3,668.000 TON		
	Jones Bros. Contractors, LLC		\$25.0000	\$91,700.00
	Civil Constructors, LLC		\$32.0000	\$117,376.00
	Eutaw Construction Company, Inc.		\$26.0000	\$95,368.00
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		321.000 TON		
	Jones Bros. Contractors, LLC		\$30.0000	\$9,630.00
	Civil Constructors, LLC		\$38.0000	\$12,198.00
	Eutaw Construction Company, Inc.		\$36.0000	\$11,556.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) G	GRADING B-M2		
		2,819.744 TON		
	Jones Bros. Contractors, LLC		\$65.0000	\$183,283.36
	Civil Constructors, LLC		\$67.5000	\$190,332.72
	Eutaw Construction Company, Inc.		\$70.0000	\$197,382.08
307-01.21	ASP. CONC. MIX(PG70-22) (BPMB-HM) GR. A-S			
		12,418.935 TON		
	Jones Bros. Contractors, LLC		\$62.0000	\$769,973.97
	Civil Constructors, LLC		\$67.5000	\$838,278.11
	Eutaw Construction Company, Inc.		\$70.0000	\$869,325.45

			UNIT PRICE	EXTENSION
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	i A		
	, ,,	16,050.842 TON		
	Jones Bros. Contractors, LLC	,	\$58.0000	\$930,948.84
	Civil Constructors, LLC		\$67.5000	\$1,083,431.84
	Eutaw Construction Company, Inc.		\$70.0000	\$1,123,558.94
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	B-M2		
		16,939.114 TON		
	Jones Bros. Contractors, LLC		\$75.5000	\$1,278,903.11
	Civil Constructors, LLC		\$69.5000	\$1,177,268.42
	Eutaw Construction Company, Inc.		\$70.0000	\$1,185,737.98
307-03.10	ASPHALT CONC MIX (PG76-22)(BPMB-HM) GR CS			
		5,818.501 TON		
	Jones Bros. Contractors, LLC		\$72.0000	\$418,932.07
	Civil Constructors, LLC		\$78.0000	\$453,843.08
	Eutaw Construction Company, Inc.		\$80.0000	\$465,480.08
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		353.625 TON		
	Jones Bros. Contractors, LLC		\$470.0000	\$166,203.75
	Civil Constructors, LLC		\$833.0000	\$294,569.63
	Eutaw Construction Company, Inc.		\$850.0000	\$300,581.25
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
		701.710 TON		
	Jones Bros. Contractors, LLC		\$50.0000	\$35,085.50
	Civil Constructors, LLC		\$37.0000	\$25,963.27
	Eutaw Construction Company, Inc.		\$37.0000	\$25,963.27
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		139.680 TON		
	Jones Bros. Contractors, LLC		\$515.0000	\$71,935.20
	Civil Constructors, LLC		\$625.0000	\$87,300.00
	Eutaw Construction Company, Inc.		\$640.0000	\$89,395.20
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		34.539 TON		
	Jones Bros. Contractors, LLC		\$110.0000	\$3,799.29
	Civil Constructors, LLC		\$83.0000	\$2,866.74
	Eutaw Construction Company, Inc.		\$80.0000	\$2,763.12
411-01.10	ACS MIX(PG64-22) GRADING D			
		1,857.703 TON		
	Jones Bros. Contractors, LLC		\$90.0000	\$167,193.27
	Civil Constructors, LLC		\$83.0000	\$154,189.35
	Eutaw Construction Company, Inc.		\$80.0000	\$148,616.24

		UNIT PRICE	EXTENSION
411-02.10 ACS MIX(PG70-22) GRADING D	9,931.118 TON		
Jones Bros. Contractors, LLC	9,931.110 10N	\$86.0000	\$854,076.15
Civil Constructors, LLC		\$83.0000	\$824,282.79
Eutaw Construction Company, Inc.		\$80.0000	\$794,489.44
415-01.01 COLD PLANING BITUMINOUS PAVEMENT			
	9,446.618 TON		
Jones Bros. Contractors, LLC		\$16.5000	\$155,869.20
Civil Constructors, LLC		\$16.0000	\$151,145.89
Eutaw Construction Company, Inc.		\$16.0000	\$151,145.89
602-01 STRUCTURAL STEEL			
	5,117.000 LB.		
Jones Bros. Contractors, LLC		\$0.8000	\$4,093.60
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$1.6000 \$1.6000	\$8,187.20 \$8,187.20
Eulaw Construction Company, Inc.		φ1.0000	φο, 107.20
602-10.17 STEEL PILING			
	1,017.000 L.F.		
Jones Bros. Contractors, LLC		\$125.0000	\$127,125.00
Civil Constructors, LLC		\$310.0000	\$315,270.00
Eutaw Construction Company, Inc.		\$330.0000	\$335,610.00
604-01.01 CLASS A CONCRETE (ROADWAY)			
	517.000 C.Y.		
Jones Bros. Contractors, LLC		\$500.0000	\$258,500.00
Civil Constructors, LLC		\$651.0000	\$336,567.00
Eutaw Construction Company, Inc.		\$660.0000	\$341,220.00
604-01.02 STEEL BAR REINFORCEMENT (ROADWAY)			
	85,873.202 LB.		
Jones Bros. Contractors, LLC		\$0.8000	\$68,698.56
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$1.1000 \$1.1000	\$94,460.52 \$94,460.52
Ediaw Gonstruction Company, Inc.		ψ1.1000	ψ34,400.02
604-02.03 EPOXY COATED REINFORCING STEEL			
	78,449.000 LB.		
Jones Bros. Contractors, LLC		\$1.0800 \$1.2000	\$84,724.92
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$1.2000 \$1.2000	\$94,138.80 \$94,138.80
Ediaw Gonstruction Company, Inc.		ψ1.2000	ψ94,100.00
604-02.41 ENERGY DISSIPATER (FOR 4X4 BOX CULVERT)			
	1.000 EACH	#45 000 0000	045.000.00
Jones Bros. Contractors, LLC Civil Constructors, LLC		\$15,000.0000 \$14,920.0000	\$15,000.00 \$14,030.00
Eutaw Construction Company, Inc.		\$14,920.0000 \$15,000.0000	\$14,920.00 \$15,000.00
Latan Constitution Company, mo.		Ψ.0,000.000	Ψ.ο,σσσ.σσ

			•	CONTRACT CNRTS
			UNIT PRICE	EXTENSION
604-02.42 EN	IERGY DISSIPATER (FOR 5X5 BOX CULVERT)			
		1.000 EACH		
Joi	nes Bros. Contractors, LLC		\$60,000.0000	\$60,000.00
Civ	vil Constructors, LLC		\$41,830.0000	\$41,830.00
Eu	taw Construction Company, Inc.		\$43,000.0000	\$43,000.00
604-03.07 CL	ASS A CONCRETE (SEE PLANS)			
		1,652.000 C.Y.		
	nes Bros. Contractors, LLC		\$565.0000	\$933,380.00
	vil Constructors, LLC		\$599.0000	\$989,548.00
Eu	taw Construction Company, Inc.		\$610.0000	\$1,007,720.00
604-15.01 PC	ORTLAND CEMENT GROUT			
		246.000 C.Y.		
	nes Bros. Contractors, LLC		\$215.0000	\$52,890.00
	vil Constructors, LLC		\$547.0000	\$134,562.00
Eu	taw Construction Company, Inc.		\$560.0000	\$137,760.00
606-04.03 ST	EEL PILES (14 INCH)			
		900.000 L.F.		
	nes Bros. Contractors, LLC		\$78.0000	\$70,200.00
	vil Constructors, LLC		\$130.0000	\$117,000.00
Eu	taw Construction Company, Inc.		\$130.0000	\$117,000.00
607-03.02 18	" CONCRETE PIPE CULVERT (CLASS III)			
		13,422.000 L.F.		
	nes Bros. Contractors, LLC		\$40.0000	\$536,880.00
	vil Constructors, LLC		\$56.0000	\$751,632.00
Eu	taw Construction Company, Inc.		\$50.0000	\$671,100.00
607-05.02 24	" CONCRETE PIPE CULVERT (CLASS III)			
		4,547.000 L.F.		
	nes Bros. Contractors, LLC		\$50.0000	\$227,350.00
	vil Constructors, LLC		\$65.0000	\$295,555.00
Eu	taw Construction Company, Inc.		\$70.0000	\$318,290.00
607-06.02 30	" CONCRETE PIPE CULVERT (CLASS III)			
		42.000 L.F.		
	nes Bros. Contractors, LLC		\$70.0000	\$2,940.00
	vil Constructors, LLC		\$139.0000	\$5,838.00
Eu	taw Construction Company, Inc.		\$150.0000	\$6,300.00
607-07.02 36	" CONCRETE PIPE CULVERT (CLASS III)			
		1,632.000 L.F.		
	nes Bros. Contractors, LLC		\$80.0000	\$130,560.00
	vil Constructors, LLC		\$130.0000	\$212,160.00
Eu	taw Construction Company, Inc.		\$100.0000	\$163,200.00

		CC	DNIKACI CNR136
		UNIT PRICE	EXTENSION
607-08.02 42" CONCRETE PIPE CULVERT (CLASS III)			
	1,368.000 L.F.		
Jones Bros. Contractors, LLC		\$100.0000	\$136,800.00
Civil Constructors, LLC		\$155.0000	\$212,040.00
Eutaw Construction Company, Inc.		\$130.0000	\$177,840.00
607-09.02 48" CONCRETE PIPE CULVERT (CLASS III)			
	760.000 L.F.		
Jones Bros. Contractors, LLC		\$135.0000	\$102,600.00
Civil Constructors, LLC		\$224.0000	\$170,240.00
Eutaw Construction Company, Inc.		\$180.0000	\$136,800.00
607-10.02 54" CONCRETE PIPE CULVERT (CLASS III)			
	266.000 L.F.		
Jones Bros. Contractors, LLC		\$160.0000	\$42,560.00
Civil Constructors, LLC		\$311.0000	\$82,726.00
Eutaw Construction Company, Inc.		\$210.0000	\$55,860.00
607-16.01 23"X 14" HORIZONTAL OVAL CONCRETE PIF	PE CULVERT		
	52.000 L.F.		
Jones Bros. Contractors, LLC		\$55.0000	\$2,860.00
Civil Constructors, LLC		\$61.0000	\$3,172.00
Eutaw Construction Company, Inc.		\$60.0000	\$3,120.00
607-16.05 45"X 29" HORIZONTAL OVAL CONCRETE PIF	PE CULVERT (CLASS)		
	12.000 L.F.		
Jones Bros. Contractors, LLC		\$130.0000	\$1,560.00
Civil Constructors, LLC		\$266.0000	\$3,192.00
Eutaw Construction Company, Inc.		\$120.0000	\$1,440.00
607-16.08 53"X 34" HORIZONTAL OVAL CONCRETE PIF	PE CULVERT		
	105.000 L.F.		
Jones Bros. Contractors, LLC		\$135.0000	\$14,175.00
Civil Constructors, LLC		\$195.0000	\$20,475.00
Eutaw Construction Company, Inc.		\$230.0000	\$24,150.00
607-16.11 76"X 48" HORIZONTAL OVAL CONCRETE PIF	PE CULVERT		
	274.000 L.F.		
Jones Bros. Contractors, LLC		\$230.0000	\$63,020.00
Civil Constructors, LLC		\$328.0000	\$89,872.00
Eutaw Construction Company, Inc.		\$340.0000	\$93,160.00
607-39.02 18" PIPE CULVERT (SIDE DRAIN)			
	126.000 L.F.		
Jones Bros. Contractors, LLC		\$40.0000	\$5,040.00
Civil Constructors, LLC		\$41.0000	\$5,166.00
Eutaw Construction Company, Inc.		\$110.0000	\$13,860.00

		UNIT PRICE	EXTENSION
607-39.05 36" PIPE CULVERT (SIDE DRAIN)			
· · · · ·	56.000 L.F.		
Jones Bros. Contractors, LLC		\$80.0000	\$4,480.00
Civil Constructors, LLC		\$98.0000	\$5,488.00
Eutaw Construction Company, Inc.		\$160.0000	\$8,960.00
611-01.02 MANHOLES, > 4' - 8' DEPTH			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$5,600.0000	\$11,200.00
Civil Constructors, LLC		\$3,570.0000	\$7,140.00
Eutaw Construction Company, Inc.		\$6,000.0000	\$12,000.00
611-02.01 SPRING DRAIN BOX, TYPE 1			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$3,800.0000	\$3,800.00
Civil Constructors, LLC		\$2,090.0000	\$2,090.00
Eutaw Construction Company, Inc.		\$3,000.0000	\$3,000.00
611-02.10 JUNCTION BOX, TYPE 1			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$4,200.0000	\$4,200.00
Civil Constructors, LLC		\$2,090.0000	\$2,090.00
Eutaw Construction Company, Inc.		\$4,000.0000	\$4,000.00
611-07.01 CLASS A CONCRETE (PIPE ENDWALLS)			
	17.420 C.Y.		
Jones Bros. Contractors, LLC		\$1,600.0000	\$27,872.00
Civil Constructors, LLC		\$713.0000	\$12,420.46
Eutaw Construction Company, Inc.		\$740.0000	\$12,890.80
611-07.02 STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
	379.000 LB.		
Jones Bros. Contractors, LLC		\$1.0000	\$379.00
Civil Constructors, LLC		\$1.5000 \$4.5000	\$568.50
Eutaw Construction Company, Inc.		\$1.5000	\$568.50
611-07.54 18IN ENDWALL (CROSS DRAIN) 3:1			
	1.000 EACH	A	.
Jones Bros. Contractors, LLC		\$1,500.0000	\$1,500.00
Civil Constructors, LLC		\$828.0000	\$828.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$2,000.00
611-07.57 24IN ENDWALL (CROSS DRAIN) 3:1			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$2,200.0000	\$4,400.00
Civil Constructors, LLC		\$1,170.0000	\$2,340.00
Eutaw Construction Company, Inc.		\$3,000.0000	\$6,000.00

		UNIT PRICE	EXTENSION
		UNIT PRICE	LATENSION
611-07.60 30IN ENDWALL (CROSS DRAIN) 3:1			
,	2.000 EACH		
Jones Bros. Contractors, LLC		\$5,400.0000	\$10,800.00
Civil Constructors, LLC		\$2,060.0000	\$4,120.00
Eutaw Construction Company, Inc.		\$3,000.0000	\$6,000.00
611-07.63 36IN ENDWALL (CROSS DRAIN) 3:1			
	1.000 EACH	.	•
Jones Bros. Contractors, LLC		\$6,500.0000	\$6,500.00
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$2,600.0000 \$5,000.0000	\$2,600.00 \$5,000.00
Eulaw Construction Company, Inc.		φ5,000.0000	φ5,000.00
611-07.69 48IN ENDWALL (CROSS DRAIN) 3:1			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$9,800.0000	\$19,600.00
Civil Constructors, LLC		\$3,830.0000	\$7,660.00
Eutaw Construction Company, Inc.		\$7,000.0000	\$14,000.00
611-09.01 ADJUSTMENT OF EXISTING CATCHBASIN			
OTT GOLDT ADGGETMENT OF EXICTING GATGING AND	3.000 EACH		
Jones Bros. Contractors, LLC	3.000 LAGIT	\$500.0000	\$1,500.00
Civil Constructors, LLC		\$1,230.0000	\$3,690.00
Eutaw Construction Company, Inc.		\$690.0000	\$2,070.00
611-09.02 REWORK CATCHBASIN			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$800.0000	\$800.00
Civil Constructors, LLC		\$1,410.0000	\$1,410.00 \$860.00
Eutaw Construction Company, Inc.		\$860.0000	Φου.υυ
611-09.03 CAPPING EXISTING CATCHBASIN			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$800.0000	\$800.00
Civil Constructors, LLC		\$4,400.0000	\$4,400.00
Eutaw Construction Company, Inc.		\$860.0000	\$860.00
611-12.02 CATCH BASINS, TYPE 12, > 4' - 8' DEPTH			
, , ,	81.000 EACH		
Jones Bros. Contractors, LLC		\$4,400.0000	\$356,400.00
Civil Constructors, LLC		\$3,020.0000	\$244,620.00
Eutaw Construction Company, Inc.		\$6,000.0000	\$486,000.00
611-12.03 CATCH BASINS, TYPE 12, > 8' - 12' DEPTH			
011-12.03 GATOH BASING, 11FL 12, > 0 - 12 DEFIN	14.000 EACH		
Jones Bros. Contractors, LLC	17.000 LACH	\$9,400.0000	\$131,600.00
Civil Constructors, LLC		\$3,460.0000	\$48,440.00
Eutaw Construction Company, Inc.		\$6,000.0000	\$84,000.00
· · · · · · · · · · · · · · · · · · ·		¥ - ,	, - ,

CONTRACT	CNR136
----------	--------

		UNIT PRICE	EXTENSION
611-12.04 CATCH BASINS, TYPE 12, > 12' - 16' DEPTH			
	8.000 EACH		
Jones Bros. Contractors, LLC		\$9,400.0000	\$75,200.00
Civil Constructors, LLC		\$3,840.0000	\$30,720.00
Eutaw Construction Company, Inc.		\$7,000.0000	\$56,000.00
611-14.01 CATCH BASINS, TYPE 14, 0' - 4' DEPTH			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$5,300.0000	\$5,300.00
Civil Constructors, LLC		\$3,520.0000	\$3,520.00
Eutaw Construction Company, Inc.		\$7,000.0000	\$7,000.00
611-14.02 CATCH BASINS, TYPE 14, > 4' - 8' DEPTH			
	54.000 EACH		
Jones Bros. Contractors, LLC		\$6,500.0000	\$351,000.00
Civil Constructors, LLC		\$4,160.0000	\$224,640.00
Eutaw Construction Company, Inc.		\$9,000.0000	\$486,000.00
611-14.03 CATCH BASINS, TYPE 14, > 8' - 12' DEPTH			
	5.000 EACH		
Jones Bros. Contractors, LLC		\$11,300.0000	\$56,500.00
Civil Constructors, LLC		\$6,190.0000	\$30,950.00
Eutaw Construction Company, Inc.		\$9,000.0000	\$45,000.00
611-14.04 CATCH BASINS, TYPE 14, > 12' - 16' DEPTH			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$15,000.0000	\$15,000.00
Civil Constructors, LLC		\$8,120.0000	\$8,120.00
Eutaw Construction Company, Inc.		\$11,000.0000	\$11,000.00
611-42.01 CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
	13.000 EACH		
Jones Bros. Contractors, LLC		\$3,600.0000	\$46,800.00
Civil Constructors, LLC		\$2,140.0000	\$27,820.00
Eutaw Construction Company, Inc.		\$4,000.0000	\$52,000.00
611-42.02 CATCH BASINS, TYPE 42, > 4' - 8' DEPTH			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$3,600.0000	\$10,800.00
Civil Constructors, LLC		\$2,420.0000	\$7,260.00
Eutaw Construction Company, Inc.		\$5,000.0000	\$15,000.00
611-42.03 CATCH BASINS, TYPE 42, > 8' - 12' DEPTH			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$5,600.0000	\$11,200.00
Civil Constructors, LLC		\$2,680.0000	\$5,360.00
Eutaw Construction Company, Inc.		\$8,000.0000	\$16,000.00

CONTRACT C	١R	136
------------	----	-----

				MIRACI CIRTISO
			UNIT PRICE	EXTENSION
611-42.04 CATCH BAS	SINS, TYPE 42, > 12' - 16' DEPTH			
		1.000 EACH		
Jones Bros	. Contractors, LLC		\$6,900.0000	\$6,900.00
	ructors, LLC		\$3,150.0000	\$3,150.00
Eutaw Cons	struction Company, Inc.		\$9,000.0000	\$9,000.00
611-43.01 CATCH BAS	SINS, TYPE 43, 0' - 4' DEPTH			
		1.000 EACH		
Jones Bros	. Contractors, LLC		\$5,400.0000	\$5,400.00
Civil Constr	ructors, LLC		\$3,410.0000	\$3,410.00
Eutaw Cons	struction Company, Inc.		\$6,000.0000	\$6,000.00
611-43.02 CATCH BAS	SINS, TYPE 43, > 4' - 8' DEPTH			
		8.000 EACH		
	. Contractors, LLC		\$5,900.0000	\$47,200.00
	ructors, LLC		\$3,880.0000	\$31,040.00
Eutaw Cons	struction Company, Inc.		\$7,000.0000	\$56,000.00
611-44.02 CATCH BAS	SINS, TYPE 44, > 4' - 8' DEPTH			
		2.000 EACH		
Jones Bros	. Contractors, LLC		\$14,400.0000	\$28,800.00
	uctors, LLC		\$8,720.0000	\$17,440.00
Eutaw Cons	struction Company, Inc.		\$16,000.0000	\$32,000.00
620-05 CONCRETE	PARAPET WITH STRUCTURAL TUBING			
		1,064.000 L.F.		
	. Contractors, LLC		\$175.0000	\$186,200.00
	ructors, LLC		\$265.0000	\$281,960.00
Eutaw Cons	struction Company, Inc.		\$270.0000	\$287,280.00
621-03.02 18" TEMPO	RARY DRAINAGE PIPE			
		100.000 L.F.		
	. Contractors, LLC		\$40.0000	\$4,000.00
	ructors, LLC		\$32.0000	\$3,200.00
Eutaw Cons	struction Company, Inc.		\$26.0000	\$2,600.00
621-03.03 24" TEMPO	RARY DRAINAGE PIPE			
		153.000 L.F.		
	. Contractors, LLC		\$50.0000	\$7,650.00
	uctors, LLC		\$43.0000	\$6,579.00
Eutaw Cons	struction Company, Inc.		\$36.0000	\$5,508.00
621-03.04 30" TEMPO	RARY DRAINAGE PIPE			
		48.000 L.F.		
Jones Bros	. Contractors, LLC		\$60.0000	\$2,880.00
	ructors, LLC		\$63.0000	\$3,024.00
Eutaw Cons	struction Company, Inc.		\$50.0000	\$2,400.00

CONTRACT CNR136

			UNIT PRICE	EXTENSION
621-03.05	36" TEMPORARY DRAINAGE PIPE			
		120.000 L.F.		
	Jones Bros. Contractors, LLC		\$80.0000	\$9,600.00
	Civil Constructors, LLC		\$76.0000	\$9,120.00
	Eutaw Construction Company, Inc.		\$50.0000	\$6,000.00
621-05.01	TEMPORARY SHORING			
		6,321.000 S.F.		
	Jones Bros. Contractors, LLC		\$19.0000	\$120,099.00
	Civil Constructors, LLC		\$20.0000	\$126,420.00
	Eutaw Construction Company, Inc.		\$19.7500	\$124,839.75
624-03.01	RETAINING WALL REINFORCING STEEL			
		163,271.000 LB.		
	Jones Bros. Contractors, LLC		\$0.8500	\$138,780.35
	Civil Constructors, LLC		\$1.1000	\$179,598.10
	Eutaw Construction Company, Inc.		\$1.1000	\$179,598.10
701-01.01	CONCRETE SIDEWALK (4 ")			
		14,270.000 S.F.		
	Jones Bros. Contractors, LLC		\$4.7500	\$67,782.50
	Civil Constructors, LLC		\$5.3000 \$4.7000	\$75,631.00 \$67,069.00
	Eutaw Construction Company, Inc.		\$4.7000	\$67,069.00
701-02	CONCRETE DRIVEWAY			
		32,179.000 S.F.	# 2.2522	0004 440 75
	Jones Bros. Contractors, LLC		\$6.2500	\$201,118.75
	Civil Constructors, LLC Eutaw Construction Company, Inc.		\$8.1000 \$7.5000	\$260,649.90 \$241,342.50
	Lutaw Construction Company, Inc.		ψ1.3000	ΨΖ41,342.30
701-02.03	CONCRETE CURB RAMP			
		6,077.000 S.F.	# 40.0000	#00 770 00
	Jones Bros. Contractors, LLC Civil Constructors, LLC		\$10.0000 \$22.0000	\$60,770.00
	Eutaw Construction Company, Inc.		\$21.0000	\$133,694.00 \$127,617.00
	Lataw Construction Company, inc.		Ψ21.0000	Ψ121,011.00
702-01.01	EXTRUDED SLOPING CURB			
		1,533.000 L.F.		
	Jones Bros. Contractors, LLC		\$7.5000	\$11,497.50
	Civil Constructors, LLC		\$9.2000	\$14,103.60
	Eutaw Construction Company, Inc.		\$9.3000	\$14,256.90
702-03	CONCRETE COMBINED CURB & GUTTER			
		1,963.863 C.Y.		
	Jones Bros. Contractors, LLC		\$260.0000	\$510,604.38
	Civil Constructors, LLC		\$359.0000	\$705,026.82
	Eutaw Construction Company, Inc.		\$370.0000	\$726,629.31

		UNIT PRICE	EXTENSION
705-06.01 W BEAM GR (TYPE 2) MASH TL3			
	1,272.000 L.F.		
Jones Bros. Contractors, LLC	.,	\$17.8500	\$22,705.20
Civil Constructors, LLC		\$19.0000	\$24,168.00
Eutaw Construction Company, Inc.		\$17.5000	\$22,260.00
Ediaw Gonolidolion Company, mo.		ψ17.0000	ΨΖΖ,ΖΟΟ.ΟΟ
705-06.10 GR TERMINALTRAILING END (TYPE 13) MAS	H TI 2		
703-00.10 OK TEKMINAETKAIEINO END (TTT E 13) MAG			
	3.000 EACH		•
Jones Bros. Contractors, LLC		\$835.0000	\$2,505.00
Civil Constructors, LLC		\$869.0000	\$2,607.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$3,000.00
705-06.11 GR TERMINAL (IN-INLINE) MASH TL3			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$820.0000	\$3,280.00
Civil Constructors, LLC		\$854.0000	\$3,416.00
Eutaw Construction Company, Inc.		\$740.0000	\$2,960.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASI	H TL-3		
	3.000 EACH		
Jones Bros. Contractors, LLC	3.000 EAGIT	\$2,465.0000	\$7,395.00
Civil Constructors, LLC		\$2,403.0000	\$7,710.00
Eutaw Construction Company, Inc.		\$3,000.0000	\$9,000.00
Ediaw Gonstruction Company, Inc.		ψ3,000.0000	ψ3,000.00
705-06.30 GR TERMINAL (TYPE 21) MASH TL2			
703-00.30 GR TERMINAL (TIPE 21) MASH TEZ			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$2,290.0000	\$4,580.00
Civil Constructors, LLC		\$2,390.0000	\$4,780.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$4,000.00
705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3)			
	5.000 EACH		
Jones Bros. Contractors, LLC		\$6,000.0000	\$30,000.00
Civil Constructors, LLC		\$8,170.0000	\$40,850.00
Eutaw Construction Company, Inc.		\$6,000.0000	\$30,000.00
707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE			
	2,552.000 L.F.		
Jones Bros. Contractors, LLC	,	\$1.6500	\$4,210.80
Civil Constructors, LLC		\$2.4000	\$6,124.80
Eutaw Construction Company, Inc.		\$1.6000	\$4,083.20
_attail obligation company, mor		\$1.000	ų .,000i20
708-02.01 MARKERS (CONCRETE R.O.W. POSTS)			
Jan	004 000 51 011		
	224.000 EACH	404= 6555	M 40 400 00
Jones Bros. Contractors, LLC		\$215.0000	\$48,160.00
Civil Constructors, LLC		\$210.0000	\$47,040.00
Eutaw Construction Company, Inc.		\$290.0000	\$64,960.00

		LINIT DDICE	EXTENSION
		UNIT PRICE	EXTENSION
709-05.05 MACHINED RIP-RAP (CLASS A-3)			
103-03.03 MAGINED KII -KAI (OLAGO A-3)	401.000 TON		
Jones Bros. Contractors, LLC	401.000 TON	\$40.0000	\$16,040.00
Civil Constructors, LLC		\$55.0000	\$22,055.00
Eutaw Construction Company, Inc.		\$30.0000	\$12,030.00
709-05.06 MACHINED RIP-RAP (CLASS A-1)			
	2,211.820 TON		
Jones Bros. Contractors, LLC		\$35.0000	\$77,413.70
Civil Constructors, LLC		\$33.0000	\$72,990.06
Eutaw Construction Company, Inc.		\$36.0000	\$79,625.52
709-05.08 MACHINED RIP-RAP (CLASS B)			
·	62.667 TON		
Jones Bros. Contractors, LLC		\$55.0000	\$3,446.69
Civil Constructors, LLC		\$56.0000	\$3,509.35
Eutaw Construction Company, Inc.		\$33.0000	\$2,068.01
709-05.09 MACHINED RIP-RAP (CLASS C)			
	495.056 TON	440.000	* 40.000.04
Jones Bros. Contractors, LLC		\$40.0000	\$19,802.24
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$44.0000 \$33.0000	\$21,782.46 \$16,336.85
Ediaw Gonstraction Company, Inc.		φοσ.σσσσ	ψ10,000.00
710-02 AGGREGATE UNDERDRAINS (WITH PIPE)			
	26,800.000 L.F.		
Jones Bros. Contractors, LLC		\$4.5000	\$120,600.00
Civil Constructors, LLC		\$4.7000	\$125,960.00
Eutaw Construction Company, Inc.		\$4.8000	\$128,640.00
710-09.01 6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTE	M		
	1,064.000 L.F.		
Jones Bros. Contractors, LLC	·	\$60.0000	\$63,840.00
Civil Constructors, LLC		\$18.0000	\$19,152.00
Eutaw Construction Company, Inc.		\$49.0000	\$52,136.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
Jones Bros. Contractors, LLC		\$378,500.0000	\$378,500.00
Civil Constructors, LLC		\$386,380.0000	\$386,380.00
Eutaw Construction Company, Inc.		\$995,000.0000	\$995,000.00
712-02.02 INTERCONNECTED PORTABLE BARRIER RAIL			
-	1,369.290 L.F.		
Jones Bros. Contractors, LLC	,	\$32.0000	\$43,817.28
Civil Constructors, LLC		\$33.0000	\$45,186.57
Eutaw Construction Company, Inc.		\$41.0000	\$56,140.89

		LINIT DDIOE	EVTENCION
		UNIT PRICE	EXTENSION
742 04 04 ELEVIDLE DRUMS (CHANNELIZING)			
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)	540 000 FAOU		
Lauran Dana Caratana dan 110	542.000 EACH	Фоо оооо	# 4.0,000,00
Jones Bros. Contractors, LLC Civil Constructors, LLC		\$30.0000 \$29.0000	\$16,260.00 \$15,718.00
Eutaw Construction Company, Inc.		\$29.0000	\$15,718.00
Edian Construction Company, inc.		Ψ20.0000	Ψ10,710.00
712-04.50 PORTABLE BARRIER RAIL DELINEATOR			
	68.000 EACH		
Jones Bros. Contractors, LLC	00.000 =	\$14.0000	\$952.00
Civil Constructors, LLC		\$12.0000	\$816.00
Eutaw Construction Company, Inc.		\$11.7500	\$799.00
712-05.01 WARNING LIGHTS (TYPE A)			
	200.000 EACH		
Jones Bros. Contractors, LLC		\$25.0000	\$5,000.00
Civil Constructors, LLC		\$40.0000	\$8,000.00
Eutaw Construction Company, Inc.		\$41.0000	\$8,200.00
712-05.03 WARNING LIGHTS (TYPE C)			
	100.000 EACH	#05.000	#0.500.00
Jones Bros. Contractors, LLC		\$25.0000 \$40.0000	\$2,500.00
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$40.0000 \$41.0000	\$4,000.00 \$4,100.00
Ediaw Construction Company, inc.		ψ+1.0000	ψ+,100.00
712-06 SIGNS (CONSTRUCTION)			
,	846.000 S.F.		
Jones Bros. Contractors, LLC	5 101000 Cit 1	\$6.0000	\$5,076.00
Civil Constructors, LLC		\$7.0000	\$5,922.00
Eutaw Construction Company, Inc.		\$7.2000	\$6,091.20
712-08.03 ARROW BOARD (TYPE C)			
	6.000 EACH		
Jones Bros. Contractors, LLC		\$1,500.0000	\$9,000.00
Civil Constructors, LLC		\$1,200.0000	\$7,200.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$6,000.00
740 44 04 HUII OFOTION OTFFL POOTO			
713-11.01 "U" SECTION STEEL POSTS			
	802.500 LB.		
Jones Bros. Contractors, LLC		\$3.3500	\$2,688.38
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$3.6000 \$3.6000	\$2,889.00 \$2,889.00
Lutaw Construction Company, Inc.		φ3.0000	φ2,009.00
713-11.02 PERFORATED/KNOCKOUT SQUARE TUBE POST			
	1,013.834 LB.		
Jones Bros. Contractors, LLC	1,010.007 ED.	\$4.0000	\$4,055.34
Civil Constructors, LLC		\$4.0000	\$4,055.34
Eutaw Construction Company, Inc.		\$4.1000	\$4,156.72

		UNIT PRICE	EXTENSION
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
,	267.188 S.F.		
Jones Bros. Contractors, LLC		\$13.7500	\$3,673.84
Civil Constructors, LLC		\$15.0000	\$4,007.82
Eutaw Construction Company, Inc.		\$14.5000	\$3,874.23
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	136.500 S.F.		
Jones Bros. Contractors, LLC		\$14.5000	\$1,979.25
Civil Constructors, LLC		\$16.0000	\$2,184.00
Eutaw Construction Company, Inc.		\$15.5000	\$2,115.75
713-14.21 STREET NAME SIGN (RIGID 0.100IN THICK			
	262.000 S.F.		
Jones Bros. Contractors, LLC		\$26.0000	\$6,812.00
Civil Constructors, LLC		\$24.0000	\$6,288.00
Eutaw Construction Company, Inc.		\$25.0000	\$6,550.00
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS			
	1.000 LS		
Jones Bros. Contractors, LLC		\$350.0000	\$350.00
Civil Constructors, LLC		\$729.0000	\$729.00
Eutaw Construction Company, Inc.		\$750.0000	\$750.00
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	8.000 EACH		
Jones Bros. Contractors, LLC		\$5,500.0000	\$44,000.00
Civil Constructors, LLC		\$9,160.0000	\$73,280.00
Eutaw Construction Company, Inc.		\$9,000.0000	\$72,000.00
713-16.21 SIGNS (POST MOUNTED STREET NAME SIGNS)			
	7.000 EACH		
Jones Bros. Contractors, LLC		\$50.0000	\$350.00
Civil Constructors, LLC		\$79.0000	\$553.00
Eutaw Construction Company, Inc.		\$80.0000	\$560.00
713-16.41 RELOCATE SIGN			
	1.000 LS		
Jones Bros. Contractors, LLC		\$400.0000	\$400.00
Civil Constructors, LLC		\$1,570.0000	\$1,570.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$2,000.00
716-01.07 TEMPORARY RAISED PAVEMENT MARKER, YELLOW			
	330.000 EACH		
Jones Bros. Contractors, LLC		\$11.5000	\$3,795.00
Civil Constructors, LLC		\$11.0000	\$3,630.00
Eutaw Construction Company, Inc.		\$10.5000	\$3,465.00

			UNIT PRICE	EXTENSION
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
710 01.21	Chapman value and Chapman value of the control of t	455,250 EACH		
	Jones Bros. Contractors, LLC	4001200 E/(O11	\$32.5000	\$14,795.63
	Civil Constructors, LLC		\$27.0000	\$12,291.75
	Eutaw Construction Company, Inc.		\$27.0000	\$12,291.75
746 04 22	Spurphydd Dymt Melwy (Mana Div)/4 Calar)			
710-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)	516.749 EACH		
	Jones Bros. Contractors, LLC	516.749 EACH	\$32.5000	\$16,794.34
	Civil Constructors, LLC		\$27.0000	\$13,952.22
	Eutaw Construction Company, Inc.		\$27.0000	\$13,952.22
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		* =:::::::	* · · · · · · · · · · · · · · · · · · ·
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STR	RIPING)		
		112.000 S.Y.		
	Jones Bros. Contractors, LLC		\$23.5000	\$2,632.00
	Civil Constructors, LLC		\$21.0000	\$2,352.00
	Eutaw Construction Company, Inc.		\$21.0000	\$2,352.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		592.000 L.F.		
	Jones Bros. Contractors, LLC		\$12.5000	\$7,400.00
	Civil Constructors, LLC		\$13.0000	\$7,696.00
	Eutaw Construction Company, Inc.		\$12.7500	\$7,548.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	,	78.000 EACH		
	Jones Bros. Contractors, LLC		\$165.0000	\$12,870.00
	Civil Constructors, LLC		\$157.0000	\$12,246.00
	Eutaw Construction Company, Inc.		\$160.0000	\$12,480.00
716-02 08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
7 10 02.00	TEACHET AVEINENT MARKING (C. DOTTED EINE)	549.000 L.F.		
	Jones Bros. Contractors, LLC	0 101000 <u>=</u> 111 1	\$2.2500	\$1,235.25
	Civil Constructors, LLC		\$3.2000	\$1,756.80
	Eutaw Construction Company, Inc.		\$3.2000	\$1,756.80
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROS	S-WALK)		
02.00		1,048.000 L.F.		
	Jones Bros. Contractors, LLC	,	\$24.5000	\$25,676.00
	Civil Constructors, LLC		\$32.0000	\$33,536.00
	Eutaw Construction Company, Inc.		\$32.0000	\$33,536.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		14.000 EACH		
	Jones Bros. Contractors, LLC		\$235.0000	\$3,290.00
	Civil Constructors, LLC		\$313.0000	\$4,382.00
	Eutaw Construction Company, Inc.		\$320.0000	\$4,480.00

CON	ITR/	CT	CNR ₁	36
- COI	4 I I \	101		

		UNIT PRICE	EXTENSION
716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARRO	oW)		
	3.000 EACH		
Jones Bros. Contractors, LLC		\$215.0000	\$645.00
Civil Constructors, LLC		\$183.0000	\$549.00
Eutaw Construction Company, Inc.		\$190.0000	\$570.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$172.5000	\$690.00
Civil Constructors, LLC		\$131.0000	\$524.00
Eutaw Construction Company, Inc.		\$130.0000	\$520.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	0.597 L.M.		
Jones Bros. Contractors, LLC		\$3,500.0000	\$2,089.50
Civil Constructors, LLC		\$2,610.0000	\$1,558.17
Eutaw Construction Company, Inc.		\$3,000.0000	\$1,791.00
716-05.02 PAINTED PAVEMENT MARKING (8" BARRIER LINE)			
	3,350.000 L.F.		
Jones Bros. Contractors, LLC		\$0.7200	\$2,412.00
Civil Constructors, LLC		\$1.1000	\$3,685.00
Eutaw Construction Company, Inc.		\$1.1000	\$3,685.00
716-05.05 PAINTED PAVEMENT MARKING (STOP LINE)			
	1,037.000 L.F.		
Jones Bros. Contractors, LLC		\$6.5000	\$6,740.50
Civil Constructors, LLC		\$8.4000	\$8,710.80
Eutaw Construction Company, Inc.		\$8.5000	\$8,814.50
716-05.06 PAINTED PAVEMENT MARKING (TURN LANE ARROW)			
	30.000 EACH		
Jones Bros. Contractors, LLC		\$110.0000	\$3,300.00
Civil Constructors, LLC		\$79.0000	\$2,370.00
Eutaw Construction Company, Inc.		\$80.0000	\$2,400.00
716-05.09 PAINTED PAVEMENT MARKING(STRAIGHT-TURN ARRO	W)		
	6.000 EACH		
Jones Bros. Contractors, LLC		\$145.0000	\$870.00
Civil Constructors, LLC		\$79.0000	\$474.00
Eutaw Construction Company, Inc.		\$80.0000	\$480.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
	14.800 L.M.		
Jones Bros. Contractors, LLC		\$975.0000	\$14,430.00
Civil Constructors, LLC		\$1,570.0000	\$23,236.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$29,600.00

			C	ONTRACT CIRCISO
			UNIT PRICE	EXTENSION
716-08.20	REMOVAL OF PAVEMENT MARKING (LINE)			
		5.000 L.M.		
	Jones Bros. Contractors, LLC		\$3,150.0000	\$15,750.00
	Civil Constructors, LLC		\$4,170.0000	\$20,850.00
	Eutaw Construction Company, Inc.		\$4,000.0000	\$20,000.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN	LINE)		
		8.419 L.M.		
	Jones Bros. Contractors, LLC		\$4,950.0000	\$41,674.05
	Civil Constructors, LLC		\$4,890.0000	\$41,168.91
	Eutaw Construction Company, Inc.		\$5,000.0000	\$42,095.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN	BARRIER LINE)		
		773.000 L.F.		
	Jones Bros. Contractors, LLC		\$2.2500	\$1,739.25
	Civil Constructors, LLC		\$4.2000	\$3,246.60
	Eutaw Construction Company, Inc.		\$4.3000	\$3,323.90
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		5.825 L.M.		
	Jones Bros. Contractors, LLC		\$2,350.0000	\$13,688.75
	Civil Constructors, LLC		\$2,610.0000	\$15,203.25
	Eutaw Construction Company, Inc.		\$3,000.0000	\$17,475.00
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIE	ER LINE)		
		170.000 L.F.		
	Jones Bros. Contractors, LLC		\$1.8500	\$314.50
	Civil Constructors, LLC		\$3.2000	\$544.00
	Eutaw Construction Company, Inc.		\$3.2000	\$544.00
717-01	MOBILIZATION			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$1,200,000.0000	\$1,200,000.00
	Civil Constructors, LLC		\$1,054,575.0000	\$1,054,575.00
	Eutaw Construction Company, Inc.		\$1,309,861.9000	\$1,309,861.90
725-02.79	FIBER SPLICE ENCLOSURE(SEE PLANS)			
		2.000 EACH		
	Jones Bros. Contractors, LLC		\$1,500.0000	\$3,000.00
	Civil Constructors, LLC		\$1,570.0000	\$3,140.00
	Eutaw Construction Company, Inc.		\$3,000.0000	\$6,000.00
725-20.75	COMMUNICATION CONNECTION (RE-SPLICING INTO	D EX. CITY NETWORK)		
		1.000 LS		
	Jones Bros. Contractors, LLC		\$2,500.0000	\$2,500.00
	Civil Constructors, LLC		\$2,610.0000	\$2,610.00
	Eutaw Construction Company, Inc.		\$3,000.0000	\$3,000.00

		UNIT PRICE	EXTENSION
725-20.91 CCTV CAMERA SYSTEM (PAN TILT & ZOOM)			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$9,500.0000	\$28,500.00
Civil Constructors, LLC		\$9,890.0000	\$29,670.00
Eutaw Construction Company, Inc.		\$7,000.0000	\$21,000.00
725-21.15 NETWORK SWITCH (CISCO CABINET SWITCH)			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$5,000.0000	\$15,000.00
Civil Constructors, LLC		\$5,210.0000	\$15,630.00
Eutaw Construction Company, Inc.		\$3,000.0000	\$9,000.00
, ,,			. ,
725-23.24 FIBER OPTIC DROP CABLE (6 COUNT SMFO GATOR PATCH)			
(3.000 L.F.		
Jones Bros. Contractors, LLC	3.000 L.I .	\$450.0000	\$1,350.00
Civil Constructors, LLC		\$469.0000	\$1,407.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$6,000.00
Ediaw Gonstiaction Company, inc.		Ψ2,000.0000	φο,σσσ.σσ
725-23.28 FIBER OPTIC SPLICE FUSION			
723-23.20 FIBER OF HIG SPEIGE POSIGN	40.000 = 4.011		
	10.000 EACH	^	
Jones Bros. Contractors, LLC		\$250.0000	\$2,500.00
Civil Constructors, LLC		\$261.0000	\$2,610.00
Eutaw Construction Company, Inc.		\$100.0000	\$1,000.00
TOT OR OR FIRED OPTIO OPLINE MODIFICATION			
725-23.32 FIBER OPTIC SPLICE MODIFICATION			
	5.000 EACH		
Jones Bros. Contractors, LLC		\$625.0000	\$3,125.00
Civil Constructors, LLC		\$651.0000	\$3,255.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$5,000.00
730-01.02 REMOVAL OF SIGNAL EQUIPMENT			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$5,000.0000	\$10,000.00
Civil Constructors, LLC		\$5,210.0000	\$10,420.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$4,000.00
730-02.09 SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
	24.000 EACH		
Jones Bros. Contractors, LLC		\$550.0000	\$13,200.00
Civil Constructors, LLC		\$573.0000	\$13,752.00
Eutaw Construction Company, Inc.		\$830.0000	\$19,920.00
730-02.10 SIGNAL HEAD ASSEMBLY (130 A2)			
	10.000 EACH		
Jones Bros. Contractors, LLC		\$575.0000	\$5,750.00
Civil Constructors, LLC		\$599.0000	\$5,990.00
Eutaw Construction Company, Inc.		\$820.0000	\$8,200.00

		00	MINACI CINNISO
		UNIT PRICE	EXTENSION
730-02.17 SIGNAL HEAD ASSEMBLY (150 A2H WITH BA	CKPLATE)		
	8.000 EACH		
Jones Bros. Contractors, LLC		\$850.0000	\$6,800.00
Civil Constructors, LLC		\$885.0000	\$7,080.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$8,000.00
730-03.21 INSTALL PULL BOX (TYPE B)			
	16.000 EACH		
Jones Bros. Contractors, LLC		\$1,000.0000	\$16,000.00
Civil Constructors, LLC		\$1,050.0000	\$16,800.00
Eutaw Construction Company, Inc.		\$380.0000	\$6,080.00
730-03.24 INSTALL PULL BOX (FIBER OPTIC-TYPE B)			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$2,500.0000	\$7,500.00
Civil Constructors, LLC		\$2,610.0000	\$7,830.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$3,000.00
730-05.01 ELECTRICAL SERVICE CONNECTION			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$2,500.0000	\$10,000.00
Civil Constructors, LLC		\$2,610.0000	\$10,440.00
Eutaw Construction Company, Inc.		\$4,000.0000	\$16,000.00
730-08.01 SIGNAL CABLE - 3 CONDUCTOR			
	310.000 L.F.		
Jones Bros. Contractors, LLC		\$0.5000	\$155.00
Civil Constructors, LLC		\$0.5500	\$170.50
Eutaw Construction Company, Inc.		\$1.4000	\$434.00
730-08.02 SIGNAL CABLE - 5 CONDUCTOR			
	1,350.000 L.F.		
Jones Bros. Contractors, LLC		\$0.7500	\$1,012.50
Civil Constructors, LLC		\$0.8000	\$1,080.00
Eutaw Construction Company, Inc.		\$1.6000	\$2,160.00
730-08.03 SIGNAL CABLE - 7 CONDUCTOR			
	5,135.000 L.F.		
Jones Bros. Contractors, LLC		\$1.0000	\$5,135.00
Civil Constructors, LLC		\$1.1000	\$5,648.50
Eutaw Construction Company, Inc.		\$1.9000	\$9,756.50
730-08.40 INTERCONNECT CABLE - FIBER OPTIC (48F S	SMFO OUTSIDE PLANT)		
	2,100.000 L.F.		
Jones Bros. Contractors, LLC		\$2.5000	\$5,250.00
Civil Constructors, LLC		\$2.6000	\$5,460.00
Eutaw Construction Company, Inc.		\$3.0000	\$6,300.00

		UNIT PRICE	EXTENSION
730-12.02 CONDUIT 2" DIAMETER (PVC)			
, ,	14,886.000 L.F.		
Jones Bros. Contractors, LLC		\$5.0000	\$74,430.00
Civil Constructors, LLC		\$5.2000	\$77,407.20
Eutaw Construction Company, Inc.		\$6.5000	\$96,759.00
730-12.03 CONDUIT 3" DIAMETER (PVC)			
	185.000 L.F.		
Jones Bros. Contractors, LLC		\$6.0000	\$1,110.00
Civil Constructors, LLC		\$6.3000	\$1,165.50
Eutaw Construction Company, Inc.		\$8.7000	\$1,609.50
730-12.13 CONDUIT 2" DIAMETER (JACK AND BORE)			
	2,740.000 L.F.		
Jones Bros. Contractors, LLC		\$16.0000	\$43,840.00
Civil Constructors, LLC		\$17.0000	\$46,580.00
Eutaw Construction Company, Inc.		\$28.0000	\$76,720.00
730-12.14 CONDUIT 3" DIAMETER (JACK AND BORE)			
	450.000 L.F.	.	•
Jones Bros. Contractors, LLC		\$18.0000	\$8,100.00
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$19.0000 \$33.0000	\$8,550.00 \$14,850.00
Eutaw Construction Company, Inc.		ψ33.0000	Ψ14,030.00
730-13.02 VEHICLE DETECTOR (VIDEO)			
	10.000 EACH	Ф7 500 0000	#75.000.00
Jones Bros. Contractors, LLC Civil Constructors, LLC		\$7,500.0000 \$7,810.0000	\$75,000.00
Eutaw Construction Company, Inc.		\$7,810.0000 \$9,000.0000	\$78,100.00 \$90,000.00
Ediaw Construction Company, inc.		ψ9,000.0000	ψ90,000.00
730-13.06 VEHICLE DETECTOR (OPTICALLY ACTIVATED PRIORIT			
Jones Bros. Contractors, LLC	3.000 EACH	\$4,000.0000	\$12,000.00
Civil Constructors, LLC		\$4,000.0000	\$12,510.00
Eutaw Construction Company, Inc.		\$7,000.0000	\$21,000.00
730-13.07 VEHICLE DETECTOR (SIREN ACTIVATED PRIORITY CON	NTROL)		
(1)	10.000 EACH		
Jones Bros. Contractors, LLC		\$4,000.0000	\$40,000.00
Civil Constructors, LLC		\$4,170.0000	\$41,700.00
Eutaw Construction Company, Inc.		\$5,000.0000	\$50,000.00
730-13.08 VEHICLE DETECTOR (RADAR DETECTION)			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$8,000.0000	\$32,000.00
Civil Constructors, LLC		\$8,330.0000	\$33,320.00
Eutaw Construction Company, Inc.		\$7,000.0000	\$28,000.00

			MINACI CINKISO
		UNIT PRICE	EXTENSION
730-15.32 CABINET (EIGHT PHASE BASE MOUNTED)			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$1,500.0000	\$6,000.00
Civil Constructors, LLC		\$1,570.0000	\$6,280.00
Eutaw Construction Company, Inc.		\$16,000.0000	\$64,000.00
730-16.02 EIGHT PHASE ACTUATED CONTROLLER			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$5,000.0000	\$20,000.00
Civil Constructors, LLC		\$5,210.0000	\$20,840.00
Eutaw Construction Company, Inc.		\$4,000.0000	\$16,000.00
730-23.36 CANTILEVER SIGNAL SUPPORT (1 ARM @ 75')			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$20,500.0000	\$20,500.00
Civil Constructors, LLC		\$21,330.0000	\$21,330.00
Eutaw Construction Company, Inc.		\$21,000.0000	\$21,000.00
730-23.80 CANTILEVER SIGNAL SUPPORT (1 ARM @ 40')			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$14,500.0000	\$58,000.00
Civil Constructors, LLC		\$15,090.0000	\$60,360.00
Eutaw Construction Company, Inc.		\$14,000.0000	\$56,000.00
730-23.88 CANTILEVER SIGNAL SUPPORT (1 ARM @ 45')			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$16,122.5000	\$16,122.50
Civil Constructors, LLC		\$16,780.0000	\$16,780.00
Eutaw Construction Company, Inc.		\$14,000.0000	\$14,000.00
730-23.96 CANTILEVER SIGNAL SUPPORT (1 ARM @ 60')			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$17,000.0000	\$34,000.00
Civil Constructors, LLC		\$17,690.0000	\$35,380.00
Eutaw Construction Company, Inc.		\$17,000.0000	\$34,000.00
730-23.97 CANTILEVER SIGNAL SUPPORT (1 ARM @ 70')			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$19,500.0000	\$39,000.00
Civil Constructors, LLC		\$20,290.0000	\$40,580.00
Eutaw Construction Company, Inc.		\$20,000.0000	\$40,000.00
730-23.98 CANTILEVER SIGNAL SUPPORT (1 ARM @ 50')			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$16,000.0000	\$32,000.00
Civil Constructors, LLC		\$16,650.0000	\$33,300.00
Eutaw Construction Company, Inc.		\$16,000.0000	\$32,000.00

			CC	DNIKACI CNR136
			UNIT PRICE	EXTENSION
730-23.99	CANTILEVER SIGNAL SUPPORT (2 @ 45' & 50')			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$22,000.0000	\$22,000.00
	Civil Constructors, LLC		\$22,890.0000	\$22,890.00
	Eutaw Construction Company, Inc.		\$21,000.0000	\$21,000.00
730-26.11	COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 1	5IN SIGN		
		16.000 EACH		
	Jones Bros. Contractors, LLC		\$800.0000	\$12,800.00
	Civil Constructors, LLC		\$833.0000	\$13,328.00
	Eutaw Construction Company, Inc.		\$930.0000	\$14,880.00
730-35.01	RF DATA SYSTEM (CELLULAR RADIO FOR FRANKLIN TOC CO	MMUNICATIONS)		
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$6,500.0000	\$6,500.00
	Civil Constructors, LLC		\$6,770.0000	\$6,770.00
	Eutaw Construction Company, Inc.		\$5,000.0000	\$5,000.00
730-35.06	BATTERY BACK-UP AND POWER CONDITIONER			
		3.000 EACH		
	Jones Bros. Contractors, LLC	0.000 =	\$9,500.0000	\$28,500.00
	Civil Constructors, LLC		\$9,890.0000	\$29,670.00
	Eutaw Construction Company, Inc.		\$12,000.0000	\$36,000.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
	,	4,729.500 S.Y.		
	Jones Bros. Contractors, LLC	.,0.000 0	\$3.0000	\$14,188.50
	Civil Constructors, LLC		\$2.9000	\$13,715.55
	Eutaw Construction Company, Inc.		\$2.6000	\$12,296.70
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
	,	6,045.000 S.Y.		
	Jones Bros. Contractors, LLC		\$2.5000	\$15,112.50
	Civil Constructors, LLC		\$2.1000	\$12,694.50
	Eutaw Construction Company, Inc.		\$1.5000	\$9,067.50
740-11.03	TEMPORARY SEDIMENT TUBE 18IN			
		36,753.000 L.F.		
	Jones Bros. Contractors, LLC		\$3.0800	\$113,199.24
	Civil Constructors, LLC		\$3.1000	\$113,934.30
	Eutaw Construction Company, Inc.		\$3.8000	\$139,661.40
801-01	SEEDING (WITH MULCH)			
		50.000 UNIT		
	Jones Bros. Contractors, LLC		\$40.0000	\$2,000.00
	Civil Constructors, LLC		\$42.0000	\$2,100.00
	Eutaw Construction Company, Inc.		\$43.0000	\$2,150.00

			UNIT PRICE	EXTENSION
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		10.000 UNIT		
	Jones Bros. Contractors, LLC		\$50.0000	\$500.00
	Civil Constructors, LLC		\$53.0000	\$530.00
	Eutaw Construction Company, Inc.		\$50.0000	\$500.00
801-02	SEEDING (WITHOUT MULCH)			
		18.000 UNIT		
	Jones Bros. Contractors, LLC		\$50.0000	\$900.00
	Civil Constructors, LLC		\$53.0000	\$954.00
	Eutaw Construction Company, Inc.		\$50.0000	\$900.00
801-03	WATER (SEEDING & SODDING)			
		997.137 M.G.		
	Jones Bros. Contractors, LLC		\$27.5000	\$27,421.27
	Civil Constructors, LLC		\$29.0000	\$28,916.97
	Eutaw Construction Company, Inc.		\$29.0000	\$28,916.97
803-01	SODDING (NEW SOD)			
		69,496.444 S.Y.		
	Jones Bros. Contractors, LLC		\$3.1000	\$215,438.98
	Civil Constructors, LLC		\$3.3000	\$229,338.27
	Eutaw Construction Company, Inc.		\$3.3000	\$229,338.27
805-01.01	TURF REINFORCEMENT MAT (CLASS I)			
		1,798.883 S.Y.		
	Jones Bros. Contractors, LLC		\$3.2500	\$5,846.37
	Civil Constructors, LLC		\$3.4000	\$6,116.20
	Eutaw Construction Company, Inc.		\$3.5000	\$6,296.09
805-01.02	TURF REINFORCEMENT MAT (CLASS II)			
		3,645.061 S.Y.		
	Jones Bros. Contractors, LLC		\$3.5000	\$12,757.71
	Civil Constructors, LLC		\$3.7000	\$13,486.73
	Eutaw Construction Company, Inc.		\$3.7000	\$13,486.73
805-12.01	EROSION CONTROL BLANKET (TYPE I)			
		2,000.000 S.Y.		
	Jones Bros. Contractors, LLC		\$1.0000	\$2,000.00
	Civil Constructors, LLC		\$1.1000	\$2,200.00
	Eutaw Construction Company, Inc.		\$1.1000	\$2,200.00
806-02.03	PROJECT MOWING			
		4.000 CYCL		
	Jones Bros. Contractors, LLC		\$3,000.0000	\$12,000.00
	Civil Constructors, LLC		\$3,130.0000	\$12,520.00
	Eutaw Construction Company, Inc.		\$9,000.0000	\$36,000.00

	UNIT PRICE EXTENSION
UTILITY CATEGORY	5
790-03.01 POLE 40FT CLASS 2 WOOD	
3.000 E	ACH
Jones Bros. Contractors, LLC	\$1,765.0000 \$5,295.00
Civil Constructors, LLC	\$1,840.0000 \$5,520.00
Eutaw Construction Company, Inc.	\$2,000.0000 \$6,000.00
790-03.03 POLE 40FT CLASS 4 WOOD	
1.000 E	ACH
Jones Bros. Contractors, LLC	\$1,760.0000 \$1,760.00
Civil Constructors, LLC	\$1,840.0000 \$1,840.00
Eutaw Construction Company, Inc.	\$2,000.0000 \$2,000.00
790-04.02 POLE 45FT CLASS 2 WOOD	
14.000 E	ACH
Jones Bros. Contractors, LLC	\$2,020.0000 \$28,280.00
Civil Constructors, LLC	\$2,110.0000 \$29,540.00
Eutaw Construction Company, Inc.	\$2,000.0000 \$28,000.00
700 05 04	
790-05.01 POLE 50FT CLASS 1 WOOD	A C LI
2.000 E/ Jones Bros. Contractors, LLC	\$2,550.0000 \$5,100.00
Civil Constructors, LLC	\$2,660.0000 \$5,320.00
Eutaw Construction Company, Inc.	\$3,000.0000 \$6,000.00
790-05.08 POLE 50FT CLASS H2 METAL	A 0.1.
Jones Bros. Contractors, LLC	\$5,275.0000 \$195,175.00
Civil Constructors, LLC	\$5,273.0000 \$193,173.00 \$5,490.0000 \$203,130.00
Eutaw Construction Company, Inc.	\$6,000.0000 \$222,000.00
790-06.01 POLE 55FT CLASS 1 WOOD	
13.000 E	
Jones Bros. Contractors, LLC Civil Constructors, LLC	\$2,850.0000 \$37,050.00 \$2,970.0000 \$38,610.00
Eutaw Construction Company, Inc.	\$3,000.0000 \$39,000.00
1 27	. ,
790-06.08 POLE 55FT CLASS H2 METAL	
15.000 E	
Jones Bros. Contractors, LLC	\$6,780.0000 \$101,700.00
Civil Constructors, LLC Eutaw Construction Company, Inc.	\$7,060.0000 \$105,900.00 \$7,000.0000 \$105,000.00
Eutaw Construction Company, Inc.	\$7,000.0000 \$105,000.00
790-07.01 POLE 60FT CLASS 1 WOOD	
1.000 E	ACH
Jones Bros. Contractors, LLC	\$3,325.0000 \$3,325.00
Civil Constructors, LLC	\$3,460.0000 \$3,460.00
Eutaw Construction Company, Inc.	\$4,000.0000 \$4,000.00

		UNIT PRICE	EXTENSION
790-07.09 POLE 60FT CLASS H3 METAL			
	6.000 EACH		
Jones Bros. Contractors, LLC		\$8,635.0000	\$51,810.00
Civil Constructors, LLC		\$8,990.0000	\$53,940.00
Eutaw Construction Company, Inc.		\$9,000.0000	\$54,000.00
790-08.05 POLE 65FT CLASS H3 METAL			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$9,305.0000	\$9,305.00
Civil Constructors, LLC		\$9,690.0000	\$9,690.00
Eutaw Construction Company, Inc.		\$10,000.0000	\$10,000.00
790-20.01 POLE(60FT CLASS H5 METAL)			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$10,235.0000	\$20,470.00
Civil Constructors, LLC		\$10,650.0000	\$21,300.00
Eutaw Construction Company, Inc.		\$11,000.0000	\$22,000.00
		4 ,	+ ,,
790-22.01 1PH SGL PRIMARY SUPPORT 25KV			
	3.000 EACH	.	
Jones Bros. Contractors, LLC		\$230.0000	\$690.00
Civil Constructors, LLC		\$240.0000	\$720.00
Eutaw Construction Company, Inc.		\$250.0000	\$750.00
790-22.10 1PH SUSPENSION ANGLE 25KV			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$320.0000	\$320.00
Civil Constructors, LLC		\$333.0000	\$333.00
Eutaw Construction Company, Inc.		\$340.0000	\$340.00
790-22.13 1PH DEAD END 25KV			
	9.000 EACH		
Jones Bros. Contractors, LLC		\$305.0000	\$2,745.00
Civil Constructors, LLC		\$318.0000	\$2,862.00
Eutaw Construction Company, Inc.		\$330.0000	\$2,970.00
790-22.14 1PH DEAD END TAP 25KV			
	17.000 EACH		
Jones Bros. Contractors, LLC		\$340.0000	\$5,780.00
Civil Constructors, LLC		\$354.0000	\$6,018.00
Eutaw Construction Company, Inc.		\$360.0000	\$6,120.00
790-26.01 3PH CROSSARM 25KV			
	13.000 EACH		
Jones Bros. Contractors, LLC		\$1,245.0000	\$16,185.00
Civil Constructors, LLC		\$1,300.0000	\$16,900.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$13,000.00

				CONTRACT CNR136
			UNIT PRICE	EXTENSION
			ONTTRIOL	Z// Z/(G/G/(
790-26.07	3PH CROSSARM SGL LRG COND ON ST PL 25KV			
		32.000 EACH		
	Jones Bros. Contractors, LLC		\$1,430.0000	\$45,760.00
	Civil Constructors, LLC		\$1,490.0000	\$47,680.00
	Eutaw Construction Company, Inc.		\$2,000.0000	\$64,000.00
790-26.09	3PH CROSSARM SGL ON ST POLE 25KV			
		3.000 EACH		
	Jones Bros. Contractors, LLC	0.000 =	\$3,050.0000	\$9,150.00
	Civil Constructors, LLC		\$3,180.0000	\$9,540.00
	Eutaw Construction Company, Inc.		\$3,000.0000	\$9,000.00
700-26 14	3PH CROSSARM DBL 10FT SM ANGLE 25KV			
730-20.14	SITI GROSSARM DDE 101 I SM ARGEE 25RV	5.000 EACH		
	Jones Bros. Contractors, LLC	3.000 EACH	\$2,070.0000	\$10,350.00
	Civil Constructors, LLC		\$2,160.0000	\$10,800.00
	Eutaw Construction Company, Inc.		\$2,000.0000	\$10,000.00
			, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
790-26.15	3PH XARM DBL 10FT LRG COND SM ANGLE 25KV			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$1,895.0000	\$1,895.00
	Civil Constructors, LLC		\$1,980.0000	\$1,980.00
	Eutaw Construction Company, Inc.		\$2,000.0000	\$2,000.00
790-26.16	3PH XARM FBRGLS LRG COND MED ANGLE 25KV			
		8.000 EACH		
	Jones Bros. Contractors, LLC		\$1,800.0000	\$14,400.00
	Civil Constructors, LLC		\$1,880.0000	\$15,040.00
	Eutaw Construction Company, Inc.		\$2,000.0000	\$16,000.00
790-26.20	3PH VERTICAL ANGLE LRG COND 25KV			
		4.000 EACH		
	Jones Bros. Contractors, LLC		\$1,195.0000	\$4,780.00
	Civil Constructors, LLC		\$1,250.0000	\$5,000.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$4,000.00
790-26.22	3PH VERTICAL DDE ANGLE LRG COND 25KV			
		3.000 EACH		
	Jones Bros. Contractors, LLC		\$2,750.0000	\$8,250.00
	Civil Constructors, LLC		\$2,870.0000	\$8,610.00
	Eutaw Construction Company, Inc.		\$3,000.0000	\$9,000.00
790-26.24	3PH VERTICAL DEAD END LRG COND 25KV			

3.000 EACH

Jones Bros. Contractors, LLC

Eutaw Construction Company, Inc.

Civil Constructors, LLC

\$3,930.00

\$4,110.00

\$3,000.00

\$1,310.0000

\$1,370.0000

\$1,000.0000

				CONTRACT CNR136
			UNIT PRICE	EXTENSION
			ONITTRICE	EXTENSION
790-26.25	3PH CROSSARM DDE 25KV			
		7.000 EACH		
	Jones Bros. Contractors, LLC	7.000 E/(011	\$2,505.0000	\$17,535.00
	Civil Constructors, LLC		\$2,610.0000	\$18,270.00
	Eutaw Construction Company, Inc.		\$3,000.0000	\$21,000.00
790-26.26	3PH CROSSARM DEAD END 25KV			
		5.000 EACH		
	Jones Bros. Contractors, LLC		\$1,910.0000	\$9,550.00
	Civil Constructors, LLC		\$1,990.0000	\$9,950.00
	Eutaw Construction Company, Inc.		\$2,000.0000	\$10,000.00
700-26 27	3PH CROSSARM DBL DDE 25KV			
190-20.21	3FR CROSSARW DBL DDE 25RV	0.000 54011		
		8.000 EACH	Фо 400 0000	#07.440.00
	Jones Bros. Contractors, LLC		\$3,430.0000	\$27,440.00
	Civil Constructors, LLC		\$3,570.0000	\$28,560.00
	Eutaw Construction Company, Inc.		\$4,000.0000	\$32,000.00
790-26.29	3PH DDE UNBALANCED LOAD 25KV			
		2.000 EACH		
	Jones Bros. Contractors, LLC		\$2,965.0000	\$5,930.00
	Civil Constructors, LLC		\$3,090.0000	\$6,180.00
	Eutaw Construction Company, Inc.		\$3,000.0000	\$6,000.00
790-30.01	SECONDARY ASSEMBLIES SMALL ANGLE			
		5.000 EACH		
	Jones Bros. Contractors, LLC		\$95.0000	\$475.00
	Civil Constructors, LLC		\$99.0000	\$495.00
	Eutaw Construction Company, Inc.		\$100.0000	\$500.00
700-20 02	SECONDARY ASSEMBLIES DEADEND			
790-30.03	SECONDART ASSEMBLIES DEADEND	04 000 54 011		
	lanca Duca Contractora III C	24.000 EACH	£440,0000	#0.040.00
	Jones Bros. Contractors, LLC		\$110.0000 \$115.0000	\$2,640.00
	Civil Constructors, LLC Eutaw Construction Company, Inc.		\$115.0000 \$120.0000	\$2,760.00 \$2,880.00
	Ediaw Construction Company, Inc.		\$120.0000	φ2,000.00
790-31.02	SERVICE ASSEMBLY-POLE TYPE			
		29.000 EACH		
	Jones Bros. Contractors, LLC		\$105.0000	\$3,045.00
	Civil Constructors, LLC		\$110.0000	\$3,190.00
	Eutaw Construction Company, Inc.		\$110.0000	\$3,190.00
	· ·			

3,327.000 L.F.

790-31.05 SERVICE CONDUCTOR 4 AL DUPLEX

Civil Constructors, LLC

Jones Bros. Contractors, LLC

Eutaw Construction Company, Inc.

PAGE	
1710	

\$10,047.54

\$10,646.40

\$10,646.40

\$3.0200

\$3.2000

\$3.2000

			MINACI CHRISO
		UNIT PRICE	EXTENSION
790-31.11 SERVICE CONDUCTOR 2 AL TRIPLEX			
	105.000 L.F.		
Jones Bros. Contractors, LLC		\$4.4000	\$462.00
Civil Constructors, LLC		\$4.6000	\$483.00
Eutaw Construction Company, Inc.		\$4.7000	\$493.50
790-31.12 SERVICE CONDUCTOR 1/0 AL TRIPLEX			
	1,244.000 L.F.		
Jones Bros. Contractors, LLC		\$5.2100	\$6,481.24
Civil Constructors, LLC		\$5.5000	\$6,842.00
Eutaw Construction Company, Inc.		\$5.6000	\$6,966.40
790-31.20 SERVICE CONDUCTOR 1/0 AL QPLEX			
	93.000 L.F.		
Jones Bros. Contractors, LLC		\$9.1900	\$854.67
Civil Constructors, LLC		\$9.6000	\$892.80
Eutaw Construction Company, Inc.		\$9.9000	\$920.70
790-32.01 DOWN GUY - THROUGH BOLT TYPE			
	41.000 EACH		
Jones Bros. Contractors, LLC		\$285.0000	\$11,685.00
Civil Constructors, LLC		\$297.0000	\$12,177.00
Eutaw Construction Company, Inc.		\$310.0000	\$12,710.00
790-32.19 DN GUY HVY CONST - 1 PREFORM			
	79.000 EACH		
Jones Bros. Contractors, LLC		\$300.0000	\$23,700.00
Civil Constructors, LLC		\$313.0000	\$24,727.00
Eutaw Construction Company, Inc.		\$320.0000	\$25,280.00
790-32.21 OH GUY HVY CONST -THROUGH BOLT TYPE			
	6.000 EACH		
Jones Bros. Contractors, LLC		\$330.0000	\$1,980.00
Civil Constructors, LLC		\$344.0000	\$2,064.00
Eutaw Construction Company, Inc.		\$350.0000	\$2,100.00
790-32.26 DOWN GUY LIGHT CONSTRUCTION - PREFORM			
	5.000 EACH		
Jones Bros. Contractors, LLC		\$315.0000	\$1,575.00
Civil Constructors, LLC		\$328.0000	\$1,640.00
Eutaw Construction Company, Inc.		\$340.0000	\$1,700.00
790-32.27 OVERHEAD GUY LIGHT CONSTRUCTION - PREFORM			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$530.0000	\$1,060.00
Civil Constructors, LLC		\$552.0000	\$1,104.00
Eutaw Construction Company, Inc.		\$570.0000	\$1,140.00

CONTRACT CNR13	(CO	NTR	ACT	CNR	136
----------------	---	----	-----	-----	-----	-----

	UNIT PRICE EX	XTENSION
790-32.30 OVERHEAD GUY HEAVY CONSTRUCTION - PREFORM		
17.00	00 EACH	
Jones Bros. Contractors, LLC	\$575.0000	\$9,775.00
Civil Constructors, LLC	\$599.0000 \$	310,183.00
Eutaw Construction Company, Inc.	\$620.0000 \$	\$10,540.00
790-32.31 DOUBLE OVERHEAD GUY HEAVY CONSTRUCTION - PREFORM		
2.00	00 EACH	
Jones Bros. Contractors, LLC	\$705.0000	\$1,410.00
Civil Constructors, LLC	\$734.0000	\$1,468.00
Eutaw Construction Company, Inc.	\$760.0000	\$1,520.00
790-33.21 ANCHOR TWIN EYE POWER INSTALLED		
63.00	00 EACH	
Jones Bros. Contractors, LLC	· · · · · · · · · · · · · · · · · · ·	36,540.00
Civil Constructors, LLC	·	38,052.00
Eutaw Construction Company, Inc.	\$620.0000 \$	339,060.00
790-33.25 SCREW TYPE ANCHOR 15,000LB		
4.00	00 EACH	
Jones Bros. Contractors, LLC	\$480.0000	\$1,920.00
Civil Constructors, LLC		\$2,000.00
Eutaw Construction Company, Inc.	\$520.0000	\$2,080.00
790-33.26 SCREW TYPE ANCHOR 28,000LB		
11.00	00 EACH	
Jones Bros. Contractors, LLC	\$655.0000	\$7,205.00
Civil Constructors, LLC		\$7,502.00
Eutaw Construction Company, Inc.	\$700.0000	\$7,700.00
790-36.02 TRANSFER CAPACITOR BANK		
2.00	00 EACH	
Jones Bros. Contractors, LLC	\$4,365.0000	\$8,730.00
Civil Constructors, LLC		\$9,100.00
Eutaw Construction Company, Inc.	\$5,000.0000	\$10,000.00
790-36.04 TRANSFER SERVICE		
7.00	00 EACH	
Jones Bros. Contractors, LLC	\$160.0000	\$1,120.00
Civil Constructors, LLC		\$1,169.00
Eutaw Construction Company, Inc.	\$170.0000	\$1,190.00
790-36.05 TRANSFER SECONDARY		
6.00	00 EACH	
Jones Bros. Contractors, LLC	\$165.0000	\$990.00
Civil Constructors, LLC		\$1,032.00
Eutaw Construction Company, Inc.	\$180.0000	\$1,080.00

			UNIT PRICE	EXTENSION
790-36.06	TRANSFER LIGHT			
		8.000 EACH		
	Jones Bros. Contractors, LLC		\$495.0000	\$3,960.00
	Civil Constructors, LLC		\$515.0000	\$4,120.00
	Eutaw Construction Company, Inc.		\$530.0000	\$4,240.00
790-36.14	TRANSFER CONDUCTOR			
		24.000 EACH		
	Jones Bros. Contractors, LLC		\$135.0000	\$3,240.00
	Civil Constructors, LLC		\$141.0000	\$3,384.00
	Eutaw Construction Company, Inc.		\$140.0000	\$3,360.00
790-40.01	OH COND 4 7/1 ACSR SWANATE			
		3,904.000 L.F.		
	Jones Bros. Contractors, LLC		\$1.9900	\$7,768.96
	Civil Constructors, LLC		\$2.1000	\$8,198.40
	Eutaw Construction Company, Inc.		\$2.1000	\$8,198.40
790-40.03	OH COND 1/0 6/1 ACSR RAVEN			
		6,169.000 L.F.		
	Jones Bros. Contractors, LLC		\$2.5000	\$15,422.50
	Civil Constructors, LLC		\$2.6000	\$16,039.40
	Eutaw Construction Company, Inc.		\$2.7000	\$16,656.30
790-40.05	OH COND 3/0 6/1 ACSR PIGEON			
		9,314.000 L.F.		
	Jones Bros. Contractors, LLC		\$2.9000	\$27,010.60
	Civil Constructors, LLC		\$3.1000	\$28,873.40
	Eutaw Construction Company, Inc.		\$3.1000	\$28,873.40
790-40.06	OH COND 4/0 6/1 ACSR PENGUIN			
		13,287.000 L.F.		
	Jones Bros. Contractors, LLC		\$3.5900	\$47,700.33
	Civil Constructors, LLC		\$3.8000	\$50,490.60
	Eutaw Construction Company, Inc.		\$3.9000	\$51,819.30
790-40.49	OH COND 795 37 AAC ARBUTUS			
		27,942.000 L.F.		
	Jones Bros. Contractors, LLC		\$5.9200	\$165,416.64
	Civil Constructors, LLC		\$6.2000	\$173,240.40
	Eutaw Construction Company, Inc.		\$6.4000	\$178,828.80
790-40.73	OH PRI COND			
		3,276.000 L.F.		
	Jones Bros. Contractors, LLC		\$2.1500	\$7,043.40
	Civil Constructors, LLC		\$2.3000	\$7,534.80
	Eutaw Construction Company, Inc.		\$2.3000	\$7,534.80

		UNIT PRICE	EXTENSION
		UNIT PRICE	EXTENSION
790-41.13 UG PRI COND 1/0 AL 25KV			
	249.000 L.F.		
Jones Bros. Contractors, LLC	0.000	\$16.0800	\$4,003.92
Civil Constructors, LLC		\$17.0000	\$4,233.00
Eutaw Construction Company, Inc.		\$17.2500	\$4,295.25
790-41.46 UG SEC COND 1/0 AL TPLX			
	213.000 L.F.		
Jones Bros. Contractors, LLC		\$12.6100	\$2,685.93
Civil Constructors, LLC		\$14.0000	\$2,982.00
Eutaw Construction Company, Inc.		\$13.5000	\$2,875.50
790-43,27 OUTDOOR TERMINATOR URD 25KV			
	11.000 EACH		
Jones Bros. Contractors, LLC		\$985.0000	\$10,835.00
Civil Constructors, LLC		\$1,030.0000	\$11,330.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$11,000.00
790-43.46 SECONDARY PULLBOX LARGE			
	4.000 EACH	.	•
Jones Bros. Contractors, LLC		\$1,400.0000	\$5,600.00
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$1,460.0000 \$2,000.0000	\$5,840.00 \$8,000.00
Ediaw Constituction Company, Inc.		Ψ2,000.0000	φο,000.00
790-43.47 PRIMARY PULLBOX			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$1,845.0000	\$5,535.00
Civil Constructors, LLC		\$1,920.0000	\$5,760.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$6,000.00
700 42 FO SECONDARY RISER W/ 2IN CONDUIT			
790-43.50 SECONDARY RISER W/ 2IN CONDUIT	5.000 EACH		
Jones Bros. Contractors, LLC	3.000 EACH	\$1,060.0000	\$5,300.00
Civil Constructors, LLC		\$1,110.0000	\$5,550.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$5,000.00
790-43.51 SECONDARY RISER W/ 3IN CONDUIT			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$1,155.0000	\$1,155.00
Civil Constructors, LLC		\$1,210.0000	\$1,210.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$1,000.00
790-43.58 3PH PRIMARY RISER W/ 6IN CONDUIT			
	7.000 EACH		
Jones Bros. Contractors, LLC		\$3,375.0000	\$23,625.00
Civil Constructors, LLC		\$3,520.0000	\$24,640.00
Eutaw Construction Company, Inc.		\$4,000.0000	\$28,000.00

			UNIT PRICE	EXTENSION
790-46.01	1PH TRANSFORMER			
		30.000 EACH		
	Jones Bros. Contractors, LLC		\$620.0000	\$18,600.00
	Civil Constructors, LLC		\$646.0000	\$19,380.00
	Eutaw Construction Company, Inc.		\$670.0000	\$20,100.00
790-49.02	3PH XFMR BNK POLE MTD W/ FUSE/ARRESTERS			
		2.000 EACH		
	Jones Bros. Contractors, LLC		\$4,625.0000	\$9,250.00
	Civil Constructors, LLC		\$4,820.0000	\$9,640.00
	Eutaw Construction Company, Inc.		\$5,000.0000	\$10,000.00
790-52.04	15KVA 1PH OH XFORMER 7.2KV 120/240			
		3.000 EACH	.	
	Jones Bros. Contractors, LLC		\$1,010.0000	\$3,030.00
	Civil Constructors, LLC		\$1,060.0000	\$3,180.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$3,000.00
790-52.06	25KVA 1PH OH XFORMER 7.2KV 120/240			
		2.000 EACH	.	
	Jones Bros. Contractors, LLC		\$1,010.0000	\$2,020.00
	Civil Constructors, LLC Eutaw Construction Company, Inc.		\$1,060.0000 \$1,000.0000	\$2,120.00 \$2,000.00
	Eulaw Construction Company, Inc.		\$1,000.0000	\$2,000.00
790-59.03	CUTOUT KNIFE SWITCH-SNGL LOADBREAK 25KV	05 000 F4 OU		
	James Brees Combrestons III C	25.000 EACH	#000 0000	#40 500 00
	Jones Bros. Contractors, LLC Civil Constructors, LLC		\$660.0000 \$687.0000	\$16,500.00 \$17,175.00
	Eutaw Construction Company, Inc.		\$710.0000	\$17,175.00 \$17,750.00
	Ediaw Construction Company, inc.		ψ7 10.0000	ψ17,730.00
790-61.01	1PH FUSE CUTOUT XARM MOUNT 25KV	50 000 5100		
	James Bres. Contractors III C	50.000 EACH	\$405,0000	\$22.050.00
	Jones Bros. Contractors, LLC Civil Constructors, LLC		\$465.0000 \$484.0000	\$23,250.00 \$24,200.00
	Eutaw Construction Company, Inc.		\$500.0000	\$25,000.00
790-61.05	2 - 1PH SECTIONALIZERS OR RECLOSERS 25KV			
700 01.00	2 W W S S W W S S S S S S S S S S S S S	2.000 EACH		
	Jones Bros. Contractors, LLC	2.000 EAGI1	\$5,765.0000	\$11,530.00
	Civil Constructors, LLC		\$6,000.0000	\$12,000.00
	Eutaw Construction Company, Inc.		\$6,000.0000	\$12,000.00
790-61.10	3PH SECTLR OR RECL W/ BYPASS SW 25KV	1.000 EACH		
	Jones Bros. Contractors, LLC	1.000 LAGII	\$6,005.0000	\$6,005.00
	Civil Constructors, LLC		\$6,250.0000	\$6,250.00
	Eutaw Construction Company, Inc.		\$6,000.0000	\$6,000.00
	1 2		. ,	, ,

			CO	NTRACT CNR136
			UNIT PRICE	EXTENSION
790-65.06 I	LIGHTNING ARRESTER POLE MTD 18 KV			
		13.000 EACH		
	Jones Bros. Contractors, LLC		\$440.0000	\$5,720.00
	Civil Constructors, LLC		\$458.0000	\$5,954.00
i	Eutaw Construction Company, Inc.		\$470.0000	\$6,110.00
790-65.07 I	LIGHTNING ARRESTOR 18KV INTERMEDIATE			
		6.000 EACH		
	Jones Bros. Contractors, LLC		\$435.0000	\$2,610.00
(Civil Constructors, LLC		\$453.0000	\$2,718.00
E	Eutaw Construction Company, Inc.		\$470.0000	\$2,820.00
790-68.01 l	POLE GROUND ROD TYPE			
		65.000 EACH		
	Jones Bros. Contractors, LLC		\$335.0000	\$21,775.00
(Civil Constructors, LLC		\$349.0000	\$22,685.00
E	Eutaw Construction Company, Inc.		\$360.0000	\$23,400.00
790-68.13	SGL PHASE MOUNTING BRACKET - FIBERGLASS			
		22.000 EACH		
	Jones Bros. Contractors, LLC		\$130.0000	\$2,860.00
	Civil Constructors, LLC		\$136.0000	\$2,992.00
i	Eutaw Construction Company, Inc.		\$140.0000	\$3,080.00
790-69.04 I	FIBERGLASS CROSSARM ASSEMBLY			
		4.000 EACH		
	Jones Bros. Contractors, LLC		\$1,345.0000	\$5,380.00
	Civil Constructors, LLC		\$1,400.0000	\$5,600.00
[Eutaw Construction Company, Inc.		\$1,000.0000	\$4,000.00
790-69.06 I	HARDWARE FOR SGL PH CONV TRANS			
		30.000 EACH		
	Jones Bros. Contractors, LLC		\$225.0000	\$6,750.00
	Civil Constructors, LLC		\$235.0000	\$7,050.00
[Eutaw Construction Company, Inc.		\$240.0000	\$7,200.00
790-69.26 I	EXTENSION LINK - EPOXY -1FT			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$80.0000	\$80.00
	Civil Constructors, LLC		\$84.0000	\$84.00
E	Eutaw Construction Company, Inc.		\$90.0000	\$90.00
790-69.27 I	EXTENSION LINK - EPOXY -4FT			

6.000 EACH

Jones Bros. Contractors, LLC

Eutaw Construction Company, Inc.

Civil Constructors, LLC

\$600.00 \$630.00

\$660.00

\$100.0000

\$105.0000

\$110.0000

		C	CONTRACT CNR136
		UNIT PRICE	EXTENSION
790-69.33 DEADEND ASSEMBLY			
	1.000 EACH	•	* =
Jones Bros. Contractors, LLC		\$1,465.0000	\$1,465.00
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$1,530.0000	\$1,530.00
Eulaw Construction Company, Inc.		\$2,000.0000	\$2,000.00
790-70.11 STREET LIGHT - HPS (250 WATT)			
	37.000 EACH		
Jones Bros. Contractors, LLC		\$770.0000	\$28,490.00
Civil Constructors, LLC		\$802.0000	\$29,674.00
Eutaw Construction Company, Inc.		\$830.0000	\$30,710.00
790-70.20 STREET LIGHT (PRIVATE LIGHT)			
, ,	4.000 EACH		
Jones Bros. Contractors, LLC		\$315.0000	\$1,260.00
Civil Constructors, LLC		\$328.0000	\$1,312.00
Eutaw Construction Company, Inc.		\$340.0000	\$1,360.00
790-98.01 REMOVE WIRE			
	69,485.000 L.F.		
Jones Bros. Contractors, LLC	·	\$2.7700	\$192,473.45
Civil Constructors, LLC		\$2.9000	\$201,506.50
Eutaw Construction Company, Inc.		\$3.0000	\$208,455.00
790-98.02 REMOVE POLES			
	78.000 EACH		
Jones Bros. Contractors, LLC	7 0.000 = 7.011	\$445.0000	\$34,710.00
Civil Constructors, LLC		\$463.0000	\$36,114.00
Eutaw Construction Company, Inc.		\$480.0000	\$37,440.00
790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS			
TO COLOR MEMORE I MANINE MANINE MI MANINE	670.000 EACH		
Jones Bros. Contractors, LLC	070.000 E7011	\$330.0000	\$221,100.00
Civil Constructors, LLC		\$344.0000	\$230,480.00
Eutaw Construction Company, Inc.		\$350.0000	\$234,500.00
791-01.02 2IN STEEL GAS MAIN			
731-01.02 ZIN OTELE GAO MAIN	750.000 L.F.		
Jones Bros. Contractors, LLC		\$50.0000	\$37,500.00
Civil Constructors, LLC		\$159.0000	\$119,250.00
Eutaw Construction Company, Inc.		\$47.0000	\$35,250.00
791-01.06 8IN STEEL GAS MAIN			
	12,360.000 L.F.		
Jones Bros. Contractors, LLC	,	\$125.0000	\$1,545,000.00
Civil Constructors, LLC		\$118.0000	\$1,458,480.00
Futaw Canstruction Company Inc		\$120,0000	\$1,493,200,00

Eutaw Construction Company, Inc.

\$1,483,200.00

\$120.0000

		C	DIVINACI CINNISO
		UNIT PRICE	EXTENSION
791-01.22 8IN POWERCRETE CTD HP STL GAS MN-DIR DRILL			
	1,440.000 L.F.		
Jones Bros. Contractors, LLC		\$270.0000	\$388,800.00
Civil Constructors, LLC		\$344.0000	\$495,360.00
Eutaw Construction Company, Inc.		\$260.0000	\$374,400.00
791-04.19 HDD <2IN STEEL PIPE - UNCONSOLIDATED			
	2,500.000 L.F.		
Jones Bros. Contractors, LLC		\$140.0000	\$350,000.00
Civil Constructors, LLC		\$141.0000	\$352,500.00
Eutaw Construction Company, Inc.		\$130.0000	\$325,000.00
791-06.31 CONNECT TO 2IN EX. STL MAIN W/ STOPPLE			
	8.000 EACH		
Jones Bros. Contractors, LLC		\$7,000.0000	\$56,000.00
Civil Constructors, LLC		\$8,280.0000	\$66,240.00
Eutaw Construction Company, Inc.		\$6,000.0000	\$48,000.00
791-06.32 CONNECT TO 4IN EX. STL MAIN W/ STOPPLE			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$28,000.0000	\$84,000.00
Civil Constructors, LLC		\$9,410.0000	\$28,230.00
Eutaw Construction Company, Inc.		\$27,000.0000	\$81,000.00
791-06.33 CONNECT TO 6IN EX. STL MAIN W/ STOPPLE			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$35,000.0000	\$35,000.00
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$9,410.0000	\$9,410.00
Eulaw Construction Company, Inc.		\$33,000.0000	\$33,000.00
791-07.09 2IN STEEL GAS VALVE ASSEMBLY			
	8.000 EACH	A 44.000.000	4440.000.00
Jones Bros. Contractors, LLC		\$14,000.0000	\$112,000.00 \$81,280.00
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$10,160.0000 \$13,000.0000	\$1,280.00
Ediaw Construction Company, Inc.		ψ13,000.0000	ψ10 -1 ,000.00
791-07.10 4IN STEEL GAS VALVE ASSEMBLY			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$17,500.0000	\$17,500.00
Civil Constructors, LLC		\$10,160.0000	\$10,160.00
Eutaw Construction Company, Inc.		\$16,000.0000	\$16,000.00
791-07.12 8IN STEEL GAS VALVE ASSEMBLY			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$26,650.0000	\$53,300.00
Civil Constructors, LLC		\$20,310.0000	\$40,620.00
Eutaw Construction Company, Inc.		\$25,000.0000	\$50,000.00

		C	CONTRACT CNR136
		UNIT PRICE	EXTENSION
791-08.12 3/4IN STEEL SERVICE PIPE			
	4,900.000 L.F.		
Jones Bros. Contractors, LLC		\$75.0000	\$367,500.00
Civil Constructors, LLC		\$206.0000	\$1,009,400.00
Eutaw Construction Company, Inc.		\$70.0000	\$343,000.00
791-10.01 RETIRE IN PLACE 3/4IN SERV CUT & PLUG			
	49.000 EACH		
Jones Bros. Contractors, LLC		\$300.0000	\$14,700.00
Civil Constructors, LLC		\$8,910.0000	\$436,590.00
Eutaw Construction Company, Inc.		\$270.0000	\$13,230.00
791-10.04 RETIRE IN PLACE 2IN SERV CUT & PLUG			
	8.000 EACH		
Jones Bros. Contractors, LLC		\$1,000.0000	\$8,000.00
Civil Constructors, LLC		\$8,910.0000	\$71,280.00
Eutaw Construction Company, Inc.		\$900.0000	\$7,200.00
791-10.05 RETIRE IN PLACE 4IN SERV CUT & PLUG			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$1,750.0000	\$1,750.00
Civil Constructors, LLC		\$8,910.0000	\$8,910.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$2,000.00
793-01.06 POLE 35FT CLASS 3 WOOD			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$1,000.0000	\$2,000.00
Civil Constructors, LLC		\$1,120.0000	\$2,240.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$2,000.00
793-01.07 POLE 35FT CLASS 4 WOOD			
	61.000 EACH		
Jones Bros. Contractors, LLC		\$1,200.0000	\$73,200.00
Civil Constructors, LLC		\$1,150.0000	\$70,150.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$61,000.00
793-01.12 POLE 40FT CLASS 4 WOOD			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$1,400.0000	\$2,800.00
Civil Constructors, LLC		\$1,190.0000	\$2,380.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$4,000.00
793-01.16 POLE 45FT CLASS 2 WOOD			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$1,800.0000	\$1,800.00
Civil Constructors, LLC		\$1,390.0000	\$1,390.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$2,000.00

				CONTRACT CNR136
			UNIT PRICE	EXTENSION
			ONITTRICE	EXTENSION
793-01.41	ANCHOR 1IN			
100 01111		25.000 EACH		
	Jones Bros. Contractors, LLC	25.000 LACI1	\$500.0000	\$12,500.00
	Civil Constructors, LLC		\$533.0000	\$13,325.00
	Eutaw Construction Company, Inc.		\$540.0000	\$13,500.00
	1 2/		•	. ,
793-10.02	BURIED CABLE @ 36IN DEPTH			
		4,465.000 L.F.		
	Jones Bros. Contractors, LLC	.,	\$24.0000	\$107,160.00
	Civil Constructors, LLC		\$29.0000	\$129,485.00
	Eutaw Construction Company, Inc.		\$26.0000	\$116,090.00
793-10.20	EXPOSE EXISTING CABLE/CONDUIT (ALL DEPTHS)			
		575.000 L.F.		
	Jones Bros. Contractors, LLC		\$14.0000	\$8,050.00
	Civil Constructors, LLC		\$47.0000	\$27,025.00
	Eutaw Construction Company, Inc.		\$15.2500	\$8,768.75
793-11.07	8IN PEDESTAL W/TERMINAL			
		4.000 EACH		
	Jones Bros. Contractors, LLC		\$460.0000	\$1,840.00
	Civil Constructors, LLC		\$439.0000	\$1,756.00
	Eutaw Construction Company, Inc.		\$500.0000	\$2,000.00
793-11.10	12IN PEDESTAL			
		8.000 EACH		
	Jones Bros. Contractors, LLC		\$520.0000	\$4,160.00
	Civil Constructors, LLC		\$491.0000	\$3,928.00
	Eutaw Construction Company, Inc.		\$560.0000	\$4,480.00
793-11.19	MARKER POST			
		13.000 EACH		
	Jones Bros. Contractors, LLC		\$280.0000	\$3,640.00
	Civil Constructors, LLC		\$67.0000	\$871.00
	Eutaw Construction Company, Inc.		\$300.0000	\$3,900.00
702 42 04	DIG SPLICE PIT 80 C.F.			
193-12.01	DIG SPLICE FIT 00 G.F.	0.000 54 011		
	lance Drag Contractors II C	9.000 EACH	#4 000 0000	#40.000.00
	Jones Bros. Contractors, LLC		\$1,200.0000	\$10,800.00 \$0,450.00
	Civil Constructors, LLC		\$1,050.0000 \$1,000.0000	\$9,450.00 \$9,000.00
	Eutaw Construction Company, Inc.		Φ1,000.0000	φ9,000.00

1,663.000 L.F.

793-13.07 4IN SCHEDULE 40 PVC

Jones Bros. Contractors, LLC

Eutaw Construction Company, Inc.

Civil Constructors, LLC

\$9,978.00

\$3,492.30

\$10,809.50

\$6.0000

\$2.1000

\$6.5000

				CONTRACT C	NR136
			UNIT PRICE	EXTENS	SION
793-14.10	4IN CORE DRILL INTO MANHOLE				
		13.000 EACH			
	Jones Bros. Contractors, LLC		\$420.0000	\$5,460	0.00
	Civil Constructors, LLC		\$625.0000	\$8,125	
	Eutaw Construction Company, Inc.		\$460.0000	\$5,980	0.00
793-14.12	1 1/4IN INNERDUCT				
		1,220.000 L.F.			
	Jones Bros. Contractors, LLC		\$4.0000	\$4,880	0.00
	Civil Constructors, LLC		\$3.2000	\$3,904	1.00
	Eutaw Construction Company, Inc.		\$4.3000	\$5,246	6.00
793-14.13	1 1/2IN INNERDUCT				
		1,260.000 L.F.			
	Jones Bros. Contractors, LLC		\$5.0000	\$6,300	
	Civil Constructors, LLC		\$3.3000	\$4,158	
	Eutaw Construction Company, Inc.		\$5.4000	\$6,804	1.00
793-16.06	STRAIGHT BORE/SLEEVE 4IN				
		500.000 L.F.			
	Jones Bros. Contractors, LLC		\$86.0000	\$43,000	0.00
	Civil Constructors, LLC		\$124.0000	\$62,000	0.00
	Eutaw Construction Company, Inc.		\$90.0000	\$45,000	0.00
793-16.21	ADJUST MANHOLE LID				
		12.000 EACH			
	Jones Bros. Contractors, LLC		\$1,500.0000	\$18,000	0.00
	Civil Constructors, LLC		\$2,010.0000	\$24,120	0.00
	Eutaw Construction Company, Inc.		\$2,000.0000	\$24,000	0.00
793-16.22	GROUND BED				
		13.000 EACH			
	Jones Bros. Contractors, LLC		\$800.0000	\$10,400	0.00
	Civil Constructors, LLC		\$731.0000	\$9,503	3.00
	Eutaw Construction Company, Inc.		\$870.0000	\$11,310	0.00
793-98.04	REMOVE POLES ALL SIZES				
		74.000 EACH			
	Jones Bros. Contractors, LLC		\$100.0000	\$7,400	0.00
	Civil Constructors, LLC		\$261.0000	\$19,314	4.00
	Eutaw Construction Company, Inc.		\$110.0000	\$8,140	0.00
793-98.06	REMOVE PEDESTALS				
		4.000 EACH			
	Jones Bros. Contractors, LLC		\$100.0000	\$400	
	Civil Constructors, LLC		\$53.0000	\$212	
	Eutaw Construction Company, Inc.		\$110.0000	\$440	0.00

	UNIT PRICE	EXTENSION
795-01.01 4IN DIP RESTRAINED JOINT WATER LINE		
20.000 L.F.		
Jones Bros. Contractors, LLC	\$80.1000	\$1,602.00
Civil Constructors, LLC	\$79.0000	\$1,580.00
Eutaw Construction Company, Inc.	\$70.0000	\$1,400.00
795-01.02 4IN DIP SLIP JOINT WATER LINE		
20.000 L.F.		
Jones Bros. Contractors, LLC	\$84.4000	\$1,688.00
Civil Constructors, LLC	\$76.0000	\$1,520.00
Eutaw Construction Company, Inc.	\$60.0000	\$1,200.00
795-01.03 6IN DIP RESTRAINED JOINT WATER LINE		
270.000 L.F.		
Jones Bros. Contractors, LLC	\$56.1500	\$15,160.50
Civil Constructors, LLC	\$67.0000	\$18,090.00
Eutaw Construction Company, Inc.	\$60.0000	\$16,200.00
795-01.05 8IN DIP RESTRAINED JOINT WATER LINE		
2,850.000 L.F.		
Jones Bros. Contractors, LLC	\$58.4000	\$166,440.00
Civil Constructors, LLC	\$76.0000	\$216,600.00
Eutaw Construction Company, Inc.	\$80.0000	\$228,000.00
795-01.06 8IN DIP SLIP JOINT WATER LINE		
3,750.000 L.F.		
Jones Bros. Contractors, LLC	\$56.5000	\$211,875.00
Civil Constructors, LLC	\$72.0000	\$270,000.00
Eutaw Construction Company, Inc.	\$70.0000	\$262,500.00
795-01.09 12IN DIP RESTRAINED JOINT WATER LINE		
1,800.000 L.F.		
Jones Bros. Contractors, LLC	\$85.6000	\$154,080.00
Civil Constructors, LLC	\$96.0000	\$172,800.00
Eutaw Construction Company, Inc.	\$100.0000	\$180,000.00
795-01.10 12IN DIP SLIP JOINT WATER LINE		
4,400.000 L.F.		
Jones Bros. Contractors, LLC	\$75.7500	\$333,300.00
Civil Constructors, LLC	\$85.0000	\$374,000.00
Eutaw Construction Company, Inc.	\$90.0000	\$396,000.00
795-01.15 18IN DIP RESTRAINED JOINT WATER LINE		
270.000 L.F.		
Jones Bros. Contractors, LLC	\$320.2500	\$86,467.50
Civil Constructors, LLC	\$163.0000	\$44,010.00
Eutaw Construction Company, Inc.	\$210.0000	\$56,700.00

			00	WINACI CINNISO
			UNIT PRICE	EXTENSION
795-06.04	CONNECT TO 6IN WATER LINE			
		5.000 EACH		
	Jones Bros. Contractors, LLC		\$2,520.0000	\$12,600.00
	Civil Constructors, LLC		\$1,660.0000	\$8,300.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$5,000.00
795-06.05	CONNECT TO 8IN WATER LINE			
		5.000 EACH		
	Jones Bros. Contractors, LLC		\$2,110.0000	\$10,550.00
	Civil Constructors, LLC		\$1,900.0000	\$9,500.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$5,000.00
795-06.07	CONNECT TO 12IN WATER LINE			
		7.000 EACH		
	Jones Bros. Contractors, LLC		\$2,850.0000	\$19,950.00
	Civil Constructors, LLC		\$2,280.0000	\$15,960.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$7,000.00
795-06.10	CONNECT TO 18IN WATER LINE	0.000 54.00		
		3.000 EACH	4.475 0000	A40.40 500
	Jones Bros. Contractors, LLC		\$4,475.0000	\$13,425.00
	Civil Constructors, LLC		\$4,090.0000	\$12,270.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$3,000.00
795-06.32	CUT AND CAP 4IN WATERLINE			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$465.0000	\$465.00
	Civil Constructors, LLC		\$480.0000	\$480.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$1,000.00
795-06.33	CUT AND CAP 6IN WATERLINE			
		3.000 EACH		
	Jones Bros. Contractors, LLC		\$485.0000	\$1,455.00
	Civil Constructors, LLC		\$545.0000	\$1,635.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$3,000.00
795-06.34	CUT AND CAP 8IN WATERLINE			
		7.000 EACH		
	Jones Bros. Contractors, LLC		\$665.0000	\$4,655.00
	Civil Constructors, LLC		\$724.0000	\$5,068.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$7,000.00
795-06.36	CUT & CAP 10IN WATERLINE			
		5.000 EACH		
	Jones Bros. Contractors, LLC		\$915.0000	\$4,575.00
	Civil Constructors, LLC		\$816.0000	\$4,080.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$5,000.00

			UNIT PRICE	EXTENSION
795-06.39	CUT AND CAP 16IN WATER LINE			
		2.000 EACH		
	Jones Bros. Contractors, LLC		\$1,965.0000	\$3,930.00
	Civil Constructors, LLC		\$1,550.0000	\$3,100.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$2,000.00
795-07.13	12IN X 8IN TAPPING SLEEVE AND VALVE			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$5,075.0000	\$5,075.00
	Civil Constructors, LLC		\$7,130.0000	\$7,130.00
	Eutaw Construction Company, Inc.		\$5,000.0000	\$5,000.00
795-07.23	18IN X 12IN TAPPING SLEEVE & VALVE			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$7,900.0000	\$7,900.00
	Civil Constructors, LLC		\$12,750.0000	\$12,750.00
	Eutaw Construction Company, Inc.		\$8,000.0000	\$8,000.00
795-08.03	4IN GATE VALVE ASSEMBLY			
		1.000 EACH		
	Jones Bros. Contractors, LLC		\$1,135.0000	\$1,135.00
	Civil Constructors, LLC		\$964.0000	\$964.00
	Eutaw Construction Company, Inc.		\$2,000.0000	\$2,000.00
795-08.04	6IN GATE VALVE ASSEMBLY			
		21.000 EACH		
	Jones Bros. Contractors, LLC		\$1,122.0000	\$23,562.00
	Civil Constructors, LLC		\$1,140.0000	\$23,940.00
	Eutaw Construction Company, Inc.		\$2,000.0000	\$42,000.00
795-08.05	8IN GATE VALVE ASSEMBLY			
		28.000 EACH		
	Jones Bros. Contractors, LLC		\$1,740.0000	\$48,720.00
	Civil Constructors, LLC		\$1,550.0000	\$43,400.00
	Eutaw Construction Company, Inc.		\$3,000.0000	\$84,000.00
795-08.09	12IN GATE VALVE ASSEMBLY			
		11.000 EACH		
	Jones Bros. Contractors, LLC		\$3,165.0000	\$34,815.00
	Civil Constructors, LLC		\$2,570.0000	\$28,270.00
	Eutaw Construction Company, Inc.		\$4,000.0000	\$44,000.00
795-09.01	3/4IN WATER SERVICE METER ASSEMBLY			
		32.000 EACH		
	Jones Bros. Contractors, LLC		\$1,430.0000	\$45,760.00
	Civil Constructors, LLC		\$842.0000	\$26,944.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$32,000.00

CONTRACT	CNR136
----------	--------

			UNIT PRICE	EXTENSION
795-09.02 1	IN WATER SERVICE METER ASSEMBLY			
		1.000 EACH		
J	ones Bros. Contractors, LLC		\$1,675.0000	\$1,675.00
C	Civil Constructors, LLC		\$1,130.0000	\$1,130.00
E	Eutaw Construction Company, Inc.		\$2,000.0000	\$2,000.00
795-09.04 2	IN WATER SERVICE METER ASSEMBLY			
		1.000 EACH		
	ones Bros. Contractors, LLC		\$4,365.0000	\$4,365.00
	Civil Constructors, LLC		\$6,290.0000	\$6,290.00
E	Eutaw Construction Company, Inc.		\$6,000.0000	\$6,000.00
795-09.07 6	IN WATER SERVICE METER ASSEMBLY			
		2.000 EACH		
	ones Bros. Contractors, LLC		\$34,525.0000	\$69,050.00
	Civil Constructors, LLC		\$40,190.0000	\$80,380.00
E	Eutaw Construction Company, Inc.		\$28,000.0000	\$56,000.00
795-09.08 8	IN WATER SERVICE METER ASSEMBLY			
		1.000 EACH		
	ones Bros. Contractors, LLC		\$44,630.0000	\$44,630.00
	Divil Constructors, LLC		\$62,750.0000	\$62,750.00
E	Eutaw Construction Company, Inc.		\$29,000.0000	\$29,000.00
795-09.09 F	RELOCATE/RECONNECT SERVICE ASSEMBLY			
		9.000 EACH		•
	ones Bros. Contractors, LLC		\$930.0000	\$8,370.00
	Civil Constructors, LLC		\$659.0000 \$1,000.0000	\$5,931.00 \$9,000.00
_	Eutaw Construction Company, Inc.		\$1,000.0000	φ9,000.00
795-09.27 T	T OF 2IN PVC CASING FOR SERVICE PIPE-ROCK			
		1,600.000 L.F.	*	
	lones Bros. Contractors, LLC		\$32.5000	\$52,000.00
	Civil Constructors, LLC Eutaw Construction Company, Inc.		\$47.0000 \$50.0000	\$75,200.00 \$80,000.00
_	Ediaw Construction Company, Inc.		ψ50.0000	ψου,σου.σο
795-09.28 3	4/4IN COPPER SERVICE PIPE			
		2,175.000 L.F.	*	# 04.400.50
	ones Bros. Contractors, LLC		\$14.3000	\$31,102.50
	Civil Constructors, LLC Eutaw Construction Company, Inc.		\$34.0000 \$6.7000	\$73,950.00 \$14,572.50
	eutaw Construction Company, inc.		\$6.7000	\$14,572.50
795-09.29 1	IN COPPER SERVICE PIPE			
		250.000 L.F.	*	.
	ones Bros. Contractors, LLC		\$19.2500	\$4,812.50
	Civil Constructors, LLC		\$43.0000	\$10,750.00 \$1,075.00
E	Eutaw Construction Company, Inc.		\$7.9000	\$1,975.00

		UNIT PRICE	EXTENSION
795-09.31 2IN TYPE "K" COPPER WATER LINE			
	175.000 L.F.		
Jones Bros. Contractors, LLC		\$30.2500	\$5,293.75
Civil Constructors, LLC		\$52.0000	\$9,100.00
Eutaw Construction Company, Inc.		\$14.7500	\$2,581.25
795-10.03 1IN AUTO AIR RELEASE VALVE ASSEMBLY			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$1,585.0000	\$6,340.00
Civil Constructors, LLC		\$1,390.0000	\$5,560.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$4,000.00
795-10.05 2IN AUTO AIR RELEASE VALVE ASSEMBLY			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$2,225.0000	\$6,675.00
Civil Constructors, LLC		\$2,120.0000	\$6,360.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$6,000.00
795-11.02 FIRE HYDRANT ASSEMBLY			
	18.000 EACH		
Jones Bros. Contractors, LLC		\$6,100.0000	\$109,800.00
Civil Constructors, LLC		\$6,060.0000	\$109,080.00
Eutaw Construction Company, Inc.		\$4,000.0000	\$72,000.00
795-12.01 REMOVE FIRE HYDRANT			
	7.000 EACH		
Jones Bros. Contractors, LLC		\$560.0000	\$3,920.00
Civil Constructors, LLC		\$867.0000	\$6,069.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$7,000.00
795-12.03 PIPE GROUTING			
	1.000 LS		
Jones Bros. Contractors, LLC		\$31,000.0000	\$31,000.00
Civil Constructors, LLC		\$81,460.0000	\$81,460.00
Eutaw Construction Company, Inc.		\$45,000.0000	\$45,000.00
795-12.04 REMOVE EX BACKFLOW APPARATUS			
	1.000 LS		
Jones Bros. Contractors, LLC		\$1,300.0000	\$1,300.00
Civil Constructors, LLC		\$375.0000	\$375.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$1,000.00
795-12.26 REMOVE 6IN METER ASSEMBLY			
	1.000 EACH		
Jones Bros. Contractors, LLC		\$3,828.0000	\$3,828.00
Civil Constructors, LLC		\$750.0000	\$750.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$2,000.00

			CC	MIRACI CIRTISO
			UNIT PRICE	EXTENSION
795-13.01	DI FITTINGS			
		28,100.000 LB.		
	Jones Bros. Contractors, LLC		\$0.5000	\$14,050.00
	Civil Constructors, LLC		\$5.3000	\$148,930.00
	Eutaw Construction Company, Inc.		\$9.6000	\$269,760.00
795-13.05	CREEK CROSSING (1)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$1,640.0000	\$1,640.00
	Civil Constructors, LLC		\$12,260.0000	\$12,260.00
	Eutaw Construction Company, Inc.		\$4,000.0000	\$4,000.00
795-13.06	CREEK CROSSING (2)			
		1.000 LS		
	Jones Bros. Contractors, LLC		\$1,640.0000	\$1,640.00
	Civil Constructors, LLC		\$8,990.0000	\$8,990.00
	Eutaw Construction Company, Inc.		\$4,000.0000	\$4,000.00
795-14.05	CONCRETE ENCASEMENT			
		50.000 L.F.		
	Jones Bros. Contractors, LLC		\$46.7500	\$2,337.50
	Civil Constructors, LLC		\$110.0000	\$5,500.00
	Eutaw Construction Company, Inc.		\$60.0000	\$3,000.00
795-14.08	RESTORE ASPHALT			
		100.000 S.Y.		
	Jones Bros. Contractors, LLC		\$63.0000	\$6,300.00
	Civil Constructors, LLC		\$159.0000	\$15,900.00
	Eutaw Construction Company, Inc.		\$38.0000	\$3,800.00
795-15.07	24IN STEEL CASING PIPE OPEN CUT METHOD			
		80.000 L.F.		
	Jones Bros. Contractors, LLC		\$139.0000	\$11,120.00
	Civil Constructors, LLC		\$268.0000	\$21,440.00
	Eutaw Construction Company, Inc.		\$190.0000	\$15,200.00
795-15.11	36IN STEEL CASING PIPE OPEN CUT METHOD			
		100.000 L.F.		
	Jones Bros. Contractors, LLC		\$478.5000	\$47,850.00
	Civil Constructors, LLC		\$489.0000	\$48,900.00
	Eutaw Construction Company, Inc.		\$1,000.0000	\$100,000.00
795-15.25	16IN STEEL CASING PIPE OPEN CUT METHOD			
		1,030.000 L.F.		
	Jones Bros. Contractors, LLC		\$224.7500	\$231,492.50
	Civil Constructors, LLC		\$196.0000	\$201,880.00
	Eutaw Construction Company, Inc.		\$150.0000	\$154,500.00

				CONTRACT CINCISO
			UNIT PRICE	EXTENSION
795-16.36 6IN BACKFLO	DW PREVENTER ASSEMBLY			
		1.000 EACH		
Jones Bros. (Contractors, LLC		\$21,865.0000	\$21,865.00
Civil Construc			\$16,620.0000	\$16,620.00
	ruction Company, Inc.		\$13,000.0000	\$13,000.00
797-03.08 6IN PVC FOR	CE MAIN			
		8,550.000 L.F.		
Jones Bros. (Contractors, LLC		\$37.9500	\$324,472.50
Civil Construc			\$45.0000	\$384,750.00
Eutaw Constr	ruction Company, Inc.		\$43.0000	\$367,650.00
797-05.02 8IN DIP GRAV	/ITY SEWER 6FT-12FT DEPTH			
		1,380.000 L.F.		
Jones Bros. (Contractors, LLC		\$103.3000	\$142,554.00
Civil Construc	ctors, LLC		\$111.0000	\$153,180.00
Eutaw Constr	ruction Company, Inc.		\$170.0000	\$234,600.00
797-05.03 8IN DIP GRAV	/ITY SEWER 12FT-18FT DEPTH			
		3,400.000 L.F.		
Jones Bros. (Contractors, LLC	·	\$148.5500	\$505,070.00
Civil Construc			\$150.0000	\$510,000.00
Eutaw Constr	ruction Company, Inc.		\$190.0000	\$646,000.00
797-05.51 8IN PVC GRA	VITY SEWER 0FT-6FT DEPTH			
		100.000 L.F.		
Jones Bros. 0	Contractors, LLC		\$59.2500	\$5,925.00
Civil Construc			\$82.0000	\$8,200.00
Eutaw Constr	ruction Company, Inc.		\$60.0000	\$6,000.00
797-05.52 8IN PVC GRA	VITY SEWER 6FT-12FT DEPTH			
		1,220.000 L.F.		
Jones Bros. 0	Contractors, LLC		\$94.7500	\$115,595.00
Civil Construc	ctors, LLC		\$90.0000	\$109,800.00
Eutaw Constr	ruction Company, Inc.		\$140.0000	\$170,800.00
797-06.87 OPEN CUT 81	N STEEL CASING PIPE			
		220.000 L.F.		
Jones Bros. (Contractors, LLC		\$131.8000	\$28,996.00
Civil Construc			\$165.0000	\$36,300.00
Eutaw Constr	ruction Company, Inc.		\$90.0000	\$19,800.00
797-06.89 OPEN CUT 12	PIN STEEL CASING PIPE			
		380.000 L.F.		
Jones Bros. 0	Contractors, LLC		\$236.5000	\$89,870.00
Civil Construc	ctors, LLC		\$174.0000	\$66,120.00
Eutaw Constr	ruction Company, Inc.		\$180.0000	\$68,400.00

			C.	SINTRACT CINKTSO
			UNIT PRICE	EXTENSION
797-06.90 OPEN CUT	16IN STEEL CASING PIPE			
		460.000 L.F.		
Jones Bros.	. Contractors, LLC		\$324.8500	\$149,431.00
Civil Constr	uctors, LLC		\$199.0000	\$91,540.00
Eutaw Cons	struction Company, Inc.		\$440.0000	\$202,400.00
797-06.92 OPEN CUT 2	20IN STEEL CASING PIPE			
		105.000 L.F.		
Jones Bros.	. Contractors, LLC		\$247.3500	\$25,971.75
Civil Constr	uctors, LLC		\$194.0000	\$20,370.00
Eutaw Cons	struction Company, Inc.		\$160.0000	\$16,800.00
797-07.03 48IN MANHO	OLE 6FT-8FT DEPTH			
		4.000 EACH		
	. Contractors, LLC		\$3,685.0000	\$14,740.00
Civil Constru			\$5,450.0000	\$21,800.00
Eutaw Cons	struction Company, Inc.		\$3,000.0000	\$12,000.00
797-07.04 48IN MANHO	OLE 8FT-10FT DEPTH			
		4.000 EACH		
	. Contractors, LLC		\$4,340.0000	\$17,360.00
Civil Constr			\$6,110.0000	\$24,440.00
Eutaw Cons	struction Company, Inc.		\$4,000.0000	\$16,000.00
797-07.05 48IN MANHO	OLE 10FT-12FT DEPTH			
		7.000 EACH		
	. Contractors, LLC		\$4,895.0000	\$34,265.00
Civil Constr	•		\$6,770.0000	\$47,390.00
Eutaw Cons	struction Company, Inc.		\$5,000.0000	\$35,000.00
797-07.17 60IN MANHO	OLE 12FT-14FT DEPTH			
		6.000 EACH		
	. Contractors, LLC		\$7,860.0000	\$47,160.00
Civil Constru			\$8,930.0000	\$53,580.00
Eutaw Cons	struction Company, Inc.		\$7,000.0000	\$42,000.00
797-07.18 60IN MANHO	OLE 14FT-16FT DEPTH			
		5.000 EACH		
	. Contractors, LLC		\$8,640.0000	\$43,200.00
Civil Constr			\$9,810.0000	\$49,050.00
Eutaw Cons	struction Company, Inc.		\$8,000.0000	\$40,000.00
797-07.19 60IN MANHO	OLE 16FT-20FT DEPTH			
		1.000 EACH		
	. Contractors, LLC		\$10,915.0000	\$10,915.00
Civil Constru			\$11,840.0000	\$11,840.00
Eutaw Cons	struction Company, Inc.		\$9,000.0000	\$9,000.00

		00	WINACI CINNISO
		UNIT PRICE	EXTENSION
797-07.56 MANHOLE DROP CONNECTION ASSEMBLY			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$900.0000	\$3,600.00
Civil Constructors, LLC		\$4,450.0000	\$17,800.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$8,000.00
797-07.80 REMOVE SEWER MANHOLE			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$1,400.0000	\$4,200.00
Civil Constructors, LLC		\$228.0000	\$684.00
Eutaw Construction Company, Inc.		\$690.0000	\$2,070.00
797-08.01 DI FITTINGS			
	4,000.000 LB.		
Jones Bros. Contractors, LLC		\$2.8000	\$11,200.00
Civil Constructors, LLC		\$7.5000	\$30,000.00
Eutaw Construction Company, Inc.		\$14.7500	\$59,000.00
797-08.05 6IN PVC PIPE FOR SERVICE LATERAL			
	300.000 L.F.		
Jones Bros. Contractors, LLC		\$31.4000	\$9,420.00
Civil Constructors, LLC		\$53.0000	\$15,900.00
Eutaw Construction Company, Inc.		\$50.0000	\$15,000.00
797-08.08 6IN CLEAN OUT ASSEMBLY			
	9.000 EACH		
Jones Bros. Contractors, LLC		\$600.0000	\$5,400.00
Civil Constructors, LLC		\$668.0000	\$6,012.00
Eutaw Construction Company, Inc.		\$920.0000	\$8,280.00
797-09.07 6IN PLUG VALVE ASSEMBLY			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$1,665.0000	\$3,330.00
Civil Constructors, LLC		\$3,280.0000	\$6,560.00
Eutaw Construction Company, Inc.		\$4,000.0000	\$8,000.00
797-09.26 2IN AIR/VAC VALVE ASSEMBLY			
	4.000 EACH		
Jones Bros. Contractors, LLC		\$3,850.0000	\$15,400.00
Civil Constructors, LLC		\$3,750.0000	\$15,000.00
Eutaw Construction Company, Inc.		\$3,000.0000	\$12,000.00
797-10.06 CONNECT 6IN LATERAL TO SEWER LINE			
	6.000 EACH		
Jones Bros. Contractors, LLC		\$725.0000	\$4,350.00
Civil Constructors, LLC		\$1,970.0000	\$11,820.00
Eutaw Construction Company, Inc.		\$1,000.0000	\$6,000.00

		UNIT PRICE	EXTENSION
797-10.09 CONNECT EX. 8IN SEWER TO NEW MANHOLE			
	12.000 EACH		
Jones Bros. Contractors, LLC		\$490.0000	\$5,880.00
Civil Constructors, LLC		\$1,800.0000	\$21,600.00
Eutaw Construction Company, Inc.		\$960.0000	\$11,520.00
797-10.17 CONNECT TO 6IN FORCE MAIN			
	2.000 EACH		
Jones Bros. Contractors, LLC		\$1,840.0000	\$3,680.00
Civil Constructors, LLC		\$3,000.0000	\$6,000.00
Eutaw Construction Company, Inc.		\$2,000.0000	\$4,000.00
797-11.25 RETIREIN PLACE 48IN MANHOLE			
	21.000 EACH		
Jones Bros. Contractors, LLC		\$535.0000	\$11,235.00
Civil Constructors, LLC		\$640.0000 \$820.0000	\$13,440.00 \$17,220.00
Eutaw Construction Company, Inc.		\$620.0000	\$17,220.00
797-11.30 RETIREIN PLACE EXISTING SEWER <8IN			
	5,550.000 L.F.		
Jones Bros. Contractors, LLC		\$2.2500	\$12,487.50
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$9.4000 \$3.0000	\$52,170.00 \$16,650.00
Eutaw Construction Company, Inc.		\$3.0000	\$10,030.00
797-11.38 BY-PASS PUMPING			
	1.000 LS	^	^
Jones Bros. Contractors, LLC		\$27,650.0000	\$27,650.00
Civil Constructors, LLC Eutaw Construction Company, Inc.		\$27,530.0000 \$9,000.0000	\$27,530.00 \$9,000.00
Eutaw Construction Company, Inc.		φ9,000.0000	φ9,000.00
797-11.39 TV INSPECTION			
	6,100.000 L.F.		
Jones Bros. Contractors, LLC		\$1.9000	\$11,590.00
Civil Constructors, LLC		\$2.0000 \$7.5000	\$12,200.00 \$45,750.00
Eutaw Construction Company, Inc.		\$7.5000	\$45,750.00
797-11.40 RESTORE ASPHALT			
	1,615.000 S.Y.		
Jones Bros. Contractors, LLC		\$64.0000	\$103,360.00
Civil Constructors, LLC		\$106.0000	\$171,190.00
Eutaw Construction Company, Inc.		\$38.0000	\$61,370.00
797-11.45 PIPE CHECK DAM			
	10.000 C.Y.		
Jones Bros. Contractors, LLC		\$206.0000	\$2,060.00
Civil Constructors, LLC		\$513.0000	\$5,130.00
Eutaw Construction Company, Inc.		\$80.0000	\$800.00

UNIT PRICE	EXTENSION

797-11.46 CONCRETE CAP

5.000 C.Y.

Jones Bros. Contractors, LLC	\$210.0000	\$1,050.00
Civil Constructors, LLC	\$513.0000	\$2,565.00
Eutaw Construction Company, Inc.	\$470.0000	\$2,350.00

SUB-TOTAL ROADWAY

Jones Bros. Contractors, LLC	\$17,863,283.04
Civil Constructors, LLC	\$20,472,244.42
Eutaw Construction Company, Inc.	\$21,829,174.38

SUB-TOTAL UTILITY

Jones Bros. Contractors, LLC	\$8,855,293.68
Civil Constructors, LLC	\$10,710,476.00
Eutaw Construction Company, Inc.	\$9,607,830.75

TOTAL CONTRACT

Jones Bros. Contractors, LLC	\$26,718,576.72
Civil Constructors, LLC	\$31,182,720.42
Eutaw Construction Company, Inc.	\$31,437,005,13

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF JUNE 23, 2017

WILLIAMSON COUNTY (Contract No. CNR235 Call 022)

STP-NH/HSIP-106(41),94014-3237-94,94014-8237-14

THE RESURFACING ON U.S. 431 (S.R. 106) FROM S.R. 397 (L.M. 12.48) TO S.R. 96 (L.M. 14.86).

PROJECT LENGTH - 2.380 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2017

DBE GOAL 6.00%

TOTAL CONTRACT

Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC \$417,939.00

\$479,299.50

CONTRACT C	NR235
------------	-------

			C	ONTRACT CNR235
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
KOADWA	AT CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		625.000 TON		
	Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC		\$18.7500 \$21.5000	\$11,718.75 \$13,437.50
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN	NG B-M2		
		250.000 TON		
	Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC		\$50.0000 \$61.5000	\$12,500.00 \$15,375.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		18.000 TON		
	Tennessee Valley Paving Co., Inc.		\$575.0000	\$10,350.00
	Vulcan Construction Materials, LLC		\$600.0000	\$10,800.00
411-01.10	ACS MIX(PG64-22) GRADING D	2,760.000 TON		
	Tennessee Valley Paving Co., Inc.	2,700.000 1014	\$80.1000	\$221,076.00
	Vulcan Construction Materials, LLC		\$83.5000	\$230,460.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (81	•		
		3.700 L.M.		
	Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC		\$2,000.0000 \$1,000.0000	\$7,400.00 \$3,700.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		2,734.000 TON		
	Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC		\$16.7500 \$22.5000	\$45,794.50 \$61,515.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
		2.000 EACH		
	Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC		\$400.0000 \$650.0000	\$800.00 \$1,300.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		5.000 EACH		
	Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC		\$200.0000 \$225.0000	\$1,000.00 \$1,125.00
705-04.05	GUARDRAIL TERMINAL (TYPE-IN-LINE)			
		1.000 EACH		
	Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC		\$875.0000 \$650.0000	\$875.00 \$650.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
		50.000 L.F.		
	Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC		\$22.0000 \$20.0000	\$1,100.00 \$1,000.00
				PAGE

CONTRACT	CNR235
----------	--------

			00	ittitivioi oitti200
			UNIT PRICE	EXTENSION
705-06.10	GR TERMINALTRAILING END (TYPE 13) MASH TL3			
		1.000 EACH		
	Tennessee Valley Paving Co., Inc.		\$1,250.0000	\$1,250.00
	Vulcan Construction Materials, LLC		\$900.0000	\$900.00
	valoan construction inaterials, LEC		ψ300.0000	φ300.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		5.000 EACH		
	Tennessee Valley Paving Co., Inc.		\$2,800.0000	\$14,000.00
	Vulcan Construction Materials, LLC		\$2,500.0000	\$12,500.00
706-01	GUARDRAIL REMOVED			
		075 000 1 5		
		375.000 L.F.		
	Tennessee Valley Paving Co., Inc.		\$1.2500	\$468.75
	Vulcan Construction Materials, LLC		\$1.0000	\$375.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Tannasaa Vallay Baying Callina	1.000 EG	\$7,000,0000	\$7,000,00
	Tennessee Valley Paving Co., Inc.		\$7,000.0000	\$7,000.00
	Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Tennessee Valley Paving Co., Inc.	20.000 27.011	\$35.0000	\$875.00
	Vulcan Construction Materials, LLC		\$5.0000	\$125.00
	vulcan construction materials, LLC		ф3.0000	\$125.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Tennessee Valley Paving Co., Inc.		\$25.0000	\$100.00
	Vulcan Construction Materials, LLC		\$5.0000	\$20.00
			*******	V =3.33
712-06	SIGNS (CONSTRUCTION)			
		576.000 S.F.		
	Tennessee Valley Paving Co., Inc.	0.0.000	\$8.5000	\$4,896.00
	Vulcan Construction Materials, LLC		\$9.5000	\$5,472.00
	vulcan construction iviaterials, LLC		ψ9.3000	ψ5,472.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		2.000 EACH		
	Tennessee Valley Paving Co., Inc.		\$100.0000	\$200.00
	Vulcan Construction Materials, LLC		\$100.0000	\$200.00
712 16 00	DAIL DOAD ADVANCE WARNING SIGN AND SUPPORT			
113-10.09	RAILROAD ADVANCE WARNING SIGN AND SUPPORT	2.000 EACH		
	Tananasa Vallau Barina Oa Ilaa	Z.UUU EACH	#440.0000	#000 00
	Tennessee Valley Paving Co., Inc.		\$110.0000	\$220.00
	Vulcan Construction Materials, LLC		\$180.0000	\$360.00
716-01.21	Snwplwble Pvmt Mrkrs (Bi-Dir)(1 Color)			
		166.000 EACH		
	Tannassaa Vallay Paying Co. Jac	100,000 EAGH	\$35.0000	¢ E 010 00
	Tennessee Valley Paving Co., Inc.			\$5,810.00 \$4,233.00
	Vulcan Construction Materials, LLC		\$25.5000	\$4,233.00

CONTRACT CN	ΙR	23	5
-------------	----	----	---

			CO	NIKACI CNK235
			UNIT PRICE	EXTENSION
716-01.22	Snwplwble Pvmt Mrkrs (Mono-Dir)(1 Color)			
		10.000 EACH		
	Tennessee Valley Paving Co., Inc.		\$35.0000	\$350.00
	Vulcan Construction Materials, LLC		\$25.5000	\$255.00
			¥=5.5555	*
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		350.000 L.F.		
	Tennessee Valley Paving Co., Inc.		\$6.0000	\$2,100.00
	Vulcan Construction Materials, LLC		\$10.2500	\$3,587.50
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING	G)		
		90.000 S.Y.		
	Tennessee Valley Paving Co., Inc.		\$20.0000	\$1,800.00
	Vulcan Construction Materials, LLC		\$20.2500	\$1,822.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	(0.00	84.000 L.F.		
	Tannagas Valley Baying Co. Inc.	64.000 L.F.	\$20,000	#4 COO OO
	Tennessee Valley Paving Co., Inc.		\$20.0000 \$12.2500	\$1,680.00 \$1,030.00
	Vulcan Construction Materials, LLC		\$12.2500	\$1,029.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		2.000 EACH		
	Tennessee Valley Paving Co., Inc.		\$200.0000	\$400.00
	Vulcan Construction Materials, LLC		\$155.0000	\$310.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	·	1.000 EACH		
	Tennessee Valley Paving Co., Inc.		\$400.0000	\$400.00
	Vulcan Construction Materials, LLC		\$360.0000	\$360.00
	Valoari Corrottaction Indicatals, EEC		ψοσο.σσσσ	φοσο.σσ
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
		2.000 EACH		
	Tennessee Valley Paving Co., Inc.		\$600.0000	\$1,200.00
	Vulcan Construction Materials, LLC		\$625.0000	\$1,250.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	· · · · · · · · · · · · · · · · · · ·	9.800 L.M.		
	Tannagas Valley Paying Co. Inc.	9.000 L.W.	£4,000,0000	¢ 0 000 00
	Tennessee Valley Paving Co., Inc. Vulcan Construction Materials, LLC		\$1,000.0000 \$825.0000	\$9,800.00 \$8,085.00
	vuican construction iviaterials, LLC		\$625.0000	φο,000.00
716-10.30	TRUNCATED DOME DETECTABLE WARNING MAT			
		8.000 S.F.		
	Tennessee Valley Paving Co., Inc.		\$100.0000	\$800.00
	Vulcan Construction Materials, LLC		\$51.0000	\$408.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	,	5.000 L.M.		
	Tennessee Valley Paving Co., Inc.		\$5,280.0000	\$26,400.00
	Vulcan Construction Materials, LLC		\$4,850.0000	\$24,250.00
			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,-30.00

	CNR235	

			00	MINIMO ONNE
			UNIT PRICE	EXTENSION
716-13.02	2 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		4.800 L.M.		
	Tennessee Valley Paving Co., Inc.		\$3,500.0000	\$16,800.00
	Vulcan Construction Materials, LLC		\$2,700.0000	\$12,960.00
	valoan conorration materials, 225		Ψ2,1 00.0000	Ψ12,000.00
717-01	MOBILIZATION			
717-01	MODILIZATION			
		1.000 LS		
	Tennessee Valley Paving Co., Inc.		\$500.0000	\$500.00
	Vulcan Construction Materials, LLC		\$30,000.0000	\$30,000.00
730-14.02	2 SAW SLOT			
		1,600.000 L.F.		
	Tennessee Valley Paving Co., Inc.	•	\$3.7500	\$6,000.00
	Vulcan Construction Materials, LLC		\$2.6000	\$4,160.00
			* =	4 1,1 2 2 1 2 2
730-14.03	3 LOOP WIRE			
100 1 1100	2001 111112	2 502 202 5		
		3,500.000 L.F.		
	Tennessee Valley Paving Co., Inc.		\$0.6500	\$2,275.00
	Vulcan Construction Materials, LLC		\$0.6500	\$2,275.00

SUB-TOTAL ROADWAY

Tennessee Valley Paving Co., Inc.	\$417,939.00
Vulcan Construction Materials, LLC	\$479,299.50

TOTAL CONTRACT

Tennessee Valley Paving Co., Inc.	\$417,939.00
Vulcan Construction Materials, LLC	\$479,299.50